H2 Madhya Pradesgh

## Notice for appointment of Regular / Rural Retail Outlet Dealerships

## Indian Oil Corporation Limited proposes to appoint Retail Outlet dealers in Madhya Pradesh , as per following details:

SI.No	Name Of Location	Revenue District	Type of RO	Estimated monthly Sales Potential #	Category	Type of Site*	Minimum Do	Site (in M)	n Montage of	Ар	arranged by the blicant	Mode of selection	Fixed Fee / Min bid amount	Security Deposit
1	2	3	4	5	6	7		8	·	9a	9b	10	11	12
			Regular / Rural	MS+HSD in KLs	SC/ SC CC 1 /SC PH/ST/ ST CC 1 /ST PH/0BC/ 0BC CC 1 /OBC PH/ OPENV OPEN CC 1 / OPEN CC 2/ OPEN PH	CC/ DC / CFS	Frontage	Depth	Area	Estimated working capital requirement for operation of RO	Estimated fund required for development of infrastructure at RO	Draw of Lots/ Bidding		
1	Between Chakravarti Samrat Chandragupta Maurya Chauraha and Bapat Square, Indore City	Indore	Regular	160	SC	CFS	20	20	400	0	0	Draw of Lots	0	3
2	Upto 4km from Kannod Bus stand towards Nemawar, on Indore Betul Highway (Nemawar Road)	Dewas	Regular	160	SC	CFS	35	45	1575	0	0	Draw of Lots	0	3
3	Unhel on Ingoria Road	Ujjain	Regular	110	SC	CFS	35	35	1225	0	0	Draw of Lots	0	3
4	Ujjain City Sethi Nagar	Ujjain	Regular	150	SC	CFS	20	20	400	0	0	Draw of Lots	0	3
5	Ujjain city Bherugarh	Ujjain	Regular	150	SC	CFS	20	20	400	0	0	Draw of Lots	0	3
6	Wiithin Badnagar Nagar palika limit	Ujjain	Regular	130	ST	CFS	20	20	400	0	0	Draw of Lots	0	3
7	Village Palda ON SH14	Agar	Regular	110	ST	CFS	35	35	1225	0	0	Draw of Lots	0	3
8	Village Madakota On SH 41	Agar	Regular	110	ST	CFS	35	35	1225	0	0	Draw of Lots	0	3
9	Village Susner on SH 14	Agar	Regular	110	ST	CFS	35	35	1225	0	0	Draw of Lots	0	3
10	Village Samgimana On SH 41	Agar	Regular	110	ST	CFS	35	35	1225	0	0	Draw of Lots	0	3
11	Within 4 km from Toll Naka on Ujjain- Nagda Bypass towards Nagda	Ujjain	Regular	110	ST	CFS	35	35	1225	0	0	Draw of Lots	0	3

			,											
12	Village Pat on SH 27	Ujjain	Regular	110	ST	CFS	35	45	1575	0	0	Draw of Lots	0	3
13	Village Dongargaon on SH 27	Agar	Regular	100	ST	CFS	35	35	1225	0	0	Draw of Lots	0	3
14	DEWAS City - Upto 2 KM from HPCL RO - Amir Brothers MS site, towards Ujjain	DEWAS	Regular	110	SC	CFS	20	20	400	0	0	Draw of Lots	0	3
15	From Ghanta Ghar to SP office	Jabalpur	Regular	150	SC	CFS	20	20	400	0	0	Draw of Lots	0	3
16	From Malviya Chowk to Ghanta Ghar	Jabalpur	Regular	150	ST	CFS	20	20	400	0	0	Draw of Lots	0	3
17	From Rampur Chowk to Shakti Bhawan	Jabalpur	Regular	150	SC	CFS	20	20	400	0	0	Draw of Lots	0	3
18	From Sahil Honda SHowroom Near 4Th Bridge to Chhoti Line Phatak via Gorakhpur	Jabalpur	Regular	150	ST	CFS	20	20	400	0	0	Draw of Lots	0	3
19	Unchahara town (within municipal limit)	Satna	Regular	100	ST	CFS	20	20	400	0	0	Draw of Lots	0	3
20	From Shastri Bridge chouraha to Sahil Honda Showroom near 4Th bridge	Jabalpur	Regular	150	SC	CFS	20	20	400	0	0	Draw of Lots	0	3
21	From Shastri bridge chouraha to Madan Mahal Station	Jabalpur	Regular	150	SC	CFS	20	20	400	0	0	Draw of Lots	0	3
22	From Astha Medical store to Ashish Hospital	Jabalpur	Regular	150	SC	CFS	20	20	400	0	0	Draw of Lots	0	3
23	From Teen Patti Chauraha to Astha Medical Store	Jabalpur	Regular	150	ST	CFS	20	20	400	0	0	Draw of Lots	0	3
24	From Teen Patti Chauraha to Shastri Bridge Chouraha	Jabalpur	Regular	150	SC	CFS	20	20	400	0	0	Draw of Lots	0	3
25	From Teen Patti Chauraha to Russel Chowk	Jabalpur	Regular	150	ST	CFS	20	20	400	0	0	Draw of Lots	0	3
26	From Malviya Chowk to Teen Patti Chauraha	Jabalpur	Regular	150	SC	CFS	20	20	400	0	0	Draw of Lots	0	3
27	Within municipal limit of Jaisingh Nagar 1	Shahdol	Regular	100	ST	CFS	20	20	400	0	0	Draw of Lots	0	3
28	Between Shahdol Post office to Surya Hotel ( within municipal limit of Shahdol)	Shahdol	Regular	100	ST	CFS	20	20	400	0	0	Draw of Lots	0	3
29	Shahdol Bypass on NH 43 (Old NH 78)	Shahdol	Regular	150	ST	CFS	35	35	1225	0	0	Draw of Lots	0	3
30	Within 2 Km from village Amlai on NH 43	Shahdol	Regular	150	ST	CFS	35	45	1575	0	0	Draw of Lots	0	3

31	From Accord Motors Mahendra Showroom towards Parasia on LHS while going towards Parasia ( within municipal limit Chindwara)	Chhindwara	Regular	100	ST	CFS	20	20	400	0	0	Draw of Lots	0	3
32	Between Km Stone No. 390 to 395 on NH 26 (NH 44) at RHS while going towards Lakhnadon	Seoni	Regular	150	ST	CFS	35	45	1575	0	0	Draw of Lots	0	3
33	From Chindwara Chowk Seoni towards Chindwara on RHS (within municipal limit) Seoni	Seoni	Regular	100	SC	CFS	20	20	400	0	0	Draw of Lots	0	3
34	Amarwada ( within municipal limit on MDR)	Chhindwara	Regular	100	ST	CFS	20	20	400	0	0	Draw of Lots	0	3
35	Balaghat ( within municipal limit 1 )	Balaghat	Regular	100	SC	CFS	20	20	400	0	0	Draw of Lots	0	3
36	Dungasara on on LHS on NH-46 Moving from Guna to Shivpuri	Guna	Regular	225	SC	CFS	35	45	1575	0	0	Draw of Lots	0	3
37	Barkheda Hatt on Aron Road	Guna	Regular	120	SC	CFS	35	35	1225	0	0	Draw of Lots	0	3
38	Bilonia on NH-46	Guna	Regular	225	ST	CFS	35	45	1575	0	0	Draw of Lots	0	3
39	Madhopura	Guna	Regular	120	ST	CFS	35	35	1225	0	0	Draw of Lots	0	3
40	Durana on NH-36 Moving from Guna to Biaora on LHS	Guna	Regular	180	ST	CFS	35	45	1575	0	0	Draw of Lots	0	3
41	Awan on NH-46	Guna	Regular	230	ST	CFS	35	45	1575	0	0	Draw of Lots	0	3
42	Badi on NH-45	Sehore	Regular	180	ST	CFS	35	45	1575	0	0	Draw of Lots	0	3
43	Between Pul Bogda to Piplani Bhopal	Bhopal	Regular	180	SC	CFS	20	20	400	0	0	Draw of Lots	0	3
44	Multai towards Nagpur up to 3 kms on NH-69 ( New NH-47)	Betul	Regular	180	SC	CFS	35	45	1575	0	0	Draw of Lots	0	3
45	Indergarh on NH-3 ( NH 46)	Shivpuri	Regular	180	SC	CFS	35	45	1575	0	0	Draw of Lots	0	3
46	Between km stone 1263 to 1267 on NH-27 (Kota Road)	Shivpuri	Regular	180	SC	CFS	35	45	1575	0	0	Draw of Lots	0	3
47	Kundi on NH-69 (New NH-47)	Betul	Regular	180	ST	CFS	35	45	1575	0	0	Draw of Lots	0	3
48	Bagrol to Handia on NH-59A	Harda	Regular	180	ST	CFS	35	45	1575	0	0	Draw of Lots	0	3
49	Bapu Ki Kutia, TT Nagar to Sakshi Dabha on Bhadbada Road	Bhopal	Regular	150	ST	CFS	20	20	400	0	0	Draw of Lots	0	3

· · · · · · · · · · · · · · · · · · ·			1			1						1		
50	Shamshabad	Vidisha	Regular	120	ST	CFS	35	35	1225	0	0	Draw of Lots	0	3
51	Prithvipur on NH-539	Niwari	Regular	150	SC	CFS	35	45	1575	0	0	Draw of Lots	0	3
52	Dabra on NH-44	Gwalior	Regular	220	ST	CFS	35	45	1575	0	0	Draw of Lots	0	3
53	Dhajrai on NH-43E on Tikamgarh-Chattarpur Road	Tikamgarh	Regular	180	ST	CFS	35	45	1575	0	0	Draw of Lots	0	3
54	Barodi on NH	Shivpuri	Regular	180	ST	CFS	35	45	1575	0	0	Draw of Lots	0	3
55	Bineka on NH-45	Sehore	Regular	180	ST	CFS	35	45	1575	0	0	Draw of Lots	0	3
56	Timarni On NH-59A	Harda	Regular	180	ST	CFS	35	45	1575	0	0	Draw of Lots	0	3
57	Dehrda on NH-46	Shivpuri	Regular	180	SC	CFS	35	45	1575	0	0	Draw of Lots	0	3
58	Jorasi on NH-44 on LHS while moving Datia	Gwalior	Regular	230	SC	CFS	35	45	1575	0	0	Draw of Lots	0	3
59	Mandideep	Raisen	Regular	180	SC	CFS	35	45	1575	0	0	Draw of Lots	0	3
60	Sheopur WML-6	Sheopur	Regular	120	ST	CFS	20	20	400	0	0	Draw of Lots	0	3
61	Ichhawar on Sehore Road	Sehore	Regular	130	SC	CFS	35	35	1225	0	0	Draw of Lots	0	3
62	Bakhtara on SH	Sehore	Regular	130	SC	CFS	35	35	1225	0	0	Draw of Lots	0	3
63	Nasrullaganj	Sehore	Regular	130	ST	CFS	35	35	1225	0	0	Draw of Lots	0	3
64	Gairat Ganj	Raisen	Regular	120	ST	CFS	35	35	1225	0	0	Draw of Lots	0	3
65	Hathnapur on NH-47	Betul	Regular	180	ST	CFS	35	45	1575	0	0	Draw of Lots	0	3
66	Chak Tukera on NH-92 on RHS while moving Towards Bhind	Bhind	Regular	180	SC	CFS	35	45	1575	0	0	Draw of Lots	0	3
67	Gorahghat on NH-44 on RHS while moving Toards Datia	Datia	Regular	180	SC	CFS	35	45	1575	0	0	Draw of Lots	0	3
68	With in 5 KM from Harda on NH Towards Khandwa	Harda	Regular	180	ST	CFS	35	45	1575	0	0	Draw of Lots	0	3

											I			
69	Jaderua on LHS while moving towards Morenaon NH-44	Morena	Regular	220	SC	CFS	35	45	1575	0	0	Draw of Lots	0	3
70	Sarangpur on NH-52 on RHS while moving towards Indore	Rajgarh	Regular	230	SC	CFS	35	45	1575	0	0	Draw of Lots	0	3
71	Mau on NH-52 on LHS while moving toawrds Biaora	Rajgarh	Regular	180	ST	CFS	35	45	1575	0	0	Draw of Lots	0	3
72	Belma Block Lahar Tehsil Lahar	Bhind	Rural	72	ST	CFS	20	20	400	0	0	Draw of Lots	0	2
73	Chhimka Block Gohad Tehsil Gohad	Bhind	Rural	72	SC	CFS	20	20	400	0	0	Draw of Lots	0	2
74	Raipura Block Porsa Tehsil Porsa	Morena	Rural	72	SC	CFS	20	20	400	0	0	Draw of Lots	0	2
75	Amaravathighat Block Prabhatpattan Tehsil Multai	Betul	Rural	72	ST	CFS	20	20	400	0	0	Draw of Lots	0	2
76	Amlada Kalan Block Seonimalwa Tehsil Seonimalwa	Hoshangabad	Rural	72	ST	CFS	20	20	400	0	0	Draw of Lots	0	2
77	Kudawa Block Khirkiya Tehsil Khirkiya	Harda	Rural	72	ST	CFS	20	20	400	0	0	Draw of Lots	0	2
78	Temlawadimal Block Khirkiya Tehsil Khirkiya	Harda	Rural	72	ST	CFS	20	20	400	0	0	Draw of Lots	0	2
79	Barangi Block Sohagpur Tehsil Sohagpur	Hoshangabad	Rural	72	ST	CFS	20	20	400	0	0	Draw of Lots	0	2
80	Reshampura Block Gwalior Tehsil Gwalior	Gwalior	Rural	72	SC	CFS	20	20	400	0	0	Draw of Lots	0	2
81	Chandawani Block Pichhore Tehsil Pichhore	Shivpuri	Rural	72	ST	CFS	20	20	400	0	0	Draw of Lots	0	2
82	Karaidanda Block Shivpuri Tehsil Shivpuri	Shivpuri	Rural	72	SC	CFS	20	20	400	0	0	Draw of Lots	0	2
83	Kundauli Block Aron Tehsil Aron	Guna	Rural	72	SC	CFS	20	20	400	0	0	Draw of Lots	0	2
84	Karela Block Raghogarh Tehsil Maksudangarh	Guna	Rural	72	ST	CFS	20	20	400	0	0	Draw of Lots	0	2
85	Pawai Block Basoda Tehsil Basoda	Vidisha	Rural	72	ST	CFS	20	20	400	0	0	Draw of Lots	0	2
86	Islamnagar Block Phanda Kalan Tehsil Huzur	Bhopal	Rural	72	ST	CFS	20	20	400	0	0	Draw of Lots	0	2
87	Panghata Block Narwar Tehsil Narwar	Shivpuri	Rural	72	SC	CFS	20	20	400	0	0	Draw of Lots	0	2

Chickli Rayat Block Shahpur Tehsil Shahpur	Betul	Rural	72	ST	CFS	20	20	400	0	0	Draw of Lots	0	2
Semrahat Block Ashoknagar Tehsil Ashoknagar	Ashoknagar	Rural	72	SC	CFS	20	20	400	0	0	Draw of Lots	0	2
Dehgaon Block Obedullaganj Tehsil Sultanpur	Raisen	Rural	72	ST	CFS	20	20	400	0	0	Draw of Lots	0	2
Pipra Gram Panchayat Block Khaniyadana Tehsil Khaniadana	Shivpuri	Rural	72	SC	CFS	20	20	400	0	0	Draw of Lots	0	2
Sannasya Block Timarni Tehsil Timarni	Harda	Rural	72	ST	CFS	20	20	400	0	0	Draw of Lots	0	2
Sabalgarh - On Sunhera Raod Block Sabalgarh Tehsil Sabalgarh	Morena	Rural	72	SC	CFS	20	20	400	0	0	Draw of Lots	0	2
ejpura On Chhipaner Road Block Timari Tehsil Timarni	Harda	Rural	72	ST	CFS	20	20	400	0	0	Draw of Lots	0	2
hiri On Shivpuri-Berad Road Block Pohri Tehsil Pohri	Shivpuri	Rural	72	SC	CFS	20	20	400	0	0	Draw of Lots	0	2
Dupadiya Bhil Block Sehore Tehsil Sehore	Sehore	Rural	72	SC	CFS	20	20	400	0	0	Draw of Lots	0	2
Nokhar On Bhind Amayan Road Block Mehgaon Tehsil Mehgaon	Bhind	Rural	72	SC	CFS	20	20	400	0	0	Draw of Lots	0	2
opnar kalan Tehsil Burhanpur	Burhanpur	Rural	90	SC	CFS	20	20	400	0	0	Draw of Lots	0	2
akhanpur Tehsil Khalwa	Khandwa	Rural	62	SC	CFS	20	20	400	0	0	Draw of Lots	0	2
/lathela Tehsil Khandwa	Khandwa	Rural	65	SC	CFS	20	20	400	0	0	Draw of Lots	0	2
alwadiya Tehsil Khandwa	Khandwa	Rural	60	SC	CFS	20	20	400	0	0	Draw of Lots	0	2
Nrikhedi Tehsil Hatod	Indore	Rural	65	SC	CFS	20	20	400	0	0	Draw of Lots	0	2
Sumatha Tehsil Hatod	Indore	Rural	80	SC	CFS	20	20	400	0	0	Draw of Lots	0	2
ijnod Tehsil Sanwer	Indore	Rural	70	SC	CFS	20	20	400	0	0	Draw of Lots	0	2
Chander Tehsil Depalpur	Indore	Rural	69	SC	CFS	20	20	400	0	0	Draw of Lots	0	2
ekodiya Anjana Tehsil Nagda	Ujjain	Rural	80	ST	CFS	20	20	400	0	0	Draw of Lots	0	2
	emrahat Block Ashoknagar Tehsil Ashoknagar ehgaon Block Obedullaganj Tehsil Sultanpur pra Gram Panchayat Block Khaniyadana Tehsil Khaniadana annasya Block Timarni Tehsil Timarni abalgarh - On Sunhera Raod Block Sabalgarh Tehsil Sabalgarh ejpura On Chhipaner Road Block Timari Tehsil Timarni iri On Shivpuri-Berad Road Block Pohri Tehsil Pohri upadiya Bhil Block Sehore Tehsil Sehore dokhar On Bhind Amayan Road Block Mehgaon Tehsil Mehgaon opnar kalan Tehsil Burhanpur akhanpur Tehsil Khalwa athela Tehsil Khandwa hirkhedi Tehsil Khandwa hirkhedi Tehsil Hatod umatha Tehsil Hatod nod Tehsil Sanwer hander Tehsil Depalpur	emrahat Block Ashoknagar Tehsil Ashoknagar Ashoknagar Ashoknagar eligaon Block Obedullaganj Tehsil Sultanpur Raisen pra Gram Panchayat Block Khaniyadana Tehsil Khaniadana Shivpuri annasya Block Timarni Tehsil Timarni Harda abalgarh - On Sunhera Raod Block Sabalgarh Tehsil Sabalgarh Morena ajpura On Chhipaner Road Block Sabalgarh Tehsil Sabalgarh Harda irif On Shivpuri-Berad Road Block Pohri Tehsil Pohri Shivpuri Uupadiya Bhil Block Sehore Tehsil Sehore Sehore Sehore dokhar On Bhind Amayan Road Block Mehgaon Tehsil Mehgaon Bhind Sopnar kalan Tehsil Burhanpur akhanpur Tehsil Khalwa Khandwa athela Tehsil Khandwa Athela Tehsil Khandwa Inirkhedi Tehsil Hatod Indore Inad Tehsil Hatod Indore Inad Tehsil Sanwer Indore Senore Indore Tehsil Sanwer Indore Khandwa Indore Tehsil Depalpur Indore Indore Indore Tehsil Depalpur Indore Indore Indore Indore Tehsil Depalpur Indore Ind	errrahat Block Ashoknagar Tehsil Ashoknagar Ashoknagar Ashoknagar Rural engaon Block Obedullaganj Tehsil Sultanpur Raisen Rural pra Gram Panchayat Block Khaniyadana Tehsil Khaniadana Shivpuri Rural annasya Block Timarni Tehsil Timarni Harda Rural abalgarh - On Sunhera Raod Block Sabalgarh Tehsil Sabalgarh dorena Rural ejpura On Chhipaner Road Block Sabalgarh Tehsil Sabalgarh Shivpuri Rural pipura On Chhipaner Road Block Timari Tehsil Timarni Harda Rural quadiya Ehli Block Sehore Tehsil Sehore Sehore Sehore Rural dokhar On Bhind Amayan Road Block Mehgaon Tehsil Mehgaon Bhind Rural athela Tehsil Khandwa Rural athela Tehsil Khandwa Khandwa Rural athela Tehsil Khandwa Khandwa Khandwa Rural athela Tehsil Khandwa Rural inirkhedi Tehsil Hatod Indore Rural Indore Rural Indore Rural Indore Tehsil Sanwer Indore Rural Indore Rural Indore Tehsil Sanwer Indore Tehsil Depalpur Indore Rural Indore Rural Indore Tehsil Sanwer Indore Tehsil Depalpur Indore Rural Indore Rural Indore Tehsil Depalpur Indore Rural Indore In	amrahatLocLocamrahatBlock AshoknagarRural72ahgaonBlock Obedullaganj Tehsil SultanpurRaisenRural72pragram PanchayatBlock Khaniyadana Tehsil KhaniadanaShivpuriRural72annasya Block TimarniHardaRural7272apalgarhOn Suhnera Raod Block Sabalgarh Tehsil SabalgarhMorenaRural72ajpuraOn Chhipaner RoadBlock TimarniHardaRural72ajpuraOn Chhipaner Road Block Pohri Tehsil TimarniHardaRural72upadiya Bhil Block Sehore Tehsil SehoreSehoreRural72dokhar On Bhind Amayan RoadBlock Mehgaon Tehsil MehgaonBhindRural72aphara kalan Tehsil BurhanpurBurhanpurBurhanpur8ural62athala Tehsil KhandwaKhandwaRural6560alwadiya Tehsil KhandwaKhandwaRural65alwadiya Tehsil HatodIndoreRural65anatha Tehsil HatodIndoreRural60nod Tehsil SanwerIndoreRural60anatha Tehsil DepalpurIndoreRural60	arrahatBlock AshoknagarRural72SCehgaon Block Obedullaganj Tehsil AshoknagarRaisenRural72STpra Gram Panchayat Block Khaniyadana Tehsil KhaniadanaShivpuriRural72STannasya Block Timarni Tehsil TimarniHardaRural72STabalgarh - On Sunhera Raod Block Sabalgarh Tehsil SabalgarhMorenaRural72SCajpura On Chhipaner Road Block Timari Tehsil TimarniHardaRural72SCairi On Shivpuri-Berad Road Block Pohri Tehsil SabalgarhBahagarhRural72SCajpura On Chhipaner Road Block Nehgaon Tehsil MengaonShivpuriRural72SCadadya Bhil Block Sehore Tehsil SehoreSehoreRural72SCathanpur Tehsil KhalwaKhandwaRural62SCathanpur Tehsil KhalwaKhandwaRural62SCathanpur Tehsil KhalwaKhandwaRural60SCathanpur Tehsil KhalwaIndoreRural60SCathanpur Tehsil KhandwaKhandwaRural60SCathanpur Tehsil KhandwaIndoreRural60SCathanpur Tehsil KhandwaIndoreRural60SCathanpur Tehsil KhandwaIndoreRural60SCathanpur Tehsil KhandwaIndoreRural60SCathanpur Tehsil KhandwaIndoreRural60SCathanpur Tehsil HatodIndoreRural60SC	AndAndAndAndAndAndarmahat. Block Ashoknagar Tehsil AshoknagarAshoknagarRural72SCCFSahgaon Block Obedullaganj Tehsil SultanpurRaisenRural72SCCFSpra Gram Panchayat Block Khaniyadana Tehsil KhaniadanaShivpuriRural72SCCFSannasya Block Timami Tehsil TimamiHardaRural72SCCFSabalgarh - On Sunhera Raod Block Sabalgarh Tehsil SabalgarhMorenaRural72SCCFSspura On Chhipaner Road Block Timari Tehsil TimamiHardaRural72SCCFSupodya Bhil Block Sehoro Tehsil SehoreSehoreRural72SCCFSdahar On Bhind Amayan Road Block Mehgaon Tehsil MehgaonBhindRural72SCCFSapprar kalan Tehsil BurhanpurBurhanpurRural90SCCFSapara kalan Tehsil BurhanpurKhandwaRural65SCCFSapara kalan Tehsil BurhanpurKhandwaRural65SCCFSapara kalan Tehsil BurhanpurIndoreRural65SCCFSapara kalan Tehsil HandaIndoreRural60SCCFSapara kalan Tehsil KhandwaIndoreRural65SCCFSapara kalan Tehsil KhandwaIndoreRural65SCCFSapara kalan Tehsil KhandwaIndoreRural65SCCFSapara kalan Tehsil KhandwaIndoreRural	And enclandAnd enclandRuralTo resultTo resultTo resultentralest Block Abedvinagar Tehsil AshokmagarRaisenRural72SCCFS20pra Gram Panchayat Block Khaniyadana Tehsil KhaniadanaShvpuriRural72SCCFS20pra Gram Panchayat Block Khaniyadana Tehsil KhaniadanaShvpuriRural72SCCFS20annasya Block Timani Tehsil TimamiHardaRural72SCCFS20abalgach - On Sunhera Raod Block Sabalgach Tehsil SabalgachMorenaRural72SCCFS20ajura On Chhipaner Road Block Timari Tehsil TimamiHardaRural72SCCFS20ajura On Shivpuri-Berad Road Block Pohri Tehsil DehriShvpuriRural72SCCFS20apadaya Bhil Block Sehore Tehsil SehoreSehoreRural72SCCFS20apark kalan Tehsil KhankaaKhandwaRural72SCCFS20apark kalan Tehsil BurhanpurBhindRural72SCCFS20apark kalan Tehsil BurhanpurBurhanpurRural72SCCFS20apark kalan Tehsil KhankaaKhandwaRural62SCCFS20apark kalan Tehsil MahamaKhandwaRural62SCCFS20apark kalan Tehsil KhandwaKhandwaRural63SCCFS20apark kalan Tehsil KhandwaKhandwa	And AndreagerAndrokangerRuralAndrokangerRuralAndrokangerRuralAndrokangerRuralAndrokangerAndrokangerAndrokangerRuralAndrokanger <t< td=""><td>And And AndreagerAntoinagerRuralTot</td><td>And AndriegerNorm<!--</td--><td>And the Block Action year Finel Antonewar         Antonewar         Filter And         Filter Antonewar         Antonewar         Filter Antonewar         Filter Antonewar         Antonewar         Filter Antonewar</td></td></t<> <td>And Add one of the set of t</td> <td>And AdvancedAdvancedFin</td>	And And AndreagerAntoinagerRuralTot	And AndriegerNorm </td <td>And the Block Action year Finel Antonewar         Antonewar         Filter And         Filter Antonewar         Antonewar         Filter Antonewar         Filter Antonewar         Antonewar         Filter Antonewar</td>	And the Block Action year Finel Antonewar         Antonewar         Filter And         Filter Antonewar         Antonewar         Filter Antonewar         Filter Antonewar         Antonewar         Filter Antonewar	And Add one of the set of t	And AdvancedAdvancedFin

					-			r					
Baigaon Tehsil Nalkheda	Agar	Rural	74	ST	CFS	20	20	400	0	0	Draw of Lots	0	2
Nanded Tehsil Tarana	Ujjain	Rural	57	ST	CFS	20	20	400	0	0	Draw of Lots	0	2
Balodakoran Tehsil Badnagar	Ujjain	Rural	52	ST	CFS	20	20	400	0	0	Draw of Lots	0	2
Bihariya Tehsil Ghatiya	Ujjain	Rural	62	ST	CFS	20	20	400	0	0	Draw of Lots	0	2
Badgara Tehsil Badnagar	Ujjain	Rural	75	ST	CFS	20	20	400	0	0	Draw of Lots	0	2
Bhaisala Khurd Tehsil Badnagar	Ujjain	Rural	80	ST	CFS	20	20	400	0	0	Draw of Lots	0	2
Ghinoda Tehsil Kachrod	Ujjain	Rural	57	ST	CFS	20	20	400	0	0	Draw of Lots	0	2
Lohana Tehsil Badnagar	Ujjain	Rural	80	ST	CFS	20	20	400	0	0	Draw of Lots	0	2
Bisakhedi TEHSIL Sonkatch	Dewas	Rural	60	ST	CFS	20	20	400	0	0	Draw of Lots	0	2
Nanukheda TEHSIL Hatpipliya	Dewas	Rural	70	ST	CFS	20	20	400	0	0	Draw of Lots	0	2
Durgapur TEHSIL Dewas	Dewas	Rural	75	ST	CFS	20	20	400	0	0	Draw of Lots	0	2
Develi TEHSIL Tonk Khurd	Dewas	Rural	90	SC	CFS	20	20	400	0	0	Draw of Lots	0	2
Hasyakhedi TEHSIL Satwas	Dewas	Rural	75	ST	CFS	20	20	400	0	0	Draw of Lots	0	2
Village Chachai on Godaha to Sirmaur Road (Not on SH) Tehsil Semaria	Rewa	Rural	46	SC	CFS	20	20	400	0	0	Draw of Lots	0	2
Village Kushiyara (Badra Jamuna Road) Tehsil Anuppur	Anuppur	Rural	46	ST	CFS	20	20	400	0	0	Draw of Lots	0	2
Village Bansukli Tehsil Jaisingnagar	Shahdol	Rural	46	SC	CFS	20	20	400	0	0	Draw of Lots	0	2
Village Kitaha Tehsil Birsinghpur	Satna	Rural	46	SC	CFS	20	20	400	0	0	Draw of Lots	0	2
Shayam Nagar Tehsil Unchahara	Satna	Rural	46	SC	CFS	20	20	400	0	0	Draw of Lots	0	2
Khutaha Tehsil Birsinghpur	Satna	Rural	46	SC	CFS	20	20	400	0	0	Draw of Lots	0	2
	Nanded Tehsil Tarana         Balodakoran Tehsil Badnagar         Bihariya Tehsil Ghatiya         Badgara Tehsil Badnagar         Bhaisala Khurd Tehsil Badnagar         Ghinoda Tehsil Kachrod         Lohana Tehsil Badnagar         Bisakhedi TEHSIL Sonkatch         Nanukheda TEHSIL Hatpipiiya         Durgapur TEHSIL Dewas         Develi TEHSIL Tonk Khurd         Hasyakhedi TEHSIL Satwas         Village Chachai on Godaha to Sirmaur Road (Not on SH) Tehsil Semaria         Village Rushiyara (Badra Jamuna Road) Tehsil Anuppur         Village Kitaha Tehsil Birsinghpur         Shayam Nagar Tehsil Durchahara	CCNanded Tehsil TaranaUjainBalodakoran Tehsil BadnagarUjainBhariya Tehsil GhatiyaUjainBadgara Tehsil BadnagarUjainBhaisala Khurd Tehsil BadnagarUjainGhinoda Tehsil KachrodUjainLohana Tehsil BadnagarUjainBisakhedi TEHSIL SonkatchDewasDurgapur TEHSIL DewasDewasDeveli TEHSIL Tonk KhurdDewasHasyakhedi TEHSIL SatwasDewasVillage Chachai on Godaha to Sirmaur Road (Not on SH) Tehsil SemariaRewaVillage Kushiyara (Badra Jamuna Road) Tehsil AnuppurAnuppurVillage Kitaha Tehsil BirsinghpurSatnaShayam Nagar Tehsil UnchaharaSatna	CCCNanded Tehsil TaranaUjiainRuralBalodakoran Tehsil BadnagarUjiainRuralBhariya Tehsil GhatiyaUjiainRuralBadgara Tehsil BadnagarUjiainRuralBhaisala Khurd Tehsil BadnagarUjiainRuralGhinoda Tehsil BadnagarUjiainRuralGhinoda Tehsil BadnagarUjiainRuralIchana Tehsil BadnagarUjiainRuralLohana Tehsil BadnagarUjiainRuralDisakhedi TEHSIL SonkatchDewasRuralDurgapur TEHSIL DewasDewasRuralDeveli TEHSIL Tonk KhurdDewasRuralHasyakhedi TEHSIL SatwasDewasRuralVillage Chachai on Godaha to Sirmaur Road (Not on SH) Tehsil SemariaRewaRuralVillage Kushiyara (Badra Jamuna Road) Tehsil AnuppurAnuppurRuralVillage Kushiyara (Badra Jamuna Road) Tehsil AnuppurSatnaRuralVillage Kushiyara Tehsil BirsinghpurSatnaRuralShayan Nagar Tehsil UnchaharaKuralSatnaRural	CCCCCNanded Tehsil TaranaUjainRural57Balodakoran Tehsil BadnagarUjainRural62Bihariya Tehsil GhatiyaUjainRural62Badgara Tehsil BadnagarUjainRural62Bhalsala Khurd Tehsil BadnagarUjainRural60Ghinoda Tehsil BadnagarUjainRural60Ghinoda Tehsil BadnagarUjainRural60Bisakhedi TEHSIL SonkatchDewasRural60Nanukheda TEHSIL HatpipiyaDewasRural75Develi TEHSIL Tonk KhurdDewasRural75Vilage Chachal on Godaha to Sirmaur Road (Not on SH) Tehsil SemariaRewaRural46Village Kushiyara (Badra Jamuna Road) Tehsil AnuppurAnuppurRural46Village Kitaha Tehsil JaisingnagarSatinaRural46Village Kitaha Tehsil JaisingnagarSatinaRural46	Image: Constraint of the set	Image: ControlImage:	Induct of head TaranaUppinRuralCrowFormCrowCrowBalodahoran Tehal BadnagarUpinRural62STCFS20Bhariya Tehal BadnagarUpinRural62STCFS20Balodahoran Tehal BadnagarUpinRural62STCFS20Badgura Tehal BadnagarUpinRural62STCFS20Badgura Tehal BadnagarUpinRural60STCFS20Bhasaka Khurd Tehal BadnagarUpinRural60STCFS20Chinoda Tehal KachrodUpinRural60STCFS20Basaka Churd Tehal BadnagarUpinRural60STCFS20Chinoda Tehal KachrodUpinRural60STCFS20Basakhedi TEHSU, SonkalchDewasRural100STCFS20Durgapur TEHSU, LapipilyaDewasRural70STCFS20Durgapur TEHSU, LapipilyaDewasRural100SCCFS20Nauge Khaha Tehsu KhurdDewasRural100SCCFS20Uilage Chachal on Godata to Simaar Road (Neton SH) Tehal SeriaRural146SCCFS20Vilage Khaha Tehsi BisinghpurStahadoRural146SCCFS20Shaqay Magar Tehal UholhaharaStahadoRural146SCCFS20	Image: Control of the set of	And Nanded Tehell TaranaJiano	Image: Constraint of the sector of the sec	And banded TrainFind band <th< td=""><td>I-<td>Image: And the set of the se</td></td></th<>	I- <td>Image: And the set of the se</td>	Image: And the set of the se

			T									r		
126	Rahuniya on MDR Tehsil Panna	Panna	Rural	46	SC	CFS	20	20	400	0	0	Draw of Lots	0	2
127	Jaswant Pura Tehsil Amanganj	Panna	Rural	46	ST	CFS	20	20	400	0	0	Draw of Lots	0	2
128	Village Tiwani(Mangawan to Tendun Road) Tehsil Mangawan	Rewa	Rural	46	ST	CFS	20	20	400	0	0	Draw of Lots	0	2
129	Village Chauri(Budhwa to Janakpur Road) Tehsil Beohari	Shahdol	Rural	46	ST	CFS	20	20	400	0	0	Draw of Lots	0	2
130	Village Bhuwari(Hanumana to Sidhi Road) Tehsil Hanumana	Rewa	Rural	46	ST	CFS	20	20	400	0	0	Draw of Lots	0	2
131	Village Gauraha Bhitauni Tehsil Majholi	Jabalpur	Rural	46	ST	CFS	20	20	400	0	0	Draw of Lots	0	2
132	Dinari Khamariya( on MDR) Tehsil Majholi	Jabalpur	Rural	46	ST	CFS	20	20	400	0	0	Draw of Lots	0	2
133	Village Katra Belkheda Tehsil Patan	Jabalpur	Rural	46	ST	CFS	20	20	400	0	0	Draw of Lots	0	2
134	Village Gandhigram Tehsil Sihora	Jabalpur	Rural	46	ST	CFS	20	20	400	0	0	Draw of Lots	0	2
135	Village Magarmuha Tehsil Shahpura	Jabalpur	Rural	46	ST	CFS	20	20	400	0	0	Draw of Lots	0	2
136	Village Mankendi Tehsil Shahpura	Jabalpur	Rural	46	ST	CFS	20	20	400	0	0	Draw of Lots	0	2
137	Village Pipariya Kalan Tehsil Jabalpur	Jabalpur	Rural	46	ST	CFS	20	20	400	0	0	Draw of Lots	0	2
138	2Km both Side of Village Rampa on PMGSY Tehsil Manda	Singrauli	Rural	46	SC	CFS	20	20	400	0	0	Draw of Lots	0	2
139	Within 1 Kilometer from SH 47 Junction towards Sanoura Tehsil Amanganj	Panna	Rural	46	SC	CFS	20	20	400	0	0	Draw of Lots	0	2
140	2Km both side of Village Sonahara on PMGSY Tehsil Chitrangi	Singrauli	Rural	46	SC	CFS	20	20	400	0	0	Draw of Lots	0	2
141	Upto 1 Km from Village Bilhari towards Gulwara Tehsil Rithi	Katni	Rural	46	ST	CFS	20	20	400	0	0	Draw of Lots	0	2
142	Village Salaiya Tehsil Rajnagar	Chhatarpur	Rural	46	ST	CFS	20	20	400	0	0	Draw of Lots	0	2
143	Village Bilha (Bhedaghat to NH12 road ) Tehsil Shahpura	Jabalpur	Rural	46	SC	CFS	20	20	400	0	0	Draw of Lots	0	2
144	Village Girwa Tehsil Jaitpur	Shahdol	Rural	46	ST	CFS	20	20	400	0	0	Draw of Lots	0	2

145	Village Keoti ( Sirmaur to Katra Road ) Tehsil Sirmaur	Rewa	Rural	46	SC	CFS	20	20	400	0	0	Draw of Lots	0	2
146	Village Chiraidongri Tehsil Nainpur	Mandla	Rural	46	SC	CFS	20	20	400	0	0	Draw of Lots	0	2
147	Between Peoples Mall and Bhanpur Flyover on Ayodhya ByePass (on LHS while moving from People Mall to Bhanpur Flyover) in Bhopal WML.	Bhopal	Regular	155	Open	DC	20	20	400	25	60	Draw of Lots	15	5
148	Paloha on Bhopal Sagar Road	Raisen	Regular	155	OBC	DC	35	45	1575	25	75	Draw of Lots	15	4
149	Premsar on Sheopur Kota Road	Sheopur	Regular	102	ST	CFS	35	35	1225	0	0	Draw of Lots	0	3
150	On Bhopal Bypass ( Between Mubarakpur Chouraha to Arwalia Chouraha on R.H.S while moving towards Arwalia Chouraha)	Bhopal	Regular	155	Open	DC	35	45	1575	25	75	Draw of Lots	15	5
151	On Bhopal Bypass ( Between Bhopal-Vidisha Road Chouraha to Bhopal- Sagar Road Chouraha on L.H.S while moving towards Bhopal Sagar road chouraha)	Bhopal	Regular	150	Open	DC	35	45	1575	25	75	Draw of Lots	15	5
152	Behsonda on Berasia - Bhopal Road on SH-23	Bhopal	Regular	138	OBC	DC	35	35	1225	25	60	Draw of Lots	15	4
153	Betul WML-3	Betul	Regular	132	sc	CFS	20	20	400	0	0	Draw of Lots	0	3
154	On Bhopal Bypass (Between Bhopal-Sagar Road Chouraha to Hoshangabad Road Intersection on R.H.S while moving towards Hoshangabad Road Intersection)	Bhopal	Regular	150	Open	DC	35	45	1575	25	75	Draw of Lots	15	5
155	On Bhopal Bypass ( Between Mobarakpur Chouraha to Bhopal Indore road Intersection on L.H.S while moving towards Bhopal indore Road Intersection)	Bhopal	Regular	150	Open	DC	35	45	1575	25	75	Draw of Lots	15	5
156	From Krishnanand Vatika Marriage Garden Towards Khureri Upto 1 Km On Gwalior Khureri Road In Gwalior WML	Gwalior	Regular	160	OBC	DC	20	20	400	25	60	Draw of Lots	15	4
157	Between Bercha Mawa Bhandar near Aura mall to Akriti Business Center (ABC)	Bhopal	Regular	220	Open	сс	20	20	400	25	10	Bidding	30	5
158	From Bhopal Talkies Chouraha to Narad Service Station (Petrol Pump) on RHS while moving towards Narad SS petrol pump.	Bhopal	Regular	156	ST	CFS	20	20	400	0	0	Draw of Lots	0	3
159	Between Reliance Petrol Pump (Gandhi Nagar) to Mubarakpur Chouraha on Narsinghgarh Road	Bhopal	Regular	220	OBC	DC	20	20	400	25	60	Draw of Lots	15	4
160	From MANIT Chouraha to Kolar road intersection on LHS , while moving towards Kolar road intersection on link road no. 3	Bhopal	Regular	150	Open CC 1	DC	20	20	400	25	60	Draw of Lots	15	5
161	Between old Golden lake hotel(new name Skyline Hotel) and Gandhi Nagar Police Station on RHS, while moving towards Gandhi Nagar Police Station.	Bhopal	Regular	220	Open	DC	20	20	400	25	60	Draw of Lots	15	5
162	Within 3 kms on Itarsi road in Betul WML	Betul	Regular	132	sc	CFS	20	20	400	0	0	Draw of Lots	0	3
163	Within 2km from Myana Chauraha moving from Guna to Shivpuri on RHS Side on NH46 in Village Taknera	Guna	Regular	160	OBC	DC	35	45	1575	25	75	Draw of Lots	15	4

164	From Lalghati chouraha to Bairagarh cemetry on L.H.S, while moving towards Bairagarh cemetry in Bhopal WML	Bhopal	Regular	150	Open	DC	20	20	400	25	60	Draw of Lots	15	5
165	Village Muktapur on Bhopal Vidisha Road	Raisen	Regular	114	Open	СС	35	35	1225	25	10	Bidding	30	5
166	From Bhopal Talkies Chouraha to Narad Service Station (Petrol Pump) on LHS while moving towards Narad SS petrol pump in Bhopal WML	Bhopal	Regular	202	ST	CFS	20	20	400	0	0	Draw of Lots	0	3
167	RaisenWML-2	Raisen	Regular	100	OBC	DC	20	20	400	25	45	Draw of Lots	15	4
168	Between Shahpura Thana to Extol College in Bhopal WML	Bhopal	Regular	170	Open	сс	20	20	400	25	10	Bidding	30	5
169	Between Narad SS (Petrol Pump ) to Karond Chouraha on LHS while moving towards karond Chouraha in Bhopal WML	Bhopal	Regular	150	Open CC 2	DC	20	20	400	25	60	Draw of Lots	15	5
170	Between Anand Nagar Police Chowki to Raisen road - Bhopal Bypass intersection on RHS, while moving towards raisen Bhopal WML	Bhopal	Regular	150	OBC CC 1	DC	20	20	400	25	60	Draw of Lots	15	4
171	From Arwalia chouraha to Eintkhedi on Berasia Road on LHS while moving towards Berasia	Bhopal	Regular	100	SC CC 1	CFS	35	35	1225	0	0	Draw of Lots	0	3
172	Between KM stone 98 to 100 on NH-92	Bhind	Regular	155	Open	DC	35	45	1575	25	75	Draw of Lots	15	5
173	Village Kharwai Bhopal Raisen Road	Raisen	Regular	150	Open	DC	35	45	1575	25	75	Draw of Lots	15	5
174	Between Bawadia Kalan Chouraha to Kolar Road Junction in Bhopal WML	Bhopal	Regular	160	OBC	DC	20	20	400	25	60	Draw of Lots	15	4
175	Begumganj on Bhopal Sagar Road	Raisen	Regular	120	ST	CFS	35	35	1225	0	0	Draw of Lots	0	3
176	Village Sonkatch on Bhopal Berasia Road on SH-23	Bhopal	Regular	114	Open	DC	35	35	1225	25	60	Draw of Lots	15	5
177	On LHS, Between Anand Nagar Police Chowki to Raisen road Bhopal Bypass intersection, while moving towards raisen	Bhopal	Regular	220	Open	DC	20	20	400	25	60	Draw of Lots	15	5
178	Vill-Tikoda, on Raisen GairatGanj Road	Raisen	Regular	122	OBC	DC	35	35	1225	25	60	Draw of Lots	15	4
179	Between KM stone 25 to 28 on NH-39 on Jhansi Kahjuraho Road	Niwari	Regular	157	Open	DC	35	45	1575	25	75	Draw of Lots	15	5
180	Between Central Jail to Karond Chouraha RHS moving towards Karond Chouraha	Bhopal	Regular	150	sc	CFS	20	20	400	0	0	Draw of Lots	0	3
181	Kohefiza Bhopal WML	Bhopal	Regular	220	Open	DC	20	20	400	25	60	Draw of Lots	15	5
182	Lalghati to Peergate on RHS, while moving towards Peergate in Bhopal WML	Bhopal	Regular	150	OBC	DC	20	20	400	25	60	Draw of Lots	15	4

183	Bhopal WML-1	Bhopal	Regular	150	Open CC 1	DC	20	20	400	25	60	Draw of Lots	15	5
105		Бпора	Regular	150	Open CC 1	DC	20	20	400	23	00			
184	Between Chirayu Hospital to Bypass Intersection at Bhauri on Indore road in Bhopal WML	Bhopal	Regular	170	ST	CFS	20	20	400	0	0	Draw of Lots	0	3
185	Nakhtara on SH 42	Raisen	Regular	100	OBC	DC	35	35	1225	25	60	Draw of Lots	15	4
186	LalGhati Chouraha to Colonel Corner's colony on LHS while moving towards colonel corner colony on airport road.	Bhopal	Regular	160	Open	DC	20	20	400	25	60	Draw of Lots	15	5
187	Within 1 KM of Saint Teresa Schhol on Sikandar Kampoo Veerpur Road in Gwalior WML	Gwalior	Regular	150	Open	DC	20	20	400	25	60	Draw of Lots	15	5
188	From Bhanpur Chouraha to Chopra Kalan on Bhopal Vidisha Road, on LHS while moving towards Vidisha	Bhopal	Regular	150	OBC	DC	20	20	400	25	60	Draw of Lots	15	4
189	Within 6 km of Parvati River Bridge(Pilukhedi) on NH-12 ( New NH-46) towards Kurawar On LHS	Rajgarh	Regular	152	sc	CFS	35	45	1575	0	0	Draw of Lots	0	3
190	Jepla on NH-752B Bioara to Suthaliya Road	Rajgarh	Regular	180	Open	СС	35	45	1575	25	10	Bidding	30	5
191	Between Jinsi Chouraha to Vardan Hospital in Bhopal WML	Bhopal	Regular	200	Open	DC	20	20	400	25	60	Draw of Lots	15	5
192	Shahpura police station to chunabhatti chouraha via Hotel Gaurav Green Garden in Bhopal WML	Bhopal	Regular	150	OBC	DC	20	20	400	25	60	Draw of Lots	15	4
193	Singaikhapa on NH-59A	Betul	Regular	150	ST	CFS	35	45	1575	0	0	Draw of Lots	0	3
194	Village : Katara, Bhopal WML	Bhopal	Regular	150	Open	СС	20	20	400	25	10	Bidding	30	5
195	Between Spring Valley colony to St. Fransis Co-Ed School on Katara - Barrai Road on LHS while moving towards St. Francis Co-Ed School	Bhopal	Regular	170	Open	DC	20	20	400	25	60	Draw of Lots	15	5
196	Raisen WML-1	Raisen	Regular	120	OBC PH	DC	20	20	400	25	45	Draw of Lots	15	4
197	Within 5 km of Maruti Nandan Temple(Near Boda Naka) on NH-12 ( New NH-46) towards Kurawar LHS	Rajgarh	Regular	155	ST PH	CFS	35	45	1575	0	0	Draw of Lots	0	3
198	Village Mavai Bhata on Tikamgarh Chattarpur Road on NH-43 E	Tikamgarh	Regular	175	Open	СС	35	45	1575	25	10	Bidding	30	5
199	Within 8 km from Kurawar Bus Stand on NH-12 ( New NH-46) towards Narsingarh on RHS	Rajgarh	Regular	185	Open	DC	35	45	1575	25	75	Draw of Lots	15	5
200	Jamoniya Gop Chouhan on NH-12 ( New NH-46) towards Narsingarh on LHS	Rajgarh	Regular	175	OBC	СС	35	45	1575	25	10	Bidding	30	4
201	Jamoniya Gop Chouhan on NH-12 ( New NH-46) towards Narsingarh on RHS	Rajgarh	Regular	175	Open	DC	35	45	1575	25	75	Draw of Lots	15	5

202	Within 6 km of Parvati River Bridge (Pilukhedi) on NH-12 ( New NH-46) towards Kurawar On RHS	Rajgarh	Regular	150	sc	CFS	35	45	1575	0	0	Draw of Lots	0	3
203	Within 8 km from Kurawar Bus Stand on NH-12 ( New NH-46) towards Narsingarh on LHS	Rajgarh	Regular	185	Open	DC	35	45	1575	25	75	Draw of Lots	15	5
204	Village Peepalheda Tehsil Biaora on NH-12 ( NH-46) on LHS Towards Biaora	Rajgarh	Regular	175	OBC	DC	35	45	1575	25	75	Draw of Lots	15	4
205	Village Kadia Mitrasen on RHS of NH-12 ( NH-46) towards Narsingarh to Biaora	Rajgarh	Regular	156	Open	DC	35	45	1575	25	75	Draw of Lots	15	5
206	Village Kadia Mitrasen on LHS of NH-12 (NH-46) towards Narsingarh to Biaora	Rajgarh	Regular	156	ST	CFS	35	45	1575	0	0	Draw of Lots	0	3
207	Within 5 km of Maruti Nandan Temple (Near Boda Naka) on NH-12 (NH- 46) towards Kurawar RHS	Rajgarh	Regular	155	OBC	DC	35	45	1575	25	75	Draw of Lots	15	4
208	Village Madhopura on AB Road on NH-3 ( New NH-52)	Rajgarh	Regular	180	Open	сс	35	45	1575	25	10	Bidding	30	5
209	Within 5 km of Kalisindh River Bridge(Sarangpur) on RHS on NH-3 ( NH- 52) AB ROAD	Rajgarh	Regular	150	Open CC 1	DC	35	45	1575	25	75	Draw of Lots	15	5
210	Udankhedi on NH-3 ( New NH-52) AB ROAD	Rajgarh	Regular	150	OBC	DC	35	45	1575	25	75	Draw of Lots	15	4
211	Between Bhopal- Biaora Chouraha and Pragatipath School on NH-46 on RHS towards Biaora	Rajgarh	Regular	150	ST	CFS	35	45	1575	0	0	Draw of Lots	0	3
212	Between Km stone no.466 and 469 on NH-52 Biaora to Rajgarh Road	Rajgarh	Regular	150	Open	DC	35	45	1575	25	75	Draw of Lots	15	5
213	Rajgarh WML-1	Rajgarh	Regular	130	Open	DC	20	20	400	25	45	Draw of Lots	15	5
214	Within 6 km from Newaj River Bridge(Pachore) towards Biaora on NH-3 (new NH-52) AB Road On LHS	Rajgarh	Regular	150	OBC	DC	35	45	1575	25	75	Draw of Lots	15	4
215	Within7 Km from Parwati River Bridge on NH-752B Towards Biora	Rajgarh	Regular	150	sc	CFS	35	35	1225	0	0	Draw of Lots	0	3
216	Within 6 km from Karanwas Police Station towards Pachore on NH-3 ( New NH-52) AB ROAD RHS	Rajgarh	Regular	220	Open	СС	35	45	1575	25	10	Bidding	30	5
217	Within 6 km from Karanwas Police Station towards Pachore on NH-3 (NH- 52) AB ROAD LHS	Rajgarh	Regular	155	Open	DC	35	45	1575	25	75	Draw of Lots	15	5
218	Within 6 km from Newaj River Bridge(Pachore) towards Biaora on NH-3 ( NH-52)AB Road RHS	Rajgarh	Regular	150	Open	DC	35	45	1575	25	75	Draw of Lots	15	5
219	Within 5 km of NH-3 ( NH-52) and SH-25 Junction on SH-25 towards Akodia	Rajgarh	Regular	110	OBC CC 1	DC	35	35	1225	25	60	Draw of Lots	15	4
220	Within 5 km of Kalisindh River Bridge(Sarangpur) on LHS on NH-3 AB ROAD	Rajgarh	Regular	150	SC CC 1	CFS	35	45	1575	0	0	Draw of Lots	0	3

221	Within 4 km from Bhopal Chouraha on NH-3 (NH-52) AB ROAD towards Pachore RHS	Rajgarh	Regular	150	Open PH	DC	35	45	1575	25	75	Draw of Lots	15	5
222	Village Lasudali Maharaja on NH-12 ( New NH-46)	Rajgarh	Regular	152	OBC	DC	35	45	1575	25	75	Draw of Lots	15	4
223	Village Kolukhedi on NH-12 ( New NH-46)	Rajgarh	Regular	152	Open	DC	35	45	1575	25	75	Draw of Lots	15	5
224	Between KM stone no. 452 to Km Stone no. 455 on NH-52 on Biaora Rajgarh Road	Rajgarh	Regular	155	ST	CFS	35	45	1575	0	0	Draw of Lots	0	3
225	Biaora WML-2	Rajgarh	Regular	120	Open	DC	20	20	400	25	45	Draw of Lots	15	5
226	Biaora WML-1	Rajgarh	Regular	120	OBC	DC	20	20	400	25	45	Draw of Lots	15	4
227	Upto 5Km From Betwa River Bridge On Vidisha NH Bypass On LHS Towards Sagar	Vidisha	Regular	210	Open	сс	35	45	1575	25	10	Bidding	30	5
228	Upto 5Km From Betwa River Bridge On Vidisha NH Bypass On RHS Towards Sagar	Vidisha	Regular	150	Open	DC	35	45	1575	25	75	Draw of Lots	15	5
229	Between Niwari Govt College to Niwari Railway Station at Niwari	Niwari	Regular	132	sc	CFS	20	20	400	0	0	Draw of Lots	0	3
230	Within 4Km From Vidisha NH Bypass & Ahmadpur Road Jn Towards Sagar	Vidisha	Regular	150	OBC	DC	35	45	1575	25	75	Draw of Lots	15	4
231	From Betwa River Bridge On Vidisha NH Bypass Towards Sanchi	Vidisha	Regular	150	Open	DC	35	45	1575	25	75	Draw of Lots	15	5
232	Upto 3 Km From NH146 & Teonda Road Jn At Bagrod Towards Vidisha	Vidisha	Regular	156	Open CC 1	DC	35	45	1575	25	75	Draw of Lots	15	5
233	Village Salamatpur on Bhopal Vidisha Road	Raisen	Regular	110	ST	CFS	35	35	1225	0	0	Draw of Lots	0	3
234	Between Kararia Jn And NH-146 On New NH-346	Vidisha	Regular	156	OBC	DC	35	45	1575	25	75	Draw of Lots	15	4
235	Upto 4Km From Vidisha NH Bypass Jn At Mirjapur Towards Sagar On LHS	Vidisha	Regular	156	Open	DC	35	45	1575	25	75	Draw of Lots	15	5
236	Between Naya Gola Jn And Gurod Jn On New NH - 346	Vidisha	Regular	156	Open	DC	35	45	1575	25	75	Draw of Lots	15	5
237	Between KM stone No 28 to 30 on SH-18 LHS while Moving towards Bhopal	Sehore	Regular	110	OBC	DC	35	45	1575	25	60	Draw of Lots	15	4
238	Between Ambanagar Jn And Gurod Jn On New NH-346	Vidisha	Regular	160	ST	CFS	35	45	1575	0	0	Draw of Lots	0	3
239	Within 3Km From Sangul Wardha Road & SH 23 Jn Towards Bhopal On SH 23	Vidisha	Regular	114	Open	DC	35	35	1225	25	60	Draw of Lots	15	5

240	Vill Manipur On NH 146	Vidisha	Regular	156	Open	DC	35	45	1575	25	75	Draw of Lots	15	5
241	Within 6Km From Essar Retail Outlet At Murwas Towards Sironj On New NH 752B	Vidisha	Regular	156	OBC	DC	35	45	1575	25	75	Draw of Lots	15	4
242	Within 8Km From Essar Ro At Khamkheda Towards Barasia	Vidisha	Regular	160	sc	CFS	35	45	1575	0	0	Draw of Lots	0	3
243	Between Ahmadpur Chouraha And Railway Overbridge At Vidisha	Vidisha	Regular	108	Open	DC	20	20	400	25	45	Draw of Lots	15	5
244	Within 5Km From SH 14 & SH 23 Jn At Sironj Towards Bhopal On SH 23	Vidisha	Regular	114	Open	DC	35	35	1225	25	60	Draw of Lots	15	5
245	With In 2 Km On Either Side Of Patharia Police Thana On SH 14	Vidisha	Regular	102	OBC	DC	35	35	1225	25	60	Draw of Lots	15	4
246	With in 3 KM from RIL RO at Dhoklhedi towards Vidisha	Vidisha	Regular	112	ST	CFS	35	35	1225	0	0	Draw of Lots	0	3
247	Within 5Km From Basoda Naka At Sironj Towards Lateri On SH 14	Vidisha	Regular	114	Open	DC	35	35	1225	25	60	Draw of Lots	15	5
248	Within 3Km From Chanderi River Bridge Near Maksudangarh Towards Lateri On New NH-752B	Vidisha	Regular	156	OBC	DC	35	45	1575	25	75	Draw of Lots	15	4
249	Village Rachhed on Amba Pinahat Road on NH-552E	Morena	Regular	150	Open	DC	35	45	1575	25	75	Draw of Lots	15	5
250	Vill - Anuppur On SH-23	Vidisha	Regular	114	Open	DC	35	35	1225	25	60	Draw of Lots	15	5
251	Kurwai On SH - 14	Vidisha	Regular	108	sc	CFS	35	35	1225	0	0	Draw of Lots	0	3
252	Within 3 Km From Rahimpur-Lateri Road Junction On SH-23 Towards Aron	Vidisha	Regular	102	OBC	DC	35	35	1225	25	60	Draw of Lots	15	4
253	Within 4 KM from Sironj Chatri Chouk Towards Mehlua on SH	Vidisha	Regular	114	Open	DC	35	35	1225	25	60	Draw of Lots	15	5
254	From Mehlua Jn Towards Ashoknagar On LHS On New NH-346	Vidisha	Regular	155	Open	DC	35	45	1575	25	75	Draw of Lots	15	5
255	Khaparkheda On NH- 146	Vidisha	Regular	150	ST	CFS	35	45	1575	0	0	Draw of Lots	0	3
256	Sironj WML-2	Vidisha	Regular	108	OBC	DC	20	20	400	25	45	Draw of Lots	15	4
257	From Rahimpur Lateri Road And SH23 Jn At Rahimpur Towards Sironj Upto 10Km On SH 23	Vidisha	Regular	114	Open	DC	35	35	1225	25	60	Draw of Lots	15	5
258	Vidisha WML-2	Vidisha	Regular	108	Open CC 1	DC	20	20	400	25	45	Draw of Lots	15	5

259	Upto 7 Km From NH 146 and Teonda Road Jn At Bagrod Towards Sagar	Vidisha	Regular	150	OBC	DC	35	45	1575	25	75	Draw of Lots	15	4
260	Gyaraspur on NH-146	Vidisha	Regular	150	ST	CFS	35	45	1575	0	0	Draw of Lots	0	3
261	Sironj WML	Vidisha	Regular	122	Open	DC	20	20	400	25	45	Draw of Lots	15	5
262	Village Chouda, Gwalior Bypass, Andupura to Ghatigaon on LHS	Gwalior	Regular	160	Open	DC	35	45	1575	25	75	Draw of Lots	15	5
263	Village Kuakhedi On NH-146	Vidisha	Regular	150	OBC	DC	35	45	1575	25	75	Draw of Lots	15	4
264	With In 3 Km From Essar Ro At Patharia Towards Mehlua Jn On SH 14	Vidisha	Regular	102	SC	CFS	35	35	1225	0	0	Draw of Lots	0	3
265	Between Malawar Jodh to Pagadi Bangla Choraha on NH-12 ( NH-46) WHILE MOVING Towards BIOARA	Rajgarh	Regular	160	Open	сс	35	45	1575	25	10	Bidding	30	5
266	Village Tamot On NH-12 ( New NH-45) RHS While Moving Towards Jabalpur	Raisen	Regular	150	Open	DC	35	45	1575	25	75	Draw of Lots	15	5
267	Kolaras (WML)-1	Shivpuri	Regular	120	OBC	DC	20	20	400	25	45	Draw of Lots	15	4
268	Within 4 Km From Railway Crossing On Shivpuri -Sheopur Road On SH-6 Towards Sheopur	Shivpuri	Regular	114	Open	DC	35	35	1225	25	60	Draw of Lots	15	5
269	Subhaspura On NH 3 ( New NH-46)	Shivpuri	Regular	180	ST CC 1	CFS	35	45	1575	0	0	Draw of Lots	0	3
270	Sironj WML-3	Vidisha	Regular	110	Open CC 2	DC	20	20	400	25	45	Draw of Lots	15	5
271	With In 5 Km From Pichore Mandi On Pichore Chanderi Road On SH-19	Shivpuri	Regular	100	OBC CC 1	DC	35	35	1225	25	60	Draw of Lots	15	4
272	With In 2 Km From Guna Naka Towards Guna Shivpuri WML	Shivpuri	Regular	112	Open	DC	20	20	400	25	45	Draw of Lots	15	5
273	Sheopur WML-3	Sheopur	Regular	132	ST	CFS	20	20	400	0	0	Draw of Lots	0	3
274	With In 4 Km From Deharda Teraha Towards Isagarh On Deharda Isagarh Road On SH 10	Shivpuri	Regular	100	OBC	DC	35	35	1225	25	60	Draw of Lots	15	4
275	Shivpuri WML-1	Shivpuri	Regular	120	Open	DC	20	20	400	25	45	Draw of Lots	15	5
276	Rataur On New Shivpuri Bypass On LHS While Moving Towards Gwalior On AB Road	Shivpuri	Regular	150	Open	DC	35	45	1575	25	75	Draw of Lots	15	5
277	With In 5 Km From Anant Bharat Gas Agency On NH 27 Shivpuri-Jhansi Road	Shivpuri	Regular	150	OBC	DC	35	45	1575	25	75	Draw of Lots	15	4

278	Rataur On New Shivpuri Bypass On RHS While Moving Towards Gwalior On Guna -Gwalior Road	Shivpuri	Regular	150	sc	CFS	35	45	1575	0	0	Draw of Lots	0	3
279	Between Bairagarh Cemetry To Chiryu Hospital On LHS While Moving Towards Indore	Bhopal	Regular	180	Open	DC	20	20	400	25	60	Draw of Lots	15	5
280	Bagdua on Sheopur Pali Road on NH 552 E	Shivpuri	Regular	150	Open	DC	35	45	1575	25	75	Draw of Lots	15	5
281	Between Aganwadi Kendra Hari Kheda And Sant Oxford School, Hurawali Gwalior WML	Gwalior	Regular	160	OBC	DC	20	20	400	25	60	Draw of Lots	15	4
282	Village Kulwara On NH 27 Jhansi Kota Road	Shivpuri	Regular	150	ST	CFS	35	45	1575	0	0	Draw of Lots	0	3
283	Km Stone 128 To 130 On SH 6 ( NH-552E) On Sheopur- Pali Road	Sheopur	Regular	150	Open	DC	35	45	1575	25	75	Draw of Lots	15	5
284	Murwai On NH-552E	Morena	Regular	150	Open CC 1	DC	35	45	1575	25	75	Draw of Lots	15	5
285	Kakarwaya On NH-3 (New NH-46)	Shivpuri	Regular	150	OBC	DC	35	45	1575	25	75	Draw of Lots	15	4
286	Badarwas Bypass On Shivpuri -Guna Road	Shivpuri	Regular	230	ST	CFS	35	45	1575	0	0	Draw of Lots	0	3
287	Between Km Stone 1342 To 1345 On NH 27 Shivpuri-Jhansi Road	Shivpuri	Regular	150	Open	DC	35	45	1575	25	75	Draw of Lots	15	5
288	Sheopur WML-1	Sheopur	Regular	100	Open	DC	20	20	400	25	45	Draw of Lots	15	5
289	Within 5 Km From Reliance Retail Outlet On LHS While Moving Towards Guna On Shivpuri-Guna Road On NH3 ( NH-46)	Shivpuri	Regular	180	OBC	сс	35	45	1575	25	10	Bidding	30	4
290	Madhav Chowk To Guna Naka In Shivpuri WML	Shivpuri	Regular	110	Open	сс	20	20	400	25	10	Bidding	30	5
291	Singhanwas On New Shivpuri Bypass On RHS While Moving Gwalior On AB Road	Shivpuri	Regular	150	SC	CFS	35	45	1575	0	0	Draw of Lots	0	3
292	Between Karond Chouraha To Best Price On RHS While Moving Towards Peoples Mall	Bhopal	Regular	150	Open	сс	20	20	400	25	10	Bidding	30	5
293	With In 2 Km From Collectorate Sheopur in Sheopur WML	Sheopur	Regular	100	OBC	DC	20	20	400	25	45	Draw of Lots	15	4
294	Padora Sadak On NH 46 (Old NH 3)	Shivpuri	Regular	155	Open	DC	35	45	1575	25	75	Draw of Lots	15	5
295	With In 1Km From Jila Jail Pohari Towards Shivpuri	Shivpuri	Regular	100	SC PH	CFS	35	35	1225	0	0	Draw of Lots	0	3
296	With In 5 Km From Gauras Tiraha Towards Sheopur On NH-552E (Old SH 06)	Sheopur	Regular	150	OBC PH	DC	35	45	1575	25	75	Draw of Lots	15	4

297	Karakheda On Dinara - Pichhore Road	Shivpuri	Regular	114	Open	DC	35	35	1225	25	60	Draw of Lots	15	5
298	Within 2 Km Towards Sheopur From Chingari SKO Agency On Pali Sheopur Road On NH 552 E (Old SH 6 )	Sheopur	Regular	150	Open	DC	35	45	1575	25	75	Draw of Lots	15	5
299	5 Km From Padora Chauraha Towards Kota On Jhansi-Kota Road On NH27	Shivpuri	Regular	155	овс	DC	35	45	1575	25	75	Draw of Lots	15	4
300	Within 5 Kms From Gudgaon Chowk On SH 43 Towards Betul	Betul	Regular	100	ST	CFS	35	35	1225	0	0	Draw of Lots	0	3
301	Singhanwas On New Shivpuri Bypass On LHS While Moving Gwalior On AB Road	Shivpuri	Regular	220	Open	сс	35	45	1575	25	10	Bidding	30	5
302	With In 5 Km From Padora Crossing (Intersection Of NH46 And NH27) While Moving From Shivpuri To Guna On NH46 On RHS	Shivpuri	Regular	180	Open	сс	35	45	1575	25	10	Bidding	30	5
303	Within 3 Km From Krishna Hotel On LHS While Moving Towards Shivpuri On Guna-Shivpuri Road	Shivpuri	Regular	150	овс	DC	35	45	1575	25	75	Draw of Lots	15	4
304	Village Tajkhajuri On NH-346	Vidisha	Regular	150	SC	CFS	35	45	1575	0	0	Draw of Lots	0	3
305	With In 1 Km Towards Sheopur From Railway Crossing On Sheopur-Pali Bypass Road	Sheopur	Regular	100	Open	DC	20	20	400	25	45	Draw of Lots	15	5
306	Between Km Stone 1336 To 1341 On NH27	Shivpuri	Regular	150	Open	DC	35	45	1575	25	75	Draw of Lots	15	5
307	Karahal On SH-6 On SHivpuri SHeopur Road	Sheopur	Regular	114	Open	DC	35	35	1225	25	60	Draw of Lots	15	5
308	With In 5 Km Towards Chanderi From Essar Ro Jainam Filling On Pichhore-Chanderi Road	Shivpuri	Regular	100	OBC	DC	35	35	1225	25	60	Draw of Lots	15	4
309	Between Km Stone 70 To 80 On NH3 (New NH-46) On Shivpuri -Gwalior Road	Shivpuri	Regular	232	ST	CFS	35	45	1575	0	0	Draw of Lots	0	3
310	Chirol On Mau Mehgaon Road (SH19)	Bhind	Regular	114	Open CC 1	DC	35	35	1225	25	60	Draw of Lots	15	5
311	Between Km Stone 60 To 68 On NH3 ( New NH-46) On Shivpuri -Gwalior Road	Shivpuri	Regular	220	овс	сс	35	45	1575	25	10	Bidding	30	4
312	With In 1 Km From Jhansi Tiraha, Shivpuri On Jhansi Road In Shivpuri WML	Shivpuri	Regular	100	Open	DC	20	20	400	25	45	Draw of Lots	15	5
313	Damron Khurd On SH-19 Dinara- Pichhore Road	Shivpuri	Regular	120	SC	CFS	35	35	1225	0	0	Draw of Lots	0	3
314	With In 2 Km From Madhav Chauwk Towards Gwalior Shivpuri WML	Shivpuri	Regular	100	Open	DC	20	20	400	25	45	Draw of Lots	15	5
315	Goharganj On NH-12 ( New NH-45)	Raisen	Regular	155	OBC	DC	35	45	1575	25	75	Draw of Lots	15	4

316	2 Km Either Side From Bsnl Exchange Office Karera On Main Road In Karera WML	Shivpuri	Regular	100	Open	DC	20	20	400	25	45	Draw of Lots	15	5
317	Between JMD Company to Radha Swami Satsang Bhawan on Harda - Indore Road on NH 47 (old NH 59 A)	Harda	Regular	190	Open	сс	35	45	1575	25	10	Bidding	30	5
318	Hoshnagabad WML-1	Hoshangabad	Regular	132	ST CC 1	CFS	20	20	400	0	0	Draw of Lots	0	3
319	Between Jhil Pipariya and Dhandiya on SH-19	Hoshangabad	Regular	100	OBC CC 1	DC	35	35	1225	25	60	Draw of Lots	15	4
320	Between KM Stone 104 to KM Stone 106 Matkuli - Chhindwara road on SH 19	Hoshangabad	Regular	114	Open	DC	35	35	1225	25	60	Draw of Lots	15	5
321	Pathari Mahalpur on Raisen Sagar Road on SH 42	Raisen	Regular	114	Open PH	DC	35	35	1225	25	60	Draw of Lots	15	5
322	MALAKHEDI, Hoshangabad WML	Hoshangabad	Regular	132	ST	CFS	20	20	400	0	0	Draw of Lots	0	3
323	Hoshangabad WML, on ITI road	Hoshangabad	Regular	100	OBC	DC	20	20	400	25	45	Draw of Lots	15	4
324	Between KM Stone 66 to KM Stone 72 (RHS) ObedullahGanj - Nagpur Road on NH 46	Hoshangabad	Regular	170	Open	СС	35	45	1575	25	10	Bidding	30	5
325	3 KM towards Hoshangabad from Seoni Malwa Bus stand on Seoni Malwa main road	Hoshangabad	Regular	100	OBC	СС	20	20	400	25	10	Bidding	30	4
326	Khaperkheda On SH - 19	Hoshangabad	Regular	100	ST	CFS	35	35	1225	0	0	Draw of Lots	0	3
327	Handiya on NH 47(Old NH 59 A)	Harda	Regular	155	Open	DC	35	45	1575	25	75	Draw of Lots	15	5
328	Rohana on Hoshangabad Harda Road on SH - 15	Hoshangabad	Regular	114	Open	DC	35	35	1225	25	60	Draw of Lots	15	5
329	Between Dehri Depot to NH 46 ( Old NH 69 ) Road Tiraha on Jamani Road Itarsi	Hoshangabad	Regular	100	Open	DC	20	20	400	25	45	Draw of Lots	15	5
330	With in 2 KM from Akriti Business Center Towards Salaiya	Bhopal	Regular	160	OBC	DC	20	20	400	25	60	Draw of Lots	15	4
331	Panchmadi WML	Hoshangabad	Regular	132	sc	CFS	20	20	400	0	0	Draw of Lots	0	3
332	Between KM Stone 127 to Km Stone 129 Pipariya - Pachmadi road on SH 19	Hoshangabad	Regular	114	Open	сс	35	35	1225	25	10	Bidding	30	5
333	2 KM From Narmada Apna Hospital towards Harda Road	Hoshangabad	Regular	114	Open CC 1	DC	35	35	1225	25	60	Draw of Lots	15	5
334	Haripura on Harda Khandwa road(SH-15)	Harda	Regular	100	OBC	DC	35	35	1225	25	60	Draw of Lots	15	4

335	SIWANI MALWA WML	Hoshangabad	Regular	132	ST	CFS	20	20	400	0	0	Draw of Lots	0	3
336	Between Timarni and Sodalpur on NH 47 (old NH 59A)	Harda	Regular	165	Open	DC	35	45	1575	25	75	Draw of Lots	15	5
337	Dhekna on NH59A	Hoshangabad	Regular	155	OBC	DC	35	45	1575	25	75	Draw of Lots	15	4
338	Matkuli on Hoshangabad Pachmadi road (SH-19)	Hoshangabad	Regular	114	Open	DC	35	35	1225	25	60	Draw of Lots	15	5
339	Village Pagari on NH-12 ( New NH-46)	Rajgarh	Regular	150	Open	DC	35	45	1575	25	75	Draw of Lots	15	5
340	Village Varana Khas on NH-539 on Jhansi Tikamgarh Road	Tikamgarh	Regular	150	sc	CFS	35	35	1225	0	0	Draw of Lots	0	3
341	With In 10 Km Form Rairu Junction Towards Dabra On RHS On NH 44 Gwalior By Pass	Gwalior	Regular	220	OBC	сс	35	45	1575	25	10	Bidding	30	4
342	Village Kargawan on NH-44 on LHS while moving from Rairu Junction to Dabra on Gwalior bypass	Morena	Regular	250	Open	сс	35	45	1575	25	10	Bidding	30	5
343	Within 2 Km From Gulmohar Colony Towards Chandrawadni Naka On RHS In Gwalior WML	Gwalior	Regular	150	Open	DC	20	20	400	25	60	Draw of Lots	15	5
344	Within 2 Km From Gulmohar Colony Towards Chandrawadni Naka On LHS In Gwalior WML	Gwalior	Regular	150	ST	CFS	20	20	400	0	0	Draw of Lots	0	3
345	With 2 KM from Mau Electricity Office Towards Mehgaon	Bhind	Regular	116	OBC	DC	35	35	1225	25	60	Draw of Lots	15	4
346	Gwalior WML On Gandhi Road	Gwalior	Regular	150	Open	сс	20	20	400	25	10	Bidding	30	5
347	Madhav Rao Sindhiya Raod In Gwalior WML	Gwalior	Regular	150	Open	сс	20	20	400	25	10	Bidding	30	5
348	Within 7Km From Chattri Chowk At Sironj Towards Aron On SH 23	Vidisha	Regular	104	OBC	DC	35	35	1225	25	60	Draw of Lots	15	4
349	Between Gole Ka Madir To 7 No Chouraha In Gwalior WML	Gwalior	Regular	156	ST	CFS	20	20	400	0	0	Draw of Lots	0	3
350	Between Km Stone 36 To 38 On NH -44 RHS On Morena -Dabra Road Moving Towrds Dabra	Gwalior	Regular	160	Open	DC	35	45	1575	25	75	Draw of Lots	15	5
351	Mohna Bypass (LHS) On NH-44 ( Old NH-3) While Moving From Shivpuri To Gwalior	Gwalior	Regular	150	Open	DC	35	45	1575	25	75	Draw of Lots	15	5
352	With in 5 KM from Imli Naka on Veerpur Road IN Gwalior WML	Gwalior	Regular	160	ОВС	DC	20	20	400	25	60	Draw of Lots	15	4
353	Between Madhav Rao Schindia Rd And Govindpuri Sqr On Sachin Tendulkar Rd In Gwalior WML	Gwalior	Regular	150	SC	CFS	20	20	400	0	0	Draw of Lots	0	3

354	Seondha On SH 19	Datia	Regular	114	Open	DC	35	35	1225	25	60	Draw of Lots	15	5
355	Between Vicky Factory Chouraha To Reliance Petrol Pump On LHS On Shivpuri Link Road, Gwalior WML	Gwalior	Regular	150	Open	DC	20	20	400	25	60	Draw of Lots	15	5
356	Between Vicky Factory Chouraha To Reliance Petrol Pump On RHS On Shivpuri Link Road, Gwalior WML	Gwalior	Regular	150	OBC	DC	20	20	400	25	60	Draw of Lots	15	4
357	New Gwalior Sithouli Bypass (Link Road Between NH-44 & NH-3) On LHS Moving From Nayagaon To Sikroda	Gwalior	Regular	152	Open	DC	20	20	400	25	60	Draw of Lots	15	5
358	New Gwalior Sithouli Bypass (Link Road Between NH-44 & NH-3) On RHS Moving From Nayagaon To Sikroda	Gwalior	Regular	150	ST	CFS	20	20	400	0	0	Draw of Lots	0	3
359	Mohna Bypass (RHS) On NH-44 ( Old NH-3) While Moving From Shivpuri To Gwalior	Gwalior	Regular	170	OBC	DC	35	45	1575	25	75	Draw of Lots	15	4
360	From Manit Chouraha To Bhadbhada Bridge On LHS , While Moving Towards Bhadbhada Bridge On Link Road No. 3	Bhopal	Regular	160	Open CC 1	DC	20	20	400	25	60	Draw of Lots	15	5
361	Between Laxmi Gunj Chouraha To Bahodapur Chouraha On Bahodapur Road (Ganesh Mandir) Gwalior WML	Gwalior	Regular	150	Open	DC	20	20	400	25	60	Draw of Lots	15	5
362	Either Side Upto 3 Km From Gouri Ware House, Dhawa, On Dabra Pichore Road	Gwalior	Regular	150	sc	CFS	35	35	1225	0	0	Draw of Lots	0	3
363	With In 3 Km From Baretha Toll Tax On NH-92 Towards Bhind	Gwalior	Regular	155	OBC	DC	35	45	1575	25	75	Draw of Lots	15	4
364	Between Govindpuri Sqr And Sachin Tendulkar Sqr On Sachin Tendulkar Rd Gwalior WML	Gwalior	Regular	150	Open	DC	20	20	400	25	60	Draw of Lots	15	5
365	Between Thatipur Square And Baradari Square On Gandhi Road Gwalior WML	Gwalior	Regular	150	Open	DC	20	20	400	25	60	Draw of Lots	15	5
366	Between Tansen And Thatipur Square On Gandhi Road Gwalior WML	Gwalior	Regular	150	ST	CFS	20	20	400	0	0	Draw of Lots	0	3
367	Between Sitapur To Uprayan On RHS Whille Going From Dabra To Jhansi On NH-44	Datia	Regular	180	OBC	СС	35	45	1575	25	10	Bidding	30	4
368	Between Panihar To Ghatigaon, RHS On NH3 While Going From Gwaliorto Mohna	Gwalior	Regular	150	Open	DC	35	45	1575	25	75	Draw of Lots	15	5
369	From Roshanpura Chouraha to Depot Chouraha on RHS , while moving towards Depot Chouraha	Bhopal	Regular	160	Open CC 2	DC	20	20	400	25	60	Draw of Lots	15	5
370	From Depot Chouraha to Bhadbhada bridge on LHS , while moving towards Bhadbhada bridge	Bhopal	Regular	150	OBC CC 1	DC	20	20	400	25	60	Draw of Lots	15	4
371	From Depot Chouraha to Bhadbhada bridge on RHS , while moving towards Bhadbhada bridge	Bhopal	Regular	150	SC CC 1	CFS	20	20	400	0	0	Draw of Lots	0	3
372	Between Hazira To Gole Ka Mandir Gwaliror WML	Gwalior	Regular	150	Open	DC	20	20	400	25	60	Draw of Lots	15	5

												-		
373	With In 2 Km From Pohari Chouraha In Shivpuri WML Towards Sheopur	Shivpuri	Regular	100	Open	DC	20	20	400	25	45	Draw of Lots	15	5
374	Gol Pahadiya Tiraha To Pts Tighra , Gwalior WML	Gwalior	Regular	170	OBC	DC	20	20	400	25	60	Draw of Lots	15	4
375	Badagaon, On NH 44	Gwalior	Regular	150	ST	CFS	35	45	1575	0	0	Draw of Lots	0	3
376	With In 5 Km From Goraghat Bridge On LHS Moving Towrdas Datia On NH-44	Datia	Regular	150	Open	DC	35	45	1575	25	75	Draw of Lots	15	5
377	Up To Three Km Either Side From Datia Collectrate On NH-44 Gwalior Jhansi Road On LHS	Datia	Regular	180	Open	сс	35	45	1575	25	10	Bidding	30	5
378	With In 5 Km From Sikroda Choraha Towards Gwalior Bypass (Vicky Factory Chouraha)	Gwalior	Regular	180	OBC	DC	20	20	400	25	60	Draw of Lots	15	4
379	Within 3 km from Guna Toll while moving from Guna to Indore on NH46	Guna	Regular	150	Open	DC	35	45	1575	25	75	Draw of Lots	15	5
380	Gwalior WML On Laxmigunj Road	Gwalior	Regular	150	sc	CFS	20	20	400	0	0	Draw of Lots	0	3
381	Bhander On SH 45	Datia	Regular	114	Open	DC	35	35	1225	25	60	Draw of Lots	15	5
382	With In 5 Km From Goraghat Bridge On RHS Moving Towrdas Datia On NH-44	Datia	Regular	150	OBC	DC	35	45	1575	25	75	Draw of Lots	15	4
383	From Roshanpura Chouraha to Depot Chouraha on LHS , while moving towards Depot Chouraha	Bhopal	Regular	150	Open CC 1	DC	20	20	400	25	60	Draw of Lots	15	5
384	Between Gol Pahadiya Tiraha To Laxmi Gunj Chouraha (Gwalior WML)	Gwalior	Regular	150	ST	CFS	20	20	400	0	0	Draw of Lots	0	3
385	Dhandi Sadak In Datia WML	Datia	Regular	100	OBC	DC	20	20	400	25	45	Draw of Lots	15	4
386	Village Chandoha Khurd On NH	Gwalior	Regular	150	Open	DC	35	45	1575	25	75	Draw of Lots	15	5
387	Naplakhedi on SH 18 (Bhopal Indore Highway) on LHS	Sehore	Regular	130	Open	DC	35	45	1575	25	60	Draw of Lots	15	5
388	Between Laxmi Gunj Chouraha To Hanuman Chouraha (WML)	Gwalior	Regular	160	OBC	DC	20	20	400	25	60	Draw of Lots	15	4
389	Datia WML-1	Datia	Regular	132	SC	CFS	20	20	400	0	0	Draw of Lots	0	3
390	Between Lahar Tiraha to Sewda Bust Stand	Datia	Regular	100	Open	DC	20	20	400	25	45	Draw of Lots	15	5
391	Within 4 km from indra gandhi chauraha on NH92 on RHS while moving towards Etawah from Bhind	Bhind	Regular	155	Open	DC	35	45	1575	25	75	Draw of Lots	15	5

392	Village Sitapur On NH-44 Gwalior Jhansi Road	Datia	Regular	175	OBC	DC	35	45	1575	25	75	Draw of Lots	15	4
393	Up To Three Km Either Side From Datia Collectrate On NH-44 Gwalior Jhansi Road On RHS	Datia	Regular	220	ST	CFS	35	45	1575	0	0	Draw of Lots	0	3
394	Mandideep Industrial Area	Raisen	Regular	150	Open	DC	20	20	400	25	45	Draw of Lots	15	5
395	Village Garera on Dinara to Datia Road on SH-19	Datia	Regular	114	Open	DC	35	35	1225	25	60	Draw of Lots	15	5
396	From Pichhore Krishi Upaj Mandi to Nagda Tank (Kanchha) on SH-19	Shivpuri	Regular	100	OBC PH	DC	35	35	1225	25	60	Draw of Lots	15	4
397	Within 6 km from Junction of NH-752C and NH-752B towards Khilchipur on NH 752C	Rajgarh	Regular	150	ST PH	CFS	35	45	1575	0	0	Draw of Lots	0	3
398	With in 5 KM from intersection of NH-3 ( NH-52) & NH-752C on NH-752C Towards Khujner	Rajgarh	Regular	150	Open	DC	35	45	1575	25	75	Draw of Lots	15	5
399	With in 5 KM from Machalpur Bus Stand on Pachore-Soyat Kalan Road.	Rajgarh	Regular	120	Open	DC	35	35	1225	25	60	Draw of Lots	15	5
400	Sandavta on NH-752C ( SH-51 old)	Rajgarh	Regular	150	OBC	DC	35	45	1575	25	75	Draw of Lots	15	4
401	With in 5 KM of Krishi Upaj Mandi Biora on NH-752B Towards Suthaliya	Rajgarh	Regular	150	Open	DC	35	45	1575	25	75	Draw of Lots	15	5
402	Within 5 km of Khichipur Tehsil Office towards Jeerapur on NH-752B old SH-14	Rajgarh	Regular	150	SC	CFS	35	45	1575	0	0	Draw of Lots	0	3
403	Between Km Stone no. 432 and 437 NH-52 Biaora Kota Road	Rajgarh	Regular	200	Open	сс	35	45	1575	25	10	Bidding	30	5
404	Between Km stone no 418 to 414 on NH-52 Biaora Kota Road	Rajgarh	Regular	150	OBC	DC	35	45	1575	25	75	Draw of Lots	15	4
405	Sarangpur WML-1	Rajgarh	Regular	100	Open	DC	20	20	400	25	45	Draw of Lots	15	5
406	With in 3 KM of Suthaliya Police Station on NH-752B (SH-14) Towards Bioara	Rajgarh	Regular	150	ST	CFS	35	45	1575	0	0	Draw of Lots	0	3
407	Village Piplya Deo on NH-52 on Agra Bombay Road	Rajgarh	Regular	170	овс	DC	35	45	1575	25	75	Draw of Lots	15	4
408	Between Km stone no. 300 to 295 on NH-46 towards Biaora to Guna	Rajgarh	Regular	150	Open	DC	35	45	1575	25	75	Draw of Lots	15	5
409	Between Km stone showing Chhapiheda 9km and Chhapiheda 6 km on NH-752C ( old SH-51)	Rajgarh	Regular	155	Open CC 1	DC	35	45	1575	25	75	Draw of Lots	15	5
410	Between KM stone No 460 to 465 on NH-52, Rajgarh to Bioara Road	Rajgarh	Regular	160	OBC	СС	35	45	1575	25	10	Bidding	30	4

411	Naiheda on NH-752B ( Old)SH-14	Rajgarh	Regular	150	ST	CFS	35	45	1575	0	0	Draw of Lots	0	3
412	Between Bairagarh Cemetry to Chiryu Hospital on RHS while Moving towards Indore	Bhopal	Regular	180	Open	DC	20	20	400	25	60	Draw of Lots	15	5
413	Within 5 Kms From Gohad Chouraha Towards Bhind On NH-92	Bhind	Regular	155	Open	DC	35	45	1575	25	75	Draw of Lots	15	5
414	Within 3 km from amayan tirahatowards mau on mau seondha road	Bhind	Regular	114	OBC	DC	35	35	1225	25	60	Draw of Lots	15	4
415	Jigni On Morena Ambah Road NH-552E	Morena	Regular	150	sc	CFS	35	45	1575	0	0	Draw of Lots	0	3
416	Dondari, On Porsa Ater Road on NH-552E	Morena	Regular	150	Open	DC	35	45	1575	25	75	Draw of Lots	15	5
417	Between Jigni And Jewrakheda - On Morena Ambah Road on NH-552E	Morena	Regular	150	Open	DC	35	45	1575	25	75	Draw of Lots	15	5
418	With In 7Km From Morena Choraha Towards Dholpur On NH-3 (Old) New NH-44	Morena	Regular	157	Open	DC	35	45	1575	25	75	Draw of Lots	15	5
419	Budhhera On NH-552E	Morena	Regular	150	OBC CC 1	DC	35	45	1575	25	75	Draw of Lots	15	4
420	Mehgaon on NH-92	Bhind	Regular	180	SC CC 1	CFS	35	45	1575	0	0	Draw of Lots	0	3
421	Vishunpura Panchayat on SH-19	Shivpuri	Regular	114	Open PH	DC	35	35	1225	25	60	Draw of Lots	15	5
422	3 Kms From Sabalgarh Bus Stand Towards Tentra On NH-552E	Morena	Regular	150	OBC	DC	35	45	1575	25	75	Draw of Lots	15	4
423	Phoop On NH-92	Bhind	Regular	160	Open	DC	35	45	1575	25	75	Draw of Lots	15	5
424	Ambah (Between Pipal Chouraha And Porsa Chouraha) On NH-552E	Morena	Regular	150	ST	CFS	35	45	1575	0	0	Draw of Lots	0	3
425	Porsa ( On Ater Road 2 Kms From Porsa)	Morena	Regular	106	Open	DC	20	20	400	25	45	Draw of Lots	15	5
426	Within 2 km from Ghadiyal kendra On NH-44 ( old NH-3) while moving towards Dholpur on RHS	Morena	Regular	150	OBC	DC	35	45	1575	25	75	Draw of Lots	15	4
427	Between KM stone 67 to 70 on NH-92 Gwalior Bhind Road	Bhind	Regular	150	Open	DC	35	45	1575	25	75	Draw of Lots	15	5
428	WITHIN 3 km from Jaura bus stands towards kailaras on MS Road ON NH- 552E	Morena	Regular	150	Open	DC	35	45	1575	25	75	Draw of Lots	15	5
429	Within 3 km from new Bhind Galla mandi towards bus stand on Gwalior Etawah bypass	Bhind	Regular	132	sc	CFS	20	20	400	0	0	Draw of Lots	0	3

430	Nurabad On NH3 ( New NH-44)	Morena	Regular	150	OBC	DC	35	45	1575	25	75	Draw of Lots	15	4
431	With In 5 Km From Sabalgarh Bus Stand Towards Atar On Sabalgarh Atar Road NH-552E	Morena	Regular	150	Open	DC	35	45	1575	25	75	Draw of Lots	15	5
432	Dompura On NH-3 ( New NH-44)	Morena	Regular	150	Open CC 1	DC	35	45	1575	25	75	Draw of Lots	15	5
433	From Aganbadi Kendra,Veerpur Towards Sikander Kampoo Upto 1 Km, On Veerpur Dam Road	Gwalior	Regular	150	ST	CFS	20	20	400	0	0	Draw of Lots	0	3
434	Badagaon On NH-552E	Morena	Regular	150	OBC	DC	35	45	1575	25	75	Draw of Lots	15	4
435	within 2 km From PWD rest house towards kailaras on MS Road NH-552E	Morena	Regular	150	Open	DC	35	45	1575	25	75	Draw of Lots	15	5
436	Tighara on NH-3 ( New NH-44)	Morena	Regular	210	Open	сс	35	45	1575	25	10	Bidding	30	5
437	Between Shopping Center to Mathardev Colony on Chindwara Road	Betul	Regular	100	OBC	DC	20	20	400	25	45	Draw of Lots	15	4
438	Within 3 Km From Morena Tiraha Towards Mungawali On MS Road on NH- 552E	Morena	Regular	150	ST	CFS	35	45	1575	0	0	Draw of Lots	0	3
439	Within 3 km from Chube indane godown at Jaura towards Morena on MS Road on NH-552E	Morena	Regular	150	Open	DC	35	45	1575	25	75	Draw of Lots	15	5
440	Either side from Punjloyd Itd upto 3 km on NH-44 on LHS while moving from Gwalior to Morena	Morena	Regular	200	Open	СС	35	45	1575	25	10	Bidding	30	5
441	Between Chourai Tiraha to Lahar on NH-552E	Bhind	Regular	150	OBC	DC	35	45	1575	25	75	Draw of Lots	15	4
442	Ibrahimpura, Tehsil Berasia,	Bhopal	Regular	132	sc	CFS	20	20	400	0	0	Draw of Lots	0	3
443	Between Km Stone 36 To 39, On LHS While Moving Towrds Mohna, On AH 46	Gwalior	Regular	155	Open	DC	35	45	1575	25	75	Draw of Lots	15	5
444	Bhind city within Municipal limit on Bhind-Etawah road (NH-92)	Bhind	Regular	180	Open	сс	35	45	1575	25	10	Bidding	30	5
445	Village Birkhedi on NH-92 on Bhind Gwalior Road	Bhind	Regular	155	OBC	DC	35	45	1575	25	75	Draw of Lots	15	4
446	Shivpuri WML-2	Shivpuri	Regular	132	ST	CFS	20	20	400	0	0	Draw of Lots	0	3
447	within 2 km from Dak Banglow Tiraha to Mau Road towards Gohad Bus Stand	Bhind	Regular	100	Open	DC	20	20	400	25	45	Draw of Lots	15	5
448	Between KM stone 261 to 258 on NH-12 ( NH-45) on RHS while moving towards Jabalpur	Raisen	Regular	190	OBC	СС	35	45	1575	25	10	Bidding	30	4

449	Within 3 km from intersection of NH 347 B (Old SH 26) and NH 47 towards Hiwarkhedi on NH 347 B	Betul	Regular	150	Open	DC	35	45	1575	25	75	Draw of Lots	15	5
450	Within 3 kms from Gudgaon chouraha on NH 548C ( Old SH43) towards Betul	Betul	Regular	150	Open	DC	35	45	1575	25	75	Draw of Lots	15	5
451	VILLAGE KHEDI SANWLI GARH ON NH 47	Betul	Regular	150	sc	CFS	35	45	1575	0	0	Draw of Lots	0	3
452	Between KM stones 177 to 178 on NH 46 towards Itarsi	Betul	Regular	190	OBC	DC	35	45	1575	25	75	Draw of Lots	15	4
453	Between KM stones 95 to 100 on NH-46 Betul- Hoshnagabad Road	Betul	Regular	180	Open	сс	35	45	1575	25	10	Bidding	30	5
454	Within 2 kms from Hamlapur Chouraha towards Amla	Betul	Regular	115	Open	DC	20	20	400	25	45	Draw of Lots	15	5
455	BAFLA ON SH-15	Harda	Regular	110	ST	CFS	35	35	1225	0	0	Draw of Lots	0	3
456	Within 3 kms from Ghoda Dongri Chouraha on SH 43 towards Betul	Betul	Regular	220	OBC	СС	35	35	1225	25	10	Bidding	30	4
457	Within 3 kms from Kamani gate towards Ranipur on SH 43	Betul	Regular	114	Open	DC	35	35	1225	25	60	Draw of Lots	15	5
458	within 4 kms from Padhar Hospital towards Betul on NH47	Betul	Regular	150	Open CC 1	DC	35	45	1575	25	75	Draw of Lots	15	5
459	Within 5 kms on either side of Reliance Petrol Pump in Bagdona	Betul	Regular	225	OBC	DC	20	20	400	25	45	Draw of Lots	15	4
460	Within 5 kms from Sarni Post office on Chindwara main road towards Chindwara	Betul	Regular	132	ST	CFS	20	20	400	0	0	Draw of Lots	0	3
461	Within 3 kms from NH 46 chouraha on Baretha-Sarni Raod towards Sarni	Betul	Regular	165	Open	DC	20	20	400	25	45	Draw of Lots	15	5
462	Village Chichanda on NH47	Betul	Regular	150	Open	DC	35	45	1575	25	75	Draw of Lots	15	5
463	Between village Hiwarkhedi and village Deogaon On NH-26	Betul	Regular	160	OBC	DC	35	45	1575	25	75	Draw of Lots	15	4
464	Village kothalkind on SH 43	Betul	Regular	108	sc	CFS	35	35	1225	0	0	Draw of Lots	0	3
465	Between village Desli and village Behda On NH 347 B	Betul	Regular	161	Open	DC	35	45	1575	25	75	Draw of Lots	15	5
466	Village Patha Kheda on NH 47 ( Old NH 59A)	Betul	Regular	156	Open	DC	35	45	1575	25	75	Draw of Lots	15	5
467	Between Chicholi Police Station and Malajpur road chouraha on NH59A in Tehsil Chicholi	Betul	Regular	100	OBC	DC	20	20	400	25	45	Draw of Lots	15	4

468	Within 5 kms on either side of Chicholi chouraha on NH 47 (old NH59A )	Betul	Regular	186	Open	DC	35	45	1575	25	75	Draw of Lots	15	5
469	Village khedi on NH 548 C	Betul	Regular	150	ST CC 1	CFS	35	45	1575	0	0	Draw of Lots	0	3
470	Within 5 kms on SH43 from NH26 chouraha (T Section) towards Gudgaon	Betul	Regular	114	Open CC 2	DC	35	35	1225	25	60	Draw of Lots	15	5
471	on SH 43 Between village Jhallar and village saygohan	Betul	Regular	130	OBC CC 1	DC	35	35	1225	25	60	Draw of Lots	15	4
472	Between milestone no. 68 & 70 on NH44 on LHS while moving towards morena from Dholpur	Morena	Regular	155	Open	DC	35	45	1575	25	75	Draw of Lots	15	5
473	Betul WML-2	Betul	Regular	132	ST	CFS	20	20	400	0	0	Draw of Lots	0	3
474	Village Chichdhana on SH43	Betul	Regular	122	OBC	DC	35	35	1225	25	60	Draw of Lots	15	4
475	With In 3 kms from Dunawa hospital on NH 347 (Old NH69A) towards Chindwara	Betul	Regular	180	Open	DC	35	45	1575	25	75	Draw of Lots	15	5
476	Between Kotwali Police Station and Kamani Gate in Betul WML	Betul	Regular	100	Open	DC	20	20	400	25	45	Draw of Lots	15	5
477	on Kalaptha road in Betul WML	Betul	Regular	100	OBC	DC	20	20	400	25	45	Draw of Lots	15	4
478	With In 2 Km From Shiv Chouk In Betul WML	Betul	Regular	132	sc	CFS	20	20	400	0	0	Draw of Lots	0	3
479	Bordi on SH-53	Sehore	Regular	114	Open	DC	35	35	1225	25	60	Draw of Lots	15	5
480	Between km stone 67 and 69 on NH3 ( NEW NH-44) ON LHS while moving from Morena to Dholpur	Morena	Regular	155	Open	DC	35	45	1575	25	75	Draw of Lots	15	5
481	With In 8 KM from Crescent Choraha towards Icchawar on Sehore Icchawar Road on RHS	Sehore	Regular	100	OBC	DC	35	35	1225	25	60	Draw of Lots	15	4
482	From Doraha T-junction to Shyampur Police Station on NH-12 ( New NH- 46) On RHS while moving towards Shyampur	Sehore	Regular	180	ST	CFS	35	45	1575	0	0	Draw of Lots	0	3
483	Vill- Udaipura on NH-12 ( NEW NH-45)	Raisen	Regular	150	Open	DC	35	45	1575	25	75	Draw of Lots	15	5
484	Within 7 KM from Udaipura towards Deori on NH12 (NEW NH-45)	Raisen	Regular	156	Open CC 1	DC	35	45	1575	25	75	Draw of Lots	15	5
485	Lasudliya Vijaysingh on SH 41	Sehore	Regular	150	OBC	DC	35	35	1225	25	60	Draw of Lots	15	4
486	Bijanhai on SH 44	Raisen	Regular	100	ST	CFS	35	35	1225	0	0	Draw of Lots	0	3

487	From Doraha T-junction to Shyampur Police Station on NH-12 ( New NH- 46)on LHS while moving towards Shyampur	Sehore	Regular	150	Open	DC	35	45	1575	25	75	Draw of Lots	15	5
488	Guda On NH3 ( New NH-46) ,Tehsil Kolaras	Shivpuri	Regular	155	Open	DC	35	45	1575	25	75	Draw of Lots	15	5
489	Within 7 kms from Shyampur Police Station towards Kurawar (On LHS) on NH-12 ( NH-46)	Sehore	Regular	180	OBC	DC	35	45	1575	25	75	Draw of Lots	15	4
490	With in 7 KM from HEG Mandideep towards Obedullaganj on NH-12 ( New NH-46) On LHS while moving towards Obedullaganj	Raisen	Regular	350	Open	сс	35	45	1575	25	10	Bidding	30	5
491	Within 2 kms from Collector office Sehore towards Bhopal	Sehore	Regular	132	sc	CFS	20	20	400	0	0	Draw of Lots	0	3
492	Within 5 kms from Doraha T-junction towards Bhopal on NH-12 ( New NH- 46) ON LHS while moving towards Bhopal	Sehore	Regular	150	Open	DC	35	45	1575	25	75	Draw of Lots	15	5
493	Within 7 kms from Shahganj Chouraha towards Badi on SH 15	Sehore	Regular	102	OBC	DC	35	35	1225	25	60	Draw of Lots	15	4
494	Within 5 kms from Budni towards Rehti on NH 146B	Sehore	Regular	150	Open	DC	35	45	1575	25	75	Draw of Lots	15	5
495	Within 4 kms from Bamhori towards Silwani on SH 15	Raisen	Regular	108	SC PH	CFS	35	35	1225	0	0	Draw of Lots	0	3
496	Up to 5 kms on both sides of Sarakiya on Hoshangabad Road NH-46	Raisen	Regular	190	OBC PH	DC	35	45	1575	25	75	Draw of Lots	15	4
497	Within 3 kms from Sehore naka at Nasrullaganj on Nasrullaganj Indore Road SH-22	Sehore	Regular	114	Open	DC	35	35	1225	25	60	Draw of Lots	15	5
498	Barri on NH-12 (NH-46), LHS from Biora to Shyampur	Sehore	Regular	220	Open	сс	35	45	1575	25	10	Bidding	30	5
499	Within 5 kms from Crescent Chouraha towards Indore on SH 18 on LHS	Sehore	Regular	110	OBC	DC	35	45	1575	25	60	Draw of Lots	15	4
500	Within 3 km from Mehra toll towards Gwalior on NH44 on RHS while moving from Morena to Gwalior	Morena	Regular	150	ST	CFS	35	45	1575	0	0	Draw of Lots	0	3
501	Within 3 kms from Sultanpur towards NH 12 on SH 19	Raisen	Regular	114	Open	DC	35	35	1225	25	60	Draw of Lots	15	5
502	Within 2 km from Silo Chauraha towards Jamuniya, Sehore WML	Sehore	Regular	100	Open	DC	20	20	400	25	45	Draw of Lots	15	5
503	With in 7 KMs from Bakhtara towards Shahganj on SH-15	Sehore	Regular	108	OBC	DC	35	35	1225	25	60	Draw of Lots	15	4
504	Within 3 kms from Sehore Mandi Thana towards Shyampur	Sehore	Regular	132	SC	CFS	20	20	400	0	0	Draw of Lots	0	3
505	Within 3 kms from Sultanpur towards Nakhtara on SH 19	Raisen	Regular	114	Open	DC	35	35	1225	25	60	Draw of Lots	15	5

	ו													
506	Between KM stone 10 to 15 on SH-37 (NEW NH-539) on Jhansi Tikamgarh	Tikamgarh	Regular	160	Open	DC	35	45	1575	25	75	Draw of Lots	15	5
507	New Bypass Obedullaganj ( Sadalatpur to GopalPur)	Raisen	Regular	150	Open	DC	35	45	1575	25	75	Draw of Lots	15	5
508	Between Sehore Post Office to SH 18 (Bhopal-Indore Highway Junction) on Sehore Saikdakhedi road On RHS	Sehore	Regular	100	OBC	DC	20	20	400	25	45	Draw of Lots	15	4
509	Betul WML-4	Betul	Regular	132	ST	CFS	20	20	400	0	0	Draw of Lots	0	3
510	Maheshwar on SH 19	Sehore	Regular	114	Open CC 1	DC	35	35	1225	25	60	Draw of Lots	15	5
511	Within 7 km from subhash chandra boss tiraha towards gwalior on NH 92 on RHS	Bhind	Regular	155	OBC	DC	35	45	1575	25	75	Draw of Lots	15	4
512	Within 7 kms from Badi Police Station towards Bareli on NH 12 ( New NH- 45) On RHS while moving towards Bareli	Raisen	Regular	180	Open	сс	35	45	1575	25	10	Bidding	30	5
513	Rafique Ganj on Bhopal- Indore road on SH on LHS while moving towards Indore	Sehore	Regular	108	sc	CFS	35	45	1575	0	0	Draw of Lots	0	3
514	Within 7 kms from Badi Police Station towards Bareli on NH 12 ( New NH- 45) On LHS while moving towards Bareli	Raisen	Regular	160	Open	DC	35	45	1575	25	75	Draw of Lots	15	5
515	Between Nasrullaganj Bus stand to Rehti on SH 22 on RHS while moving towards Rehti	Sehore	Regular	160	OBC	DC	35	45	1575	25	75	Draw of Lots	15	4
516	New Khargone By pass	Raisen	Regular	180	Open	СС	35	45	1575	25	10	Bidding	30	5
517	Between 3 and 15 kms from Fanda Toll Plaza going towards Indore on SH 18 (LHS)	Sehore	Regular	114	Open	DC	35	45	1575	25	60	Draw of Lots	15	5
518	Baraily WML	Raisen	Regular	132	ST CC 1	CFS	20	20	400	0	0	Draw of Lots	0	3
519	Noonnagar on NH 12	Raisen	Regular	156	OBC CC 1	DC	35	45	1575	25	75	Draw of Lots	15	4
520	Within 9 Kms from Bareli towards Badi on NH 12 ( New NH-45)	Raisen	Regular	150	Open	DC	35	45	1575	25	75	Draw of Lots	15	5
521	Salaiya in Bhopal WML	Bhopal	Regular	150	Open PH	DC	20	20	400	25	60	Draw of Lots	15	5
522	With in 3 KM from Silwani Chouraha on SH	Raisen	Regular	100	ST	CFS	35	35	1225	0	0	Draw of Lots	0	3
523	7 kms from Sehore Naka at Nasrullaganj towards Sehore	Sehore	Regular	100	OBC	DC	35	35	1225	25	60	Draw of Lots	15	4
524	4 kms from Rehti Mandi on LHS towards Nasrullaganj on NH 146B	Sehore	Regular	150	Open	DC	35	45	1575	25	75	Draw of Lots	15	5

525	Within 2 kms from Udaipura NH-12 junction towards Gadarwada on SH 44	Raisen	Regular	100	OBC	DC	35	35	1225	25	60	Draw of Lots	15	4
526	With in 7 KM from Baraily on Pipariya Road	Raisen	Regular	110	ST	CFS	35	35	1225	0	0	Draw of Lots	0	3
527	Between KMS 82 and KMS 85 on SH 18 on Bhopal Indore Road LHS going towards Indore	Sehore	Regular	114	Open	DC	35	45	1575	25	60	Draw of Lots	15	5
528	Between Indore Naka and Crescent Square on Sehore- Ichharwar Road	Sehore	Regular	114	Open	DC	35	35	1225	25	60	Draw of Lots	15	5
529	Hinotiya Alam in Bhopal WML	Bhopal	Regular	150	Open	DC	20	20	400	25	60	Draw of Lots	15	5
530	Within 3 km from Malanpur police station towards Bhind malanpur on NH92	Bhind	Regular	160	OBC	DC	35	45	1575	25	75	Draw of Lots	15	4
531	Within 3 kms from Sehore Mandi Thana towards Shyampur (LHS going towards Shyampur)	Sehore	Regular	132	sc	CFS	20	20	400	0	0	Draw of Lots	0	3
532	with in 2 KM of Ashtha Bus stand on old Bhopal Indore Road	Sehore	Regular	120	Open	DC	20	20	400	25	45	Draw of Lots	15	5
533	Gopalpur on SH-22	Sehore	Regular	114	Open CC 1	DC	35	35	1225	25	60	Draw of Lots	15	5
534	3 kms from Bhilkhedi Toll plaza towards Indore on SH 18 Bhopal Indore Road	Sehore	Regular	108	OBC	DC	35	45	1575	25	60	Draw of Lots	15	4
535	Vidisha WML-4	Vidisha	Regular	132	ST	CFS	20	20	400	0	0	Draw of Lots	0	3
536	Village Narwar on Raisen Gairat Ganj Road	Raisen	Regular	114	Open	DC	35	35	1225	25	60	Draw of Lots	15	5
537	Chanderi WML-1	Ashoknagar	Regular	108	OBC	DC	20	20	400	25	45	Draw of Lots	15	4
538	Vijaypura on SH-20	Ashoknagar	Regular	114	Open	DC	35	35	1225	25	60	Draw of Lots	15	5
539	Within 2km from Seji Pahada chauraha on SH20 Guna Ashok Nagar Road	Ashoknagar	Regular	114	Open	DC	35	35	1225	25	60	Draw of Lots	15	5
540	Within 2 kms from chanderi BPCL RO (Pragati Fuel Point) on Chanderi- Pichore on SH-19	Ashoknagar	Regular	108	sc	CFS	35	35	1225	0	0	Draw of Lots	0	3
541	GairatGanj	Raisen	Regular	100	OBC	DC	35	35	1225	25	60	Draw of Lots	15	4
542	Within 2 km from Hotel Varun towards Hanuman Chauraha in Guna WML	Guna	Regular	100	Open	сс	20	20	400	25	10	Bidding	30	5
543	Ratwa on Sironj Road	Vidisha	Regular	150	Open	сс	35	35	1225	25	10	Bidding	30	5

544	Between Km Stone 186 to 191 on LHS side on NH-46 while Moving Towards Indore AB Road	Guna	Regular	150	ST	CFS	35	45	1575	0	0	Draw of Lots	0	3
545	Berkhedi on Guna Fatehgarh Road on SH-23	Guna	Regular	150	OBC	DC	35	35	1225	25	60	Draw of Lots	15	4
546	Between Km Stone 234 to 239 on LHS side on NH-46 while Moving Towards Indore on AB Road	Guna	Regular	180	Open	сс	35	45	1575	25	10	Bidding	30	5
547	Between Km Stone 186 to 191 on RHS side on NH-46 while Moving Towards Indore on AB road	Guna	Regular	150	Open	DC	35	45	1575	25	75	Draw of Lots	15	5
548	Between Km Stone 220 to225 on LHS side on NH-46 while Moving Towards Indore on AB Road	Guna	Regular	150	OBC	DC	35	45	1575	25	75	Draw of Lots	15	4
549	Sehrai on SH 19	Guna	Regular	108	ST	CFS	35	35	1225	0	0	Draw of Lots	0	3
550	Between Km Stone 196 to 201 on LHS side on NH-46 on AB Road Towards Indore	Guna	Regular	150	Open	DC	35	45	1575	25	75	Draw of Lots	15	5
551	Village Dhanora On NH-52 AB Road On LHS Sarangpur To Pachore Road	Rajgarh	Regular	165	Open	DC	35	45	1575	25	75	Draw of Lots	15	5
552	Aron Bypass on SH23	Guna	Regular	108	OBC	DC	35	35	1225	25	60	Draw of Lots	15	4
553	Between Km Stone 285 to 282 on RHS side on NH-46 while Moving Indore on AB Road	Guna	Regular	150	SC	CFS	35	45	1575	0	0	Draw of Lots	0	3
554	Jhagar on Guna Fatehgarh Road on SH23	Guna	Regular	114	Open	DC	35	35	1225	25	60	Draw of Lots	15	5
555	Ruthyai Bypass on NH46 on RHS side from Guna to Biaora	Guna	Regular	280	Open	сс	35	45	1575	25	10	Bidding	30	5
556	JaiSingh Pura on Binaganj Bypass on NH46 on RHS side from Guna to Biaora	Guna	Regular	155	OBC	DC	35	45	1575	25	75	Draw of Lots	15	4
557	Binaganj Bypass on NH46 on LHS side from Guna to Biaora	Guna	Regular	155	Open	DC	35	45	1575	25	75	Draw of Lots	15	5
558	Between Km Stone 275 to 280 on RHS side on NH-46 while Moving Indore	Guna	Regular	180	ST	CFS	35	45	1575	0	0	Draw of Lots	0	3
559	Within 2 KM from Dharnawada BPCL RO KESAR SALES towards RUTHIYAI	Guna	Regular	102	OBC	DC	35	35	1225	25	60	Draw of Lots	15	4
560	From S.V. Polytechnic, Bhopal Chouraha to Hotel Jehanuma Palace, Bhopal on LHS , while moving towards Jehanuma Palace.	Bhopal	Regular	180	Open CC 1	DC	20	20	400	25	60	Draw of Lots	15	5
561	Dunga Sara Chanderi Mungaoli road SH 19	Ashoknagar	Regular	114	Open	DC	35	35	1225	25	60	Draw of Lots	15	5
562	Village DungaSara on NH-46, Bhadaura to Mayana on LHS	Guna	Regular	170	sc	CFS	35	45	1575	0	0	Draw of Lots	0	3

563	Chachauda	Guna	Regular	104	OBC	DC	35	35	1225	25	60	Draw of Lots	15	4
564	Bajrangarh on Guna Aron Road on SH-23	Guna	Regular	114	Open	DC	35	35	1225	25	60	Draw of Lots	15	5
565	Ruthyai Bypass on NH46 on LHS side from Guna to Biaora	Guna	Regular	150	Open	DC	35	45	1575	25	75	Draw of Lots	15	5
566	Within 3 kms from Janjali Police Station on NH-46 on LHS going from	Guna	Regular	150	ST	CFS	35	45	1575	0	0	Draw of Lots	0	3
567	Janjali to Guna Within 4 kms from Bilonia Tigadda (Guna Bypass Tiraha) towards Shivpuri	Guna	Regular	150	OBC	DC	35	45	1575	25	75	Draw of Lots	15	4
568	on NH-46 Between Bhadbhada Bridge to Kerwa Tiraha on RHS while moving	Bhopal		150	Open	DC	20	20	400	25	60	Draw of Lots	15	
500	towards kerwa tiraha on Bhadbhada road	впора	Regular	150	Open	DC	20	20	400	25	60	Draw of Lots	15	5
569	From S.V. Polytechnic, Bhopal Chouraha to Hotel Jehanuma Palace, Bhopal on RHS , while moving towards Jehanuma Palace.	Bhopal	Regular	150	Open CC 2	DC	20	20	400	25	60	Draw of Lots	15	5
570	Sehore WML-3	Sehore	Regular	115	OBC CC 1	DC	20	20	400	25	45	Draw of Lots	15	4
571	From MANIT chouraha to Bhadbhada bridge on LHS , while moving towards Bhadbhada bridge on link road no. 3	Bhopal	Regular	150	SC CC 1	CFS	20	20	400	0	0	Draw of Lots	0	3
572	Guna Bypass on NH46	Guna	Regular	240	Open	сс	35	45	1575	25	10	Bidding	30	5
573	With In 2 Km from Fathgarh Chouraha to Bhidra on SH23	Guna	Regular	114	Open	DC	35	35	1225	25	60	Draw of Lots	15	5
574	Within 3km from Bangla Chauraha towards Vidisha on SH 19	Ashoknagar	Regular	108	овс	DC	35	35	1225	25	60	Draw of Lots	15	4
575	Sehore WML-4	Sehore	Regular	132	ST	CFS	20	20	400	0	0	Draw of Lots	0	3
576	Pilighata on Guna Ashok Nagar Road (SH-20)	Ashoknagar	Regular	114	Open	DC	35	35	1225	25	60	Draw of Lots	15	5
577	Within 2km moving from Ashoknagar new collectorate to Ashoknagar bypass via RajMata Chauraha	Ashoknagar	Regular	108	Open	DC	20	20	400	25	45	Draw of Lots	15	5
578	Partapur on NH-47	Betul	Regular	156	овс	DC	35	45	1575	25	75	Draw of Lots	15	4
579	Mawan on SH-20 Guna Ashok Nagar road	Guna	Regular	114	Open	DC	35	35	1225	25	60	Draw of Lots	15	5
580	Pagara on SH-20	Guna	Regular	108	sc	CFS	35	35	1225	0	0	Draw of Lots	0	3
581	Village Sarwa on NH92	Bhind	Regular	150	Open	DC	35	45	1575	25	75	Draw of Lots	15	5

582	Between Km Stone 206 to 211 on RHS side on NH-46 while Moving Towards Indore on AB Road	Guna	Regular	154	OBC	DC	35	45	1575	25	75	Draw of Lots	15	4
583	From MANIT Chouraha to Kolar road intersection on RHS , while moving towards Kolar road intersection on link road no. 3	Bhopal	Regular	150	Open CC 1	DC	20	20	400	25	60	Draw of Lots	15	5
584	Mugalia Hatt on NH-12 ( NH-46) on RHS while moving from Bhopal to Narsingh Garh	Bhopal	Regular	160	ST	CFS	35	45	1575	0	0	Draw of Lots	0	3
585	Shadora WML-1	Ashoknagar	Regular	108	OBC	DC	20	20	400	25	45	Draw of Lots	15	4
586	From Km Stone 50 To 54 On AH 46	Gwalior	Regular	155	Open	DC	35	45	1575	25	75	Draw of Lots	15	5
587	Tikamgarh WML -1	Tikamgarh	Regular	110	Open	DC	20	20	400	25	45	Draw of Lots	15	5
588	Within 4 km from Collector Office Overbridge towards Digora on NH-539	Tikamgarh	Regular	150	OBC	DC	35	45	1575	25	75	Draw of Lots	15	4
589	DewanGanj on Bhopal-Vidisha Road	Bhopal	Regular	114	sc	CFS	35	35	1225	0	0	Draw of Lots	0	3
590	On Bhopal Bypass ( Between Mubarakpur Chouraha to Arwalia Chouraha on L.H.S while moving towards Arwalia Chouraha)	Bhopal	Regular	155	Open	DC	35	45	1575	25	75	Draw of Lots	15	5
591	Within 4km of Tikamgarh Bus Stand on Tikamgarh Chhatarpur Road	Tikamgarh	Regular	108	Open	DC	20	20	400	25	45	Draw of Lots	15	5
592	Sanchi	Raisen	Regular	160	OBC	DC	35	45	1575	25	75	Draw of Lots	15	4
593	Between Krishi Upaj Mandi Karond to Best Price Karond, Bhopal WML	Bhopal	Regular	150	ST	CFS	20	20	400	0	0	Draw of Lots	0	3
594	On Bhopal Bypass ( Between Arwalia Chouraha to Vidisha-Bhopal Road Chouraha on R.H.S while moving towards Vidisha-Bhopal Road Chouraha)	Bhopal	Regular	155	Open	DC	35	45	1575	25	75	Draw of Lots	15	5
595	With In 2 Km From Zaida Tiraha Sheopur On Kota Road	Sheopur	Regular	114	Open	DC	35	35	1225	25	60	Draw of Lots	15	5
596	Within 7 km from Gohad chauraha towards Gwalior on NH-92 (LHS)	Bhind	Regular	180	OBC PH	сс	35	45	1575	25	10	Bidding	30	4
597	Between Shyampur to Pura on NH 552 E	Sheopur	Regular	150	ST PH	CFS	35	45	1575	0	0	Draw of Lots	0	3
598	Between Barkatullah University to Samardha on Hoshangabad Road on LHS	Bhopal	Regular	190	Open	СС	20	20	400	25	10	Bidding	30	5
599	Village Sendora on Bhopal Raisen Road on RHS while Moving to Raisen	Raisen	Regular	150	Open	DC	35	45	1575	25	75	Draw of Lots	15	5
600	Within 2 km of Gopalpur Bus Stand on SH 22	Sehore	Regular	127	OBC	DC	35	35	1225	25	60	Draw of Lots	15	4

_														
601	Between Adhisthan- via Danapani Road to ParasCity in Bhopal WML	Bhopal	Regular	150	Open	DC	20	20	400	25	60	Draw of Lots	15	5
602	Jhadmau on NH 752C (Old SH-51)	Rajgarh	Regular	160	sc	CFS	35	45	1575	0	0	Draw of Lots	0	3
603	On Bhopal Bypass ( Between Bhopal-Sagar Road Chouraha to Hoshangabad Road Intersection on L.H.S while moving towards Hoshangabad Road Intersection)	Bhopal	Regular	155	Open	DC	35	45	1575	25	75	Draw of Lots	15	5
604	Between Gondipura to Karond Chouraha, on Ayodhya Byepass	Bhopal	Regular	220	овс	DC	20	20	400	25	60	Draw of Lots	15	4
605	On Bhopal Bypass ( Between Arwalia Chouraha to Vidisha-Bhopal Road Chouraha on L.H.S while moving towards Vidisha-Bhopal Road Chouraha)	Bhopal	Regular	155	Open	DC	35	45	1575	25	75	Draw of Lots	15	5
606	Neelbad Bhopal WML	Bhopal	Regular	150	ST	CFS	20	20	400	0	0	Draw of Lots	0	3
607	Bhainsakhedi, Bhopal - Indore road Bhopal WML	Bhopal	Regular	150	OBC	DC	20	20	400	25	60	Draw of Lots	15	4
608	Baghwada on SH-15	Hoshangabad	Regular	114	Open	DC	35	35	1225	25	60	Draw of Lots	15	5
609	Ashtha WML-3	Sehore	Regular	108	Open CC 1	DC	20	20	400	25	45	Draw of Lots	15	5
610	Karond Chouraha to Arwalia Chouraha, On LHS while moving towards Arwalia Chouraha	Bhopal	Regular	150	OBC	DC	20	20	400	25	60	Draw of Lots	15	4
611	Sultania Road in Bhopal WML	Bhopal	Regular	150	ST	CFS	20	20	400	0	0	Draw of Lots	0	3
612	Ganj Basoda WML-1	Vidisha	Regular	100	Open	DC	20	20	400	25	45	Draw of Lots	15	5
613	With In 5 Km From Padora Crossing (Intersection Of NH46 And NH27) While Moving From Shivpuri To Guna On NH46 On LHS	Shivpuri	Regular	155	Open	DC	35	45	1575	25	75	Draw of Lots	15	5
614	Sheopura on NH- 27	Shivpuri	Regular	166	OBC	DC	35	45	1575	25	75	Draw of Lots	15	4
615	Village Amrawad Khurd Bhopal WML	Bhopal	Regular	192	sc	CFS	20	20	400	0	0	Draw of Lots	0	3
616	Barangi on SH-15	Harda	Regular	114	Open	DC	35	35	1225	25	60	Draw of Lots	15	5
617	Dharmkundi To Seoni Malwa On SH - 15	Hoshangabad	Regular	114	Open	DC	35	35	1225	25	60	Draw of Lots	15	5
618	Between DRM office to Awadhpuri Police Station Bhopal WML	Bhopal	Regular	150	Open	DC	20	20	400	25	60	Draw of Lots	15	5
619	From Bhanpur Chouraha to Chopra Kalan on Bhopal Vidisha Road, on RHS while moving towards Vidisha	Bhopal	Regular	152	OBC CC 1	DC	20	20	400	25	60	Draw of Lots	15	4

620	Lalghati to Peergate on LHS, while moving towards Peergate	Bhopal	Regular	160	SC CC 1	CFS	20	20	400	0	0	Draw of Lots	0	3
621	Berasia Chowk to Sironj road intersection on Bhopal Vidisha Road, on RHS while going towards Vidisha	Bhopal	Regular	114	Open PH	DC	35	35	1225	25	60	Draw of Lots	15	5
622	ON Vidisha Byepass in Distt. Raisen Part	Raisen	Regular	170	OBC	DC	35	45	1575	25	75	Draw of Lots	15	4
623	Village Bhusibenta,On Nakhtara to Sultanpur Road	Raisen	Regular	114	Open	DC	35	35	1225	25	60	Draw of Lots	15	5
624	Datia Bhander Road (within 2 km of Datia Grain Mandi)	Datia	Regular	132	ST	CFS	20	20	400	0	0	Draw of Lots	0	3
625	Between Barkatullah University to Samardha on Hoshangabad Road on RHS	Bhopal	Regular	190	Open	сс	20	20	400	25	10	Bidding	30	5
626	From DD Nager Towards Shanichara, On Village Bhadrouli Gwalior WML	Gwalior	Regular	150	OBC	DC	20	20	400	25	60	Draw of Lots	15	4
627	On Bhopal Bypass ( Between Bhopal-Vidisha Road Chouraha to Bhopal- Sagar Road Chouraha on R.H.S while moving towards Bhopal Sagar road chouraha)	Bhopal	Regular	170	Open	DC	35	45	1575	25	75	Draw of Lots	15	5
628	Between Km Stone 17 To 20, On NH 44	Gwalior	Regular	160	Open	DC	35	45	1575	25	75	Draw of Lots	15	5
629	From Rawatpura Sarkar Engineering College Towards Jhashi Upto 4 Km, On NH 44	Datia	Regular	260	SC	CFS	35	45	1575	0	0	Draw of Lots	0	3
630	Khamaria Nimawar on NH-12	Raisen	Regular	155	OBC	DC	35	45	1575	25	75	Draw of Lots	15	4
631	On VIP Road between Karbala to Hotel Imperial Sabre Bhopal WML	Bhopal	Regular	230	Open	DC	20	20	400	25	60	Draw of Lots	15	5
632	Raisen WML-4	Raisen	Regular	100	Open CC 1	DC	20	20	400	25	45	Draw of Lots	15	5
633	Between Narad SS (Petrol Pump ) to Karond Chouraha on RHS while moving towards karond Chouraha	Bhopal	Regular	160	ST	CFS	20	20	400	0	0	Draw of Lots	0	3
634	Shivpuri WML-3	Shivpuri	Regular	100	OBC	DC	20	20	400	25	45	Draw of Lots	15	4
635	From Shinde Ki Chawani Chouraha Towards Drp Line Upto 1 Km Gwalior WML	Gwalior	Regular	150	Open	DC	20	20	400	25	60	Draw of Lots	15	5
636	Lalghati Chouraha to Colonel Corner's colony on RHS while moving towards colonel corner colony on airport road.	Bhopal	Regular	230	Open	DC	20	20	400	25	60	Draw of Lots	15	5
637	Karond Chouraha to Arwalia Chouraha, On RHS while moving towards Arwalia Chouraha	Bhopal	Regular	170	OBC	DC	20	20	400	25	60	Draw of Lots	15	4
638	Bhopal WML-3	Bhopal	Regular	150	ST	CFS	20	20	400	0	0	Draw of Lots	0	3

639	On Village Billheti on Ratwai Chitora Road	Gwalior	Regular	114	Open	DC	35	35	1225	25	60	Draw of Lots	15	5
640	Barkheda Pathani Bhopal WML	Bhopal	Regular	240	Open	DC	20	20	400	25	60	Draw of Lots	15	5
641	Within 2 km from Mau Electricity office towards mehgaon on Mau Mehgaon road	Bhind	Regular	170	OBC	DC	20	20	400	25	60	Draw of Lots	15	4
642	Village Masan Gaon on Harda- Khandwa Road	Harda	Regular	156	SC	CFS	35	35	1225	0	0	Draw of Lots	0	3
643	With in 10 KM from IOCL Petrolpump SH Auto towards Salamatpur on NH- 146	Raisen	Regular	170	Open	DC	35	45	1575	25	75	Draw of Lots	15	5
644	On Bhopal Bypass ( Between Mobarakpur Chouraha to Bhopal Indore road Intersection on R.H.S while moving towards Bhopal indore Road Intersection)	Bhopal	Regular	150	Open	DC	35	45	1575	25	75	Draw of Lots	15	5
645	Semra on SH-18	Raisen	Regular	116	OBC	сс	35	35	1225	25	10	Bidding	30	4
646	From Arwalia chouraha to Eintkhedi on Berasia Road on RHS while moving towards Berasia	Bhopal	Regular	108	ST	CFS	35	35	1225	0	0	Draw of Lots	0	3
647	WITHIN 3 KM FROM MEHGAON-GORMI TIRAHA (TOWARDS BHIND) ON NH-92 (LHS)	Bhind	Regular	155	Open	DC	35	45	1575	25	75	Draw of Lots	15	5
648	Kesla on NH-69 Hoshangabad to Betul Road	Hoshangabad	Regular	156	OBC	DC	35	45	1575	25	75	Draw of Lots	15	4
649	From Mobarakpur chouraha towards Narsinghgarh, On Bhopal - Narsinghgarh road , in Bhopal District	Bhopal	Regular	150	Open	DC	35	45	1575	25	75	Draw of Lots	15	5
650	Between Fanda to Khajuri on LHS while moving from Fanda to Khajuri	Bhopal	Regular	150	Open	DC	35	35	1225	25	60	Draw of Lots	15	5
651	From Sagartal Chouraha Towards Jalalpur Road Upto 2 Km Gwalior WML	Gwalior	Regular	160	SC	CFS	20	20	400	0	0	Draw of Lots	0	3
652	Between Km Stone 12 To 14 On SH 51, Dabra-Bhitharwar Road	Gwalior	Regular	120	OBC	DC	35	35	1225	25	60	Draw of Lots	15	4
653	From Purani Chawani, Sard Chouraha Towards Gole Ka Mandir Upto 1 Km Gwalior WML	Gwalior	Regular	160	Open	DC	20	20	400	25	60	Draw of Lots	15	5
654	Village Bapehi on NH-46 Biaora Guna Road on LHS while moving To Guna	Rajgarh	Regular	180	Open	DC	35	45	1575	25	75	Draw of Lots	15	5
655	Udguwan on SH-19	Datia	Regular	160	ST	CFS	35	35	1225	0	0	Draw of Lots	0	3
656	3 Km From Purankhedi Toll Plaza On NH46	Shivpuri	Regular	156	OBC	DC	35	45	1575	25	75	Draw of Lots	15	4
657	Village Achroni on SH-19	Shivpuri	Regular	114	Open	DC	35	35	1225	25	60	Draw of Lots	15	5

658	On RHS from(between) Udaipura to Deori on NH12 ( New NH-45)	Raisen	Regular	155	Open CC 1	DC	35	45	1575	25	75	Draw of Lots	15	5
659	3 Km From Ramnagar Toll Plaza Towards Jhansi On NH27	Shivpuri	Regular	156	OBC	DC	35	45	1575	25	75	Draw of Lots	15	4
660	Harda WML-1	Harda	Regular	132	ST	CFS	20	20	400	0	0	Draw of Lots	0	3
661	Karmasan Hatta On Tikamgarh To Chatarpur NH-43E	Tikamgarh	Regular	155	Open	DC	35	45	1575	25	75	Draw of Lots	15	5
662	From Village Bilkhiriya Kalan To Sendora On NH-146	Raisen	Regular	150	Open	DC	35	45	1575	25	75	Draw of Lots	15	5
663	Vill - Hinotiya On NH-346	Vidisha	Regular	150	OBC	DC	35	45	1575	25	75	Draw of Lots	15	4
664	Vill- Chak Masoodpur On New NH-346	Vidisha	Regular	160	sc	CFS	35	45	1575	0	0	Draw of Lots	0	3
665	Between Central Jail To Karond Chouraha On Bypass On LHS In Bhopal WML While Moving Towards Karond Chouraha	Bhopal	Regular	150	Open	DC	20	20	400	25	60	Draw of Lots	15	5
666	Between Km Stone 46 To 48 On NH 44, On NH 44	Gwalior	Regular	155	Open	DC	35	45	1575	25	75	Draw of Lots	15	5
667	Village Pipalner on Bhopal Bairasia Road	Bhopal	Regular	120	OBC	DC	35	35	1225	25	60	Draw of Lots	15	4
668	Village Dehgaon on Raisen GairatGanj Road	Raisen	Regular	114	Open	DC	35	35	1225	25	60	Draw of Lots	15	5
669	On LHS from(between) Udaipura to Deori on NH12 ( New NH-45)	Raisen	Regular	168	ST CC 1	CFS	35	45	1575	0	0	Draw of Lots	0	3
670	With in 5 KM from Karariya Chouraha towards Mehlua on new NH-346	Vidisha	Regular	155	Open CC 2	DC	35	45	1575	25	75	Draw of Lots	15	5
671	On LHS from(between) Batera T-junction to Udaipura on NH 12 ( New NH- 45)	Raisen	Regular	160	OBC CC 1	DC	35	45	1575	25	75	Draw of Lots	15	4
672	Within 1 km from Pared chauraha Bhind towards Gwalior on LHS	Bhind	Regular	150	Open	сс	20	20	400	25	10	Bidding	30	5
673	Village Amkheda on Raisen Gairat Ganj Road on SH	Raisen	Regular	108	ST	CFS	35	35	1225	0	0	Draw of Lots	0	3
674	Vill - Hirapur On Gormi To Mehgaon Road	Bhind	Regular	120	OBC	DC	35	35	1225	25	60	Draw of Lots	15	4
675	Village Bamhori on NH-12 ( NH-45) Bhopal Jabalpur Road	Raisen	Regular	155	Open	DC	35	45	1575	25	75	Draw of Lots	15	5
676	Village Adampur chhawani, On Bhopal- Raisen Road	Bhopal	Regular	150	Open	DC	35	45	1575	25	75	Draw of Lots	15	5

· · · · · ·		1		1							r	r		
677	Golkhedi on SH-23	Bhopal	Regular	120	OBC	DC	35	35	1225	25	60	Draw of Lots	15	4
678	Puran Khedi On NH-3 ( New NH 46)	Shivpuri	Regular	160	sc	CFS	35	45	1575	0	0	Draw of Lots	0	3
679	With In 2 Km From Goraghat Bridge On Either Side Moving Towrdas Gwalior On NH-44	Gwalior	Regular	155	Open	DC	35	45	1575	25	75	Draw of Lots	15	5
680	From NH 44 Crossing, Anand Dhaba Towards Morar Upto 1 Km ,On Sachin Tendulkar Extension Marg	Gwalior	Regular	150	Open	DC	20	20	400	25	60	Draw of Lots	15	5
681	Within 2 Km From NH Mayana Jn Towards Shivpuri On NH - 46	Guna	Regular	160	OBC	DC	35	45	1575	25	75	Draw of Lots	15	4
682	Shahgunj on SH-15	Sehore	Regular	108	ST	CFS	35	35	1225	0	0	Draw of Lots	0	3
683	Between KM stone 7 to 10 on Vidisha Road	Bhopal	Regular	114	Open	DC	35	35	1225	25	60	Draw of Lots	15	5
684	Sehatganj on Bhopal - Raisen Road	Raisen	Regular	156	Open CC 1	DC	35	45	1575	25	75	Draw of Lots	15	5
685	In Naron Gaon on SH 19 Gram Panchayat Singhpur Chalda	Ashoknagar	Regular	120	OBC	DC	35	35	1225	25	60	Draw of Lots	15	4
686	Between Mata Mandir to Bhadbhada Road, Bhopal	Bhopal	Regular	150	ST	CFS	20	20	400	0	0	Draw of Lots	0	3
687	Malanpur on NH-92 LHS WHILE MOVING TOWARDS BHIND	Bhind	Regular	154	Open	DC	35	45	1575	25	75	Draw of Lots	15	5
688	Peepalner in Bhopal WML	Bhopal	Regular	150	Open	сс	20	20	400	25	10	Bidding	30	5
689	Bhind WML-2	Bhind	Regular	120	OBC	DC	20	20	400	25	45	Draw of Lots	15	4
690	Betul WML-1	Betul	Regular	108	Open	DC	20	20	400	25	45	Draw of Lots	15	5
691	Kaitha on NH-552E	Bhind	Regular	150	sc	CFS	35	45	1575	0	0	Draw of Lots	0	3
692	Between Mahanim & Naharyai on Bersia Road	Vidisha	Regular	114	Open	DC	35	35	1225	25	60	Draw of Lots	15	5
693	Ater on NH-552E	Bhind	Regular	150	OBC	DC	35	45	1575	25	75	Draw of Lots	15	4
694	Within 7 km from subhash chandra boss tiraha Bhind towards Gwalior on NH 92 LHS	Bhind	Regular	150	Open	DC	35	45	1575	25	75	Draw of Lots	15	5
695	Within 10 kms from Deori on NH 12 (New NH 45) while travelling towards Jabalpur on LHS	Raisen	Regular	168	SC PH	CFS	35	45	1575	0	0	Draw of Lots	0	3

696	Bagaspur on NH 12 ( NH-45)	Raisen	Regular	160	OBC PH	DC	35	45	1575	25	75	Draw of Lots	15	4
697	Athner on Bhainsdehi Multai road	Betul	Regular	108	Open	DC	20	20	400	25	45	Draw of Lots	15	5
698	Baretha 1 km towards Betul or Itarsi	Betul	Regular	155	Open	DC	35	45	1575	25	75	Draw of Lots	15	5
699	Sarni (Tirupati Balaji Ward No. 12)	Betul	Regular	120	OBC	DC	20	20	400	25	45	Draw of Lots	15	4
700	Khedi on NH-59 A	Betul	Regular	168	ST	CFS	35	45	1575	0	0	Draw of Lots	0	3
701	Betul Byepass, on National Highway, on LHS while moving towards Nagpur	Betul	Regular	180	Open	СС	35	45	1575	25	10	Bidding	30	5
702	Between Bhoura and Magardoh on NH 46 (oldNH-69)	Betul	Regular	155	Open	DC	35	45	1575	25	75	Draw of Lots	15	5
703	Lahar WML	Bhind	Regular	120	OBC	DC	20	20	400	25	45	Draw of Lots	15	4
704	Village Barri Cheer Kheda on Bersia-Vidisha Road	Bhopal	Regular	150	sc	CFS	20	20	400	0	0	Draw of Lots	0	3
705	Bairagarh to Phanda on SH-18 ( RHS)	Bhopal	Regular	114	Open	DC	35	35	1225	25	60	Draw of Lots	15	5
706	Maida Mill (Between RBI and Subash Nagar Underbridge)	Bhopal	Regular	150	Open	DC	20	20	400	25	60	Draw of Lots	15	5
707	GUNA WML-1	Guna	Regular	108	Open	DC	20	20	400	25	45	Draw of Lots	15	5
708	Penchi on NH-46 ON LHS while moving Towards Indore	Guna	Regular	160	OBC	DC	35	45	1575	25	75	Draw of Lots	15	4
709	Within 10 kms from Deori on NH 12 (New NH 45) while travelling towards Jabalpur on RHS	Raisen	Regular	168	ST	CFS	35	45	1575	0	0	Draw of Lots	0	3
710	On RHS from(between) Batera T-junction to Udaipura on NH 12 ( NH-45)	Raisen	Regular	155	Open CC 1	DC	35	45	1575	25	75	Draw of Lots	15	5
711	Harda City (on Timarni Road)	Harda	Regular	120	OBC	DC	20	20	400	25	45	Draw of Lots	15	4
712	Harda-Chipaner Road (from Milk Dairy Circle towards Chipaner on either side)	Harda	Regular	108	Open	DC	20	20	400	25	45	Draw of Lots	15	5
713	Hoshangabad City (on Babai Road)	Hoshangabad	Regular	132	sc	CFS	20	20	400	0	0	Draw of Lots	0	3
714	Hoshangabad WML-2	Hoshangabad	Regular	108	Open	DC	20	20	400	25	45	Draw of Lots	15	5

715	Banapura-Seonimalwa Bypass Road on SH-15	Hoshangabad	Regular	120	OBC	DC	35	35	1225	25	60	Draw of Lots	15	4
716	Khajuri Kalan Between Vidhya Sagar Institute of Management to Kanchan nagar Colony Square in Bhopal WML	Bhopal	Regular	150	Open	DC	20	20	400	25	60	Draw of Lots	15	5
717	Between KM Stone 13 to 15 on RHS on Tikamgarh-Chatarpur Road on NH- 43E	Tikamgarh	Regular	155	Open	DC	35	45	1575	25	75	Draw of Lots	15	5
718	With in 5 KM of 34 Mile Junction on NH-12 ( NH-45) Jabalpur Road	Raisen	Regular	155	ST CC 1	CFS	35	45	1575	0	0	Draw of Lots	0	3
719	Within 5 kms from Ladkui towards Nasrullaganj on SH 53	Sehore	Regular	120	OBC CC 1	DC	35	35	1225	25	60	Draw of Lots	15	4
720	Between Karond fly over and Minal Residency Gate no 3 in Bhopal WML on Ayodhya bypass	Bhopal	Regular	150	Open	DC	20	20	400	25	60	Draw of Lots	15	5
721	From Bilauwa Police Station Towards Ikona Upto 5 Km	Gwalior	Regular	114	Open PH	DC	35	35	1225	25	60	Draw of Lots	15	5
722	Indergarh On NH-3 ( New NH-46)	Shivpuri	Regular	168	ST	CFS	35	45	1575	0	0	Draw of Lots	0	3
723	Within 2 Km From Ramnagar Toll Towards Kota On NH27 On Shivpuri Kota Road	Shivpuri	Regular	160	OBC	DC	35	45	1575	25	75	Draw of Lots	15	4
724	Vidisha City	Vidisha	Regular	108	Open	DC	20	20	400	25	45	Draw of Lots	15	5
725	Witin 2 Km From Shasakiya Model School,Dabra Towards Gwalior On Jhansi Gwalior Road	Gwalior	Regular	160	OBC	DC	35	45	1575	25	75	Draw of Lots	15	4
726	Ashta WML-1	Sehore	Regular	132	ST	CFS	20	20	400	0	0	Draw of Lots	0	3
727	Kajikhedi on SH-18	Sehore	Regular	114	Open	DC	35	45	1575	25	60	Draw of Lots	15	5
728	Sonda (on SH-18)	Sehore	Regular	114	Open	DC	35	45	1575	25	60	Draw of Lots	15	5
729	Pichhore on SH	Shivpuri	Regular	114	Open	DC	35	35	1225	25	60	Draw of Lots	15	5
730	Nanakpur on Ashta Kannod Road	Sehore	Regular	120	OBC	DC	35	35	1225	25	60	Draw of Lots	15	4
731	Biaora WML-3	Rajgarh	Regular	132	sc	CFS	20	20	400	0	0	Draw of Lots	0	3
732	Lasudiya Kangar on Nasrullganj Road	Sehore	Regular	108	Open	DC	35	35	1225	25	60	Draw of Lots	15	5
733	Between Anchalkheda to Tawapool on SH-22	Hoshangabad	Regular	114	Open CC 1	DC	35	35	1225	25	60	Draw of Lots	15	5

		1			1		,			1		,		
734	Sheopur WML-4	Sheopur	Regular	120	OBC	DC	20	20	400	25	45	Draw of Lots	15	4
735	Silwani (on State Highway)	Raisen	Regular	108	ST	CFS	35	35	1225	0	0	Draw of Lots	0	3
736	Pratap Pura on NH-552E	Bhind	Regular	150	Open	DC	35	45	1575	25	75	Draw of Lots	15	5
737	Amla WML-2	Betul	Regular	120	OBC	DC	20	20	400	25	45	Draw of Lots	15	4
738	Km Stone From 76 To 78 On LHS On Gwalior - Shivpuri Road While Moving Towards Shivpuri On NH46 (Old NH3)	Shivpuri	Regular	155	Open	DC	35	45	1575	25	75	Draw of Lots	15	5
739	Between Sada Circle (Atal Dwar) to Bahodapur Tiraha on old AB Road in Gwalior City	Gwalior	Regular	150	Open	DC	20	20	400	25	60	Draw of Lots	15	5
740	Within 5 kms of Ganj Basoda New Bus Stand on Bypass Road	Vidisha	Regular	132	sc	CFS	20	20	400	0	0	Draw of Lots	0	3
741	Keolari on SH 22	Hoshangabad	Regular	120	OBC	DC	35	35	1225	25	60	Draw of Lots	15	4
742	Panda Gaon on SH-22	Sehore	Regular	114	Open	DC	35	35	1225	25	60	Draw of Lots	15	5
743	Attari Khejda on NH-146	Vidisha	Regular	155	Open	DC	35	45	1575	25	75	Draw of Lots	15	5
744	Sironj WML-2	Vidisha	Regular	132	ST	CFS	20	20	400	0	0	Draw of Lots	0	3
745	Betul WML	Betul	Regular	120	OBC	DC	20	20	400	25	45	Draw of Lots	15	4
746	Saikhera on SH-15, on Kundali to Silwani Road	Raisen	Regular	114	Open	DC	35	35	1225	25	60	Draw of Lots	15	5
747	Sersa On Datia Unao Road Block Datia Tehsil Datia	Datia	Regular	114	Open	DC	35	35	1225	25	60	Draw of Lots	15	5
748	Dhochara on NH-552E	Bhind	Regular	150	OBC	DC	35	45	1575	25	75	Draw of Lots	15	4
749	Bhopal to Berasia from Chainage Berasia 18 kms to Chainage Berasia 15 kms on LHS on SH-23	Bhopal	Regular	114	ST	CFS	35	35	1225	0	0	Draw of Lots	0	3
750	Badera Sopan on SH-45	Datia	Regular	114	Open	DC	35	35	1225	25	60	Draw of Lots	15	5
751	Between Hoshangabad Bypass to Sawalkheda on SH-15	Hoshangabad	Regular	114	Open	DC	35	35	1225	25	60	Draw of Lots	15	5
752	Between kms stone from 1360 to 1365 on NH-27 (Jhansi Road)	Shivpuri	Regular	160	OBC	DC	35	45	1575	25	75	Draw of Lots	15	4

753	Tehra on NH-552E	Morena	Regular	150	sc	CFS	35	45	1575	0	0	Draw of Lots	0	3
754	Hivarkhedi on NH 47 ( old NH-59A)	Betul	Regular	155	Open	DC	35	45	1575	25	75	Draw of Lots	15	5
755	From Sadwaha Tiraha Towards Unao Upto 1 Km Datia WML	Datia	Regular	108	Open	DC	20	20	400	25	45	Draw of Lots	15	5
756	Between km stone no. 77 & 79 on NH44 on LHS while moving towards Dholpur from Morena	Morena	Regular	160	OBC	DC	35	45	1575	25	75	Draw of Lots	15	4
757	Itarsi WML-1	Hoshangabad	Regular	108	Open	DC	20	20	400	25	45	Draw of Lots	15	5
758	Harda WML-1	Harda	Regular	132	ST	CFS	20	20	400	0	0	Draw of Lots	0	3
759	Itarsi WML-2	Hoshangabad	Regular	120	OBC	DC	20	20	400	25	45	Draw of Lots	15	4
760	Sehore WML-1	Sehore	Regular	108	Open CC 1	DC	20	20	400	25	45	Draw of Lots	15	5
761	On the road connecting Varenyam Motors on JK Road to Bharat Nagar T point	Bhopal	Regular	150	Open	DC	20	20	400	25	60	Draw of Lots	15	5
762	Between Dobda and Palabey on NH-46 on RHS while moving towards Guna	Rajgarh	Regular	168	sc	CFS	35	45	1575	0	0	Draw of Lots	0	3
763	Vidisha WML-5	Vidisha	Regular	120	OBC	DC	20	20	400	25	45	Draw of Lots	15	4
764	On Kolar road, From Chuna Bhatti to Tulip Greens Fortune Soumya Housing	Bhopal	Regular	150	Open	DC	20	20	400	25	60	Draw of Lots	15	5
765	Kukaoli on NH 346 Mungawali Road	Ashoknagar	Regular	150	Open	DC	35	45	1575	25	75	Draw of Lots	15	5
766	BaghMuglia on 80 Feet Road Bhopal WML	Bhopal	Regular	150	ST	CFS	20	20	400	0	0	Draw of Lots	0	3
767	Masangaon on Harda Khandwa Road SH- 15	Harda	Regular	120	OBC	DC	35	35	1225	25	60	Draw of Lots	15	4
768	Bhander WML	Datia	Regular	108	Open	DC	20	20	400	25	45	Draw of Lots	15	5
769	Arera Hills, Bhopal	Bhopal	Regular	150	Open CC 2	DC	20	20	400	25	60	Draw of Lots	15	5
770	Between Narad SS (Petrol Pump ) to Karond Chouraha on LHS while moving towards karond Chouraha	Bhopal	Regular	170	OBC CC 1	DC	20	20	400	25	60	Draw of Lots	15	4
771	Within 3 kms from Badi NH 12 intersection on SH 15	Raisen	Regular	108	SC CC 1	CFS	35	35	1225	0	0	Draw of Lots	0	3

w of Lots 15 w of Lots 15 w of Lots 15 w of Lots 0 w of Lots 15 w of Lots 15	
w of Lots 15 w of Lots 0 w of Lots 15 w of Lots 15 w of Lots 15 w of Lots 15	
w of Lots 0 w of Lots 15 w of Lots 15 w of Lots 15	
w of Lots 15 w of Lots 15 w of Lots 15	
w of Lots 15 w of Lots 15	
w of Lots 15	
w of Lots 15	
w of Lots 0	
w of Lots 15	
ding 30	
w of Lots 15	
w of Lots 0	
w of Lots 15	
w of Lots 15	
w of Lots 15	:
w of Lots 15	
w of Lots 0	:
w of Lots 15	
wwwwwwwwwwwwwwwwwwwwwwwwwwwwwwwwwwwwww	of Lots 15 ng 30 of Lots 15 of Lots 0 of Lots 15 of Lots 15 of Lots 15 of Lots 15 of Lots 15 of Lots 15 of Lots 0

791	between milestone no. 72 & 74 on NH44 on LHS while moving towards morena from Dholpur	Morena	Regular	155	Open	DC	35	45	1575	25	75	Draw of Lots	15	5
792	Bhopal WML-5	Bhopal	Regular	150	OBC	DC	20	20	400	25	60	Draw of Lots	15	4
793	Bhopal WML-4	Bhopal	Regular	150	ST	CFS	20	20	400	0	0	Draw of Lots	0	3
794	between milestone no. 72 & 75 on NH44 on LHS while moving towards Dholpur from Morena	Morena	Regular	155	Open	DC	35	45	1575	25	75	Draw of Lots	15	5
795	Within 3 km from Mehra toll towards Agra on NH 44	Morena	Regular	155	Open	DC	35	45	1575	25	75	Draw of Lots	15	5
796	Gwalior WML-9	Gwalior	Regular	150	OBC PH	DC	20	20	400	25	60	Draw of Lots	15	4
797	Either Side Between Km Stone 24 To 26,While Moving Towrds Dabra, On NH 44	Gwalior	Regular	168	ST PH	CFS	35	45	1575	0	0	Draw of Lots	0	3
798	Between Birla Nager Iti College To Hazira Police Station Gwalior WML	Gwalior	Regular	150	Open	DC	20	20	400	25	60	Draw of Lots	15	5
799	1 Km From Gole Ka Mandir On Bhind Road Gwalior WML	Gwalior	Regular	150	Open	DC	20	20	400	25	60	Draw of Lots	15	5
800	Between Km Stone 28 To 29, On RHS While Moving Towrds Dabra, On NH 44	Gwalior	Regular	160	OBC	DC	35	45	1575	25	75	Draw of Lots	15	4
801	within 2km from Phoop municipal limit towards bhind on NH92	Bhind	Regular	155	Open	DC	35	45	1575	25	75	Draw of Lots	15	5
802	Between KM stone 20 to 22 on SH-20 ( Guna -Ashok nagar Road)	Ashoknagar	Regular	120	SC	CFS	35	35	1225	0	0	Draw of Lots	0	3
803	Within 2 km From Shri ram Banmore collage gate on RHS while moving from Gwalior to Morena	Morena	Regular	155	Open	DC	35	45	1575	25	75	Draw of Lots	15	5
804	Banmore on NH44	Morena	Regular	160	OBC	DC	35	45	1575	25	75	Draw of Lots	15	4
805	Bahua on NH-92	Bhind	Regular	155	Open	DC	35	45	1575	25	75	Draw of Lots	15	5
806	Within 10 kms from Budni towards Rehti on NH-146B	Sehore	Regular	150	ST	CFS	35	45	1575	0	0	Draw of Lots	0	3
807	Behta On NH- 44 Bypaas	Gwalior	Regular	160	OBC	DC	35	45	1575	25	75	Draw of Lots	15	4
808	Between Milestone no. 90 & 92 on NH44 AB Road	Morena	Regular	155	Open	DC	35	45	1575	25	75	Draw of Lots	15	5
809	Within 1 km of Bhopal Naka Sehore	Sehore	Regular	108	Open CC 1	DC	20	20	400	25	45	Draw of Lots	15	5

810	Pandukhedi On NH 69	Hoshangabad	Regular	160	OBC	DC	35	45	1575	25	75	Draw of Lots	15	4
811	Within 10 kms of Batera NH 12 intersection on SH 15	Raisen	Regular	114	ST	CFS	35	35	1225	0	0	Draw of Lots	0	3
812	Between KM Stone 234 to 236 on Hoshangabad - Pipariya Road SH22	Hoshangabad	Regular	114	Open	DC	35	35	1225	25	60	Draw of Lots	15	5
813	Jogidata on NH-46	Rajgarh	Regular	155	Open	DC	35	45	1575	25	75	Draw of Lots	15	5
814	Khujner on NH-752 C	Rajgarh	Regular	160	OBC	DC	35	45	1575	25	75	Draw of Lots	15	4
815	Gwalior WML-5	Gwalior	Regular	150	sc	CFS	20	20	400	0	0	Draw of Lots	0	3
816	Mungawali Bypass Road in Mungawali WML	Ashoknagar	Regular	108	Open	DC	20	20	400	25	45	Draw of Lots	15	5
817	Between AshokaGarden Police Station to Bhopal Junction Railway Station in Bhopal WML	Bhopal	Regular	150	Open	DC	20	20	400	25	60	Draw of Lots	15	5
818	Patha Khas on NH-539 Tikamgarh Sagar Road	Tikamgarh	Regular	155	Open	DC	35	45	1575	25	75	Draw of Lots	15	5
819	Harda WML-3	Harda	Regular	120	OBC CC 1	DC	20	20	400	25	45	Draw of Lots	15	4
820	Mehgaon WML-1	Bhind	Regular	132	SC CC 1	CFS	20	20	400	0	0	Draw of Lots	0	3
821	Baraily WML2	Raisen	Regular	108	Open PH	DC	20	20	400	25	45	Draw of Lots	15	5
822	Bhopal WML-10	Bhopal	Regular	150	OBC	DC	20	20	400	25	60	Draw of Lots	15	4
823	With in 5 KM of Intersection of Talen Kurawar Road and NH-752 C(old shujalpur road) on NH-752C towards Shujalpur	Rajgarh	Regular	155	Open	DC	35	45	1575	25	75	Draw of Lots	15	5
824	Hoshangabad WML-4	Hoshangabad	Regular	132	ST	CFS	20	20	400	0	0	Draw of Lots	0	3
825	Ashtha WML-2	Sehore	Regular	108	Open	DC	20	20	400	25	45	Draw of Lots	15	5
826	Within 3 km from Khatkiya Chauraha on RHS side moving from Janjali to Guna on NH46	Guna	Regular	160	OBC	DC	35	45	1575	25	75	Draw of Lots	15	4
827	MANDIDEEP WML-2	Raisen	Regular	108	Open	DC	20	20	400	25	45	Draw of Lots	15	5
828	Bilaua, Bilaua Tiraha On NH To Biluwapolice Station On RHS Moving Towards Bilaua	Gwalior	Regular	114	Open	DC	35	35	1225	25	60	Draw of Lots	15	5

829	Katara with in 1 KM from GMV Park City on KataraHills Police Station to Barrai Road Bhopal WML	Bhopal	Regular	150	sc	CFS	20	20	400	0	0	Draw of Lots	0	3
830	Hoshangabad WML-3	Hoshangabad	Regular	120	OBC	DC	20	20	400	25	45	Draw of Lots	15	4
831	Between HEG Mandideep and Obedullaganj on RHS while moving towards Obedullaganj	Raisen	Regular	155	Open	DC	35	45	1575	25	75	Draw of Lots	15	5
832	Mungawali WML-2	Ashoknagar	Regular	108	Open CC 1	DC	20	20	400	25	45	Draw of Lots	15	5
833	Harda WML-4	Harda	Regular	132	ST	CFS	20	20	400	0	0	Draw of Lots	0	3
834	Morena WML-1	Morena	Regular	120	OBC	DC	20	20	400	25	45	Draw of Lots	15	4
835	Bedakhedi on SH 18 RHS while moving towards Indore	Sehore	Regular	114	Open	DC	35	45	1575	25	60	Draw of Lots	15	5
836	Between Inderganj Chouraha To Rajpath Raj Pag Marg On Roshnighar Road In Gwalior WML	Gwalior	Regular	150	Open	DC	20	20	400	25	60	Draw of Lots	15	5
837	With in 1 KM from Berasia Chouwk Towards Najirabad	Bhopal	Regular	120	OBC	DC	20	20	400	25	45	Draw of Lots	15	4
838	Bhind WML-4	Bhind	Regular	132	ST	CFS	20	20	400	0	0	Draw of Lots	0	3
839	On Nizamuddin Road, Bhopal WML	Bhopal	Regular	150	Open	DC	20	20	400	25	60	Draw of Lots	15	5
840	Khejda Baramad on Vidisha Road	Bhopal	Regular	114	Open	DC	35	35	1225	25	60	Draw of Lots	15	5
841	Rajgarh WML-2	Rajgarh	Regular	120	OBC	DC	20	20	400	25	45	Draw of Lots	15	4
842	5 kms from Kothri Police Station towards Indore on SH 18 ( Bhopal Indore Road) on LHS	Sehore	Regular	114	sc	CFS	35	45	1575	0	0	Draw of Lots	0	3
843	Bhopal WML-2	Bhopal	Regular	150	Open	сс	20	20	400	25	10	Bidding	30	5
844	Megra Kalan on SH-23	Bhopal	Regular	114	Open	DC	35	35	1225	25	60	Draw of Lots	15	5
845	Guna WML-2	Guna	Regular	120	OBC	DC	20	20	400	25	45	Draw of Lots	15	4
846	Morena WML-4	Morena	Regular	132	ST	CFS	20	20	400	0	0	Draw of Lots	0	3
847	Bhopal WML-6	Bhopal	Regular	150	Open	DC	20	20	400	25	60	Draw of Lots	15	5

848	Bhopal WML-9	Phonol	Poquior	150	OBC	DC	20	20	400	25	60	Drow of Loto	15	4
040	впора мміс-э	Bhopal	Regular	150	OBC	DC	20	20	400	25	60	Draw of Lots	15	4
849	Bhopal WML-7	Bhopal	Regular	150	Open	СС	20	20	400	25	10	Bidding	30	5
850	Bhopal WML-8	Bhopal	Regular	150	Open	DC	20	20	400	25	60	Draw of Lots	15	5
851	Gwalior WML-8	Gwalior	Regular	150	SC	CFS	20	20	400	0	0	Draw of Lots	0	3
852	Mehgaon WML-2	Bhind	Regular	120	OBC	DC	20	20	400	25	45	Draw of Lots	15	4
853	Gwalior WML-1	Gwalior	Regular	150	Open	DC	20	20	400	25	60	Draw of Lots	15	5
854	Gwalior WML-2	Gwalior	Regular	150	Open	DC	20	20	400	25	60	Draw of Lots	15	5
855	Gwalior WML-7	Gwalior	Regular	150	ST	CFS	20	20	400	0	0	Draw of Lots	0	3
856	Gwalior WML-6	Gwalior	Regular	150	OBC	сс	20	20	400	25	10	Bidding	30	4
857	Gwalior WML-4	Gwalior	Regular	150	Open	DC	20	20	400	25	60	Draw of Lots	15	5
858	Chanderi WML-2	Ashoknagar	Regular	108	Open CC 1	DC	20	20	400	25	45	Draw of Lots	15	5
859	Sarangpur WML-2	Rajgarh	Regular	120	OBC	DC	20	20	400	25	45	Draw of Lots	15	4
860	Guna WML-3	Guna	Regular	132	ST	CFS	20	20	400	0	0	Draw of Lots	0	3
861	Gwalior WML-10	Gwalior	Regular	150	Open	сс	20	20	400	25	10	Bidding	30	5
862	Vidisha WML-3	Vidisha	Regular	108	Open	DC	20	20	400	25	45	Draw of Lots	15	5
863	Tikamgarh WML -2	Tikamgarh	Regular	120	OBC	DC	20	20	400	25	45	Draw of Lots	15	4
864	Mungawali WML-3	Ashoknagar	Regular	132	sc	CFS	20	20	400	0	0	Draw of Lots	0	3
865	Sehore WML-2	Sehore	Regular	108	Open	DC	20	20	400	25	45	Draw of Lots	15	5
866	Within 2 kms from Deepak Fastner on SH 18 on LHS while travelling towards Indore	Sehore	Regular	114	Open	DC	35	45	1575	25	60	Draw of Lots	15	5

867	Mungawali WML-1	Ashoknagar	Regular	120	OBC	DC	20	20	400	25	45	Draw of Lots	15	4
868	Harda WML-2	Harda	Regular	108	Open	DC	20	20	400	25	45	Draw of Lots	15	5
869	Rajgarh WML-3	Rajgarh	Regular	132	ST CC 1	CFS	20	20	400	0	0	Draw of Lots	0	3
870	Sarangpur WML-3	Rajgarh	Regular	108	Open CC 2	DC	20	20	400	25	45	Draw of Lots	15	5
871	Ashima mall to laharpur dusshera maidan on 200 ft CPA road	Bhopal	Regular	150	OBC CC 1	DC	20	20	400	25	60	Draw of Lots	15	4
872	Bhind WML-3	Bhind	Regular	108	Open	DC	20	20	400	25	45	Draw of Lots	15	5
873	AshokNagar WML-2	Ashoknagar	Regular	132	ST	CFS	20	20	400	0	0	Draw of Lots	0	3
874	Ashok Nagar WML-3	Ashoknagar	Regular	120	OBC	DC	20	20	400	25	45	Draw of Lots	15	4
875	Morena WML-3	Morena	Regular	108	Open	DC	20	20	400	25	45	Draw of Lots	15	5
876	Ashok Nagar WML-1	Ashoknagar	Regular	108	Open	DC	20	20	400	25	45	Draw of Lots	15	5
877	Sai Board(12 No) to Daanapani	Bhopal	Regular	150	OBC	DC	20	20	400	25	60	Draw of Lots	15	4
878	Laharpur dusshera maidan to Katara hills road intersection on 80 Feet CPA	Bhopal	Regular	150	sc	CFS	20	20	400	0	0	Draw of Lots	0	3
879	Chanderi WML-3	Ashoknagar	Regular	108	Open	DC	20	20	400	25	45	Draw of Lots	15	5
880	Datia WML-2	Datia	Regular	108	Open	DC	20	20	400	25	45	Draw of Lots	15	5
881	Ganj Basoda WML-2	Vidisha	Regular	120	OBC	DC	20	20	400	25	45	Draw of Lots	15	4
882	Bilabawadi on NH-46	Guna	Regular	150	ST	CFS	35	45	1575	0	0	Draw of Lots	0	3
883	Raisen WML-3	Raisen	Regular	120	Open	DC	20	20	400	25	45	Draw of Lots	15	5
884	Kagpur on NH-346	Vidisha	Regular	150	Open CC 1	DC	35	45	1575	25	75	Draw of Lots	15	5
885	Dagrai on Gwalior Jhansi Road on NH-44	Datia	Regular	180	OBC	сс	35	45	1575	25	10	Bidding	30	4

												<u>г т</u>		
886	Berasia WML	Bhopal	Regular	110	ST	CFS	20	20	400	0	0	Draw of Lots	0	3
887	Khajuri on Bhopal Raisen Road	Bhopal	Regular	150	Open	DC	35	45	1575	25	75	Draw of Lots	15	5
888	Ghamuri on Mau Mehgaon Road	Bhind	Regular	120	Open	DC	35	35	1225	25	60	Draw of Lots	15	5
889	Atraliya on NH-752C Pachore Shujalpur Road	Rajgarh	Regular	150	OBC	DC	35	45	1575	25	75	Draw of Lots	15	4
890	Urhedi on MS Road on NH-552E	Morena	Regular	150	Open	DC	35	45	1575	25	75	Draw of Lots	15	5
891	From Aruu Tiraha, Dabra Towards Gwalior Upto 1 Km On Dabra Gwalior Ro	Gwalior	Regular	150	SC	CFS	35	45	1575	0	0	Draw of Lots	0	3
892	NanakHedi in Guna WML	Guna	Regular	120	Open	DC	20	20	400	25	45	Draw of Lots	15	5
893	RASULIA on NH-69	Hoshangabad	Regular	150	OBC	DC	35	45	1575	25	75	Draw of Lots	15	4
894	Between KM stone 225 to 235 on LHS on NH-46 while moving from Guna to Indore	Guna	Regular	160	Open	DC	35	45	1575	25	75	Draw of Lots	15	5
895	Between Kampoo and Guda Gudi ka Naka in Gwalior WML	Gwalior	Regular	150	SC PH	CFS	20	20	400	0	0	Draw of Lots	0	3
896	Bhatpura on NH-752B	Rajgarh	Regular	150	OBC PH	DC	35	45	1575	25	75	Draw of Lots	15	4
897	Upto 3 Kms from Balsamund border Checkpost towards Mumbai (On LHS while going towards Mumbai) on Agra Mumbai Highway	Badwani	Regular	170	Open	DC	35	45	1575	25	75	Draw of Lots	15	5
898	Upto 3 Kms from Balsamund border Checkpost towards Indore (On LHS while going towards Indore) on Agra Mumbai Highway	Badwani	Regular	180	Open	DC	35	45	1575	25	75	Draw of Lots	15	5
899	Within Khachrod Nagarpalika Limit	Ujjain	Regular	120	OBC	DC	20	20	400	25	45	Draw of Lots	15	4
900	Upto 9 KM from IOCL petrol pump vishal petroleum at Alirajpur towards Nanpur on Alirajpur-Nanpur road (SH-26)	Alirajpur	Regular	105	ST	CFS	35	35	1225	0	0	Draw of Lots	0	3
901	On SH 18 between milestone 182 to 184 ON LHS while going to Dewas from Ujjain	Ujjain	Regular	125	Open	DC	35	35	1225	25	60	Draw of Lots	15	5
902	Ujjain City Within 2 km from Vikram Unversity Main Gate LHS on Ujjain - Dewas Road while going to Dewas	Ujjain	Regular	150	Open	DC	20	20	400	25	60	Draw of Lots	15	5
903	Jobat- within Municipal Limit	Alirajpur	Regular	115	OBC	DC	20	20	400	25	45	Draw of Lots	15	4
904	Between Tower Square to Manikbagh bridge	Indore	Regular	200	SC	CFS	20	20	400	0	0	Draw of Lots	0	3

-														
905	Between Retimandi Railway Crossing to Footi Kothi Square	Indore	Regular	150	Open	DC	20	20	400	25	60	Draw of Lots	15	5
906	Mangrola - on Shujalpur to Talen Road	Shajapur	Regular	100	Open	DC	35	35	1225	25	60	Draw of Lots	15	5
907	Upto 2 KM from BPCL RO Divam Baghel Petroleum on SH-18 LHS from Sonkutch to Ashta Road	Shajapur	Regular	100	Open	DC	35	35	1225	25	60	Draw of Lots	15	5
908	On RHS on Shajapur byepass while going from Makshi to Sarangpur	Shajapur	Regular	120	OBC	сс	20	20	400	25	10	Bidding	30	4
909	BAJNA (WML)	Ratlam	Regular	120	ST	CFS	20	20	400	0	0	Draw of Lots	0	3
910	Barwaha-WML	Khargone	Regular	120	Open CC 1	DC	20	20	400	25	45	Draw of Lots	15	5
911	Village Malikhedi on SH41	Agar	Regular	100	OBC	DC	35	35	1225	25	60	Draw of Lots	15	4
912	NarayanKhedi on Gogapur to Mahidpur Road	Ujjain	Regular	100	Open	DC	35	35	1225	25	60	Draw of Lots	15	5
913	Between Collector Office Square to Manikbagh	Indore	Regular	200	SC	CFS	20	20	400	0	0	Draw of Lots	0	3
914	Kanad on SH41 (Within 1 KM from Essar RO on either side)	Agar	Regular	104	Open	DC	35	35	1225	25	60	Draw of Lots	15	5
915	Dangwada on Ingoria to Depalpur Road	Ujjain	Regular	100	OBC	DC	35	35	1225	25	60	Draw of Lots	15	4
916	Between Hotel Manal at Pithampur Chaupati to IOCL RO Shree Nidhi Filling Station, Khandwa village on Agra Mumbai Highway (On RHS while going towards Mumbai)	Dhar	Regular	190	Open	DC	35	45	1575	25	75	Draw of Lots	15	5
917	Upto 5 KM on RHS from BPC Ghar Petrol Pump at Dhani while going towards Mumbai on Agra Mumbai Highway	Dhar	Regular	190	Open	DC	35	45	1575	25	75	Draw of Lots	15	5
918	Between PipliBazaar chauraha and Bhagat singh square, via Indore- Dhar road, Indore city	Indore	Regular	160	ST CC 1	CFS	20	20	400	0	0	Draw of Lots	0	3
919	Between Indian Oil- Malviya Petrol Pump and METRO CASH & CARRY Wholesale Market, on Eastern Ring Road, Indore City	Indore	Regular	160	OBC CC 1	сс	20	20	400	25	10	Bidding	30	4
920	From Rajiv Gandhi Circle to Manikbagh bridge, Indore on LHS	Indore	Regular	200	Open	DC	20	20	400	25	60	Draw of Lots	15	5
921	Between DRP line bus station and Chandragupta Maurya chauraha, via Hira nagar main road and Pardesipura main road, Indore city	Indore	Regular	160	Open PH	DC	20	20	400	25	60	Draw of Lots	15	5
922	Village Sirsodiya on Gujari-Dhar Road	Dhar	Regular	190	ST	CFS	35	45	1575	0	0	Draw of Lots	0	3
923	Upto 3 KM From HPCL RO Samruddhi Petroleum towards Maksi - on Ujjain to Maksi Road NEW SH-16	Dewas	Regular	100	OBC	DC	35	35	1225	25	60	Draw of Lots	15	4

924	Upto 2 km from Jawahar Nagar Chouraha, Dewas towards Indore (LHS)	Dewas	Regular	110	Open	DC	20	20	400	25	45	Draw of Lots	15	5
925	Upto 2 Kms from District Co-operative bank, Dawana towards Anjad on Anjad-Thikri road	Badwani	Regular	100	OBC	DC	35	35	1225	25	60	Draw of Lots	15	4
926	Between Mhow Naka Square to Footi Kothi Square	Indore	Regular	150	ST	CFS	20	20	400	0	0	Draw of Lots	0	3
927	Upto 4 Kms from Eicher Factory Square,Pithampur towards Dhar on Pithampur -Ratlam SH	Dhar	Regular	150	Open	DC	35	35	1225	25	60	Draw of Lots	15	5
928	Dontajagir - on maksi to ujjain road	Dewas	Regular	105	Open	DC	35	35	1225	25	60	Draw of Lots	15	5
929	Upto 2 KM from Panchayat Bhawan, Dingroda towards Ujjain - on maksi to ujjain road	Dewas	Regular	105	Open	DC	35	35	1225	25	60	Draw of Lots	15	5
930	Khetia on Khetia Pati road	Badwani	Regular	100	OBC	DC	35	35	1225	25	60	Draw of Lots	15	4
931	From Chankyapuri Square to Rajiv Gandhi Circle Sqaure on LHS	Indore	Regular	200	SC	CFS	20	20	400	0	0	Draw of Lots	0	3
932	Ujjain City, Within 1 km from Govt school of excellence Madhav nagar towards Hariphatak Bridge	Ujjain	Regular	150	Open	СС	20	20	400	25	10	Bidding	30	5
933	Village Amla on SH 18 on Badnagar - Badnawar Raod	Ujjain	Regular	100	Open CC 1	DC	35	35	1225	25	60	Draw of Lots	15	5
934	Village Dhapla on Mhow - Mandleshwar road	Khargone	Regular	100	OBC	DC	35	35	1225	25	60	Draw of Lots	15	4
935	Jhabua bypass road on NH-47	Jhabua	Regular	160	ST	CFS	35	45	1575	0	0	Draw of Lots	0	3
936	Upto Chowkidhani from Indore Bypass on Khandwa road SH 27.	Indore	Regular	150	Open	DC	35	35	1225	25	60	Draw of Lots	15	5
937	Bhangarh ( Within municipal limit of Indore)	Indore	Regular	180	OBC	DC	20	20	400	25	60	Draw of Lots	15	4
938	Dewas City - LHS (Between Indira Gandhi Chouraha to Bhopal Chouraha mata Mandir)	Dewas	Regular	105	Open	DC	20	20	400	25	45	Draw of Lots	15	5
939	Upto 2 KM from B R Resort towards Dewas RHS on SH-18 From Bhopal to Dewas	Dewas	Regular	100	Open	DC	35	35	1225	25	60	Draw of Lots	15	5
940	Within 2 km on either side from Narmada Jhabua Gramin Bank, Jeerabad on Manawar-Mangod road	Dhar	Regular	120	SC	CFS	35	35	1225	0	0	Draw of Lots	0	3
941	On RHS on Shajapur byepass while going from Makshi to Sarangpur (Within municipal limit of Shajapur)	Shajapur	Regular	110	OBC	DC	20	20	400	25	45	Draw of Lots	15	4
942	Upto 2 KM from Berchha Naka towards Shajapur - on Berchha to Shajapur Road NEW SH-17	Shajapur	Regular	100	Open	DC	35	35	1225	25	60	Draw of Lots	15	5

-		1												
943	On LHS Between Bicholi Mardana crossing to Nemawar crossing while going towards Mumbai on Agra Mumbai highway	Indore	Regular	150	Open	DC	20	20	400	25	60	Draw of Lots	15	5
944	Between km stone 93 & 95 on SH-26, Ratlam-Karwad-Thandla-jhabua Road	Jhabua	Regular	135	ST	CFS	35	35	1225	0	0	Draw of Lots	0	3
945	Up to 3 kms from Petlawad Tiraha towards Thandla on SH-18, Petlawad- Thandla Road	Jhabua	Regular	100	OBC	DC	35	35	1225	25	60	Draw of Lots	15	4
946	From Rajiv Gandhi Circle to Manikbagh bridge, Indore on RHS	Indore	Regular	200	Open	DC	20	20	400	25	60	Draw of Lots	15	5
947	Dewas - upto 2 km on LHS from dewas bus stand towards indore	Dewas	Regular	150	Open	DC	20	20	400	25	45	Draw of Lots	15	5
948	Chidawad on LHS on NH3 from dewas to maksi	Dewas	Regular	160	OBC	сс	35	45	1575	25	10	Bidding	30	4
949	Beween Ghodachopati, Dhar to Navgaon Police Choki , Dhar	Dhar	Regular	130	ST	CFS	20	20	400	0	0	Draw of Lots	0	3
950	Upto 2 km from railway crossing of mendki road, Dewas towards village - chandana	Dewas	Regular	110	Open	DC	20	20	400	25	45	Draw of Lots	15	5
951	Village Rasulpur (On Dewas Bypass road, LHS while going towards Bhopal)	Dewas	Regular	150	Open	DC	20	20	400	25	45	Draw of Lots	15	5
952	Maksi on Agra Mumbai Highway	Shajapur	Regular	160	OBC	DC	35	45	1575	25	75	Draw of Lots	15	4
953	Between Km stone 186 to 189 on SH27 ON Agar Jhalawad Road	Agar	Regular	120	SC	CFS	35	35	1225	0	0	Draw of Lots	0	3
954	Dewas byepass road (Between Bhopal road bypass Chouraha to Faith foundation school)	Dewas	Regular	110	Open	DC	20	20	400	25	45	Draw of Lots	15	5
955	Pipalya Sadak - on Agra Mumbai Road	Dewas	Regular	150	Open	DC	35	45	1575	25	75	Draw of Lots	15	5
956	Upto 2 KM from Belari Phata towards Maksi on LHS on Agra Mumbai road (while going towards Maksi from Dewas)	Shajapur	Regular	190	OBC	сс	35	45	1575	25	10	Bidding	30	4
957	Banger on Dewas Ujjain Road	Dewas	Regular	130	Open	DC	35	35	1225	25	60	Draw of Lots	15	5
958	Palsud on Palsud-Niwali road	Badwani	Regular	160	ST	CFS	35	35	1225	0	0	Draw of Lots	0	3
959	Upto 2 KM from Essar RO M/s. Darsh Filling Station towards Deepgaon on SH -22	Dewas	Regular	105	OBC	DC	35	35	1225	25	60	Draw of Lots	15	4
960	Shajapur -WML on Agra Mumbai Highway	Shajapur	Regular	175	Open CC 1	DC	35	45	1575	25	75	Draw of Lots	15	5
961	Between Kilometer stone no. 72 to 74 on LHS ON NH59A(Indore to Betul Road), While going towards Kannod	Dewas	Regular	190	Open	сс	35	45	1575	25	10	Bidding	30	5

962	Village Sai khedi on Deshgaon khargone road	Khargone	Regular	105	SC	CFS	35	35	1225	0	0	Draw of Lots	0	3
963	Upto 2 KM from Pappu & Pappu resort on SH-18 RHS from Sonkutch to Ashta Road while going towards Bhopal	Dewas	Regular	150	OBC	сс	35	35	1225	25	10	Bidding	30	4
964	Mohammad kheda on Akodiya to Shujalpur road	Shajapur	Regular	130	Open	DC	35	35	1225	25	60	Draw of Lots	15	5
965	Village Laxmipura on Ujjain -Maksi Rd	Ujjain	Regular	120	Open	DC	35	35	1225	25	60	Draw of Lots	15	5
966	Within 3 KMs from Malwa Mill (On road connecting Patnipura Chouraha to Central Jail, Indore)	Indore	Regular	162	ST	CFS	20	20	400	0	0	Draw of Lots	0	3
967	Upto 4 km on NH59A from Kannod bus stand towards Khategaon	Dewas	Regular	160	OBC	DC	35	45	1575	25	75	Draw of Lots	15	4
968	Upto 2 KM From HPCL RO Kesar Petroleum towards Shujalpur (Ashta - Shujalpur Road)	Shajapur	Regular	110	Open	DC	35	35	1225	25	60	Draw of Lots	15	5
969	Within 2 KM from Dhamnod Bus stand towards NH-3 Intersection	Dhar	Regular	110	Open CC 2	DC	20	20	400	25	45	Draw of Lots	15	5
970	Upto 4 Kms from Eicher Factory Square towards Mhow On Pithampur Mhow State Highway	Dhar	Regular	110	OBC CC 1	DC	35	35	1225	25	60	Draw of Lots	15	4
971	Petlawad (within Municipal Limit)	Jhabua	Regular	115	SC CC 1	CFS	20	20	400	0	0	Draw of Lots	0	3
972	Between Kilometer stone no. 25 to 27 on SH-41 (Kannod to Punasa road)	Dewas	Regular	190	Open	сс	35	35	1225	25	10	Bidding	30	5
973	Manglia - LHS from toll tax to Dewas naka (On Old A.B. Road)	Indore	Regular	150	Open	DC	20	20	400	25	60	Draw of Lots	15	5
974	Upto 2 KM from Jethda Jod towards Ashta on Shujalpur to Ashta road	Shajapur	Regular	110	OBC	DC	35	35	1225	25	60	Draw of Lots	15	4
975	Within 1 KM of BPC Petrol Pump on Park Road (On opposite side of railway station platform no. 5 & 6), Indore City	Indore	Regular	220	ST	CFS	20	20	400	0	0	Draw of Lots	0	3
976	Upto 4 KM from BPCL RO Bakliwal Filling Station, Khategaon - towards Kannod	Dewas	Regular	150	Open	DC	35	45	1575	25	75	Draw of Lots	15	5
977	Shajapur WML - From Dhobi chouraha to Mahupura chouraha	Shajapur	Regular	150	Open	DC	20	20	400	25	45	Draw of Lots	15	5
978	Karkadiya on SH27 on RHS while going from Soyat kala to Susner	Agar	Regular	120	OBC	DC	35	35	1225	25	60	Draw of Lots	15	4
979	Between KM stone 75 and 77 on Indore Betul Highway (Nemawar road)	Dewas	Regular	150	Open	DC	35	45	1575	25	75	Draw of Lots	15	5
980	Dhar - WML (On Dhar - mandav Road)	Dhar	Regular	130	SC	CFS	20	20	400	0	0	Draw of Lots	0	3

981	Nipaniya Baijnath on LHS on SH27 on Agar- Jhalawad Raod	Agar	Regular	120	Open	DC	35	35	1225	25	60	Draw of Lots	15	5
982	Tanodia On SH 27	Agar	Regular	110	OBC	сс	35	35	1225	25	10	Bidding	30	4
983	On RHS from Rajendra Nagar Police Station, Indore upto Rau Circle on old AB Road.	Indore	Regular	160	Open CC 1	DC	20	20	400	25	60	Draw of Lots	15	5
984	Between Indore naka and Ganesh goushala on khandwa bypass road (khandwa-WML	Khandwa	Regular	100	ST	CFS	20	20	400	0	0	Draw of Lots	0	3
985	Between mile stone 32 to 34 on LHS on Mhow-Neemach road while going towards Nagda	Dhar	Regular	110	OBC	DC	35	35	1225	25	60	Draw of Lots	15	4
986	Village - Modi on SH-14	Agar	Regular	120	Open	DC	35	35	1225	25	60	Draw of Lots	15	5
987	Between Kalaria to Ghatabillod on NH47	Indore	Regular	150	Open	DC	35	45	1575	25	75	Draw of Lots	15	5
988	Within 2 km from HPC petrol pump Mangalam Petroleum, Kukshi on Kukshi- Singhana road, Kukshi - WML	Dhar	Regular	100	OBC	DC	20	20	400	25	45	Draw of Lots	15	4
989	Jamgod - LHS on SH-18 going to bhopal	Dewas	Regular	150	SC	CFS	35	35	1225	0	0	Draw of Lots	0	3
990	Within 4 km from Agar Bus stand on Agar Ujjain Road towards Ujjain .	Agar	Regular	120	Open	сс	35	35	1225	25	10	Bidding	30	5
991	Satwas (On SH-41)	Dewas	Regular	105	Open	DC	35	35	1225	25	60	Draw of Lots	15	5
992	Within 1 km from Mirchi Mandi, Kukshi on Kukshi- Singhana road	Dhar	Regular	100	OBC	DC	20	20	400	25	45	Draw of Lots	15	4
993	Within Mandsaur Municipal limit (Between Nahata Chowk to SP office of Mandsaur on Mhow - Neemuch Road)	Mandsaur	Regular	130	ST	CFS	20	20	400	0	0	Draw of Lots	0	3
994	Village Amlanankar on SH 27	Agar	Regular	100	Open	сс	35	35	1225	25	10	Bidding	30	5
995	Upto 2 KM on LHS from HPCL RO Standard Oil while going towards Bhopal	Dewas	Regular	105	Open	DC	35	35	1225	25	60	Draw of Lots	15	5
996	Bhagal Buzurg(Sh31A)	Neemuch	Regular	150	OBC PH	DC	35	35	1225	25	60	Draw of Lots	15	4
997	Between mile stone 12 to 20 on LHS on Mhow-Neemach road while going towards Badnawar	Dhar	Regular	110	ST PH	CFS	35	35	1225	0	0	Draw of Lots	0	3
998	Upto 2 kms from Government High School, Talwada Dab towards Thikri on Anjad- Thikri road	Badwani	Regular	100	Open	DC	35	35	1225	25	60	Draw of Lots	15	5
999	Itawa within Dewas-WML	Dewas	Regular	150	Open	DC	20	20	400	25	45	Draw of Lots	15	5

1000	Between Kilometer stone no. 34 to 36 on SH-41 (Kannod to Punasa road)	Dewas	Regular	145	OBC	DC	35	35	1225	25	60	Draw of Lots	15	4
1001	Dewas Senior (Within Municipal Limit of Dewas)	Dewas	Regular	130	Open	сс	20	20	400	25	10	Bidding	30	5
1002	Upto Retmandi Railway Crossing from Footi Kothi Square, Indore	Indore	Regular	150	SC	CFS	20	20	400	0	0	Draw of Lots	0	3
1003	Between mile stone 18 to 20 on Mhow- Neemach road on LHS while going towards Lebad	Dhar	Regular	130	Open	DC	35	35	1225	25	60	Draw of Lots	15	5
1004	Within 3 km towards Manawar from Jhabua-Narmada Gramin Bank at Bankaner on Manawar-Khalghat road.	Dhar	Regular	110	OBC	DC	35	35	1225	25	60	Draw of Lots	15	4
1005	Upto 3 km from Government High School, Jogwada towards Sendhwa on Sendhwa Palsud road	Badwani	Regular	100	Open	DC	35	35	1225	25	60	Draw of Lots	15	5
1006	Up to 9 kms from IOCL RO Maa Kalika filling staion, Palsoda towards Sailana on SH-39, Ratlam-Sailana Road	Ratlam	Regular	105	ST	CFS	35	35	1225	0	0	Draw of Lots	0	3
1007	Between KM stone 102 and 104 on Dhar-Gujari Road , on LHS while going towards Gujari.	Dhar	Regular	150	OBC	DC	35	45	1575	25	75	Draw of Lots	15	4
1008	Upto 3 km from Ganpur chokadi towards Barwani on Kukshi - Barwani road	Dhar	Regular	130	Open	DC	35	35	1225	25	60	Draw of Lots	15	5
1009	Between Gandhi Chowk to Mandsaur Railway Station via Nahata Chowk within Mandsaur Municipal Limit (any side of Road)	Mandsaur	Regular	120	Open CC 1	DC	20	20	400	25	45	Draw of Lots	15	5
1010	Within 3 km on either side of Amjhera Police Station on Mangod-Manawar road	Dhar	Regular	115	OBC	сс	35	35	1225	25	10	Bidding	30	4
1011	Between km stone 13 & 20 on SH-26, Alirajpur-Chandpur Road	Alirajpur	Regular	135	ST	CFS	35	35	1225	0	0	Draw of Lots	0	3
1012	Between km stone 17 to 20 on Khalghat- Manawar road, SH-38	Dhar	Regular	120	Open	DC	35	35	1225	25	60	Draw of Lots	15	5
1013	Within 3 km from HPC Petrol Pump towards Petlawad Side on Badnawar- Petlawad state highway (SH-18) road	Dhar	Regular	115	Open	DC	35	35	1225	25	60	Draw of Lots	15	5
1014	Between KM stone 76 to 78 on Dhar Nagda road	Dhar	Regular	105	OBC	DC	35	35	1225	25	60	Draw of Lots	15	4
1015	Between Bangali Square to Robot square on Ring road, Indore.	Indore	Regular	150	SC	CFS	20	20	400	0	0	Draw of Lots	0	3
1016	Village Dholana on Badnawar- Badnagar road	Dhar	Regular	120	Open	DC	35	35	1225	25	60	Draw of Lots	15	5
1017	Between mile stone 85 to 88 on Dhar Nagda road, SH-31	Dhar	Regular	110	Open	DC	35	35	1225	25	60	Draw of Lots	15	5
1018	Between km stone 293 to 296 on LHS on Ahmedbad - Indore road while going towards Indore.	Dhar	Regular	150	Open	сс	35	45	1575	25	10	Bidding	30	5

1019	Village Surva between km stone 54 and 56 Bhikangaon- Khargone road	Khargone	Regular	100	OBC CC 1	DC	35	35	1225	25	60	Draw of Lots	15	4
1020	Narsinga (On Ingoria to Depalpur road)	Ujjain	Regular	105	SC CC 1	CFS	35	35	1225	0	0	Draw of Lots	0	3
1021	Within a radius of 5 km from Lebad Manpur Chauraha on Mhow -Neemuch road.	Dhar	Regular	110	Open PH	DC	35	35	1225	25	60	Draw of Lots	15	5
1022	Village Ramgarh on SH17 on RHS on Ujjain Nagda Road while going towards Nagda	Ujjain	Regular	110	OBC	DC	35	35	1225	25	60	Draw of Lots	15	4
1023	Between KM stone 13 and 15 on Pithampur-Ghatabillod Road	Dhar	Regular	150	Open	DC	35	35	1225	25	60	Draw of Lots	15	5
1024	Harsud-WML	Khandwa	Regular	100	ST	CFS	20	20	400	0	0	Draw of Lots	0	3
1025	Between km stone 6 to 9 on Badnawar-Petlawad road	Dhar	Regular	100	Open	DC	35	35	1225	25	60	Draw of Lots	15	5
1026	Manawar within municipal limit	Dhar	Regular	130	OBC	DC	20	20	400	25	45	Draw of Lots	15	4
1027	Within 3 km from Eicher plant, Baggad towards Nagda side on Mhow- Neemuch road	Dhar	Regular	110	Open	DC	35	35	1225	25	60	Draw of Lots	15	5
1028	Within 5 km from IOC petrol pamp (M/s Heera & Sons), kukshi on Kukshi- Alirajpur road	Dhar	Regular	115	Open	DC	35	35	1225	25	60	Draw of Lots	15	5
1029	From World Cup Square to M.Y. Hospital square, Indore	Indore	Regular	150	SC	CFS	20	20	400	0	0	Draw of Lots	0	3
1030	Upto Tejaji Nagar from IT Park Square on Khandwa Road Indore.	Indore	Regular	150	OBC	DC	20	20	400	25	60	Draw of Lots	15	4
1031	Between mile stone 45 to 50 on LHS on Mhow-Neemach road while going towards Nagda	Dhar	Regular	110	Open	DC	35	35	1225	25	60	Draw of Lots	15	5
1032	Dhulakheda on SH-31A	Neemuch	Regular	150	Open CC 1	DC	35	35	1225	25	60	Draw of Lots	15	5
1033	Between Luv kush chauraha to ICICI Bank in Sector-C, Sanwer road Industrial area, Indore	Indore	Regular	215	ST	CFS	20	20	400	0	0	Draw of Lots	0	3
1034	Between IIM, Indore to C.A.T. Square, Indore	Indore	Regular	150	OBC	DC	20	20	400	25	60	Draw of Lots	15	4
1035	Between km stone 190 & 195 on Badwani-Kukshi road (SH26)	Dhar	Regular	100	Open	DC	35	35	1225	25	60	Draw of Lots	15	5
1036	Within 5 km from Mangod phata on Ahmedabad- Indore highway LHS while going towards Ahmedabad	Dhar	Regular	155	Open	DC	35	45	1575	25	75	Draw of Lots	15	5
1037	On RHS Rajendra Nagar Police Station to IOCL Petrol Pump (Goodwill Highway)	Indore	Regular	170	OBC	сс	20	20	400	25	10	Bidding	30	4

												-		
1038	Bokrata on Khetia Pati road	Badwani	Regular	100	ST	CFS	35	35	1225	0	0	Draw of Lots	0	3
1039	Within 7 km from Gautam International school, Dhar on Ahmedabad- Indore road LHS while going towards Indore	Dhar	Regular	150	Open	DC	35	45	1575	25	75	Draw of Lots	15	5
1040	Badnawar within municipal limit	Dhar	Regular	100	Open	DC	20	20	400	25	45	Draw of Lots	15	5
1041	Village Semalkhedi on SH 27	Agar	Regular	150	OBC	DC	35	35	1225	25	60	Draw of Lots	15	4
1042	From High Court to Palasia Square, Indore	Indore	Regular	160	SC	CFS	20	20	400	0	0	Draw of Lots	0	3
1043	Tavlai on Khalghat- Manawar Road (SH-38)	Dhar	Regular	110	Open	DC	35	35	1225	25	60	Draw of Lots	15	5
1044	Pipaliya Buzurg on Barwaha Mandleshwar road (SH38)	Khargone	Regular	115	Open	DC	35	35	1225	25	60	Draw of Lots	15	5
1045	Pipliyarao (On Old A.B. road), Indore City	Indore	Regular	170	OBC	DC	20	20	400	25	60	Draw of Lots	15	4
1046	Budi on Khetia Pati road	Badwani	Regular	100	ST	CFS	35	35	1225	0	0	Draw of Lots	0	3
1047	Rampura on SH-31A	Neemuch	Regular	150	Open	DC	35	35	1225	25	60	Draw of Lots	15	5
1048	Within 2 km from bus stand Rajpur towards Palsud on Rajpur-Palsud road	Badwani	Regular	100	OBC	DC	35	35	1225	25	60	Draw of Lots	15	4
1049	Talawalichanda	Indore	Regular	165	Open	сс	20	20	400	25	10	Bidding	30	5
1050	Village - Sirpur (On Dhar Road , Within Municipal Limit of Indore)	Indore	Regular	150	Open	сс	20	20	400	25	10	Bidding	30	5
1051	Upto 2 Kms from Chankyapuri Square, Indore towards Vaishali Nagar	Indore	Regular	150	SC	CFS	20	20	400	0	0	Draw of Lots	0	3
1052	Between KM stone 162 to 164 on Anjad- Barwani road	Badwani	Regular	100	OBC	DC	35	35	1225	25	60	Draw of Lots	15	4
1053	Village - Methwada (On Pithampur-Ghatabillod State Highway Road)	Indore	Regular	110	Open	DC	35	35	1225	25	60	Draw of Lots	15	5
1054	Sendhwa - WML (On old Agra Mumbai Road)	Badwani	Regular	100	Open	DC	20	20	400	25	45	Draw of Lots	15	5
1055	Village Chandangaon on Kanad Shajapur road	Agar	Regular	150	ST	CFS	35	35	1225	0	0	Draw of Lots	0	3
1056	Upto 3 Kms from Silawad bus stand towards Barwani on Palsud-Barwani road	Badwani	Regular	100	OBC	DC	35	35	1225	25	60	Draw of Lots	15	4

1057	Upto 4 km from old AB road crossing (Julwania) towards Rajpur on Julwania-Rajpur road	Badwani	Regular	140	Open	DC	35	35	1225	25	60	Draw of Lots	15	5
1058	Between Milestone 222 to 229 on Mhow - Neemuch road , SH31	Neemuch	Regular	200	Open CC 1	DC	35	35	1225	25	60	Draw of Lots	15	5
1059	Upto 2 KM from Madana jod towards Salsalai on Akodia - Sarangpur road	Shajapur	Regular	100	OBC	сс	35	35	1225	25	10	Bidding	30	4
1060	Between CAT Main Gate Tiraha to Hawa Bangla Indore	Indore	Regular	150	ST	CFS	20	20	400	0	0	Draw of Lots	0	3
1061	Between KM stone 174 and Narmada bridge on Barwani byepass	Badwani	Regular	130	Open	DC	35	35	1225	25	60	Draw of Lots	15	5
1062	Between KM stone 140 to 143 on Jhulwania-Rajpur road	Badwani	Regular	100	Open	DC	35	35	1225	25	60	Draw of Lots	15	5
1063	On RHS from KM stone 19 to 25 while going towards Mumbai on Agra Mumbai Highway	Indore	Regular	170	OBC	DC	35	45	1575	25	75	Draw of Lots	15	4
1064	Niwali within municipal limit	Badwani	Regular	100	SC	CFS	20	20	400	0	0	Draw of Lots	0	3
1065	On RHS between KM stone 116 to 123 while going towards Mumbai on Agra Mumbai road	Badwani	Regular	150	Open	DC	35	45	1575	25	75	Draw of Lots	15	5
1066	On LHS Between Bicholi Hapsi square to Bicholi Mardana square while going towards Mumbai on Agra Mumbai Highway	Indore	Regular	150	Open	сс	20	20	400	25	10	Bidding	30	5
1067	Dondwada on Sendhwa- Palsud road	Badwani	Regular	100	OBC	DC	35	35	1225	25	60	Draw of Lots	15	4
	On RHS from km stone 583 to 587 (while going towards Indore from Dewas) on Agra Mumbai highway	Indore	Regular	150	Open	сс	35	45	1575	25	10	Bidding	30	5
1069	Upla on Rajpur-Palsud road	Badwani	Regular	100	ST CC 1	CFS	35	35	1225	0	0	Draw of Lots	0	3
1070	On Dhamnod by pass road on LHS (while going towards Mumbai) on NH- 3	Dhar	Regular	110	Open CC 2	DC	35	45	1575	25	75	Draw of Lots	15	5
1071	Upto 3 km from BPC Kasrawad RO towards Mandleshwar on SH-1	Khargone	Regular	100	OBC CC 1	DC	35	35	1225	25	60	Draw of Lots	15	4
1072	Between Hotel Manal at Pithampur Chaupati to IOCL RO Shree Nidhi Filling Station, Khandwa village on Agra Mumbai Highway (On LHS while going towards Mumbai)	Dhar	Regular	150	Open	DC	35	45	1575	25	75	Draw of Lots	15	5
1073	From Footi Kothi Square to Dhar Road Tiraha on LHS	Indore	Regular	200	ST	CFS	20	20	400	0	0	Draw of Lots	0	3
1074	Danodroud on Rajpur- Palsud road	Badwani	Regular	100	OBC	DC	35	35	1225	25	60	Draw of Lots	15	4
1075	on LHS Between Sankota to Nenawad on Agra Mumbai highway while going towards Makshi from Shajapur	Ujjain	Regular	150	Open	DC	35	45	1575	25	75	Draw of Lots	15	5

		1					1							r
1076	On LHS Between MR-10 road T-Point to Hotel Water Lilly while going towards Dewas on Agra Mumbai highway	Indore	Regular	170	Open	DC	20	20	400	25	60	Draw of Lots	15	5
1077	Kajalmata on Niwali-Palsud road	Badwani	Regular	100	OBC	DC	35	35	1225	25	60	Draw of Lots	15	4
1078	Between Rasoma square (on old A. B. Road) to Bhamori square, Indore	Indore	Regular	170	SC	CFS	20	20	400	0	0	Draw of Lots	0	3
1079	Devguradia on Agra Mumbai highway(Indore Byepass)	Indore	Regular	230	Open	DC	20	20	400	25	60	Draw of Lots	15	5
1080	Village - Kellod Kartal on Agra - Mumbai highway, (Indore Byepass)	Indore	Regular	160	Open	DC	20	20	400	25	60	Draw of Lots	15	5
1081	Upto 2 Kms from Palsud towards Rajpur on Palsud- Rajpur road	Badwani	Regular	100	OBC	DC	35	35	1225	25	60	Draw of Lots	15	4
1082	Utpo 2 Kms from Navdapanth Bridge Crossing towards Betma.	Indore	Regular	160	ST	CFS	35	45	1575	0	0	Draw of Lots	0	3
1083	On RHS between KM Stone 92 and 94 while going towards Mumbai from Indore, on Agra-Mumbai highway	Khargone	Regular	180	Open	сс	35	45	1575	25	10	Bidding	30	5
1084	Neemuch City (Within Municipal limit)	Neemuch	Regular	110	Open CC 1	DC	20	20	400	25	45	Draw of Lots	15	5
	Between Nandbagh Chauraha(Tigriya) and Scheme No 51 Bus station, Ahilya nagar, via Tigriya Badshah Main road, Indore city	Indore	Regular	170	OBC	сс	20	20	400	25	10	Bidding	30	4
1086	Up to 3 KMs towards Shujalpur from Akodia Shujalpur Tiraha on Shujalpur road	Shajapur	Regular	135	ST	CFS	35	35	1225	0	0	Draw of Lots	0	3
	On LHS from km stone 583 to 590 (while going towards Indore) on Agra Mumbai highway	Indore	Regular	150	Open	DC	35	45	1575	25	75	Draw of Lots	15	5
1088	Upto 2 kms from Barandwa Bridge towards Shajapur on LHS while going from Maksi to Shajapur on Agra- Mumbai Highway	Indore	Regular	150	Open	DC	35	45	1575	25	75	Draw of Lots	15	5
1089	Between village Bojakhedi and Deshgaon on Indore- Icchapur road	Khandwa	Regular	100	OBC	DC	35	35	1225	25	60	Draw of Lots	15	4
1090	Upto 2Kms from Government primary school, Titodi towards Shajapur on RHS (while going towards Shajapur from Makshi) on Agra Mumbai highway	Ujjain	Regular	180	Open	DC	35	45	1575	25	75	Draw of Lots	15	5
1091	Upto 3km from HPCL Petrol Pump M/s Maa Tulja Sales & Service, Sandalpur towards Nemawar on Indore-Betul Highway (Nemawar Road)	Dewas	Regular	155	SC	CFS	35	45	1575	0	0	Draw of Lots	0	3
1092	Upto 2 Kms from Swami Vivekananda Shiksha Mahavidhyalaya towards Palsud on Sendhwa Palsud road	Badwani	Regular	100	Open	DC	35	35	1225	25	60	Draw of Lots	15	5
1093	Between Jaswadi toll plaza and Singhot village on Khandwa-Dedtalai road	Khandwa	Regular	100	OBC	DC	35	35	1225	25	60	Draw of Lots	15	4
1094	Dewas City (Between BNP Thana to Maksi Chouraha )	Dewas	Regular	130	Open	СС	20	20	400	25	10	Bidding	30	5

1095	From IT Park Square on Ring Road upto Rajiv Gandhi Circle Indore	Indore	Regular	150	SC PH	CFS	20	20	400	0	0	Draw of Lots	0	3
1096	Dudhlai	Neemuch	Regular	150	OBC PH	DC	35	35	1225	25	60	Draw of Lots	15	4
1097	Upto 4km from toll booth located at village Baroli on Indore-Ujjain State Highway on LHS while going towards ujjain	Indore	Regular	130	Open	DC	35	35	1225	25	60	Draw of Lots	15	5
1098	Upto 2km from laxmibai nagar railway station main gate towards ujjain on MR4	Indore	Regular	220	Open	СС	20	20	400	25	10	Bidding	30	5
1099	Between KM Stone 41 and 43 (Indore-Ahmedabad Road) LHS while going towards Ahmedabad, NH-47	Dhar	Regular	155	OBC	СС	35	45	1575	25	10	Bidding	30	4
1100	Kasrawad - within municipal limits	Khargone	Regular	110	ST	CFS	20	20	400	0	0	Draw of Lots	0	3
1101	Between Police thana Kanadiya and Gayatri Mandir (On opposite side of Police Thana, Kanadiya on Garipipliya road), Indore City	Indore	Regular	170	Open	сс	20	20	400	25	10	Bidding	30	5
1102	Bada Bangarda, Indore	Indore	Regular	170	Open	DC	20	20	400	25	60	Draw of Lots	15	5
1103	Between Rudhi toll plaza and village Alampura on Khandwa -Ashapur road	Khandwa	Regular	100	OBC	DC	35	35	1225	25	60	Draw of Lots	15	4
1104	Upto 4km from Kannod Bus stand towards Indore, on Indore-Betul Highway(Nemawar Road), Dewas	Dewas	Regular	160	SC	CFS	35	45	1575	0	0	Draw of Lots	0	3
1105	Between Agrasen Nagar square to Suyog Hospital on Aerodromme road, Indore	Indore	Regular	225	Open	DC	20	20	400	25	60	Draw of Lots	15	5
1106	From Niranjanpur square to Khalsa chowk on MR 11	Indore	Regular	200	Open	СС	20	20	400	25	10	Bidding	30	5
1107	Within 1 KM of Brilliant convention center (On life care hospital road), Indore City	Indore	Regular	170	Open	сс	20	20	400	25	10	Bidding	30	5
1108	Village Khedi between km stone 24 to 26 Khandwa -Ashapur road	Khandwa	Regular	100	OBC	DC	35	35	1225	25	60	Draw of Lots	15	4
1109	Kukshi Bypass Road	Dhar	Regular	110	ST	CFS	35	35	1225	0	0	Draw of Lots	0	3
1110	Up to 5 kms from Joyo cafe, Jaora towards Ujjain on SH-17, Jaora-Ujjain Road	Ratlam	Regular	105	Open CC 1	DC	35	35	1225	25	60	Draw of Lots	15	5
1111	Upto 2 km from Prathmik swasth kendra village Gudi kheda towards Dedtalai on Khandwa Dedtalai road	Khandwa	Regular	100	OBC	DC	35	35	1225	25	60	Draw of Lots	15	4
1112	From Holy Family Convent School to Indore-Bhopal Road (Old NH3), on MR 11 road, Indore City	Indore	Regular	190	Open	СС	20	20	400	25	10	Bidding	30	5
1113	On SH-38 upto 2 kms from Maheshwar BPC RO towards Dhamnod	Khargone	Regular	100	SC	CFS	35	35	1225	0	0	Draw of Lots	0	3

1114	Between KM stone 63 and 65 on Indore-Betul Highway (Nemawar Road)	Dewas	Regular	170	Open	DC	35	45	1575	25	75	Draw of Lots	15	5
1115	Village Banher on Bistan Chiriya road SH-1	Khargone	Regular	100	OBC	DC	35	35	1225	25	60	Draw of Lots	15	4
1116	Between Km stone 15 to 22 on SH-27, Indore Sanwer road	Indore	Regular	105	Open	DC	35	35	1225	25	60	Draw of Lots	15	5
1117	Up to 5 KMs from Tata Steel factory (At Panchmukhi Circle) towards Super Corridor via Laxmibai Mandi, Indore	Indore	Regular	180	Open	DC	20	20	400	25	60	Draw of Lots	15	5
1118	Sardarpur within Muncipal Limit	Dhar	Regular	110	ST CC 1	CFS	20	20	400	0	0	Draw of Lots	0	3
1119	Between Village Billai and Ghughariakhedi on Khandwa Khargone road	Khargone	Regular	100	OBC CC 1	DC	35	35	1225	25	60	Draw of Lots	15	4
1120	From Luvkush Square to Chhota Bangarda Square On Super corridor, Indore	Indore	Regular	170	Open	DC	20	20	400	25	60	Draw of Lots	15	5
1121	Within 5 km from Mangod fata on Ahmedabad- Indore road LHS while going towards Indore.	Dhar	Regular	155	Open PH	DC	35	45	1575	25	75	Draw of Lots	15	5
1122	On LHS on Rajgadh-Sardarpur bypass road ( i.e. Ahmedabad-Indore Highway) while going towards Indore	Dhar	Regular	155	ST	CFS	35	45	1575	0	0	Draw of Lots	0	3
1123	Village Lalkheda on Deshgaon Khargone road	Khargone	Regular	100	OBC	DC	35	35	1225	25	60	Draw of Lots	15	4
1124	Upto 2KM from Nemawar Junction towards Chapda on Indore-Betul Highway (Nemawar Road), Indore City	Indore	Regular	180	Open	сс	20	20	400	25	10	Bidding	30	5
1125	Within 5 km from Hotel Sharda, Dhar on LHS on Ahmedabad-Indore road (NH-47)	Dhar	Regular	155	OBC	DC	35	45	1575	25	75	Draw of Lots	15	4
1126	Between Madhumilan Square to Agrasen Square via Chhaoni Main Road	Indore	Regular	150	ST	CFS	20	20	400	0	0	Draw of Lots	0	3
1127	Upto 2km from Double Choukey towards Indore, on Indore-Betul Highway (Nemawar Road)	Indore	Regular	160	Open	сс	35	45	1575	25	10	Bidding	30	5
1128	Within 1 KM of Lantern Chouraha towards New Railway Station, Indore City	Indore	Regular	220	Open	DC	20	20	400	25	60	Draw of Lots	15	5
1129	Scheme No. 71 (On Western Ring Road), Indore City	Indore	Regular	220	Open	DC	20	20	400	25	60	Draw of Lots	15	5
1130	Village Banihar between km stone 101 to 103 on Khargone-Julwania road	Khargone	Regular	100	OBC	DC	35	35	1225	25	60	Draw of Lots	15	4
1131	Village Tukaithad on Burhanpur-Dedtalai road	Burhanpur	Regular	160	SC	CFS	35	35	1225	0	0	Draw of Lots	0	3
1132	Sector-78, indore City	Indore	Regular	220	Open	сс	20	20	400	25	10	Bidding	30	5

· · · · · ·														·
1133	Jhabua city - within Municipal Limit	Jhabua	Regular	105	Open CC 1	DC	20	20	400	25	45	Draw of Lots	15	5
1134	Withing 2 km from Narmada Jhabua Bank, Rajod on Sardarpur- Bhesola road	Dhar	Regular	105	OBC	DC	35	35	1225	25	60	Draw of Lots	15	4
1135	Between km stone 37 to 40 on khalghat- Manawar road	Dhar	Regular	130	ST	CFS	35	35	1225	0	0	Draw of Lots	0	3
1136	Bhamori Extension, Scheme no. 54, Indore City	Indore	Regular	220	Open	сс	20	20	400	25	10	Bidding	30	5
1137	Village Choli on Mandleshwar Mhow road	Khargone	Regular	100	OBC	DC	35	35	1225	25	60	Draw of Lots	15	4
1138	Village Dhangaon on Indore-Icchapur road	Khandwa	Regular	100	Open	DC	35	35	1225	25	60	Draw of Lots	15	5
1139	Upto 1 km from BPC RO near agriculture college Khandwa on Khandwa- Dedtalai road( Khandwa - WML)	Khandwa	Regular	105	Open	DC	20	20	400	25	45	Draw of Lots	15	5
1140	Dipakheda (On SH14 )	Mandsaur	Regular	150	SC	CFS	35	35	1225	0	0	Draw of Lots	0	3
1141	Village Multhan on SH-01 Bistan-Bhusawal road	Khargone	Regular	100	OBC	DC	35	35	1225	25	60	Draw of Lots	15	4
1142	Upto 3 km from Kendriya Vidhyala, Khandwa towards Village Amalpura, on Khandwa-Ashapur road	Khandwa	Regular	100	Open	DC	35	35	1225	25	60	Draw of Lots	15	5
1143	Upto 3 km from HPC RO village Rai towards Khandwa on,Khandwa- Ashapur road	Khandwa	Regular	100	Open	DC	35	35	1225	25	60	Draw of Lots	15	5
1144	Between km stone 53 to 55 on Rajgadh- Kukshi road	Dhar	Regular	100	ST	CFS	35	35	1225	0	0	Draw of Lots	0	3
1145	Bhagwanpura - WML	Khargone	Regular	110	OBC	DC	20	20	400	25	45	Draw of Lots	15	4
1146	Village Piplod between km stone 29 to 31 on Khandwa Dedtalai road	Khandwa	Regular	100	Open	DC	35	35	1225	25	60	Draw of Lots	15	5
1147	Upto 2 kms from Mahalaxmi temple Khandwa towards Nagchun on Moghat- Nagchun road (Khandwa - WML)	Khandwa	Regular	135	Open	DC	20	20	400	25	45	Draw of Lots	15	5
1148	Village Oon on Khargone Julwania road	Khargone	Regular	100	OBC	DC	35	35	1225	25	60	Draw of Lots	15	4
1149	Within 3 kms from Nisarpur hospital on Barwani- Kukshi road	Dhar	Regular	130	ST	CFS	35	35	1225	0	0	Draw of Lots	0	3
1150	Village Doiphodiya on Dedtalai -Burhanpur road	Burhanpur	Regular	100	Open	DC	35	35	1225	25	60	Draw of Lots	15	5
1151	Between Ganpati mandir chouraha to new collector office on burhanpur bypass road (Burhanpur - WML)	Burhanpur	Regular	125	Open	DC	20	20	400	25	45	Draw of Lots	15	5

1152	Village Balsamund on SH-31, Khalghat-Kasrawad road	Khargone	Regular	100	OBC	DC	35	35	1225	25	60	Draw of Lots	15	4
1153	Bilantri (On SH14 )	Mandsaur	Regular	150	SC	CFS	35	35	1225	0	0	Draw of Lots	0	3
1154	Upto 2 kms from Baghdara fata towards Mhow on SH-1, Mandleshwar Mhow road	Khargone	Regular	100	Open	DC	35	35	1225	25	60	Draw of Lots	15	5
1155	Village Dodwa Indore-Icchapur road	Khargone	Regular	100	Open	DC	35	35	1225	25	60	Draw of Lots	15	5
1156	Between village Chipipura and Jhomarkhali on SH-15 Khandwa Harda Road	Khandwa	Regular	100	OBC	DC	35	35	1225	25	60	Draw of Lots	15	4
1157	Village Kherda on Indore-Icchapur road	Khargone	Regular	100	Open	DC	35	35	1225	25	60	Draw of Lots	15	5
1158	Within 3 km (via Bagh Bypass Road) on either side of BPC RO at Bagh on Rajgadh- Kukshi road	Dhar	Regular	105	ST	CFS	35	35	1225	0	0	Draw of Lots	0	3
1159	Between VILLAGE Mengaon and Piprata on SH-31 Khargone Kasrawad road	Khargone	Regular	140	OBC	DC	35	35	1225	25	60	Draw of Lots	15	4
1160	Between KM stone 67 and 69 on Indore Betul Highway (Nemawar road)	Dewas	Regular	160	Open CC 1	DC	35	45	1575	25	75	Draw of Lots	15	5
1161	Village Bhatalpura on Deshgaon khargone road	Khargone	Regular	100	Open	DC	35	35	1225	25	60	Draw of Lots	15	5
1162	Gujar Bardiya (On SH14 )	Mandsaur	Regular	150	SC	CFS	35	35	1225	0	0	Draw of Lots	0	3
1163	Village Kumthi on Indore Icchapur road	Khandwa	Regular	140	OBC	DC	35	35	1225	25	60	Draw of Lots	15	4
1164	Village Palsud on Barwaha- Mandleshwar Road SH-38	Khargone	Regular	115	Open	DC	35	35	1225	25	60	Draw of Lots	15	5
1165	Village Songir on Chegaon makhan-Burhanpur road	Khandwa	Regular	135	Open	DC	35	35	1225	25	60	Draw of Lots	15	5
1166	Within 2 km from HPC RO at Tanda towards Rajgarh on Kukshi -Rajgarh road	Dhar	Regular	100	ST	CFS	35	35	1225	0	0	Draw of Lots	0	3
1167	Between Milestone 244 to 248 on LHS on SH31 while going towards Nayagaon from Neemuch	Neemuch	Regular	200	OBC	DC	35	35	1225	25	60	Draw of Lots	15	4
1168	Upto 2 kms from Bank of Maharashtra Chaigaon Makhan towards Burhanpur on Indore Ichapur road	Khandwa	Regular	140	Open	DC	35	35	1225	25	60	Draw of Lots	15	5
1169	Within 5 km from Lebad-Manpur Chauraha on Lebad-Manpur Road	Dhar	Regular	170	Open CC 2	DC	35	45	1575	25	75	Draw of Lots	15	5
1170	Kukdeshwar	Neemuch	Regular	150	OBC CC 1	DC	35	35	1225	25	60	Draw of Lots	15	4

1171	Upto 2 kms from BPC Mandleshwar RO towards Barwaha on Maheshwar- Barwaha road	Khargone	Regular	100	SC CC 1	CFS	35	35	1225	0	0	Draw of Lots	0	3
1172	Between village Dhabiya and Roshni on Ashapur Betul road NH-347B	Khandwa	Regular	220	Open	DC	35	45	1575	25	75	Draw of Lots	15	5
1173	Village Rudhi on Khandwa Ashapur road	Khandwa	Regular	135	Open	DC	35	35	1225	25	60	Draw of Lots	15	5
1174	On road going from world cup square, Indore to Bicholi Mardana crossing on NH-3	Indore	Regular	160	OBC	сс	20	20	400	25	10	Bidding	30	4
1175	Between Rajgarh to Dattigaon on NH 47 LHS while going towards Rajgadh	Dhar	Regular	155	ST	CFS	35	45	1575	0	0	Draw of Lots	0	3
1176	Between KM stone 63 to 69 on LHS on Agra Mumbai Highway while going towards Mumbai	Khargone	Regular	155	Open	DC	35	45	1575	25	75	Draw of Lots	15	5
1177	Khargone - WML (On Khargone-Kasrawad road)	Khargone	Regular	100	Open	сс	35	35	1225	25	10	Bidding	30	5
1178	Between Milestone 249 to 253 on LHS on SH31 while going towards Neemuch from Nayagaon	Neemuch	Regular	200	OBC	DC	35	35	1225	25	60	Draw of Lots	15	4
1179	Village Bhamori (On Khargone-Badwani road)	Badwani	Regular	100	Open	сс	35	35	1225	25	10	Bidding	30	5
1180	Between KM stone 32 to 35 on SH 27 on LHS on Ujjain - indore Road	Ujjain	Regular	115	SC	CFS	35	35	1225	0	0	Draw of Lots	0	3
1181	Bhanpura (Upto Municipal Limit on Bhanpura Bus stand - Rampura Road)	Mandsaur	Regular	150	Open	DC	20	20	400	25	45	Draw of Lots	15	5
1182	Between Tower Square to Bhawarkunwa Square	Indore	Regular	150	OBC	DC	20	20	400	25	60	Draw of Lots	15	4
1183	Kothda - on kannod to satwas road	Dewas	Regular	110	Open CC 1	DC	35	35	1225	25	60	Draw of Lots	15	5
1184	Village Kanjrota from Kanjrota Panchayat Bhavan towards Rajgadh on Rajgadh- Kukshi Road	Dhar	Regular	110	ST	CFS	35	35	1225	0	0	Draw of Lots	0	3
1185	Between Khajrana square to Al Hayat Hospital, Khajrana main road	Indore	Regular	180	OBC	сс	20	20	400	25	10	Bidding	30	4
1186	Bhartiyakhedi	Mandsaur	Regular	150	Open	DC	35	35	1225	25	60	Draw of Lots	15	5
1187	Between Milestone 155 to 162 on SH31 (Mhow - Neemuch Road)	Mandsaur	Regular	200	Open	DC	35	35	1225	25	60	Draw of Lots	15	5
1188	Sandhara	Mandsaur	Regular	150	OBC	DC	35	35	1225	25	60	Draw of Lots	15	4
1189	Budhwariya , Ujjian City	Ujjain	Regular	150	SC	CFS	20	20	400	0	0	Draw of Lots	0	3

1190	Manasa (Within Municipal Limit on Neemuch - Rampura road, SH31A)	Neemuch	Regular	150	Open	DC	35	35	1225	25	60	Draw of Lots	15	5
1191	Mandsaur city ( On Kelash Marg, Between Ambedkar Chouraha to Mandsaur Bus Stand)	Mandsaur	Regular	110	Open	DC	20	20	400	25	45	Draw of Lots	15	5
1192	Kanawati	Neemuch	Regular	150	OBC	DC	35	35	1225	25	60	Draw of Lots	15	4
1193	Ekalduna on Lebad- Manpur Road	Dhar	Regular	110	ST	CFS	35	35	1225	0	0	Draw of Lots	0	3
1194	Between Milestone 168 to 174 on Mhow - Neemuch road , SH31	Mandsaur	Regular	200	Open	DC	35	35	1225	25	60	Draw of Lots	15	5
1195	Between Milestone 209 to 217 on Mhow - Neemuch road, SH31	Neemuch	Regular	200	Open	DC	35	35	1225	25	60	Draw of Lots	15	5
1196	Upto 3 Kms from Shashkiya Ucchtar Madhyamik Vidhyalaya, Panwadi towards Ukawada (on RHS while going from Shajapur to Sarangpur) on Agra Mumbai highway	Shajapur	Regular	150	OBC PH	DC	35	45	1575	25	75	Draw of Lots	15	4
1197	Between Bada Ganpati temple and Imli bazaar chauraha on Netaji subhash marg.	Indore	Regular	160	ST PH	CFS	20	20	400	0	0	Draw of Lots	0	3
1198	Shamgarh - Within Municipal Limit (On Suwasra - Bhanpura Road)	Mandsaur	Regular	110	Open	DC	20	20	400	25	45	Draw of Lots	15	5
1199	Between Milestone 179 to 182 on LHS on SH31 while going towards Ratlam from Neemuch	Mandsaur	Regular	200	Open	DC	35	35	1225	25	60	Draw of Lots	15	5
1200	Pipliya (Between Milestone 194 to 200 on SH-31, Mhow - Neemuch road)	Mandsaur	Regular	200	OBC	DC	35	35	1225	25	60	Draw of Lots	15	4
1201	Between Milestone 185 to 191 ON SH31	Mandsaur	Regular	200	Open	DC	35	35	1225	25	60	Draw of Lots	15	5
1202	Between village Torni on Rossia on Indore Buranpur road	Khandwa	Regular	100	SC	CFS	35	35	1225	0	0	Draw of Lots	0	3
1203	Mandsaur - WML (On Sanjay Gandhi Udyan Marg)	Mandsaur	Regular	130	Open	DC	20	20	400	25	45	Draw of Lots	15	5
1204	Pansemal within municipal limit	Badwani	Regular	100	OBC	DC	20	20	400	25	45	Draw of Lots	15	4
1205	Thadod (Mhow - Nasirabad road)	Mandsaur	Regular	130	Open	DC	35	35	1225	25	60	Draw of Lots	15	5
1206	Rajpur within muncipal limt	Badwani	Regular	130	ST	CFS	20	20	400	0	0	Draw of Lots	0	3
1207	Bahadari (On SH14)	Mandsaur	Regular	150	OBC	DC	35	35	1225	25	60	Draw of Lots	15	4
1208	Within Ratlam City (Between Bajna Bus Stand to Sagod on Ratlam - Shivgarh road)	Ratlam	Regular	115	Open	DC	20	20	400	25	45	Draw of Lots	15	5

	•													
1209	Within 3 KM from Badnawar Choupati on Badnawar- Badnagar Road	Dhar	Regular	110	Open CC 1	DC	35	35	1225	25	60	Draw of Lots	15	5
1210	Pipliyahadi	Neemuch	Regular	150	OBC	DC	35	35	1225	25	60	Draw of Lots	15	4
1211	On RHS from KM stone 33 to 40 while going towards Mumbai from Indore on Agra Mumbai highway	Indore	Regular	160	ST	CFS	35	45	1575	0	0	Draw of Lots	0	3
1212	Up to 8 kms from IOCL RO Jadon Petroleum, Tal towards Jaora on SH-41, Tal-Jaora Road	Ratlam	Regular	115	Open	DC	35	35	1225	25	60	Draw of Lots	15	5
1213	Up to 3 kms from BPCL RO Mahashakti Seva Kendra, Alote towards Tal on SH-41, Alote-Tal Road	Ratlam	Regular	105	Open	DC	35	35	1225	25	60	Draw of Lots	15	5
1214	Sawan	Neemuch	Regular	150	OBC	DC	35	35	1225	25	60	Draw of Lots	15	4
1215	Nepanagar-WML	Burhanpur	Regular	105	SC	CFS	20	20	400	0	0	Draw of Lots	0	3
1216	Upto 2 KM from Hotel Joyo at Jaora (On SH31, Jaora Mandsaur road) on LHS while going towards Jaora Bus stand.	Ratlam	Regular	120	Open	СС	35	35	1225	25	10	Bidding	30	5
1217	Between km stone 75 & km stone 85 on SH-31 , Badnawar-Ratlam-Jaora road	Ratlam	Regular	105	Open	DC	35	35	1225	25	60	Draw of Lots	15	5
1218	Ratlam City (Between Salakhedi police station and BPC Petrol pump Patel Automobiles)	Ratlam	Regular	100	Open	DC	20	20	400	25	45	Draw of Lots	15	5
1219	Garoth Municipal Limit ( between Shaheed chowk to Garoth Tehsil , on Suwasra - Bhanpura Road)	Mandsaur	Regular	105	OBC CC 1	DC	20	20	400	25	45	Draw of Lots	15	4
1220	Between Agrasen nagar square and IOCL petrol pump at Marimata Chouraha on Airport road, Indore	Indore	Regular	160	SC CC 1	CFS	20	20	400	0	0	Draw of Lots	0	3
1221	Between km stone 74 to 76 on Rajgadh- Kukshi road	Dhar	Regular	100	Open PH	DC	35	35	1225	25	60	Draw of Lots	15	5
1222	Up to 4 kms from BPC Petrol Pump Divya Filling Station towards Alirajpur on SH-26, Ranapur-Jobat Road	Alirajpur	Regular	100	OBC	DC	35	35	1225	25	60	Draw of Lots	15	4
1223	Alote within Municipal Limit (Up to 2 KM from Vikramgarh railway phatak towards berkheda on alote berkheda road)	Ratlam	Regular	100	Open	DC	20	20	400	25	45	Draw of Lots	15	5
1224	On LHS from km stone 54 to 57 (while going towards mumbai) on Agra Mumbai highway	Indore	Regular	186	ST	CFS	35	45	1575	0	0	Draw of Lots	0	3
1225	Ratlam City (Between Ratlam Sailana Bus Stop and Balaji Central Hotel)	Ratlam	Regular	160	Open	DC	20	20	400	25	45	Draw of Lots	15	5
1226	Between km stone 20 & 32 on SH-39, Ratlam-Sailana-Banswara Road	Ratlam	Regular	110	OBC	DC	35	35	1225	25	60	Draw of Lots	15	4
1227	Jaora within Municipal Limit	Ratlam	Regular	105	Open	DC	20	20	400	25	45	Draw of Lots	15	5

1228	Between km stone 33 & km stone 36 on SH-39, Ratlam-Sailana-Banswara Road	Ratlam	Regular	100	Open	DC	35	35	1225	25	60	Draw of Lots	15	5
1229	Betma on NH59	Indore	Regular	150	SC	CFS	35	45	1575	0	0	Draw of Lots	0	3
1230	Village Khawasa on SH-26, Khawasa-Thandla Road	Jhabua	Regular	125	OBC	DC	35	35	1225	25	60	Draw of Lots	15	4
1231	Up to 2 KM from Thandla municiple office towards petlawad on thandla- petlawad road	Jhabua	Regular	105	Open	DC	35	35	1225	25	60	Draw of Lots	15	5
1232	Village Ashapur on Khandwa-Harda raod	Khandwa	Regular	100	Open CC 1	DC	35	35	1225	25	60	Draw of Lots	15	5
1233	Between Vijay Stambh (Karanja) tiraha and Seagaon Junction (Olympic circle), Barwani city	Badwani	Regular	125	ST	CFS	20	20	400	0	0	Draw of Lots	0	3
1234	Within Ratlam City (up to 1 km from chamaria naka towards ghas bazar)	Ratlam	Regular	115	OBC	DC	20	20	400	25	45	Draw of Lots	15	4
1235	Up to 3 KM from BPC Petrol pump at Petlawad towards Badnawar on SH- 18, Petlawad -Badnawar Road	Jhabua	Regular	110	Open	DC	35	35	1225	25	60	Draw of Lots	15	5
1236	Thandla within Municipal Limit	Jhabua	Regular	110	Open	DC	20	20	400	25	45	Draw of Lots	15	5
1237	Village Datana on SH 18 on on RHS ON Ujjan - Dewas Road	Ujjain	Regular	120	OBC	сс	35	35	1225	25	10	Bidding	30	4
1238	Village Dhahinala on , Indore-Icchapur road	Burhanpur	Regular	100	ST	CFS	35	35	1225	0	0	Draw of Lots	0	3
1239	Between km stone 7 & 10 on SH-18, Thandla-Kakanwani Road	Jhabua	Regular	125	Open	DC	35	35	1225	25	60	Draw of Lots	15	5
1240	Between km stone 21 & 24 on SH-26, Ratlam-Karwad Road	Ratlam	Regular	110	Open	DC	35	35	1225	25	60	Draw of Lots	15	5
1241	Village Icchapur on Indore -Icchapur road	Burhanpur	Regular	100	OBC	DC	35	35	1225	25	60	Draw of Lots	15	4
1242	Rui On SH 17	Ujjain	Regular	100	SC	CFS	35	35	1225	0	0	Draw of Lots	0	3
1243	On LHS between km stone 135 & 137 on SH-31 while going towards Mandsaur, Jaora-Mandsaur Road	Ratlam	Regular	105	Open	DC	35	35	1225	25	60	Draw of Lots	15	5
1244	Between km stone 41 & 43 on SH-18, Badnawar-Petlawad Road	Jhabua	Regular	130	Open	DC	35	35	1225	25	60	Draw of Lots	15	5
1245	Ziraniya-WML	Khargone	Regular	100	OBC	DC	20	20	400	25	45	Draw of Lots	15	4
1246	Village Bijori between km stone 76 to 78 on Dedtalai Burhanpur road	Burhanpur	Regular	100	ST	CFS	35	35	1225	0	0	Draw of Lots	0	3

1247	Within Ratlam City (on road connecting surajmal jain nagar to mhow road)	Ratlam	Regular	115	Open	DC	20	20	400	25	45	Draw of Lots	15	5
1248	Upto 3 kms from BPC RO village Borgaon Bujurg towards Burhanpur on Indore Icchapur road	Khandwa	Regular	100	OBC	DC	35	35	1225	25	60	Draw of Lots	15	4
1249	Within Ratlam City (up to 4 km from tripolia gate bus stand towards kaneri road)	Ratlam	Regular	120	Open	DC	20	20	400	25	45	Draw of Lots	15	5
1250	Within 3km from Hotel Shanti palace on Ujjain - Nagda Bypass road	Ujjain	Regular	120	Open	DC	35	35	1225	25	60	Draw of Lots	15	5
1251	Patoni - ON Dupada to Shajapur Road NEW SH-17	Shajapur	Regular	100	SC	CFS	35	35	1225	0	0	Draw of Lots	0	3
1252	Village Gujar khedi on Punasa Sanawad road	Khandwa	Regular	100	OBC	DC	35	35	1225	25	60	Draw of Lots	15	4
1253	Within 2 km from Toll Naka on SH 27 Towards Indore On RHS while going towards Indore	Ujjain	Regular	130	Open	СС	35	35	1225	25	10	Bidding	30	5
1254	On SH 18 between milestone 179 to 181 On Ujjain to Dewas Road	Ujjain	Regular	125	Open	DC	35	35	1225	25	60	Draw of Lots	15	5
1255	Chirmoliya(On SH14 )	Mandsaur	Regular	150	ST	CFS	35	35	1225	0	0	Draw of Lots	0	3
1256	Upto 2 kms from HPCL Bamnala RO towards Khargone on Deshgaon Khargone road	Khargone	Regular	100	OBC	DC	35	35	1225	25	60	Draw of Lots	15	4
1257	Within 3 km from Unhel Bus stand towards Ujjain on Unhel - Ujjian Road	Ujjain	Regular	115	Open	DC	35	35	1225	25	60	Draw of Lots	15	5
1258	Upto 4 km from IDBI bank village Baswa towards Khandwa on Indore- Icchapur road	Khargone	Regular	100	Open CC 1	DC	35	35	1225	25	60	Draw of Lots	15	5
1259	Within 3 km from Police Station at Dhamnod on Dhamnod- Maheshwar road	Dhar	Regular	110	OBC	DC	35	35	1225	25	60	Draw of Lots	15	4
1260	Bhaghana (On SH15 )	Neemuch	Regular	140	ST	CFS	35	35	1225	0	0	Draw of Lots	0	3
1261	On RHS from Hari Phatak Bridge to Mahamrityunjay Dwar, Ujjain-Indore Road	Ujjain	Regular	160	Open	DC	20	20	400	25	60	Draw of Lots	15	5
1262	Within 2 Km from Hariyali Dhabha on SH 17 towards Nagda on LHS	Ujjain	Regular	110	Open	DC	35	35	1225	25	60	Draw of Lots	15	5
1263	Indore City (LHS on road going from Maa ahilya nagar to scheme no. 155)	Indore	Regular	220	OBC	сс	20	20	400	25	10	Bidding	30	4
1264	Nipanya - on Vijayaganj mandi to Dewas Road NEW SH-16	Dewas	Regular	100	SC	CFS	35	35	1225	0	0	Draw of Lots	0	3
1265	Ujjain City (Upto 2km from Teen Batti Chouraha on LHS towards Dewas on Ujjain Dewas Road)	Ujjain	Regular	150	Open	DC	20	20	400	25	60	Draw of Lots	15	5

	-													
1266	Between Nanakheda Bus stand & Hotel Anjushree In on LHS on SH-27 while going from Ujjain to Indore	Ujjain	Regular	180	Open	DC	20	20	400	25	60	Draw of Lots	15	5
1267	On LHS between KM Stone 92 and 94 while going towards Mumbai from Indore, on Agra-Mumbai highway	Khargone	Regular	180	OBC	DC	35	45	1575	25	75	Draw of Lots	15	4
1268	Between Milestone 47 to 49 on SH 17 on Nagda to Ujjain	Ujjain	Regular	100	Open	DC	35	35	1225	25	60	Draw of Lots	15	5
1269	Village - Salsalai on Sarangpur to Akodia Road	Shajapur	Regular	100	ST CC 1	CFS	35	35	1225	0	0	Draw of Lots	0	3
1270	Village Badadiya surta on SH-38 , Barwaha Maheshwar road	Khargone	Regular	100	Open CC 2	DC	35	35	1225	25	60	Draw of Lots	15	5
1271	Between Bhamori Square and Malwa Mill Chauraha (On passing through Geeta Chowk), Indore City	Indore	Regular	240	OBC CC 1	DC	20	20	400	25	60	Draw of Lots	15	4
1272	Shubashnagar, Ujjain City	Ujjain	Regular	160	Open	DC	20	20	400	25	60	Draw of Lots	15	5
1273	Up to 5 kms from IOCL RO Purva Fuel, Islamnagar towards Tal on SH-41, Jaora-Tal Road	Ratlam	Regular	100	ST	CFS	35	35	1225	0	0	Draw of Lots	0	3
1274	Upto 5 Kms from Reva circle towards Anjad on Barwani Anjad road	Badwani	Regular	130	OBC	DC	35	35	1225	25	60	Draw of Lots	15	4
1275	Between Milestone on 63 to 65 on SH 27 On Ujjian to Agar Road on LHS	Ujjain	Regular	130	Open	СС	35	35	1225	25	10	Bidding	30	5
1276	Village Nipaniya Goyal on SH 27 on RHS while going from Ujjain to Agar.	Ujjain	Regular	120	Open	СС	35	35	1225	25	10	Bidding	30	5
1277	Upto 2 Km from Regenta Hotel towards Indore on RHS while going towards Indore from Dewas on Agra Mumbai Highway	Indore	Regular	210	OBC	СС	20	20	400	25	10	Bidding	30	4
1278	On LHS from Rajendra Nagar Police Station upto Rau Circle on old AB Road.	Indore	Regular	150	SC	CFS	20	20	400	0	0	Draw of Lots	0	3
1279	Between km stone 35 & 38 on SH-18, Ujjain-Badnagar Road	Ujjain	Regular	120	Open	DC	35	35	1225	25	60	Draw of Lots	15	5
1280	Somwariya ,Ujjian City	Ujjain	Regular	150	Open	DC	20	20	400	25	60	Draw of Lots	15	5
1281	On LHS on Maksi byepass while going from Dewas to Shajapur (Within municipal limit of Maksi)	Shajapur	Regular	110	OBC	сс	20	20	400	25	10	Bidding	30	4
1282	Up to 4 kms from BPC Petrol Pump at Bamnia towards Thandla (On Ratlam-Karwad-Thandla Road)	Jhabua	Regular	100	ST	CFS	35	35	1225	0	0	Draw of Lots	0	3
1283	On SH 17 between Km stone 38 to 42 Ujjain - Nagda Road	Ujjain	Regular	100	Open	DC	35	35	1225	25	60	Draw of Lots	15	5
1284	Between HPC RO Bhikangaon and Veda river bridge on Deshgaon - Bhikangaon road	Khargone	Regular	100	Open CC 1	DC	35	35	1225	25	60	Draw of Lots	15	5

Upto 2 Kms from Palsud on Palsud- Sendhwa road	Badwani	Regular	100	OBC	DC	35	35	1225	25	60	Draw of Lots	15	4
Up to 2 kms from BPC Petrol Pump at Thandla towards Kakanwani on Thandla-Limdi Road	Jhabua	Regular	130	ST	CFS	35	35	1225	0	0	Draw of Lots	0	3
Between milestone 41 to 44 on LHS on SH27 while going towards Indore	Ujjain	Regular	150	Open	DC	35	35	1225	25	60	Draw of Lots	15	5
Within Ratlam City (Between Topkhana chauraha to Bohra Kabristan on Gaushala road)	Ratlam	Regular	115	Open	DC	20	20	400	25	45	Draw of Lots	15	5
Palkhanda on SH 18	Ujjain	Regular	100	OBC	DC	35	35	1225	25	60	Draw of Lots	15	4
Village Sirpur on Burhanpur Dedtalai road	Burhanpur	Regular	120	Open	DC	35	35	1225	25	60	Draw of Lots	15	5
From Footi Kothi Square to Dhar Road Tiraha on RHS	Indore	Regular	200	SC	CFS	20	20	400	0	0	Draw of Lots	0	3
Village Morghadi on Indore Sanawad Road	Khandwa	Regular	110	Open	DC	35	35	1225	25	60	Draw of Lots	15	5
	Dewas	Regular	100	OBC	DC	20	20	400	25	45	Draw of Lots	15	4
Khalwa-WML	Khandwa	Regular	110	Open	DC	20	20	400	25	45	Draw of Lots	15	5
Within 3 KM from Bagadi fata towards Gujari on Dhar-Gujari Road	Dhar	Regular	110	SC PH	CFS	20	20	400	0	0	Draw of Lots	0	3
Upto 5 Kms from IIT Simrol towards Khandwa on SH27	Indore	Regular	150	OBC PH	DC	35	45	1575	25	75	Draw of Lots	15	4
	Burhanpur	Regular	100	Open	DC	35	35	1225	25	60	Draw of Lots	15	5
Upto 2 km from IDBI bank village Baswa towards Sanawad Indore- Icchapur road	Khargone	Regular	100	Open	DC	35	35	1225	25	60	Draw of Lots	15	5
Upto 5 KM from HPCL RO Adhoc Balaji Fuels towards Shujalpur on Ashta Shujalpur Road	Shajapur	Regular	100	OBC	DC	35	35	1225	25	60	Draw of Lots	15	4
Alirajpur city - within Municipal Limit	Alirajpur	Regular	105	ST	CFS	20	20	400	0	0	Draw of Lots	0	3
Village Pitgara on Badnawar-Petlawad Road	Dhar	Regular	110	Open	DC	35	35	1225	25	60	Draw of Lots	15	5
Between KM Stone 39 and 45 (Indore-Ahmedabad Road) LHS while going towards Indore, NH-47	Dhar	Regular	200	Open	DC	35	45	1575	25	75	Draw of Lots	15	5
Sundarsi - ON Berchha to Polaykalan Road NEW SH-17	Shajapur	Regular	100	OBC	DC	35	35	1225	25	60	Draw of Lots	15	4
	Thandla-Limdi Road Between milestone 41 to 44 on LHS on SH27 while going towards Indore Within Ratlam City (Between Topkhana chauraha to Bohra Kabristan on Gaushala road) Palkhanda on SH 18 Village Sirpur on Burhanpur Dedtalai road From Footi Kothi Square to Dhar Road Tiraha on RHS Village Morghadi on Indore Sanawad Road Dewas City (upto 2 KM from Bhopal Chouraha mata Mandir towards Bhopal road Bypass Chouraha) Khalwa-WML Within 3 KM from Bagadi fata towards Gujari on Dhar-Gujari Road Upto 5 Kms from IIT Simrol towards Khandwa on SH27 Upto 3 KMs from Dariyapur HPC RO towards Burhanpur on Dedtalai Burhanpur road Upto 5 KM from HPCL RO Adhoc Balaji Fuels towards Shujalpur on Ashta Shujalpur Road Alirajpur city - within Municipal Limit Village Pitgara on Badnawar-Petlawad Road	Up to 2 kms from BPC Petrol Pump at Thandla towards Kakanwani on Thandla-Limdi Road       Jhabua         Up to 2 kms from BPC Petrol Pump at Thandla towards Kakanwani on Thandla-Limdi Road       Ujjain         Within Ratiam City (Between Topkhana chauraha to Bohra Kabristan on Gaushala road)       Ratiam         Palkhanda on SH 18       Ujjain         Village Sirpur on Burhanpur Dedtalai road       Burhanpur         From Footi Kothi Square to Dhar Road Tiraha on RHS       Indore         Village Morghadi on Indore Sanawad Road       Khandwa         Dewas City (upto 2 kM from Bhopal Chouraha mata Mandir towards Bhopal road Bypass Chouraha)       Dewas         Khalwa-WML       Khandwa         Within 3 KM from Bagadi fata towards Gujari on Dhar-Gujari Road       Dhar         Upto 5 Kms from IIT Simrol towards Khandwa on SH27       Indore         Upto 2 km from DBI bank village Baswa towards Sanawad Indore- Icchapur road       Khargone         Upto 5 KM from HPCL RO Adhoc Balaji Fuels towards Shujalpur on Ashta Shujalpur Road       Shajapur         Alirajpur city - within Municipal Limit       Alirajpur         Village Pitgara on Badnawar-Petlawad Road       Dhar         Between KM Stone 39 and 45 (Indore-Ahmedabad Road) LHS while going       Dhar	Up to 2 kms from BPC Petrol Pump at Thandla towards Kakanwani on Thandla-Lindi Road       Jhabua       Regular         Up to 2 kms from BPC Petrol Pump at Thandla towards Kakanwani on Thandla-Lindi Road       Ujiain       Regular         Between milestone       41 to 44 on LHS on SH27 while going towards       Ujiain       Regular         Within Ratiam City (Between Topkhana chauraha to Bohra Kabristan on Gaushala road)       Ratiam       Regular         Paikhanda on SH 18       Ujiain       Regular         Village Sirpur on Burhanpur Dedtalai road       Burhanpur       Regular         From Footi Kothi Square to Dhar Road Tiraha on RHS       Indore       Regular         Village Morghadi on Indore Sanawad Road       Khandwa       Regular         Dewas City (upto 2 KM from Bhopal Chouraha mata Mandir towards Bhopal road Bypass Chouraha)       Dewas       Regular         Khalwa-WML       Khandwa       Regular         Within 3 KM from Bagadi fata towards Gujari on Dhar-Gujari Road       Dhar       Regular         Upto 5 Kms from IIT Simrol towards Khandwa on SH27       Indore       Regular         Upto 2 kM from Dariyapur HPC RO towards Burhanpur on Dedtalai Burhanpur road       Burhanpur       Regular         Upto 5 KMs from Dariyapur HPC RO towards Shanawad Indore- tochapur road       Rhargone       Regular         Upto 5 KM from HPCL RO Adhoc Ba	Line       Line         Up to 2 kms from BPC Petrol Pump at Thandla towards Kakanwani on Thandla-Lindi Road       Jhabua       Regular       130         Between milestone       41 to 44 on LHS on SH27 while going towards       Ujiain       Regular       1150         Within Rattam City (Between Topkhana cheuraha to Bohra Kabristan on Gaushala road)       Rattam       Regular       115         Paikhanda on SH 18       Ujiain       Regular       120         Village Sirpur on Burhanpur Dedtalai road       Burhanpur       Regular       120         From Footi Kothi Square to Dhar Road Tiraha on RHS       Indore       Regular       110         Oewas       Regular       110       100       110         Village Morghadi on Indore Sanawad Road       Khandwa       Regular       110         Dewas (Dig Upto 2 KM from Bhopal Chouraha mata Mandir towards Bhopal road Bypass Chouraha)       Dewas       Regular       110         Within 3 KM from Bagadi fata towards Gujari on Dhar-Gujari Road       Dhar       Regular       110         Upto 5 Kms from IIT Sinrol towards Khandwa on SH27       Indore       Regular       100         Upto 5 Kms from Dariyapur HPC RO towards Burhanpur on Dedtalai Burhanpur road       Burhanpur       Regular       100         Upto 5 Kms from IDEI bank village Baswa towards Sanawad I	Line         Line         Line           Up to 2 kms from BPC Petrol Pump at Thandla towards Kakanwani on Thandla-Lindi Road         Jhabua         Regular         130         ST           Between milestone         41 to 44 on LHS on SH27 while going towards         Ujain         Regular         1150         Open           Within Ratiam City (Between Topkhana chauraha to Bohra Kabristan on Gaushala road)         Ratiam         Regular         1100         OBC           Village Sirpur on Burhanpur Dedtalai road         Burhanpur         Regular         120         Open           From Fooli Kothi Square to Dhar Road Tiraha on RHS         Indore         Regular         1100         OBC           Village Morghadi on Indore Sanawad Road         Khandwa         Regular         1100         Open           Dewas City (upto 2 KM from Bhopal Chouraha mata Mandir towards         Dewas         Regular         1100         OBC           Khalwa-WML         Khandwa         Regular         1100         OBC           Within 3 KM from Bagadi fata towards Gujari on Dhar-Gujari Road         Dhar         Regular         1100         OBC PH           Upto 5 Kms from IIT Simrol towards Khandwa on SH27         Indore         Regular         100         OBC PH           Upto 5 Kms from IIT Simrol towards Burhanpur on Dedtalali         Burhanpur	Image: Constraint of the second sec	Image: Second	Image:         Image:<	And Lip La Arnon De Patrol Purop at Thandla towards Kalannean on Instructa Lind Kalon Thindha Lind Kalon Thindha Lind Kalon Lip La Arnon De MalauaRegular Regular150STCFS35351225Between missione 41 to 44 on LHS on SH27 while going towards 	Image: Control       Image: Contro       Image: Control       Image	1 $1$ <td>Image: Constraint of the set of</td> <td>i         i</td>	Image: Constraint of the set of	i         i

1304	Between World Cup Square to IT Park Square on Ringh Road.	Indore	Regular	160	SC	CFS	20	20	400	0	0	Draw of Lots	0	3
1305	Talwada ON Dhar Gujri road	Dhar	Regular	200	Open	DC	35	45	1575	25	75	Draw of Lots	15	5
1306	Between mile stone 32 to 34 on LHS on Mhow-Neemach road while going towards Badnawar	Dhar	Regular	110	Open	DC	35	35	1225	25	60	Draw of Lots	15	5
1307	Within 3 km either side from Govt College, Manawar on Manawar- Mangod Road	Dhar	Regular	110	Open	сс	35	35	1225	25	10	Bidding	30	5
1308	Between Footi Kothi Square to Hawa Bangla Indore	Indore	Regular	160	OBC	DC	20	20	400	25	60	Draw of Lots	15	4
1309	Between km stone 5 & 9 on SH-26, Alirajpur-Chandpur Road	Alirajpur	Regular	125	ST	CFS	35	35	1225	0	0	Draw of Lots	0	3
1310	Dharampuri within Muncipal Limit	Dhar	Regular	110	Open CC 1	DC	20	20	400	25	45	Draw of Lots	15	5
1311	From Eicher Motor Square to Power House Square	Indore	Regular	150	OBC	DC	20	20	400	25	45	Draw of Lots	15	4
1312	Between Vijay Nagar Square and Niranjanpur Square (on Old A.B. road), Indore City	Indore	Regular	240	Open	сс	20	20	400	25	10	Bidding	30	5
1313	Between Navlakha Square to Bhawarkunwa Square on old AB Road.	Indore	Regular	150	SC	CFS	20	20	400	0	0	Draw of Lots	0	3
1314	On LHS upto 5km from Marimata Chauraha on Indore Ujjain road while going towards Ujjain	Indore	Regular	220	Open	DC	20	20	400	25	60	Draw of Lots	15	5
1315	Between KM stone 55 to 60 on Indore Betul Highway (NH59A)	Dewas	Regular	155	OBC	DC	35	35	1225	25	75	Draw of Lots	15	4
1316	Between Km stone 25 to 34 on SH-27, Indore Sanwer road	Indore	Regular	150	Open	DC	35	35	1225	25	60	Draw of Lots	15	5
1317	Between Maharaja Chatrasal Chauraha and BCM Paradise through Tulsi Nagar Road, Indore City	Indore	Regular	220	Open	сс	20	20	400	25	10	Bidding	30	5
1318	Village Raitalai on Dedtalai Burhanpur road	Burhanpur	Regular	100	ST CC 1	CFS	35	35	1225	0	0	Draw of Lots	0	3
1319	Village Chhagaon Makhan on Indore Icchapur road	Khandwa	Regular	100	OBC CC 1	DC	35	35	1225	25	60	Draw of Lots	15	4
1320	Upto 2KM from HPCL Petrol Pump Purna Maa Petroleum towards Khategaon, on Indore Betul Highway(Nemawar Road)	Dewas	Regular	230	Open	DC	35	45	1575	25	75	Draw of Lots	15	5
1321	Jahangirpur (On Ingoria to Unhel road)	Ujjain	Regular	105	Open PH	DC	35	35	1225	25	60	Draw of Lots	15	5
1322	Up to 4 kms from HPC Petrol Pump Bhandari Petroleum towards Ranapur on SH-26, Jhabua-Ranapur Road	Jhabua	Regular	100	ST	CFS	35	35	1225	0	0	Draw of Lots	0	3

<b></b>			l l											
1323	Between Star Chouraha to Maple Woods residential complex (On road passing through Advance academy-Ocean Park-Summer Park-Balaji Skyz), Indore City	Indore	Regular	200	OBC	DC	20	20	400	25	60	Draw of Lots	15	4
1324	Between LIG Square and Palasia Square, on Old A.B. Road, Indore City	Indore	Regular	180	Open	СС	20	20	400	25	10	Bidding	30	5
1325	Upto 3 kms from Bank of Maharashtra Chaigaon Makhan towards khandwa on Deshgaon Khandwa road	Khandwa	Regular	100	OBC	DC	35	35	1225	25	60	Draw of Lots	15	4
1326	Up to 4 kms from BPC Petrol Pump Shree Ji Petroleum towards Jhabua on SH-26, Ranapur-Jhabua Road	Jhabua	Regular	105	ST	CFS	35	35	1225	0	0	Draw of Lots	0	3
1327	Between Kilometer stone no. 22 and 19, on Indore-Betul Highway (Nemawar Road), Dewas	Dewas	Regular	170	Open	DC	35	45	1575	25	75	Draw of Lots	15	5
1328	On RHS between KM Stone 155 and 157 while going towards Mumbai from Indore, on Agra-Mumbai highway	Badwani	Regular	180	Open	DC	35	45	1575	25	75	Draw of Lots	15	5
1329	Bilawali on LHS while going towards Makshi	Dewas	Regular	170	Open	сс	35	45	1575	25	10	Bidding	30	5
1330	Between Village Jhiri and Nimbola on Indore Burhanpur road	Burhanpur	Regular	100	OBC	DC	35	35	1225	25	60	Draw of Lots	15	4
1331	Upto Railway Bridge towards Mhow from IOCL Petrol pump (Omprakash Petroleum, Umaria).	Indore	Regular	100	SC	CFS	20	20	400	0	0	Draw of Lots	0	3
1332	Upto 2 Km from Dewas byepass junction (Rasulpur Tiraha) while going towards Dewas City	Dewas	Regular	180	Open	сс	35	45	1575	25	10	Bidding	30	5
1333	Village Kaytha on Ujjain -Maksi Rd	Ujjain	Regular	120	Open CC 1	DC	35	35	1225	25	60	Draw of Lots	15	5
1334	Sanawad - within municipal limits	Khargone	Regular	100	OBC	DC	20	20	400	25	45	Draw of Lots	15	4
1335	Between km stone 75 & 78 on SH-18, Badnawar-Petlawad-Thandla-Limdi Road	Jhabua	Regular	120	ST	CFS	35	35	1225	0	0	Draw of Lots	0	3
1336	Between KM stone 34 to 42 on Sendhwa- Pansemal road	Badwani	Regular	120	Open	DC	35	35	1225	25	60	Draw of Lots	15	5
1337	Between Jaora Nayagaon toll at Dhodhar & km stone 151 on SH-31, Dhodhar-Mandsaur Road	Ratlam	Regular	100	OBC	DC	35	35	1225	25	60	Draw of Lots	15	4
1338	Between KM Stone no 149 and 152 on LHS while Going towards Mumbai on Agra Mumbai highway	Badwani	Regular	150	Open	DC	35	45	1575	25	75	Draw of Lots	15	5
1339	Between KM Stone no 35 and 37 on LHS while Going towards Mumbai on Agra-Mumbai highway	Indore	Regular	160	Open	DC	35	45	1575	25	75	Draw of Lots	15	5
1340	Upto 6 Kms from Khandwa SH27 Simrol Tiraha towards Pithampur	Indore	Regular	150	sc	CFS	35	35	1225	0	0	Draw of Lots	0	3
1341	Between km stone 98 & km stone 106 on SH-31, Ratlam-Mandsaur Road	Ratlam	Regular	110	OBC	DC	35	35	1225	25	60	Draw of Lots	15	4

1342	Between KM Stone 7 and 9 on Barwani- Pansemal Road	Badwani	Regular	100	Open	DC	35	35	1225	25	60	Draw of Lots	15	5
1343	On LHS on Shajapur byepass while going from Makshi to Sarangpur (Within municipal limit of Shajapur)	Shajapur	Regular	120	Open	DC	20	20	400	25	45	Draw of Lots	15	5
1344	Between km stone 75 & 78 on SH-26, Ratlam-Karwad-Thandla-Jhabua Road	Jhabua	Regular	125	ST	CFS	35	35	1225	0	0	Draw of Lots	0	3
1345	Between km stone 6 & 9 on SH-26, Ratlam-Karwad Road	Ratlam	Regular	100	OBC	DC	35	35	1225	25	60	Draw of Lots	15	4
1346	On RHS Between Bicholi Hapsi crossing to Bicholi Mardana crossing while going towards Mumbai on Agra Mumbai highway	Indore	Regular	150	Open	DC	20	20	400	25	60	Draw of Lots	15	5
1347	Upto 5 Km from Manakwara Railway crossing towards Gadarwara on SH 22	Narsinghpur	Regular	100	Open	DC	35	35	1225	25	60	Draw of Lots	15	5
1348	Upto 2 Kms from Saikheda Police Station towards Udaipura on SH 44	Narsinghpur	Regular	100	OBC	DC	35	35	1225	25	60	Draw of Lots	15	4
1349	On either side of Km Stone No 75 to 80 while going from Jabalpur to Gadarwara SH 22	Narsinghpur	Regular	100	ST	CFS	35	35	1225	0	0	Draw of Lots	0	3
1350	Upto 5 Km from Manakwara Railway crossing towards Kareli on SH 22	Narsinghpur	Regular	100	Open	DC	35	35	1225	25	60	Draw of Lots	15	5
1351	Upto 5 Km from Jhansighat Narmada Bridge towards Gotegaon on SH 22	Narsinghpur	Regular	100	Open	DC	35	35	1225	25	60	Draw of Lots	15	5
1352	On either side of Km Stone No 66 to 70 SH 44	Narsinghpur	Regular	100	OBC	DC	35	35	1225	25	60	Draw of Lots	15	4
1353	Between Km 8 to 15 on SH 11 from Mandla towards Bamhani.	Mandla	Regular	100	SC	CFS	35	35	1225	0	0	Draw of Lots	0	3
1354	Dindori Bypass on SH 22	Dindori	Regular	100	Open	DC	35	35	1225	25	60	Draw of Lots	15	5
1355	Between Km Stone No 323 to 331 on either side of Lakhnadon to Jhansi NH 26 (New NH 44)	Narsinghpur	Regular	150	Open	DC	35	45	1575	25	75	Draw of Lots	15	5
1356	Gotegaon bypass on SH 22 ( LHS while going to Narsinghpur)	Narsinghpur	Regular	100	OBC	DC	35	35	1225	25	60	Draw of Lots	15	4
1357	Upto 2 Km both side from Sai Mandir Bajang on SH 09	Dindori	Regular	100	Open	DC	35	35	1225	25	60	Draw of Lots	15	5
1358	On either side of Km Stone No 90 to 100 while going from Jabalpur to Amarkantak SH 22	Dindori	Regular	100	ST	CFS	35	35	1225	0	0	Draw of Lots	0	3
1359	On either side of Km Stone No 160 to 170 while going from Jabalpur to Amarkantak SH 22	Dindori	Regular	100	OBC	DC	35	35	1225	25	60	Draw of Lots	15	4
1360	Within 2 Km from village Chokhada on NH 339 (Naugaon Mahoba Road)	Chhatarpur	Regular	150	Open CC 1	DC	35	35	1225	25	75	Draw of Lots	15	5

1361	Upto 5 Km from Umar River bridge towards Gadarwara on SH 22	Narsinghpur	Regular	100	Open	DC	35	35	1225	25	60	Draw of Lots	15	5
1362	Within 2 Km from village Kaudia on SH 22	Narsinghpur	Regular	100	SC	CFS	35	35	1225	0	0	Draw of Lots	0	3
1363	within 2 Km from village Amjhar on SH 11	Mandla	Regular	100	OBC	DC	35	35	1225	25	60	Draw of Lots	15	4
1364	Upto 10 Km from Kassa Nala towards Umaria on SH 11	Dindori	Regular	100	Open	DC	35	35	1225	25	60	Draw of Lots	15	5
1365	Damoh (within municipal limit 1)	Damoh	Regular	100	Open	сс	20	20	400	25	10	Bidding	30	5
1366	Within 2 Km from Vill Aswari on SH 09	Shahdol	Regular	100	ST	CFS	35	35	1225	0	0	Draw of Lots	0	3
1367	Upto 5 Km from Dudhi River Bridge towards Gadarwara on SH 22	Narsinghpur	Regular	100	OBC	DC	35	35	1225	25	60	Draw of Lots	15	4
1368	Between Mile Stone 269 to 273 at NH 26	Sagar	Regular	150	Open	DC	35	45	1575	25	75	Draw of Lots	15	5
1369	On either side of Km stone No 65 to 75 while going from Jabalpur to Amarkantak SH 22	Dindori	Regular	100	Open CC 2	DC	35	35	1225	25	60	Draw of Lots	15	5
1370	Wthin 4 Km from village Banwari on SH 44	Narsinghpur	Regular	100	OBC CC 1	DC	35	35	1225	25	60	Draw of Lots	15	4
1371	Between Km Stone No. 75 to 80 on SH 14	Damoh	Regular	100	SC CC 1	CFS	35	35	1225	0	0	Draw of Lots	0	3
1372	Between Km Stone No. 102 to 107 on SH 14	Damoh	Regular	100	Open	DC	35	35	1225	25	60	Draw of Lots	15	5
1373	On SH 52 from Birsinghpur Bus Stand towards Jaitwara	Satna	Regular	100	Open	DC	35	35	1225	25	60	Draw of Lots	15	5
1374	Upto 5 Km. from junction of SH 9 & SH 22 towards Bajag on SH 9	Dindori	Regular	100	OBC	DC	35	35	1225	25	60	Draw of Lots	15	4
1375	Between Km Stone No 17 to 22 on SH 11	Umaria	Regular	100	ST	CFS	35	35	1225	0	0	Draw of Lots	0	3
1376	Between Gunnor Mod Dighoura and village Salgadha on NH 943	Panna	Regular	150	Open	DC	35	45	1575	25	75	Draw of Lots	15	5
1377	Between Km Stone No 334 to 340 on either side of Lakhnadon to Jhansi NH 26 (New NH 44)	Narsinghpur	Regular	150	Open	DC	35	45	1575	25	75	Draw of Lots	15	5
1378	Upto 3 Km from Sai Mandir Gangerua towards Katangi on SH 54	Seoni	Regular	100	OBC	DC	35	35	1225	25	60	Draw of Lots	15	4
1379	Upto 3 Km from Forest Dept. Checkpost (Ghansore) towards Mandla on SH 40	Seoni	Regular	100	Open	DC	35	35	1225	25	60	Draw of Lots	15	5

1380	Within 2 Km on either side of Sankat Mochan Hanuman Mandir Imaliya on SH 22	Narsinghpur	Regular	100	SC	CFS	35	35	1225	0	0	Draw of Lots	0	3
1381	Within 2 Km from Rehli toll Plaza towards Rehli on SH 15	Sagar	Regular	100	Open	DC	35	35	1225	25	60	Draw of Lots	15	5
1382	Upto 2 Km from Bank of Maharasthra Dharnakalan on Seoni Balaghat Road SH 26	Seoni	Regular	100	OBC	DC	35	35	1225	25	60	Draw of Lots	15	4
1383	Between Km Stone No. 80 to 82 on SH14	Damoh	Regular	100	Open CC 1	DC	35	35	1225	25	60	Draw of Lots	15	5
1384	Upto 5 Km from Lodhi Khera Bus Stand towards Chouri at SH 46	Chhindwara	Regular	100	ST	CFS	35	35	1225	0	0	Draw of Lots	0	3
1385	Between Km Stone No 28 to 32 on SH 40 ( Lakhnadon Mandla Road)	Seoni	Regular	100	OBC	DC	35	35	1225	25	60	Draw of Lots	15	4
1386	Upto 5 Kms towards Dindori from Yogiraj Hospital (Mandla) on Mandla Dindori Road (SH 11)	Mandla	Regular	100	Open	DC	35	35	1225	25	60	Draw of Lots	15	5
1387	Within 3 Kms from Blue Bells School End towards Katni on NH 7 RHS on New Maihar Bypass Road.	Satna	Regular	150	Open	DC	35	45	1575	25	75	Draw of Lots	15	5
1388	Within 3 Km from Bus Stand KiSHan Garh towards Amanganj on SH 10	Chhatarpur	Regular	100	OBC	DC	35	35	1225	25	60	Draw of Lots	15	4
1389	On either side of Km Stone No. 200 to 210 while going from Jabalpur to Amarkantak SH 22	Dindori	Regular	100	SC	CFS	35	35	1225	0	0	Draw of Lots	0	3
1390	Upto 3 Km from Saraswati High School Sihora on SH 26	Balaghat	Regular	100	Open	СС	35	35	1225	25	10	Bidding	30	5
1391	Up to 4 Km from Railway Bridge on Singpur Road towards Singpur on SH 09	Shahdol	Regular	100	Open	DC	35	35	1225	25	60	Draw of Lots	15	5
1392	Upto 4 Km from State Bank of India Lamta towards Balaghat on SH 11	Balaghat	Regular	100	OBC	DC	35	35	1225	25	60	Draw of Lots	15	4
1393	Upto 2 Km from Kanha Heritage Hotel Birsa on Baihar Birsa Road on SH 48	Balaghat	Regular	100	ST	CFS	35	35	1225	0	0	Draw of Lots	0	3
1394	Upto 2 Km from Indira Square Damua towards Baitul on SH 43	Chhindwara	Regular	100	Open	сс	35	35	1225	25	10	Bidding	30	5
1395	Upto 2.5 Km from Govt. Primary School Sawri on SH 54	Balaghat	Regular	100	Open	DC	35	35	1225	25	60	Draw of Lots	15	5
1396	Katni (within municipal limit 1)	Katni	Regular	100	OBC PH	DC	20	20	400	25	45	Draw of Lots	15	4
1397	Between Km Stone No 36 to 40 on SH 37	Damoh	Regular	100	ST PH	CFS	35	35	1225	0	0	Draw of Lots	0	3
1398	Village Bernawad on SH 15	Sagar	Regular	100	Open	DC	35	35	1225	25	60	Draw of Lots	15	5

1399	Within 3 Km from Railway crossing towards Khimlasa At Beena Khimlasa Road (SH 42)	Sagar	Regular	100	Open	DC	35	35	1225	25	60	Draw of Lots	15	5
1400	Between Km Stone No. 85 to 90 on SH 48	Katni	Regular	100	OBC	DC	35	35	1225	25	60	Draw of Lots	15	4
1401	Within 2 Km from village Rangoli on SH 14 (Sagar Damoh Road)	Sagar	Regular	100	Open	DC	35	35	1225	25	60	Draw of Lots	15	5
1402	Upto 5 Km from Jamgaon Railway crossing towards Nainpur on SH 11	Mandla	Regular	100	SC	CFS	35	35	1225	0	0	Draw of Lots	0	3
1403	On Narmada Gwarighat Road from Shastri Bridge to Rampur Chowk In Jabalpur	Jabalpur	Regular	150	Open	DC	20	20	400	25	60	Draw of Lots	15	5
1404	Between Km Stone No. 50 to 54 on SH 37	Damoh	Regular	100	OBC	DC	35	35	1225	25	60	Draw of Lots	15	4
1405	On Road from Gyan Ganga Institute of Technology and Sciences to Tilwara Ghat In Jabalpur ( within municipal limit)	Jabalpur	Regular	150	Open	DC	20	20	400	25	60	Draw of Lots	15	5
1406	1 Km after toll Naka Till Chaura village on SH 11	Satna	Regular	100	ST	CFS	35	45	1575	0	0	Draw of Lots	0	3
1407	Between Km Stone No. 55 to 60 on SH 14	Damoh	Regular	100	OBC	DC	35	35	1225	25	60	Draw of Lots	15	4
1408	Between New Jain Temple and Amar Factory ( within municipal limit) Khurai	Sagar	Regular	100	Open	DC	20	20	400	25	45	Draw of Lots	15	5
1409	Upto 4 Km from Govt. Primary School Khairranjhi towards Nainpur on SH 12	SEONI	Regular	100	Open CC 1	DC	35	35	1225	25	60	Draw of Lots	15	5
1410	Between Km. Stone No. 115 to 118 on SH 37	Damoh	Regular	100	OBC	DC	35	35	1225	25	60	Draw of Lots	15	4
1411	Between Km Stone No 137 to 142 on SH14	Katni	Regular	100	ST	CFS	35	35	1225	0	0	Draw of Lots	0	3
1412	On Road from Pisanhari Ki Madiya to Gyan Ganga Institute of Technology and Sciences Via Medical In Jabalpur	Jabalpur	Regular	150	Open	DC	20	20	400	25	60	Draw of Lots	15	5
1413	Between Km Stone No 96 to 98 on SH 11	Katni	Regular	100	Open	DC	35	35	1225	25	60	Draw of Lots	15	5
1414	Within 5 Km from Hatta towards Patera on SH 48	Damoh	Regular	100	OBC	DC	35	35	1225	25	60	Draw of Lots	15	4
1415	Within 2 Km from Indian Oil Depot Gate towards Naryaoli on NH 934	Sagar	Regular	150	SC	CFS	35	35	1225	0	0	Draw of Lots	0	3
1416	Within 1 km on either side of village Iran mirjapur on NH 146	Sagar	Regular	150	Open	DC	35	35	1225	25	75	Draw of Lots	15	5
1417	Between Km Stone No. 59 to 62 on SH 10 RHS while going towards Katni	Umaria	Regular	100	Open	DC	35	35	1225	25	60	Draw of Lots	15	5

1418	Between Km Stone No. 85 to 90 on SH 11	Katni	Regular	100	Open	DC	35	35	1225	25	60	Draw of Lots	15	5
1419	From Naudra Bridge to Mp tourism office Near Railway Stadium	Jabalpur	Regular	150	OBC CC 1	DC	20	20	400	25	60	Draw of Lots	15	4
1420	From BT Tiraha to Sharda Chowk	Jabalpur	Regular	150	SC CC 1	CFS	20	20	400	0	0	Draw of Lots	0	3
1421	From Bada Favara to Malviya Chowk	Jabalpur	Regular	150	Open PH	DC	20	20	400	25	60	Draw of Lots	15	5
1422	Between Km Stone No. 75 to 77 on either side of Rewa to SHahdol Road SH 09	Shahdol	Regular	100	OBC	DC	35	35	1225	25	60	Draw of Lots	15	4
1423	2 Km from Police Chowki Amiliya towards Main Market Amiliya At Amiliya Hanumana Sidhi Road	Sidhi	Regular	100	Open	DC	35	35	1225	25	60	Draw of Lots	15	5
1424	Between Km. Stone No. 21 to 23 on SH 8	Anuppur	Regular	100	ST	CFS	35	35	1225	0	0	Draw of Lots	0	3
1425	4 Km from Majan Mode towards Navanagar on SH 06 Waidhan	Singrauli	Regular	100	Open	DC	35	35	1225	25	60	Draw of Lots	15	5
1426	From Maihar Ghantaghar Chowk within 4 Km on SH 11 towards Satna	Satna	Regular	100	OBC	DC	35	45	1575	25	60	Draw of Lots	15	4
1427	Between Km Stone No 20 to 22 on SH47	Damoh	Regular	100	Open	DC	35	35	1225	25	60	Draw of Lots	15	5
1428	Upto 3 Km from Abhishek Hyundai Navegaon towards Gondia on SH 11	Balaghat	Regular	100	Open	DC	35	35	1225	25	60	Draw of Lots	15	5
1429	Within 3 Kms on either side of SH 11 from Junction of SH 11 and SH 11 B.	Mandla	Regular	100	SC	CFS	35	35	1225	0	0	Draw of Lots	0	3
1430	Chhindwara(within municipal limit 3)	Chhindwara	Regular	100	OBC	сс	20	20	400	25	10	Bidding	30	4
1431	Between Km 114 to 116 on SH 09 Rewa to Shahdol Road	Shahdol	Regular	100	Open	DC	35	35	1225	25	60	Draw of Lots	15	5
1432	Between Km Stone No 50 to 55 on SH14	Damoh	Regular	100	Open CC 1	DC	35	35	1225	25	60	Draw of Lots	15	5
1433	Between Km. Stone No. 12 to 14 on SH 8	Anuppur	Regular	100	ST	CFS	35	35	1225	0	0	Draw of Lots	0	3
1434	From Padra Pahuch Marg to Sukhwrai Pahuch Marg on SH 55 Banjari	Sidhi	Regular	100	OBC	DC	35	35	1225	25	60	Draw of Lots	15	4
1435	Between Km 29 to 31 on either side of SH 09 Semaria to Rewa Road.	Rewa	Regular	100	Open	DC	35	35	1225	25	60	Draw of Lots	15	5
1436	Between Km Stone No. 95 to 97 on either side of Rewa to Shahdol Road SH 9.	Shahdol	Regular	100	Open	DC	35	35	1225	25	60	Draw of Lots	15	5

|  |  | 1  |   
   |   
   
  |   | 1  |   
  |   |  
  |   |   |   |   |
|--|--|--
--
---
--
--|---|--
--
--|---|---|---|---|---|---|
| Within municipal limit of Khand  | Shahdol  | Regular  | 100   
   | OBC   
   
  | DC  | 20   | 20  
  | 400   | 25   
  | 45  | Draw of Lots  | 15  | 4   |
| Within 2 Km from Ghoparu on either side of SH09  | Shahdol  | Regular  | 100   
   | ST  
   
  | CFS   | 35   | 35  
  | 1225  | 0  
  | 0   | Draw of Lots  | 0   | 3   |
| Between Km Stone No. 157 to 159 on either side of Jaisinghnagar to<br>Janakpur Road SH 10                                  | Shahdol  | Regular  | 100   
   | Open  
   
  | DC  | 35   | 35  
  | 1225  | 25   
  | 60  | Draw of Lots  | 15  | 5   |
| 2 Km from Om Palace Hotel Bargawan on NH 39  | Singrauli  | Regular  | 150   
   | Open  
   
  | DC  | 35   | 35  
  | 1225  | 25   
  | 75  | Draw of Lots  | 15  | 5   |
| Upto 3 Km from Mordongari junction Tiraha at Pandurana Bypass towards<br>Bhopal on LHS while going towards Bhopal on NH 47 | Chhindwara   | Regular  | 150   
   | OBC   
   
  | DC  | 35   | 45  
  | 1575  | 25   
  | 75  | Draw of Lots  | 15  | 4   |
| On either side of Km Stone No. 20 to 30 SH 11B.  | Mandla   | Regular  | 100   
   | SC  
   
  | CFS   | 35   | 35  
  | 1225  | 0  
  | 0   | Draw of Lots  | 0   | 3   |
| Upto 4 Km from Palari Tigadda towards Keolari on SH 12   | SEONI  | Regular  | 100   
   | Open  
   
  | DC  | 35   | 35  
  | 1225  | 25   
  | 60  | Draw of Lots  | 15  | 5   |
| Upto 2 Km from Govt. Girls High School Damoh on Baihar Sale Tekri<br>Road SH 48  | Balaghat   | Regular  | 100   
   | Open  
   
  | DC  | 35   | 35  
  | 1225  | 25   
  | 60  | Draw of Lots  | 15  | 5   |
| Balaghat ( within municipal limit 2 )  | Balaghat   | Regular  | 100   
   | OBC   
   
  | сс  | 20   | 20  
  | 400   | 25   
  | 10  | Bidding   | 30  | 4   |
| Within 2 Km from village Shikarpura towrads Katni on SH 10   | Panna  | Regular  | 100   
   | ST  
   
  | CFS   | 35   | 45  
  | 1575  | 0  
  | 0   | Draw of Lots  | 0   | 3   |
| Upto 4 Km from Rani Avanti Bai Square Balaghat towards Lamta Road  | Balaghat   | Regular  | 100   
   | Open  
   
  | DC  | 35   | 35  
  | 1225  | 25   
  | 60  | Draw of Lots  | 15  | 5   |
| Anuppur ( within municipal limit 1)  | Anuppur  | Regular  | 100   
   | OBC   
   
  | DC  | 20   | 20  
  | 400   | 25   
  | 45  | Draw of Lots  | 15  | 4   |
| Between Amiliya and Sone River Bridge Tehsil: Sihawal SH 55  | Sidhi  | Regular  | 100   
   | Open  
   
  | DC  | 35   | 35  
  | 1225  | 25   
  | 60  | Draw of Lots  | 15  | 5   |
| Within 1.5 Km from Kripalpur Tiraha on Kripalpur Ramsthan Road LHS<br>Satna  | Satna  | Regular  | 100   
   | Open  
   
  | DC  | 20   | 20  
  | 400   | 25   
  | 45  | Draw of Lots  | 15  | 5   |
| Within 2 Km from village Sarkhedi on SH 15 (Bhapel Jaisinagar Road)  | Sagar  | Regular  | 100   
   | SC  
   
  | CFS   | 35   | 35  
  | 1225  | 0  
  | 0   | Draw of Lots  | 0   | 3   |
| Upto 3 Km from Bijori Tigadda towards Chindwara on SH19  | Chhindwara   | Regular  | 100   
   | OBC   
   
  | DC  | 35   | 35  
  | 1225  | 25   
  | 60  | Draw of Lots  | 15  | 4   |
| Between Km Stone No 85 to 90 on NH 43  | Umaria   | Regular  | 150   
   | Open  
   
  | DC  | 35   | 35  
  | 1225  | 25   
  | 75  | Draw of Lots  | 15  | 5   |
| Within Km 192 and 195 on NH 75   | Panna  | Regular  | 150   
   | Open  
   
  | DC  | 35   | 45  
  | 1575  | 25   
  | 75  | Draw of Lots  | 15  | 5   |
| Upto 3 Km from PWD Rest House Dalakhari on SH 19   | Chhindwara   | Regular  | 100   
   | ST  
   
  | CFS   | 35   | 35  
  | 1225  | 0  
  | 0   | Draw of Lots  | 0   | 3   |
|  | Within 2 Km from Ghoparu on either side of SH09         Between Km Stone No. 157 to 159 on either side of Jaisinghnagar to         Janakpur Road SH 10         2 Km from Om Palace Hotel Bargawan on NH 39         Upto 3 Km from Mordongari junction Tiraha at Pandurana Bypass towards         Bhopal on LHS while going towards Bhopal on NH 47         On either side of Km Stone No. 20 to 30 SH 11B.         Upto 4 Km from Palari Tigadda towards Keolari on SH 12         Upto 2 Km from Govt. Girls High School Damoh on Baihar Sale Tekri         Road SH 48         Balaghat ( within municipal limit 2 )         Within 2 Km from Rani Avanti Bai Square Balaghat towards Lamta Road         Anuppur ( within municipal limit 1)         Between Amiliya and Sone River Bridge Tehsil: Sihawal SH 55         Within 1.5 Km from Kripalpur Tiraha on Kripalpur Ramsthan Road LHS Satra         Within 2 Km from village Sarkhedi on SH 15 (Bhapel Jaisinagar Road)         Upto 3 Km from Bijori Tigadda towards Chindwara on SH19         Between Km Stone No 85 to 90 on NH 43         Within Km 192 and 195 on NH 75 | Within 2 Km from Ghoparu on either side of SH09       Shahdol         Between Km Stone No. 157 to 159 on either side of Jaisinghnagar to<br>Janakpur Road SH 10       Shahdol         2 Km from Om Palace Hotel Bargawan on NH 39       Singrauli         Upto 3 Km from Mordongari junction Tiraha at Pandurana Bypass towards<br>Bhopal on LHS while going towards Bhopal on NH 47       Chhindwara         On either side of Km Stone No. 20 to 30 SH 11B.       Mandla         Upto 4 Km from Palari Tigadda towards Keolari on SH 12       SEONI         Upto 2 Km from Govt. Girls High School Damoh on Baihar Sale Tekri<br>Road SH 48       Balaghat         Balaghat ( within municipal limit 2 )       Balaghat         Within 2 Km from village Shikarpura towrads Katni on SH 10       Panna         Upto 4 Km from Rani Avanti Bai Square Balaghat towards Lamta Road       Balaghat         Anuppur ( within municipal limit 1)       Anuppur         Between Amiliya and Sone River Bridge Tehsil: Sihawal SH 55       Sidhi         Within 1.5 Km from Kripalpur Tiraha on Kripalpur Ramsthan Road LHS<br>Satna       Satna         Within 2 Km from Bijori Tigadda towards Chindwara on SH19       Chhindwara         Between Km Stone No 85 to 90 on NH 43       Umaria         Within Km 192 and 195 on NH 75       Panna | Within 2 Km from Ghoparu on either side of SH09ShahdolRegularBetween Km Stone No. 157 to 159 on either side of Jaisinghnagar to<br>Janakpur Road SH 10ShahdolRegular2 Km from Om Palace Hotel Bargawan on NH 39SingrauliRegular2 Km from Om Palace Hotel Bargawan on NH 39SingrauliRegularUpto 3 Km from Mordongari junction Tiraha at Pandurana Bypass towards<br>Bhopal on LHS while going towards Bhopal on NH 47ChhindwaraRegularOn either side of Km Stone No. 20 to 30 SH 11B.MandiaRegularUpto 4 Km from Palari Tigadda towards Keolari on SH 12SEONIRegularUpto 2 Km from Govt. Girls High School Damoh on Baihar Sale Tekri<br>Road SH 48BalaghatRegularBalaghat ( within municipal limit 2 )BalaghatRegularWithin 2 Km from Nilage Shikarpura towrads Katni on SH 10PannaRegularLupto 4 Km from Rani Avanti Bal Square Balaghat towards Lamta RoadBalaghatRegularBetween Amiliya and Sone River Bridge Tehsil: Sihawal SH 55SidhiRegularWithin 1.5 Km from Kripalpur Tiraha on Kripalpur Ramsthan Road LHS<br>SatnaSatnaRegularWithin 2 Km from Bijori Tigadda towards Chindwara on SH19ChhindwaraRegularUpto 3 Km from Bijori Tigadda towards Chindwara on SH19ChhindwaraRegularWithin 1.5 Km from Kripalpur Tiraha on Kripalpur Ramsthan Road LHS<br>SatnaSagarRegularWithin 1.5 Km from Kripalpur Tiraha on Kripalpur Ramsthan Road LHSSagarRegularWithin 1.5 Km from Nilage Sarkhedi on SH 15 (Bhapel Jaisinagar Road)SagarRegular <td>Within 2 Km from Ghoparu on either side of SH09ShahdolRegular100Between Km Stone No. 157 to 159 on either side of Jaisinghnagar to<br/>Janakpur Road SH 10ShahdolRegular1002 Km from Om Palace Hotel Bargawan on NH 39SingrauliRegular150Upto 3 Km from Mordongari junction Tiraha at Pandurana Bypass towards<br/>Bopal on NH 47ChhindwaraRegular150On either side of Km Stone No. 20 to 30 SH 11B.MandlaRegular100Upto 4 Km from Palari Tigadda towards Keolari on SH 12SEONIRegular100Upto 2 Km from Govt. Girls High School Damoh: on Baihar Sale TekriBalaghatRegular100Balaghat (within municipal limit 2)BalaghatRegular100Within 2 Km from village Shikarpura towrads Katni on SH 10PannaRegular100Anuppur (within municipal limit 2)BalaghatRegular100Within 2 Km from village Shikarpura towrads Katni on SH 10PannaRegular100Anuppur (within municipal limit 1)AnuppurRegular100Between Amiliya and Sone River Bridge Tehsil: Sihawal SH 55SidhiRegular100Within 1.5 Km from Kripalpur Tiraha on Kripalpur Ramsthan Road LHS<br/>SatnaSagarRegular100Within 2 Km from village Sarkhedt on SH 15 (Bhapel Jaisinagar Road)SagarRegular100Between Amiliya and Sone River Bridge Tehsil: Sihawal SH 55SidhiRegular100Within 1.5 Km from Kripalpur Tiraha on Kripalpur Ramsthan Road LHS<br/>SatnaSagarRegular100<t< td=""><td>Within 2 Km from Ghoparu on either side of SH09       Shahdol       Regular       100       ST         Between Km Stone No. 157 to 150 on either side of Jalsinghnagar to       Shahdol       Regular       100       Open         2 Km from Om Palace Hotel Bargawan on NH 39       Singrauli       Regular       150       Open         Upto 3 Km from Mordongari junction Tiraha at Pandurana Bypass towards       Chhindwara       Regular       150       OBC         On either side of Km Stone No. 20 to 30 SH 11B.       Mandla       Regular       100       SC         Upto 4 Km from Qovt. Girls High School Damoh on Baihar Sale Tekri       Balaghat       Regular       100       Open         Upto 2 Km from divid ge Shikarpura towrads Kani on SH 10       Panna       Regular       100       Open         Upto 4 Km from village Shikarpura towrads Kani on SH 10       Panna       Regular       100       Open         Upto 4 Km from village Shikarpura towrads Kani on SH 10       Panna       Regular       100       Open         Within 2 Km from Kinpalpur Tiraha on Kripalpur Ramsthan Road LHS       Sidhi       Regular       100       Open         Within 1.5 Km from Kinpalpur Tiraha on Kripalpur Ramsthan Road LHS       Sama       Regular       100       Open         Within 2 Km from Village Sarkhedi on SH 15 (Bhapel Jaisinagar Road)</td><td>Number of the second second</td><td>LinkLinkLinkLinkLinkLinkWithin 2 Km from Ghopanu on either side of SH09ShahdodRegular100STCFS35Between Km Stone No. 157 to 150 on either side of Jaisinghragar to<br/>Janabpur Road SH 10ShahdodRegular100OpenDC352 Km from Om Palace Hotol Bargawan on NH 39SingrauliRegular1150OpenDC352 Km from Mordingari junction Tirsha at Pandurana Bypass towards<br/>ShahdodChuhindwaraRegular100OBECDC35Cin either side of Km Stone No. 20 to 30 SH 11B.MandiaRegular100OpenDC35Cin either side of Km Stone No. 20 to 30 SH 11B.MandiaRegular100OpenDC35Upto 2 Km from Gord. Girls High School Damch on Baihar Sale TeloiBalaghatRegular100OpenDC35Balaghat (within municipal limit 2)BalaghatRegular100OpenDC35Upto 4 Km from Rani Avanti Bai Square Balaghat towards Lamta RoadBelleghatRegular100OpenDC35Anuppur (within municipal limit 1)AnuppurRegular100OpenDC35Within 2 Km from Kripalpur Tiraha on Kripalpur Ramethan Road LHSSatnaRegular100OpenDC35Within 1.5 Km from Kripalpur Tiraha on Kripalpur Ramethan RoadSatnaRegular100OpenDC35Within 2 Km from Kripalpur Tiraha on Kripalpur Ramethan RoadSatnaRegular<td< td=""><td>Within 2 Km from Ghoparu on either side of SH09         Shahdol         Regular         100         ST         CFS         35         35           Between Km Stone No. 157 to 190 on either side of Jaisinghnagar to<br/>Janakpur Road SH 10         Shahdol         Regular         100         Open         DC         36         35           2 Km from On Palace Hotel Bargawan on NH 39         Singraul         Rogular         180         Open         DC         35         35           Quipto 3 Km from Modologari Jandton Tiraba af Pandurana Bypass towards<br/>Bhopat on LHS while going towards Bhopat on NH 47         Mandla         Regular         180         OBC         DC         35         35           Quipto 3 Km from Modologari Jandton Tiraba af Pandurana Bypass towards<br/>Bhopat on LHS while going towards Koolari on SH 12         SEONI         Regular         100         Open         DC         35         35           Quipto 4 Km from Gov, Girls High School Damoh on Baihar Sale Tekri         Balaghat         Regular         100         Open         DC         35         35           Quipto 4 Km from Kani Award Bal Square Balaghat towards Lamta Road         Balaghat         Regular         100         Open         DC         36         35           Within 2 Km from Kinglapur Tanba Organe Tables Shawal SH 56         Sidh         Regular         100         O</td><td>Number 2 Km from Oktoparu on either side of Jelici Phane         Security         Regular         100         ST         CFS         3.5         1.225           Behnetzen Km Store NC, 157 to 150 on either side of Jelicin/Phinger to<br/>Jennifour Kood Str 10         Shanetzel         Regular         100         Open         DC         3.5         1.225           Behnetzen Km Store NC, 157 to 150 on either side of Jelicin/Phinger to<br/>Jennifour Kond Str 10         Singraud         Regular         100         Open         DC         3.5         1.225           Jun for Om Pehner Heide Bargawan on NH 30         Singraud         Regular         190         ORC         DC         3.5         1.225           Jun 2 Km from Oktopari junieries Ebeopal on NH 4.7         Mandral         Regular         190         ORC         DC         3.5         1.225           Jun 2 Km from Oktopari junieries Ebeopal on NH 4.7         Mandral         Regular         100         Open         DC         3.5         1.225           Jup 2 Km from Oktopari junieries Ebeopal on NH 4.7         Balaghat         Regular         100         Open         DC         3.5         1.225           Jup 2 Km from Oktopari gins balaghat (within municipal limit 2)         Balaghat         Regular         100         Open         DC         3.5         1.225</td><td>Number of the stand stand</td><td>Num 2 Km from Chopeny on either side of SiG0         Series         Cons         C</td><td>Number of the first of the first</td><td>Normal form         Normal form</td></td<></td></t<></td> | Within 2 Km from Ghoparu on either side of SH09ShahdolRegular100Between Km Stone No. 157 to 159 on either side of Jaisinghnagar to<br>Janakpur Road SH 10ShahdolRegular1002 Km from Om Palace Hotel Bargawan on NH 39SingrauliRegular150Upto 3 Km from Mordongari junction Tiraha at Pandurana Bypass towards<br>Bopal on NH 47ChhindwaraRegular150On either side of Km Stone No. 20 to 30 SH 11B.MandlaRegular100Upto 4 Km from Palari Tigadda towards Keolari on SH 12SEONIRegular100Upto 2 Km from Govt. Girls High School Damoh: on Baihar Sale TekriBalaghatRegular100Balaghat (within municipal limit 2)BalaghatRegular100Within 2 Km from village Shikarpura towrads Katni on SH 10PannaRegular100Anuppur (within municipal limit 2)BalaghatRegular100Within 2 Km from village Shikarpura towrads Katni on SH 10PannaRegular100Anuppur (within municipal limit 1)AnuppurRegular100Between Amiliya and Sone River Bridge Tehsil: Sihawal SH 55SidhiRegular100Within 1.5 Km from Kripalpur Tiraha on Kripalpur Ramsthan Road LHS<br>SatnaSagarRegular100Within 2 Km from village Sarkhedt on SH 15 (Bhapel Jaisinagar Road)SagarRegular100Between Amiliya and Sone River Bridge Tehsil: Sihawal SH 55SidhiRegular100Within 1.5 Km from Kripalpur Tiraha on Kripalpur Ramsthan Road LHS<br>SatnaSagarRegular100 <t< td=""><td>Within 2 Km from Ghoparu on either side of SH09       Shahdol       Regular       100       ST         Between Km Stone No. 157 to 150 on either side of Jalsinghnagar to       Shahdol       Regular       100       Open         2 Km from Om Palace Hotel Bargawan on NH 39       Singrauli       Regular       150       Open         Upto 3 Km from Mordongari junction Tiraha at Pandurana Bypass towards       Chhindwara       Regular       150       OBC         On either side of Km Stone No. 20 to 30 SH 11B.       Mandla       Regular       100       SC         Upto 4 Km from Qovt. Girls High School Damoh on Baihar Sale Tekri       Balaghat       Regular       100       Open         Upto 2 Km from divid ge Shikarpura towrads Kani on SH 10       Panna       Regular       100       Open         Upto 4 Km from village Shikarpura towrads Kani on SH 10       Panna       Regular       100       Open         Upto 4 Km from village Shikarpura towrads Kani on SH 10       Panna       Regular       100       Open         Within 2 Km from Kinpalpur Tiraha on Kripalpur Ramsthan Road LHS       Sidhi       Regular       100       Open         Within 1.5 Km from Kinpalpur Tiraha on Kripalpur Ramsthan Road LHS       Sama       Regular       100       Open         Within 2 Km from Village Sarkhedi on SH 15 (Bhapel Jaisinagar Road)</td><td>Number of the second second</td><td>LinkLinkLinkLinkLinkLinkWithin 2 Km from Ghopanu on either side of SH09ShahdodRegular100STCFS35Between Km Stone No. 157 to 150 on either side of Jaisinghragar to<br/>Janabpur Road SH 10ShahdodRegular100OpenDC352 Km from Om Palace Hotol Bargawan on NH 39SingrauliRegular1150OpenDC352 Km from Mordingari junction Tirsha at Pandurana Bypass towards<br/>ShahdodChuhindwaraRegular100OBECDC35Cin either side of Km Stone No. 20 to 30 SH 11B.MandiaRegular100OpenDC35Cin either side of Km Stone No. 20 to 30 SH 11B.MandiaRegular100OpenDC35Upto 2 Km from Gord. Girls High School Damch on Baihar Sale TeloiBalaghatRegular100OpenDC35Balaghat (within municipal limit 2)BalaghatRegular100OpenDC35Upto 4 Km from Rani Avanti Bai Square Balaghat towards Lamta RoadBelleghatRegular100OpenDC35Anuppur (within municipal limit 1)AnuppurRegular100OpenDC35Within 2 Km from Kripalpur Tiraha on Kripalpur Ramethan Road LHSSatnaRegular100OpenDC35Within 1.5 Km from Kripalpur Tiraha on Kripalpur Ramethan RoadSatnaRegular100OpenDC35Within 2 Km from Kripalpur Tiraha on Kripalpur Ramethan RoadSatnaRegular<td< td=""><td>Within 2 Km from Ghoparu on either side of SH09         Shahdol         Regular         100         ST         CFS         35         35           Between Km Stone No. 157 to 190 on either side of Jaisinghnagar to<br/>Janakpur Road SH 10         Shahdol         Regular         100         Open         DC         36         35           2 Km from On Palace Hotel Bargawan on NH 39         Singraul         Rogular         180         Open         DC         35         35           Quipto 3 Km from Modologari Jandton Tiraba af Pandurana Bypass towards<br/>Bhopat on LHS while going towards Bhopat on NH 47         Mandla         Regular         180         OBC         DC         35         35           Quipto 3 Km from Modologari Jandton Tiraba af Pandurana Bypass towards<br/>Bhopat on LHS while going towards Koolari on SH 12         SEONI         Regular         100         Open         DC         35         35           Quipto 4 Km from Gov, Girls High School Damoh on Baihar Sale Tekri         Balaghat         Regular         100         Open         DC         35         35           Quipto 4 Km from Kani Award Bal Square Balaghat towards Lamta Road         Balaghat         Regular         100         Open         DC         36         35           Within 2 Km from Kinglapur Tanba Organe Tables Shawal SH 56         Sidh         Regular         100         O</td><td>Number 2 Km from Oktoparu on either side of Jelici Phane         Security         Regular         100         ST         CFS         3.5         1.225           Behnetzen Km Store NC, 157 to 150 on either side of Jelicin/Phinger to<br/>Jennifour Kood Str 10         Shanetzel         Regular         100         Open         DC         3.5         1.225           Behnetzen Km Store NC, 157 to 150 on either side of Jelicin/Phinger to<br/>Jennifour Kond Str 10         Singraud         Regular         100         Open         DC         3.5         1.225           Jun for Om Pehner Heide Bargawan on NH 30         Singraud         Regular         190         ORC         DC         3.5         1.225           Jun 2 Km from Oktopari junieries Ebeopal on NH 4.7         Mandral         Regular         190         ORC         DC         3.5         1.225           Jun 2 Km from Oktopari junieries Ebeopal on NH 4.7         Mandral         Regular         100         Open         DC         3.5         1.225           Jup 2 Km from Oktopari junieries Ebeopal on NH 4.7         Balaghat         Regular         100         Open         DC         3.5         1.225           Jup 2 Km from Oktopari gins balaghat (within municipal limit 2)         Balaghat         Regular         100         Open         DC         3.5         1.225</td><td>Number of the stand stand</td><td>Num 2 Km from Chopeny on either side of SiG0         Series         Cons         C</td><td>Number of the first of the first</td><td>Normal form         Normal form</td></td<></td></t<> | Within 2 Km from Ghoparu on either side of SH09       Shahdol       Regular       100       ST         Between Km Stone No. 157 to 150 on either side of Jalsinghnagar to       Shahdol       Regular       100       Open         2 Km from Om Palace Hotel Bargawan on NH 39       Singrauli       Regular       150       Open         Upto 3 Km from Mordongari junction Tiraha at Pandurana Bypass towards       Chhindwara       Regular       150       OBC         On either side of Km Stone No. 20 to 30 SH 11B.       Mandla       Regular       100       SC         Upto 4 Km from Qovt. Girls High School Damoh on Baihar Sale Tekri       Balaghat       Regular       100       Open         Upto 2 Km from divid ge Shikarpura towrads Kani on SH 10       Panna       Regular       100       Open         Upto 4 Km from village Shikarpura towrads Kani on SH 10       Panna       Regular       100       Open         Upto 4 Km from village Shikarpura towrads Kani on SH 10       Panna       Regular       100       Open         Within 2 Km from Kinpalpur Tiraha on Kripalpur Ramsthan Road LHS       Sidhi       Regular       100       Open         Within 1.5 Km from Kinpalpur Tiraha on Kripalpur Ramsthan Road LHS       Sama       Regular       100       Open         Within 2 Km from Village Sarkhedi on SH 15 (Bhapel Jaisinagar Road) | Number of the second | LinkLinkLinkLinkLinkLinkWithin 2 Km from Ghopanu on either side of SH09ShahdodRegular100STCFS35Between Km Stone No. 157 to 150 on either side of Jaisinghragar to<br>Janabpur Road SH 10ShahdodRegular100OpenDC352 Km from Om Palace Hotol Bargawan on NH 39SingrauliRegular1150OpenDC352 Km from Mordingari junction Tirsha at Pandurana Bypass towards<br>ShahdodChuhindwaraRegular100OBECDC35Cin either side of Km Stone No. 20 to 30 SH 11B.MandiaRegular100OpenDC35Cin either side of Km Stone No. 20 to 30 SH 11B.MandiaRegular100OpenDC35Upto 2 Km from Gord. Girls High School Damch on Baihar Sale TeloiBalaghatRegular100OpenDC35Balaghat (within municipal limit 2)BalaghatRegular100OpenDC35Upto 4 Km from Rani Avanti Bai Square Balaghat towards Lamta RoadBelleghatRegular100OpenDC35Anuppur (within municipal limit 1)AnuppurRegular100OpenDC35Within 2 Km from Kripalpur Tiraha on Kripalpur Ramethan Road LHSSatnaRegular100OpenDC35Within 1.5 Km from Kripalpur Tiraha on Kripalpur Ramethan RoadSatnaRegular100OpenDC35Within 2 Km from Kripalpur Tiraha on Kripalpur Ramethan RoadSatnaRegular <td< td=""><td>Within 2 Km from Ghoparu on either side of SH09         Shahdol         Regular         100         ST         CFS         35         35           Between Km Stone No. 157 to 190 on either side of Jaisinghnagar to<br/>Janakpur Road SH 10         Shahdol         Regular         100         Open         DC         36         35           2 Km from On Palace Hotel Bargawan on NH 39         Singraul         Rogular         180         Open         DC         35         35           Quipto 3 Km from Modologari Jandton Tiraba af Pandurana Bypass towards<br/>Bhopat on LHS while going towards Bhopat on NH 47         Mandla         Regular         180         OBC         DC         35         35           Quipto 3 Km from Modologari Jandton Tiraba af Pandurana Bypass towards<br/>Bhopat on LHS while going towards Koolari on SH 12         SEONI         Regular         100         Open         DC         35         35           Quipto 4 Km from Gov, Girls High School Damoh on Baihar Sale Tekri         Balaghat         Regular         100         Open         DC         35         35           Quipto 4 Km from Kani Award Bal Square Balaghat towards Lamta Road         Balaghat         Regular         100         Open         DC         36         35           Within 2 Km from Kinglapur Tanba Organe Tables Shawal SH 56         Sidh         Regular         100         O</td><td>Number 2 Km from Oktoparu on either side of Jelici Phane         Security         Regular         100         ST         CFS         3.5         1.225           Behnetzen Km Store NC, 157 to 150 on either side of Jelicin/Phinger to<br/>Jennifour Kood Str 10         Shanetzel         Regular         100         Open         DC         3.5         1.225           Behnetzen Km Store NC, 157 to 150 on either side of Jelicin/Phinger to<br/>Jennifour Kond Str 10         Singraud         Regular         100         Open         DC         3.5         1.225           Jun for Om Pehner Heide Bargawan on NH 30         Singraud         Regular         190         ORC         DC         3.5         1.225           Jun 2 Km from Oktopari junieries Ebeopal on NH 4.7         Mandral         Regular         190         ORC         DC         3.5         1.225           Jun 2 Km from Oktopari junieries Ebeopal on NH 4.7         Mandral         Regular         100         Open         DC         3.5         1.225           Jup 2 Km from Oktopari junieries Ebeopal on NH 4.7         Balaghat         Regular         100         Open         DC         3.5         1.225           Jup 2 Km from Oktopari gins balaghat (within municipal limit 2)         Balaghat         Regular         100         Open         DC         3.5         1.225</td><td>Number of the stand stand</td><td>Num 2 Km from Chopeny on either side of SiG0         Series         Cons         C</td><td>Number of the first of the first</td><td>Normal form         Normal form</td></td<> | Within 2 Km from Ghoparu on either side of SH09         Shahdol         Regular         100         ST         CFS         35         35           Between Km Stone No. 157 to 190 on either side of Jaisinghnagar to<br>Janakpur Road SH 10         Shahdol         Regular         100         Open         DC         36         35           2 Km from On Palace Hotel Bargawan on NH 39         Singraul         Rogular         180         Open         DC         35         35           Quipto 3 Km from Modologari Jandton Tiraba af Pandurana Bypass towards<br>Bhopat on LHS while going towards Bhopat on NH 47         Mandla         Regular         180         OBC         DC         35         35           Quipto 3 Km from Modologari Jandton Tiraba af Pandurana Bypass towards<br>Bhopat on LHS while going towards Koolari on SH 12         SEONI         Regular         100         Open         DC         35         35           Quipto 4 Km from Gov, Girls High School Damoh on Baihar Sale Tekri         Balaghat         Regular         100         Open         DC         35         35           Quipto 4 Km from Kani Award Bal Square Balaghat towards Lamta Road         Balaghat         Regular         100         Open         DC         36         35           Within 2 Km from Kinglapur Tanba Organe Tables Shawal SH 56         Sidh         Regular         100         O | Number 2 Km from Oktoparu on either side of Jelici Phane         Security         Regular         100         ST         CFS         3.5         1.225           Behnetzen Km Store NC, 157 to 150 on either side of Jelicin/Phinger to<br>Jennifour Kood Str 10         Shanetzel         Regular         100         Open         DC         3.5         1.225           Behnetzen Km Store NC, 157 to 150 on either side of Jelicin/Phinger to<br>Jennifour Kond Str 10         Singraud         Regular         100         Open         DC         3.5         1.225           Jun for Om Pehner Heide Bargawan on NH 30         Singraud         Regular         190         ORC         DC         3.5         1.225           Jun 2 Km from Oktopari junieries Ebeopal on NH 4.7         Mandral         Regular         190         ORC         DC         3.5         1.225           Jun 2 Km from Oktopari junieries Ebeopal on NH 4.7         Mandral         Regular         100         Open         DC         3.5         1.225           Jup 2 Km from Oktopari junieries Ebeopal on NH 4.7         Balaghat         Regular         100         Open         DC         3.5         1.225           Jup 2 Km from Oktopari gins balaghat (within municipal limit 2)         Balaghat         Regular         100         Open         DC         3.5         1.225 | Number of the stand | Num 2 Km from Chopeny on either side of SiG0         Series         Cons         C | Number of the first | Normal form         Normal form |

1456	Upto 2 Km from Govt. High School Kumhari on SH 11.	Balaghat	Regular	100	OBC	DC	35	35	1225	25	60	Draw of Lots	15	4
1457	Between Km 110 to 112 on SH 09(Rewa Shahdol Road)	Shahdol	Regular	100	Open	DC	35	35	1225	25	60	Draw of Lots	15	5
1458	Rampur Chowk to Highcourt Society Park In Rampur In Jabalpur	Jabalpur	Regular	150	Open CC 1	DC	20	20	400	25	60	Draw of Lots	15	5
1459	Within 2 Km from Vill Chhirari on SH 15	Sagar	Regular	100	OBC	DC	35	35	1225	25	60	Draw of Lots	15	4
1460	Between Km 42 to 46 on SH 08	Anuppur	Regular	100	ST	CFS	35	35	1225	0	0	Draw of Lots	0	3
1461	From Police Station Katangi to Luhari on SH 37	Jabalpur	Regular	100	Open	DC	35	35	1225	25	60	Draw of Lots	15	5
1462	From village Sukha to village Ujrond Via village Benikheda on SH 15	Jabalpur	Regular	100	Open	DC	35	35	1225	25	60	Draw of Lots	15	5
1463	Within 2 Km from village Main Panee on SH 15	Sagar	Regular	100	OBC	DC	35	35	1225	25	60	Draw of Lots	15	4
1464	From Kothi till Majhgawan on SH 11	Satna	Regular	100	SC	CFS	35	45	1575	0	0	Draw of Lots	0	3
1465	From village Kheri to Garehha on SH 37	Jabalpur	Regular	100	Open	DC	35	35	1225	25	60	Draw of Lots	15	5
1466	On SH 15 from village Udana to village Patan	Jabalpur	Regular	100	Open	DC	35	35	1225	25	60	Draw of Lots	15	5
1467	Within municipal limit of Beohari ( from Railway Bridge to Van Vihar Hotel)	Shahdol	Regular	100	OBC	DC	20	20	400	25	45	Draw of Lots	15	4
1468	From Katangi Bypass Chowk to Sanskar City Surtalai on SH 37	Jabalpur	Regular	100	Open	DC	35	35	1225	25	60	Draw of Lots	15	5
1469	Within municipal limit of Anuppur ( Indira Tiraha to Jatahri Road) .	Anuppur	Regular	100	ST CC 1	CFS	20	20	400	0	0	Draw of Lots	0	3
1470	Garha Police Station to Pisanhari Ki Mandiya	Jabalpur	Regular	150	Open CC 2	DC	20	20	400	25	60	Draw of Lots	15	5
1471	From Saheed Chowk Chindwara on Khajri Road ( within municipal limit)	Chhindwara	Regular	100	OBC CC 1	DC	20	20	400	25	45	Draw of Lots	15	4
1472	From village Natwara to village Umaria Via Agasi on NH 12	Jabalpur	Regular	150	Open	DC	35	45	1575	25	75	Draw of Lots	15	5
1473	Upto 4 Km from PNB Gangiwara Branch towards Chhindwara on SH 19	Chhindwara	Regular	100	ST	CFS	35	35	1225	0	0	Draw of Lots	0	3
1474	Between Km Stone No. 214 to 218 on NH 43	Anuppur	Regular	150	OBC	DC	35	35	1225	25	75	Draw of Lots	15	4

From village Kankerkheda to village Boriya on SH 37	Jabalpur	Regular	100	Open	DC	35	35	1225	25	60	Draw of Lots	15	5
Madan Mahal Police Station to Jabalpur Hospital In Jabalpur City	Jabalpur	Regular	150	Open	DC	20	20	400	25	60	Draw of Lots	15	5
Between Km Stone No. 226 to 228 on NH 43	Anuppur	Regular	150	OBC	DC	35	35	1225	25	75	Draw of Lots	15	4
From Gupt Godawari Mod towards Chitrakoot on SH 11 Till Up Border	Satna	Regular	100	SC	CFS	35	45	1575	0	0	Draw of Lots	0	3
On Road from Ghamapur Chowk to Belbag Police Station	Jabalpur	Regular	150	Open	DC	20	20	400	25	60	Draw of Lots	15	5
From Sharda Chowk to Guptesghwar Temple In Jabalpur	Jabalpur	Regular	150	Open	DC	20	20	400	25	60	Draw of Lots	15	5
Within municipal limit of Pasan ( Kotma to Jathari Road)	Anuppur	Regular	100	OBC	DC	20	20	400	25	45	Draw of Lots	15	4
Within 5 Km from Rahatgarh Tiggdda towards Sagar Road on NH 146 (Old NH86)	Sagar	Regular	150	ST	CFS	35	35	1225	0	0	Draw of Lots	0	3
From Vehicle Tiraha In Suhagi Upto Ranjhi Market Main Road In Jabalpur	Jabalpur	Regular	150	Open	DC	20	20	400	25	60	Draw of Lots	15	5
LHS on NH 7 from village Nigri to Bargi Nagar	Jabalpur	Regular	150	Open CC 1	DC	35	45	1575	25	75	Draw of Lots	15	5
Between Km 182 to 184 on LHS while going from Hanumana to Rewa NH 135	Rewa	Regular	150	OBC	DC	35	45	1575	25	75	Draw of Lots	15	4
Between Km Stone No 71 to 76 on NH 43	Umaria	Regular	150	ST	CFS	35	35	1225	0	0	Draw of Lots	0	3
From Ekta Chowk to Railway Track on MR 4 Extension Road In Jabalpur	Jabalpur	Regular	150	Open	DC	20	20	400	25	60	Draw of Lots	15	5
Shastri Bridge to Dashnesh Dwar on Jabalpur Nagpur Road In Jabalpur	Jabalpur	Regular	150	Open	DC	20	20	400	25	60	Draw of Lots	15	5
Beohari(within municipal limit) from Chunginaka to Papundh Road)	Shahdol	Regular	100	OBC	DC	20	20	400	25	45	Draw of Lots	15	4
From Deendayal Chowk to RTO office In Jabalpur on Jabalpur Patan Road	Jabalpur	Regular	150	Open	DC	20	20	400	25	60	Draw of Lots	15	5
Between Km Stone No. 65 to 70 on SH 37	Damoh	Regular	100	SC	CFS	35	35	1225	0	0	Draw of Lots	0	3
LHS from andhmukh Chouraha (NH 12 and NH 7 Intersection) to Tilwara Bridge on NH 7	Jabalpur	Regular	150	Open	DC	35	45	1575	25	75	Draw of Lots	15	5
On NH 135 between Km Stone 194 to 196 LHS while going from Hanumana to Rewa.	Rewa	Regular	150	OBC	DC	35	45	1575	25	75	Draw of Lots	15	4
	(Old NH86)         From Vehicle Tiraha In Suhagi Upto Ranjhi Market Main Road In Jabalpur         LHS on NH 7 from village Nigri to Bargi Nagar         Between Km 182 to 184 on LHS while going from Hanumana to Rewa         NH 135         Between Km Stone No 71 to 76 on NH 43         From Ekta Chowk to Railway Track on MR 4 Extension Road In Jabalpur         Shastri Bridge to Dashnesh Dwar on Jabalpur Nagpur Road In Jabalpur         Beohari ( within municipal limit ) from Chunginaka to Papundh Road)         From Deendayal Chowk to RTO office In Jabalpur on Jabalpur Patan Road         Between Km Stone No. 65 to 70 on SH 37         LHS from andhmukh Chouraha (NH 12 and NH 7 Intersection) to Tilwara Bridge on NH 7         On NH 135 between Km Stone 194 to 196 LHS while going from	Madan Mahal Police Station to Jabalpur Hospital In Jabalpur City       Jabalpur         Between Km Stone No. 226 to 228 on NH 43       Anuppur         From Gupt Godawari Mod towards Chitrakoot on SH 11 Till Up Border       Satna         On Road from Ghamapur Chowk to Belbag Police Station       Jabalpur         From Sharda Chowk to Guptesghwar Temple In Jabalpur       Jabalpur         From Sharda Chowk to Guptesghwar Temple In Jabalpur       Jabalpur         Within municipal limit of Pasan (Kotma to Jathari Road)       Anuppur         Within S Km from Rahatgarh Tiggdda towards Sagar Road on NH 146       Sagar         (Old NH86)       Jabalpur         Erom Vehicle Tiraha In Suhagi Upto Ranjhi Market Main Road In Jabalpur       Jabalpur         LHS on NH 7 from village Nigri to Bargi Nagar       Jabalpur         Between Km 182 to 184 on LHS while going from Hanumana to Rewa       Rewa         Between Km Stone No 71 to 76 on NH 43       Umaria         From Ekta Chowk to Railway Track on MR 4 Extension Road In Jabalpur       Jabalpur         Shastri Bridge to Dashnesh Dwar on Jabalpur Nagpur Road In Jabalpur       Jabalpur         Beohari (within municipal limit ) from Chunginaka to Papundh Road)       Shahdol         From Deendayal Chowk to RTO office In Jabalpur on Jabalpur Patan Road       Jabalpur         Between Km Stone No. 65 to 70 on SH 37       Damoh <td< td=""><td>Madan Mahal Police Station to Jabalpur Hospital In Jabalpur City       Jabalpur       Regular         Between Km Stone No. 226 to 228 on NH 43       Anuppur       Regular         From Gupt Godawari Mod towards Chitrakoot on SH 11 Till Up Border       Satna       Regular         On Road from Ghamapur Chowk to Belbag Police Station       Jabalpur       Regular         From Sharda Chowk to Guptesghwar Temple In Jabalpur       Jabalpur       Regular         Within municipal limit of Pasan ( Kotma to Jathari Road)       Anuppur       Regular         Within 5 Km from Rahatgarh Tiggdda towards Sagar Road on NH 146       Sagar       Regular         From Vehicle Tiraha In Suhagi Upto Ranjhi Market Main Road In Jabalpur       Jabalpur       Regular         Between Km 182 to 184 on LHS while going from Hanumana to Rewa       Rewa       Regular         Between Km Stone No 71 to 76 on NH 43       Umaria       Regular         Shastri Bridge to Dashnesh Dwar on Jabalpur Nagpur Road In Jabalpur       Jabalpur       Regular         Beohari ( within municipal limit ) from Chunginaka to Papundh Road)       Shahdol       Regular         Between Km Stone No. 65 to 70 on SH 37       Darmoh       Regular         From Deendayal Chowk to RTO office In Jabalpur on Jabalpur Patan Road       Jabalpur       Regular         From Deendayal Chowk to RTO office In Jabalpur on Jabalpur Patan Road       <t< td=""><td>Madan Mahal Police Station to Jabalpur Hospital In Jabalpur City       Jabalpur       Regular       150         Between Km Stone No. 226 to 228 on NH 43       Anuppur       Regular       150         From Gupt Godawari Mod towards Chitrakoot on SH 11 Till Up Border       Satna       Regular       100         On Road from Ghamapur Chowk to Belbag Police Station       Jabalpur       Regular       150         From Sharda Chowk to Guptesghwar Temple In Jabalpur       Jabalpur       Regular       150         Within municipal limit of Pasan ( Kotma to Jathari Road)       Anuppur       Regular       150         Within municipal limit of Pasan ( Kotma to Jathari Road)       Anuppur       Regular       150         From Vehicle Tiraha In Suhagi Upto Ranjhi Market Main Road In Jabalpur       Jabalpur       Regular       150         LHS on NH 7 from village Nigri to Bargi Nagar       Jabalpur       Regular       150         Between Km 182 to 184 on LHS while going from Hanumana to Rewa       Rewa       Regular       150         Shastri Bridge to Dashnesh Dwar on Jabalpur Nagpur Road In Jabalpur       Jabalpur       Regular       150         Shastri Bridge to Dashnesh Dwar on Jabalpur Nagpur Road In Jabalpur       Jabalpur       Regular       150         Shastri Bridge to Dashnesh Dwar on Jabalpur Nagpur Road In Jabalpur       Jabalpur       Regular</td></t<></td></td<> <td>Addam Mahal Police Station to Jabalpur Hospital In Jabalpur City       Jabalpur       Regular       150       Open         Between Km Stone No. 226 to 228 on NH 43       Anuppur       Regular       150       OBC         From Gupt Godawari Mod towards Chitrakoot on SH 11 Till Up Border       Satna       Regular       100       SC         On Road from Ghamapur Chowk to Balbag Police Station       Jabalpur       Regular       150       Open         From Sharda Chowk to Guptesghwar Temple In Jabalpur       Jabalpur       Regular       150       Open         Within municipal limit of Pasan ( Kotma to Jathari Road)       Anuppur       Regular       150       Open         Within 5 Km from Rahatgarh Tiggdda towards       Sagar Road on NH 146       Segar       Regular       150       Open         From Vehicle Tiraha In Suhagi Upto Ranjhi Market Main Road In Jabalpur       Jabalpur       Regular       150       Open C 1         Between Km 182 to 184 on LHS while going from Hanumana to Rewa       Rewa       Regular       150       Open C 1         Between Km Stone No 71 to 76 on NH 43       Umaria       Regular       150       Open C 1         Shastri Bridge to Dashnesh Dwar on Jabalpur Nagur Road in Jabalpur       Jabalpur       Regular       150       Open C 1         Between Km Stone No 71 to 76 on NH 43</td> <td>And an Mahal Police Station to Jabalapur Hospital In Jabalapur City         Jabalapur         Regular         150         Open         DC           Madan Mahal Police Station to Jabalapur Hospital In Jabalapur City         Jabalapur         Regular         150         OBC         DC           Between Km Stone No. 226 to 228 on NH 43         Anuppur         Regular         150         OBC         DC           From Gupt Godawari Mod towards Chirrakoot on SH 11 Till Up Border         Sama         Regular         150         Open         DC           From Sharda Chowk to Guptesghwar Temple In Jabalapur         Jabalapur         Regular         150         Open         DC           Within municipal limit of Pasan (Kotma to Jathari Road)         Anuppur         Regular         150         OBC         DC           Within Kun from Rahatgarh Tiggdda: towards         Sagar Road on NH 146         Sagar         Regular         150         Open         DC           From Vehicle Tiraha In Suhagi Upto Ranjhi Market Main Road In Jabalpur         Jabalpur         Regular         150         Open         DC           LHS on NH 7 from village Nigri to Bargi Nagar         Jabalpur         Regular         150         Open         DC           Between Km Stone No 71 to 76 on NH 43         Umaria         Regular         150         Open<td>Ander Mahal Police Station to Jabalpur Hospital In Jabalpur City         Jakalpur         Regular         150         Open         DC         20           Between Km Stone No. 228 to 228 on NH 43         Anuppur         Regular         150         OBC         DC         35           From Gupt Godawari Mod towards Chitrakoot on SH 11 Till Up Border         Satna         Regular         100         SC         CFS         35           Con Road from Ghamapur Chowk to Beibag Police Station         Jabalpur         Regular         150         Open         DC         20           From Sharda Chowk to Guptesghwar Temple In Jabalpur         Jabalpur         Regular         150         Open         DC         20           Within municipal limit of Pasan (Kotma to Jathari Read)         Anuppur         Regular         150         Open         DC         20           Within Stm from Rahalgarh Tiggdda towards Sagar Read on NH 146         Sagar         Regular         150         Open         DC         20           Within Stm from Rahalgarh Tiggdda towards Sagar Read on NH 146         Sagar         Regular         150         Open         DC         20           UHS on NH 7 from village Nigri to Bargi Nagar         Jabalpur         Regular         150         Open         DC         35</td><td>Location of the station of Justice Interpretation (Line Colly)         Jabalapur         Regular         150         Open         DC         2.0           Batwaan Kin Stone No. 228 to 228 on NH 43         Anuapour         Regular         150         OBC         DC         3.5           Point Gupt Godavari Mod towards Chirakoot on SH 11 Till Up Bonder         Sahna         Regular         150         OBC         DC         2.0         2.0           Point Gupt Godavari Mod towards Chirakoot on SH 11 Till Up Bonder         Sahna         Regular         150         Open         DC         2.0         2.0           Forn Sharda Chowk to Guptesghwar Temple In Jabalapur         Jabalapur         Regular         150         Open         DC         2.0         2.0           Within municipal limit of Pasan (Kotma to Jathari Road)         Anuapur         Regular         150         Open         DC         2.0         2.0           Within 5 Km from Rahatgarh Tiggtda towards Sagar Road on NH 146         Sagar         Regular         150         Open         DC         2.0         2.0           UHS on NH 7 from village Nigit to Bargi Nagar         Jabalgur         Regular         150         Open C C 1         DC         3.5         4.5           Between Km 182 to 184 on LHS while poing from Harumana to Rowa         &lt;</td><td>Andream Machan Machal Police Station to Jabbalpur May         Andream Machal Police Station to Jabbalpur May         Anuapur         Regular         1580         Open         DC         200         200         200         200           Batheom Km Sterne No. 226 to 228 on NH 43         Anuapur         Regular         1580         OBCC         DC         355         1525           From Gugs Godawaii Mod Iowards Chirrakooxi on SH 11 TIL Up Border         Settera         Regular         1000         SC         CFS         356         4.00           Or. Road from Ghamapur Chowk to Beelsag Police Station         Jabbelpur         Regular         1150         Open         DC         2.00         2.00         4.00           From Shards Chowk to Guprosphwai Temple In Jabbelpur         Jabbelpur         Regular         1.90         Open         DC         2.00         2.00         4.00           Within Strinform Rhandgaft Towards Sagar Road         Anuapur         Regular         1.90         Open         DC         2.00         2.00         4.00           Within Strinform Rhandgaft Towards Sagar Road         Anuapur         Regular         1.90         Open         DC         2.00         4.00           Within Strinform Rhandgaft Towards Marker Main Road         Jabbalpur         Regular         1.90</td><td>Anders Maniel Police Station to Jubispipur Hoopelial In Jubispipur City         Jakalipur Jakalipur Regular         150         Open         DC         30         20         4400         225           Berwein Kin Store No. 226 to 228 on NH 43         Anugpur         Regular         1160         OBC         DC         356         455         1226         225           Berwein Kin Store No. 226 to 228 on NH 43         Anugpur         Regular         100         BCC         DC         356         455         1375         0           On Read from Ghumapur Chaek to Belbag Police Station         Jakalipur         Regular         150         Open         DC         200         400         225           From Statistic Chock to Gupterginear Terrifie In Jubisipur         Jakalipur         Regular         150         Open         DC         200         400         225           Within Fund Fichtan Fichtan Fichtan Kongil         Jakalipur         Regular         150         Open         DC         200         400         225           Within Fichtan Fichtan Fichtan Fichtan Kongil Mater Main Roadi         Jakalipur         Regular         150         Open         DC         200         200         400         225           Brow Inchar Fichtan Fichtan Fichtan Fichtan Fichtan Fichtan Fichtan Fichtan Fich</td><td>Anders Mand Police Sation to Jakapur Heeplan In Jakapur City         Jato Nerr         Regular         Tot         Tot</td><td>And bare         North         North</td><td>And any basis of the basis</td></td>	Madan Mahal Police Station to Jabalpur Hospital In Jabalpur City       Jabalpur       Regular         Between Km Stone No. 226 to 228 on NH 43       Anuppur       Regular         From Gupt Godawari Mod towards Chitrakoot on SH 11 Till Up Border       Satna       Regular         On Road from Ghamapur Chowk to Belbag Police Station       Jabalpur       Regular         From Sharda Chowk to Guptesghwar Temple In Jabalpur       Jabalpur       Regular         Within municipal limit of Pasan ( Kotma to Jathari Road)       Anuppur       Regular         Within 5 Km from Rahatgarh Tiggdda towards Sagar Road on NH 146       Sagar       Regular         From Vehicle Tiraha In Suhagi Upto Ranjhi Market Main Road In Jabalpur       Jabalpur       Regular         Between Km 182 to 184 on LHS while going from Hanumana to Rewa       Rewa       Regular         Between Km Stone No 71 to 76 on NH 43       Umaria       Regular         Shastri Bridge to Dashnesh Dwar on Jabalpur Nagpur Road In Jabalpur       Jabalpur       Regular         Beohari ( within municipal limit ) from Chunginaka to Papundh Road)       Shahdol       Regular         Between Km Stone No. 65 to 70 on SH 37       Darmoh       Regular         From Deendayal Chowk to RTO office In Jabalpur on Jabalpur Patan Road       Jabalpur       Regular         From Deendayal Chowk to RTO office In Jabalpur on Jabalpur Patan Road <t< td=""><td>Madan Mahal Police Station to Jabalpur Hospital In Jabalpur City       Jabalpur       Regular       150         Between Km Stone No. 226 to 228 on NH 43       Anuppur       Regular       150         From Gupt Godawari Mod towards Chitrakoot on SH 11 Till Up Border       Satna       Regular       100         On Road from Ghamapur Chowk to Belbag Police Station       Jabalpur       Regular       150         From Sharda Chowk to Guptesghwar Temple In Jabalpur       Jabalpur       Regular       150         Within municipal limit of Pasan ( Kotma to Jathari Road)       Anuppur       Regular       150         Within municipal limit of Pasan ( Kotma to Jathari Road)       Anuppur       Regular       150         From Vehicle Tiraha In Suhagi Upto Ranjhi Market Main Road In Jabalpur       Jabalpur       Regular       150         LHS on NH 7 from village Nigri to Bargi Nagar       Jabalpur       Regular       150         Between Km 182 to 184 on LHS while going from Hanumana to Rewa       Rewa       Regular       150         Shastri Bridge to Dashnesh Dwar on Jabalpur Nagpur Road In Jabalpur       Jabalpur       Regular       150         Shastri Bridge to Dashnesh Dwar on Jabalpur Nagpur Road In Jabalpur       Jabalpur       Regular       150         Shastri Bridge to Dashnesh Dwar on Jabalpur Nagpur Road In Jabalpur       Jabalpur       Regular</td></t<>	Madan Mahal Police Station to Jabalpur Hospital In Jabalpur City       Jabalpur       Regular       150         Between Km Stone No. 226 to 228 on NH 43       Anuppur       Regular       150         From Gupt Godawari Mod towards Chitrakoot on SH 11 Till Up Border       Satna       Regular       100         On Road from Ghamapur Chowk to Belbag Police Station       Jabalpur       Regular       150         From Sharda Chowk to Guptesghwar Temple In Jabalpur       Jabalpur       Regular       150         Within municipal limit of Pasan ( Kotma to Jathari Road)       Anuppur       Regular       150         Within municipal limit of Pasan ( Kotma to Jathari Road)       Anuppur       Regular       150         From Vehicle Tiraha In Suhagi Upto Ranjhi Market Main Road In Jabalpur       Jabalpur       Regular       150         LHS on NH 7 from village Nigri to Bargi Nagar       Jabalpur       Regular       150         Between Km 182 to 184 on LHS while going from Hanumana to Rewa       Rewa       Regular       150         Shastri Bridge to Dashnesh Dwar on Jabalpur Nagpur Road In Jabalpur       Jabalpur       Regular       150         Shastri Bridge to Dashnesh Dwar on Jabalpur Nagpur Road In Jabalpur       Jabalpur       Regular       150         Shastri Bridge to Dashnesh Dwar on Jabalpur Nagpur Road In Jabalpur       Jabalpur       Regular	Addam Mahal Police Station to Jabalpur Hospital In Jabalpur City       Jabalpur       Regular       150       Open         Between Km Stone No. 226 to 228 on NH 43       Anuppur       Regular       150       OBC         From Gupt Godawari Mod towards Chitrakoot on SH 11 Till Up Border       Satna       Regular       100       SC         On Road from Ghamapur Chowk to Balbag Police Station       Jabalpur       Regular       150       Open         From Sharda Chowk to Guptesghwar Temple In Jabalpur       Jabalpur       Regular       150       Open         Within municipal limit of Pasan ( Kotma to Jathari Road)       Anuppur       Regular       150       Open         Within 5 Km from Rahatgarh Tiggdda towards       Sagar Road on NH 146       Segar       Regular       150       Open         From Vehicle Tiraha In Suhagi Upto Ranjhi Market Main Road In Jabalpur       Jabalpur       Regular       150       Open C 1         Between Km 182 to 184 on LHS while going from Hanumana to Rewa       Rewa       Regular       150       Open C 1         Between Km Stone No 71 to 76 on NH 43       Umaria       Regular       150       Open C 1         Shastri Bridge to Dashnesh Dwar on Jabalpur Nagur Road in Jabalpur       Jabalpur       Regular       150       Open C 1         Between Km Stone No 71 to 76 on NH 43	And an Mahal Police Station to Jabalapur Hospital In Jabalapur City         Jabalapur         Regular         150         Open         DC           Madan Mahal Police Station to Jabalapur Hospital In Jabalapur City         Jabalapur         Regular         150         OBC         DC           Between Km Stone No. 226 to 228 on NH 43         Anuppur         Regular         150         OBC         DC           From Gupt Godawari Mod towards Chirrakoot on SH 11 Till Up Border         Sama         Regular         150         Open         DC           From Sharda Chowk to Guptesghwar Temple In Jabalapur         Jabalapur         Regular         150         Open         DC           Within municipal limit of Pasan (Kotma to Jathari Road)         Anuppur         Regular         150         OBC         DC           Within Kun from Rahatgarh Tiggdda: towards         Sagar Road on NH 146         Sagar         Regular         150         Open         DC           From Vehicle Tiraha In Suhagi Upto Ranjhi Market Main Road In Jabalpur         Jabalpur         Regular         150         Open         DC           LHS on NH 7 from village Nigri to Bargi Nagar         Jabalpur         Regular         150         Open         DC           Between Km Stone No 71 to 76 on NH 43         Umaria         Regular         150         Open <td>Ander Mahal Police Station to Jabalpur Hospital In Jabalpur City         Jakalpur         Regular         150         Open         DC         20           Between Km Stone No. 228 to 228 on NH 43         Anuppur         Regular         150         OBC         DC         35           From Gupt Godawari Mod towards Chitrakoot on SH 11 Till Up Border         Satna         Regular         100         SC         CFS         35           Con Road from Ghamapur Chowk to Beibag Police Station         Jabalpur         Regular         150         Open         DC         20           From Sharda Chowk to Guptesghwar Temple In Jabalpur         Jabalpur         Regular         150         Open         DC         20           Within municipal limit of Pasan (Kotma to Jathari Read)         Anuppur         Regular         150         Open         DC         20           Within Stm from Rahalgarh Tiggdda towards Sagar Read on NH 146         Sagar         Regular         150         Open         DC         20           Within Stm from Rahalgarh Tiggdda towards Sagar Read on NH 146         Sagar         Regular         150         Open         DC         20           UHS on NH 7 from village Nigri to Bargi Nagar         Jabalpur         Regular         150         Open         DC         35</td> <td>Location of the station of Justice Interpretation (Line Colly)         Jabalapur         Regular         150         Open         DC         2.0           Batwaan Kin Stone No. 228 to 228 on NH 43         Anuapour         Regular         150         OBC         DC         3.5           Point Gupt Godavari Mod towards Chirakoot on SH 11 Till Up Bonder         Sahna         Regular         150         OBC         DC         2.0         2.0           Point Gupt Godavari Mod towards Chirakoot on SH 11 Till Up Bonder         Sahna         Regular         150         Open         DC         2.0         2.0           Forn Sharda Chowk to Guptesghwar Temple In Jabalapur         Jabalapur         Regular         150         Open         DC         2.0         2.0           Within municipal limit of Pasan (Kotma to Jathari Road)         Anuapur         Regular         150         Open         DC         2.0         2.0           Within 5 Km from Rahatgarh Tiggtda towards Sagar Road on NH 146         Sagar         Regular         150         Open         DC         2.0         2.0           UHS on NH 7 from village Nigit to Bargi Nagar         Jabalgur         Regular         150         Open C C 1         DC         3.5         4.5           Between Km 182 to 184 on LHS while poing from Harumana to Rowa         &lt;</td> <td>Andream Machan Machal Police Station to Jabbalpur May         Andream Machal Police Station to Jabbalpur May         Anuapur         Regular         1580         Open         DC         200         200         200         200           Batheom Km Sterne No. 226 to 228 on NH 43         Anuapur         Regular         1580         OBCC         DC         355         1525           From Gugs Godawaii Mod Iowards Chirrakooxi on SH 11 TIL Up Border         Settera         Regular         1000         SC         CFS         356         4.00           Or. Road from Ghamapur Chowk to Beelsag Police Station         Jabbelpur         Regular         1150         Open         DC         2.00         2.00         4.00           From Shards Chowk to Guprosphwai Temple In Jabbelpur         Jabbelpur         Regular         1.90         Open         DC         2.00         2.00         4.00           Within Strinform Rhandgaft Towards Sagar Road         Anuapur         Regular         1.90         Open         DC         2.00         2.00         4.00           Within Strinform Rhandgaft Towards Sagar Road         Anuapur         Regular         1.90         Open         DC         2.00         4.00           Within Strinform Rhandgaft Towards Marker Main Road         Jabbalpur         Regular         1.90</td> <td>Anders Maniel Police Station to Jubispipur Hoopelial In Jubispipur City         Jakalipur Jakalipur Regular         150         Open         DC         30         20         4400         225           Berwein Kin Store No. 226 to 228 on NH 43         Anugpur         Regular         1160         OBC         DC         356         455         1226         225           Berwein Kin Store No. 226 to 228 on NH 43         Anugpur         Regular         100         BCC         DC         356         455         1375         0           On Read from Ghumapur Chaek to Belbag Police Station         Jakalipur         Regular         150         Open         DC         200         400         225           From Statistic Chock to Gupterginear Terrifie In Jubisipur         Jakalipur         Regular         150         Open         DC         200         400         225           Within Fund Fichtan Fichtan Fichtan Kongil         Jakalipur         Regular         150         Open         DC         200         400         225           Within Fichtan Fichtan Fichtan Fichtan Kongil Mater Main Roadi         Jakalipur         Regular         150         Open         DC         200         200         400         225           Brow Inchar Fichtan Fichtan Fichtan Fichtan Fichtan Fichtan Fichtan Fichtan Fich</td> <td>Anders Mand Police Sation to Jakapur Heeplan In Jakapur City         Jato Nerr         Regular         Tot         Tot</td> <td>And bare         North         North</td> <td>And any basis of the basis</td>	Ander Mahal Police Station to Jabalpur Hospital In Jabalpur City         Jakalpur         Regular         150         Open         DC         20           Between Km Stone No. 228 to 228 on NH 43         Anuppur         Regular         150         OBC         DC         35           From Gupt Godawari Mod towards Chitrakoot on SH 11 Till Up Border         Satna         Regular         100         SC         CFS         35           Con Road from Ghamapur Chowk to Beibag Police Station         Jabalpur         Regular         150         Open         DC         20           From Sharda Chowk to Guptesghwar Temple In Jabalpur         Jabalpur         Regular         150         Open         DC         20           Within municipal limit of Pasan (Kotma to Jathari Read)         Anuppur         Regular         150         Open         DC         20           Within Stm from Rahalgarh Tiggdda towards Sagar Read on NH 146         Sagar         Regular         150         Open         DC         20           Within Stm from Rahalgarh Tiggdda towards Sagar Read on NH 146         Sagar         Regular         150         Open         DC         20           UHS on NH 7 from village Nigri to Bargi Nagar         Jabalpur         Regular         150         Open         DC         35	Location of the station of Justice Interpretation (Line Colly)         Jabalapur         Regular         150         Open         DC         2.0           Batwaan Kin Stone No. 228 to 228 on NH 43         Anuapour         Regular         150         OBC         DC         3.5           Point Gupt Godavari Mod towards Chirakoot on SH 11 Till Up Bonder         Sahna         Regular         150         OBC         DC         2.0         2.0           Point Gupt Godavari Mod towards Chirakoot on SH 11 Till Up Bonder         Sahna         Regular         150         Open         DC         2.0         2.0           Forn Sharda Chowk to Guptesghwar Temple In Jabalapur         Jabalapur         Regular         150         Open         DC         2.0         2.0           Within municipal limit of Pasan (Kotma to Jathari Road)         Anuapur         Regular         150         Open         DC         2.0         2.0           Within 5 Km from Rahatgarh Tiggtda towards Sagar Road on NH 146         Sagar         Regular         150         Open         DC         2.0         2.0           UHS on NH 7 from village Nigit to Bargi Nagar         Jabalgur         Regular         150         Open C C 1         DC         3.5         4.5           Between Km 182 to 184 on LHS while poing from Harumana to Rowa         <	Andream Machan Machal Police Station to Jabbalpur May         Andream Machal Police Station to Jabbalpur May         Anuapur         Regular         1580         Open         DC         200         200         200         200           Batheom Km Sterne No. 226 to 228 on NH 43         Anuapur         Regular         1580         OBCC         DC         355         1525           From Gugs Godawaii Mod Iowards Chirrakooxi on SH 11 TIL Up Border         Settera         Regular         1000         SC         CFS         356         4.00           Or. Road from Ghamapur Chowk to Beelsag Police Station         Jabbelpur         Regular         1150         Open         DC         2.00         2.00         4.00           From Shards Chowk to Guprosphwai Temple In Jabbelpur         Jabbelpur         Regular         1.90         Open         DC         2.00         2.00         4.00           Within Strinform Rhandgaft Towards Sagar Road         Anuapur         Regular         1.90         Open         DC         2.00         2.00         4.00           Within Strinform Rhandgaft Towards Sagar Road         Anuapur         Regular         1.90         Open         DC         2.00         4.00           Within Strinform Rhandgaft Towards Marker Main Road         Jabbalpur         Regular         1.90	Anders Maniel Police Station to Jubispipur Hoopelial In Jubispipur City         Jakalipur Jakalipur Regular         150         Open         DC         30         20         4400         225           Berwein Kin Store No. 226 to 228 on NH 43         Anugpur         Regular         1160         OBC         DC         356         455         1226         225           Berwein Kin Store No. 226 to 228 on NH 43         Anugpur         Regular         100         BCC         DC         356         455         1375         0           On Read from Ghumapur Chaek to Belbag Police Station         Jakalipur         Regular         150         Open         DC         200         400         225           From Statistic Chock to Gupterginear Terrifie In Jubisipur         Jakalipur         Regular         150         Open         DC         200         400         225           Within Fund Fichtan Fichtan Fichtan Kongil         Jakalipur         Regular         150         Open         DC         200         400         225           Within Fichtan Fichtan Fichtan Fichtan Kongil Mater Main Roadi         Jakalipur         Regular         150         Open         DC         200         200         400         225           Brow Inchar Fichtan Fichtan Fichtan Fichtan Fichtan Fichtan Fichtan Fichtan Fich	Anders Mand Police Sation to Jakapur Heeplan In Jakapur City         Jato Nerr         Regular         Tot         Tot	And bare         North         North	And any basis of the basis

1494	From Gora Bajar to Ram Mandir In Kajarwara on Dhobighat Road	Jabalpur	Regular	150	Open	DC	20	20	400	25	60	Draw of Lots	15	5
1495	Within municipal limit of Pandhurna	Chhindwara	Regular	100	SC PH	CFS	20	20	400	0	0	Draw of Lots	0	3
1496	From Empire Talkies to Collectorate Via Pul No. 2	Jabalpur	Regular	150	OBC PH	DC	20	20	400	25	60	Draw of Lots	15	4
1497	From Shakti Bhavan to Sagda on Bargi Hills Road	Jabalpur	Regular	150	Open	DC	20	20	400	25	60	Draw of Lots	15	5
1498	From Level crossing of Railway Line Near Sarswati Institute of Technology to Sagada Tiraha In Jabalpur	Jabalpur	Regular	150	Open	DC	20	20	400	25	60	Draw of Lots	15	5
1499	Between Km Stone No 174 to 176 on NH 43	Anuppur	Regular	150	OBC	DC	35	35	1225	25	75	Draw of Lots	15	4
1500	Between Km Stone No 62 to 66 on SH10	Umaria	Regular	100	ST	CFS	35	35	1225	0	0	Draw of Lots	0	3
1501	On Narmada Gwarighat Road from South Avenue Mall to Gwarighat In Jabalpur	Jabalpur	Regular	150	Open	DC	20	20	400	25	60	Draw of Lots	15	5
1502	From Hotel Satya ASHok to SHaheed Smarak Gole Bazar In Jabalpur	Jabalpur	Regular	150	Open	DC	20	20	400	25	60	Draw of Lots	15	5
1503	2 Km both side of village Harraiya on NH 39	Singrauli	Regular	150	OBC	DC	35	35	1225	25	75	Draw of Lots	15	4
1504	Chowfula Powai on SH 55	Sidhi	Regular	100	SC	CFS	35	35	1225	0	0	Draw of Lots	0	3
1505	LHS from Tilwara Ghat to village Narayanpur on NH 7	Jabalpur	Regular	150	Open	DC	35	45	1575	25	75	Draw of Lots	15	5
1506	RHS from Tilwara Ghat to village Narayanpur on NH 7	Jabalpur	Regular	150	Open	DC	35	45	1575	25	75	Draw of Lots	15	5
1507	From Jabalpur Kotwali Thana to Bada Favvara Via Kamaniya Gate	Jabalpur	Regular	150	Open	DC	20	20	400	25	60	Draw of Lots	15	5
1508	3 Km from Allahabad Bank Rampur Naikin to Baghwar on NH 39	Sidhi	Regular	150	OBC	DC	35	35	1225	25	75	Draw of Lots	15	4
1509	From Parasiya Poice Station towards Tamia Road within municipal limit of Parasia	Chhindwara	Regular	100	ST	CFS	20	20	400	0	0	Draw of Lots	0	3
1510	On Kajarwara Road from Pink City town In Bilhari to Ram Mandir Kajarwara	Jabalpur	Regular	150	Open CC 1	DC	20	20	400	25	60	Draw of Lots	15	5
1511	From Milestone No. 312 to Milestone No. 310 NH 39	Sidhi	Regular	150	OBC	DC	35	35	1225	25	75	Draw of Lots	15	4
1512	RHS from Ghatsemariya to Starting of Sehora Bypass on NH 7	Jabalpur	Regular	150	Open	DC	35	45	1575	25	75	Draw of Lots	15	5

														[]
1513	From Sunor Mod Till Bhaiswar village on SH 52	Satna	Regular	100	SC	CFS	35	45	1575	0	0	Draw of Lots	0	3
1514	RHS from Radha Swami Satsang Khajri to Kusner Through New Bypass of Panagar on NH 7	Jabalpur	Regular	150	Open	DC	35	45	1575	25	75	Draw of Lots	15	5
1515	Waidhan (within municipal limit 1)	Singrauli	Regular	100	OBC	DC	20	20	400	25	45	Draw of Lots	15	4
	On Ukhri Road from SHri Narmada Hospital to Small Wonders Sr. Secondary School on RHS	Jabalpur	Regular	150	Open	DC	20	20	400	25	60	Draw of Lots	15	5
1517	From Ahimsa Chowk Upto Kachhpura Over Bridge on RHS on MR 4 Road	Jabalpur	Regular	150	Open	DC	20	20	400	25	60	Draw of Lots	15	5
1518	Nainpur (within municipal limit)	Mandla	Regular	100	ST CC 1	CFS	20	20	400	0	0	Draw of Lots	0	3
1519	From Gohalpur Police Station to Jabalpur Kotwali	Jabalpur	Regular	150	OBC CC 1	DC	20	20	400	25	60	Draw of Lots	15	4
1520	From Deendayal Chowk to Ahimsa Chowk In Vijay Nagar	Jabalpur	Regular	150	Open	DC	20	20	400	25	60	Draw of Lots	15	5
1521	From Madan Mahal Station to Gulaua Chowk on Gangasagar Road	Jabalpur	Regular	150	Open PH	DC	20	20	400	25	60	Draw of Lots	15	5
1522	Pali Birsinghpur Bypass on NH 43 ( LHS towards Shahdol)	Umaria	Regular	150	ST	CFS	35	35	1225	0	0	Draw of Lots	0	3
1523	Within 3Km from Baheri River Bridge towards Sidhi on NH 39	Singrauli	Regular	150	OBC	DC	35	35	1225	25	75	Draw of Lots	15	4
1524	From Collectorate to Ghamapur Chowk	Jabalpur	Regular	150	Open	DC	20	20	400	25	60	Draw of Lots	15	5
1525	Up to 4 Km from Govt High School Chikhalikalan towards Nagpur on NH 547	Chhindwara	Regular	150	OBC	DC	35	35	1225	25	75	Draw of Lots	15	4
1526	From Gandhi Chouk Seoni towards Jabalpur on Old NH 7 within municipal limit of Seoni	Seoni	Regular	100	ST	CFS	20	20	400	0	0	Draw of Lots	0	3
1527	From Dhanwantri Nagar Chowk to andhmukh Chouraha (NH 12 and NH 7 Intersection)	Jabalpur	Regular	150	Open	DC	20	20	400	25	60	Draw of Lots	15	5
1528	From Raddi Chowki to Damoh Naka In Jabalpur	Jabalpur	Regular	150	Open	DC	20	20	400	25	60	Draw of Lots	15	5
1529	Upto 2 Km from Kundam Tehsil office toward Jabalpur on Kundam Jabalpur Road	Jabalpur	Regular	150	Open	DC	35	45	1575	25	75	Draw of Lots	15	5
	Upto 4 Km from Ring Road Bypass Chowk Bangaon towards Narsinghpur on NH 547	Chhindwara	Regular	150	OBC	DC	35	35	1225	25	75	Draw of Lots	15	4
1531	Between Sagar Naka and Sardar Ballabh Bhai Patel Auditorium on SH 42	Sagar	Regular	100	SC	CFS	35	35	1225	0	0	Draw of Lots	0	3

1532	On SH 22 In village Chaurai Kalan	Jabalpur	Regular	100	Open	DC	35	35	1225	25	60	Draw of Lots	15	5
1533	From Aga Chowk to Malviya Chowk Via Ranital Hanuman Mandir on RHS	Jabalpur	Regular	150	Open CC 1	DC	20	20	400	25	60	Draw of Lots	15	5
1534	Upto 3 Km from Choti Banjari Mata Mandir Khutamba towards Nagpur on NH 547	Chhindwara	Regular	150	OBC	DC	35	35	1225	25	75	Draw of Lots	15	4
1535	Within municipal limit of Burhar	Shahdol	Regular	100	ST	CFS	20	20	400	0	0	Draw of Lots	0	3
1536	From Ghamapur Chowk to Raddi Chowki In Jabalpur	Jabalpur	Regular	150	Open	DC	20	20	400	25	60	Draw of Lots	15	5
1537	Balaghat ( within municipal limit 3 )	Balaghat	Regular	100	OBC	DC	20	20	400	25	45	Draw of Lots	15	4
1538	LHS on NH 7 from village Simariya to Starting of Dhangawan Bypass	Jabalpur	Regular	150	Open	DC	35	45	1575	25	75	Draw of Lots	15	5
1539	On NH 12 from village Kaithra to village Ganj Katanga	Jabalpur	Regular	150	Open	DC	35	45	1575	25	75	Draw of Lots	15	5
1540	Between Km Stone 27 to 35 on SH 11 towards Dindori on Mandla Dindori Road SH 11	Mandla	Regular	100	SC	CFS	35	35	1225	0	0	Draw of Lots	0	3
1541	Between Km Stone No 25 to 30 on NH 547	Chhindwara	Regular	150	OBC	DC	35	35	1225	25	75	Draw of Lots	15	4
1542	On NH 12A from toll Booth Near Barela to village Richhai Via Bypass of Barela on Jabalpur Mandla Road	Jabalpur	Regular	150	Open	DC	35	45	1575	25	75	Draw of Lots	15	5
1543	From Phoota Tal to Kamaniya Gate Panagar on Jabalpur Panagar Road	Jabalpur	Regular	150	Open	DC	35	45	1575	25	75	Draw of Lots	15	5
1544	From Post office Pandhurna on Pandhurna Warud Road (within municipal limit)	Chhindwara	Regular	100	ST	CFS	20	20	400	0	0	Draw of Lots	0	3
1545	Between Km Stone No. 399 to 406 on NH 26 (NH 44) At LHS while going towards Lakhnadon	Seoni	Regular	150	OBC	DC	35	35	1225	25	75	Draw of Lots	15	4
1546	Gosalpur Bypas LHS while going from Jabalpur to Katni on NH 7	Jabalpur	Regular	150	Open	сс	35	45	1575	25	10	Bidding	30	5
1547	Between Km Stone No. 197 to 205 on either side of Sawner to Narsinghpur Road NH 547.	Narsinghpur	Regular	150	Open	DC	35	35	1225	25	75	Draw of Lots	15	5
1548	Between Km Stone No. 210 to 206 on either side of Sawner to Narsinghpur Road NH 547.	Narsinghpur	Regular	150	OBC	DC	35	35	1225	25	75	Draw of Lots	15	4
1549	Jabalpur ( within municipal limit 5)	Jabalpur	Regular	150	ST	CFS	20	20	400	0	0	Draw of Lots	0	3
1550	Between Km Stone No 343 to 348 on LHS while going from Lakhnadon to Jhansi NH 26 (New NH 44)	Narsinghpur	Regular	150	Open	DC	35	45	1575	25	75	Draw of Lots	15	5

1551	Upto 5 Kms towards Sagar from Rajmarg Chouraha on NH 26	Narsinghpur	Regular	150	Open	DC	35	45	1575	25	75	Draw of Lots	15	5
1552	Between Km Stone No 300 to 310 on either side of Lakhnadon to Jhansi NH 26 (New NH 44)	Narsinghpur	Regular	150	OBC	DC	35	35	1225	25	75	Draw of Lots	15	4
1553	Up to 2 Km from Samnapur Railway Station on SH 11	Balaghat	Regular	100	SC	CFS	35	35	1225	0	0	Draw of Lots	0	3
1554	Upto 3 Kms on both side of Rajmarg Chauraha on NH 45 (Old NH 12)	Narsinghpur	Regular	150	Open	DC	35	35	1225	25	75	Draw of Lots	15	5
1555	Shahpura (within municipal limit)	Dindori	Regular	100	Open	DC	20	20	400	25	45	Draw of Lots	15	5
1556	On either side of Km Stone No 120 to 125 while going from Jabalpur to Bhopal NH 45 ( Old NH 12)	Narsinghpur	Regular	150	OBC	DC	35	35	1225	25	75	Draw of Lots	15	4
1557	On either side of Km Stone No 27 to 35 while going from Jabalpur to Raipur NH 30 (Old NH 12 A)	Mandla	Regular	150	Open	DC	35	45	1575	25	75	Draw of Lots	15	5
1558	Between Km Stone No 380 to 385 on NH 7(LHS towards Jabalpur)	Katni	Regular	150	ST	CFS	35	45	1575	0	0	Draw of Lots	0	3
1559	Upto 3 Km from both side of Police Station Bijadandi on NH 30	Mandla	Regular	150	OBC	DC	35	45	1575	25	75	Draw of Lots	15	4
1560	Within 2 Km from Vill Lalpur(on NH 43)	Shahdol	Regular	150	Open CC 1	DC	35	35	1225	25	75	Draw of Lots	15	5
1561	Anjania Bypass on NH 30	Mandla	Regular	150	Open	DC	35	45	1575	25	75	Draw of Lots	15	5
1562	Within 4 Kms from Simariya Police Station towards Damoh on SH 47	Panna	Regular	100	SC	CFS	35	45	1575	0	0	Draw of Lots	0	3
1563	On either side of Km Stone No 70 to 80 while going from Jabalpur to Raipur NH 30 (Old NH 12 A)	Mandla	Regular	150	OBC	DC	35	45	1575	25	75	Draw of Lots	15	4
1564	On NH 7 from End of Gandhigram Bypass to Starting of Gosalpur Bypass In Jabalpur District	Jabalpur	Regular	150	Open	DC	35	45	1575	25	75	Draw of Lots	15	5
1565	Mandla Bypass LHS on NH 30	Mandla	Regular	150	Open	DC	35	45	1575	25	75	Draw of Lots	15	5
1566	From Circuit House to Hanuman Chowk within municipal limit Balaghat	Balaghat	Regular	100	ST	CFS	20	20	400	0	0	Draw of Lots	0	3
1567	On either side of Km Stone No 140 to 150 while going from Jabalpur to Raipur NH 30 ( Old NH 12A)	Mandla	Regular	150	OBC	DC	35	45	1575	25	75	Draw of Lots	15	4
1568	On either side of Km Stone No 95 to 100 while going from Jabalpur to Raipur NH 30 ( Old NH 12A)	Mandla	Regular	150	Open	DC	35	45	1575	25	75	Draw of Lots	15	5
1569	On either side of Km Stone No 120 to 130 while going from Jabalpur to Amarkantak SH 22	Dindori	Regular	100	Open CC 2	DC	35	35	1225	25	60	Draw of Lots	15	5

1570	Upto 5 Kms from Dindori Bus Stand towards Mandla on Dindori Mandla Road SH 40	Dindori	Regular	100	OBC CC 1	DC	35	45	1575	25	60	Draw of Lots	15	4
1571	From Penty Naka to Ojas Imperia Via Sadar Bazar	Jabalpur	Regular	150	SC CC 1	CFS	20	20	400	0	0	Draw of Lots	0	3
1572	RHS on NH 7 from village Manegaon to village Jogidhana	Jabalpur	Regular	150	Open	DC	35	45	1575	25	75	Draw of Lots	15	5
1573	Bichchiya (within municipal limit)	Mandla	Regular	100	Open	DC	20	20	400	25	45	Draw of Lots	15	5
1574	Narsinghpur (within municipal limit 1)	Narsinghpur	Regular	100	OBC	DC	20	20	400	25	45	Draw of Lots	15	4
1575	Between Km Stone No 62 to 67 on NH 43	Umaria	Regular	150	ST	CFS	35	35	1225	0	0	Draw of Lots	0	3
1576	Kareli (within municipal limit 1)	Narsinghpur	Regular	100	Open	DC	20	20	400	25	45	Draw of Lots	15	5
1577	Rewa (within municipal limit 2)	Rewa	Regular	100	Open	DC	20	20	400	25	45	Draw of Lots	15	5
1578	Between Km Stone No 318 to 324 on either side of Lakhnadon to Jhansi NH 26 (New NH 44)	Narsinghpur	Regular	150	OBC	DC	35	45	1575	25	75	Draw of Lots	15	4
1579	From Pandit Dindayal Chowk Waraseoni towards Rampayli Road within within municipal limit of Waraseoni	Balaghat	Regular	100	Open	сс	20	20	400	25	10	Bidding	30	5
1580	Within 3 Km from Katan Tiraha Saleha towards Nagod on NH 943	Satna	Regular	150	SC	CFS	35	45	1575	0	0	Draw of Lots	0	3
1581	On Parasia By Pass Road on SH 19	Chhindwara	Regular	100	Open	DC	35	35	1225	25	60	Draw of Lots	15	5
1582	Upto 4 Km from Garra Chowk towards Lalbarra on SH 26	Balaghat	Regular	100	OBC	DC	35	35	1225	25	60	Draw of Lots	15	4
1583	Either side of 2 Km from Forest Rest House Kalpi on NH 30	Mandla	Regular	150	Open CC 1	DC	35	45	1575	25	75	Draw of Lots	15	5
1584	Sirmaur Chowk to Amahiya In Rewa City ( within Municiapl limit of Rewa)	Rewa	Regular	100	ST	CFS	20	20	400	0	0	Draw of Lots	0	3
1585	Upto 3 Km from SH 15 and SH 22A Intersection on SH 22A	Jabalpur	Regular	100	OBC	DC	35	35	1225	25	60	Draw of Lots	15	4
1586	From Char Phatak Railway crossing At Chindwara towards Narsinghpur (within Muncipal limit of Chhindwara)	Chhindwara	Regular	100	Open	сс	20	20	400	25	10	Bidding	30	5
1587	RHS from andhmukh Chouraha (NH 12 and NH 7 Intersection) to Tilwara Bridge on NH 7	Jabalpur	Regular	150	Open	DC	35	45	1575	25	75	Draw of Lots	15	5
1588	Up to 2 Km from Katangi Post office on SH 54	Balaghat	Regular	100	OBC	DC	35	35	1225	25	60	Draw of Lots	15	4

Majhgawan on SH11(Satna Chitrakoot Road)	Satna	Regular	100	SC	CFS	35	45	1575	0	0	Draw of Lots	0	3
Lakhanadone ( within municipal limit ) on Old NH26	Seoni	Regular	100	Open	DC	20	20	400	25	45	Draw of Lots	15	5
From Govt. Pg College Seoni towards Mungwani within municipal limit of Seoni	Seoni	Regular	100	Open	DC	20	20	400	25	45	Draw of Lots	15	5
Parasia ( within municipal limit)	Chhindwara	Regular	100	OBC	DC	20	20	400	25	45	Draw of Lots	15	4
Within 2 Km from Agriculture University on Padra to Benkat Chauraha Road.( within Municiapl limit of Rewa)	Rewa	Regular	100	ST	CFS	20	20	400	0	0	Draw of Lots	0	3
Between Mile Stone No 92 to 95 on NH 347	Chhindwara	Regular	150	Open	DC	35	35	1225	25	75	Draw of Lots	15	5
Up to 3 Km from Atarwada Square Chindwara towards Nagpur NH 547 on LHS while going towards Nagpur	Chhindwara	Regular	150	Open	DC	35	35	1225	25	75	Draw of Lots	15	5
Ranjhi (Wml)	Jabalpur	Regular	150	OBC PH	DC	20	20	400	25	60	Draw of Lots	15	4
Within municipal limit of Bijuri	Anuppur	Regular	100	ST PH	CFS	20	20	400	0	0	Draw of Lots	0	3
Between Mile Stone No. 605 to 610 on NH 07 (NH44) RHS while going towards Jabalpur from Nagpur	Seoni	Regular	150	Open	сс	35	45	1575	25	10	Bidding	30	5
Upto 4 Km from Banjari Mata Mandir Ghunai towards Jabalpur on LHS on NH 7 (NH 44)	Seoni	Regular	150	Open	DC	35	45	1575	25	75	Draw of Lots	15	5
Tirodi ( within municipal limit)	Balaghat	Regular	100	OBC	DC	20	20	400	25	45	Draw of Lots	15	4
Between Km Stone No 620 to 624 on old NH 7 (NH 44)At LHS while going towards Jabalpur	Seoni	Regular	150	Open	DC	35	45	1575	25	75	Draw of Lots	15	5
Up to 3 Km from Om Rise Mill on Mehandiwada towards Khairlanjhi on SH 48	Balaghat	Regular	100	SC	CFS	35	35	1225	0	0	Draw of Lots	0	3
Up to 2 Km from Central Madhya Pradesh Gramin Bank Bhilai Branch on SH 40	Seoni	Regular	100	Open	DC	35	35	1225	25	60	Draw of Lots	15	5
Damoh (within municipal limit 2 )	Damoh	Regular	100	OBC	DC	20	20	400	25	45	Draw of Lots	15	4
RHS from andhmukh Chouraha (NH 12 and NH 7 Intersection) to Bhedaghat Chouraha on NH 12	Jabalpur	Regular	150	Open	DC	35	45	1575	25	75	Draw of Lots	15	5
Dindori ( within municipal limit 2)	Dindori	Regular	100	ST	CFS	20	20	400	0	0	Draw of Lots	0	3
LHS from Radha Swami Satsang Khajri to Kusner Through New Bypass of Panagar on NH 7	Jabalpur	Regular	150	OBC	DC	20	20	400	25	60	Draw of Lots	15	4
	Lakhanadone ( within municipal limit ) on Old NH26         From Govt. Pg College Seoni towards Mungwani within municipal limit of Seoni         Parasia ( within municipal limit)         Within 2 Km from Agriculture University on Padra to Benkat Chauraha Road.( within Municiapl limit of Rewa)         Between Mile Stone No 92 to 95 on NH 347         Up to 3 Km from Atarwada Square Chindwara towards Nagpur NH 547 on LHS while going towards Nagpur         Ranjhi (Wml)         Within municipal limit of Bijuri         Between Mile Stone No. 605 to 610 on NH 07 (NH44) RHS while going towards Jabalpur from Nagpur         Up to 4 Km from Banjari Mata Mandir Ghunai towards Jabalpur on LHS on NH 7 (NH 44)         Tirodi ( within municipal limit)         Between Km Stone No 620 to 624 on old NH 7 (NH 44)At LHS while going towards Jabalpur         Up to 3 Km from Om Rise Mill on Mehandiwada towards Khairlanjhi on SH 48         Up to 2 Km from Central Madhya Pradesh Gramin Bank Bhilai Branch on SH 40         Damoh (within municipal limit 2 )         RHS from andhmukh Chouraha (NH 12 and NH 7 Intersection) to Bhedaghat Chouraha on NH 12         Dindori ( within municipal limit 2)         LHS from Radha Swami Satsang Khajri to Kusner Through New Bypass of	Lakhanadone ( within municipal limit ) on Old NH26       Seoni         From Govt. Pg College Seoni towards Mungwani within municipal limit of Seoni       Seoni         Parasia ( within municipal limit)       Chhindwara         Within 2 Km from Agriculture University on Padra to Benkat Chauraha Read.( within Municipal limit of Rewa)       Rewa         Between Mile Stone No 92 to 95 on NH 347       Chhindwara         Up to 3 Km from Atarwada Square Chindwara towards Nagpur NH 547 on LHS while going towards Nagpur       Chhindwara         Ranjhi (Wmi)       Jabalpur         Within municipal limit of Bijuri       Anuppur         Between Mile Stone No. 605 to 610 on NH 07 (NH44) RHS while going towards Jabalpur from Nagpur       Seoni         Upto 4 Km from Banjari Mata Mandir       Ghunai towards Jabalpur on LHS on NH 7 (NH 44)       Seoni         Tirodi ( within municipal limit)       Balaghat       Between Km Stone No 620 to 624 on old NH 7 (NH 44)At LHS while going towards Jabalpur       Seoni         Up to 3 Km from Om Rise Mill on Mehandiwada towards Khairlanjhi on SH 48       Balaghat       Balaghat         Up to 2 Km from Central Madhya Pradesh Gramin Bank Bhilal Branch on SH 40       Seoni       Seoni         Damoh (within municipal limit 2)       Damoh       Jabalpur         LHS from Radha Swami Satsang Khajri to Kusner Through New Bypass of Leboure       Dindori	Lakhanadone ( within municipal limit ) on Old NH26SeoniRegularFrom Govt. Pg CollegeSeoni towards Mungwani within municipal limit of SeoniSeoniRegularParasia ( within municipal limit)ChhindwaraRegularWithin 2 Km from Agriculture University on Padra to Benkat Chauraha Road ( within Municipal limit of Rewa)RewaRegularBetween Mile Stone No 92 to 95 on NH 347ChhindwaraRegularUp to 3 Km from Atarwada SquareChindwara towards NagpurNH 547 on LHS while going towards NagpurChhindwaraRanjhi (Wml)JabalpurRegularBetween Mile Stone No. 605 to 610 on NH 07 (NH44)RHS while going towards JabalpurRegularWithin municipal limit of BijuriAnuppurRegularUp to 4 Km from Banjari Mata MandirGhunai towards Jabalpur on LHS on NH 7 (NH 44)SeoniRegularTirodi ( within municipal limit)BalaghatRegularBetween Km Stone No 620 to 624 on old NH 7 (NH 44)At LHS while going towards JabalpurSeoniRegularUp to 2 Km from Central Madhya Pradesh Gramin Bank Bhilai Branch on SH 40SeoniRegularDamoh (within municipal limit 2)DarnohRegularRes from andmukh Chouraha (NH 12 and NH 7 Intersection) to Bhedaghat Chouraha on NH 12DindoriRegularLHS from Radha Swami Satsang Khajri to Kusner Through New Bypass of Luston under Satsang Khajri to Kusner Through New Bypass of Luston under Satsang Khajri to Kusner Through New Bypass ofLeston under	Lakhanadone ( within municipal limit ) on Old NH26       Seoni       Regular       100         From Govt. Pg College Seoni towards Mungwani within municipal limit of Seoni       Regular       100         Parasia ( within municipal limit)       Chhindwara       Regular       100         Within 2 Km from Agriculture University on Padra to Benkat Chauraha Rewa       Regular       100         Between Mile Stone No 92 to 95 on NH 347       Chhindwara       Regular       150         Up to 3 Km from Atarwada Square       Chindwara towards Nagpur       NH 547       Chhindwara       Regular       150         Ranjhi (Wmi)       Jabalpur       Regular       150       150         Within municipal limit of Bijuri       Anuppur       Regular       150         Rum from Atarwada Square       Chindwara towards Nagpur       NH 547       Chhindwara       Regular       150         Ranjhi (Wmi)       Jabalpur       Regular       150       150       150       150         Within municipal limit of Bijuri       Anuppur       Regular       150       150         Rum from Nagpur       Fon Nagpur       Seoni       Regular       150         Upto 4 Km from Chagari Mata Mandir       Ghunai towards Jabalpur on LHS       Seoni       Regular       150 <td< td=""><td>Lakhanadone ( within municipal limit ) on Old NH26       Seoni       Regular       100       Open         From Govt. Pg College Seoni towards Mungwani within municipal limit of       Seoni       Regular       100       Open         Parasia ( within municipal limit)       Chhindwara       Regular       100       OBC         Within 2 Km from Agriculture University on Padra to Benkat Chauraha       Rewa       Regular       100       ST         Between Mile Stone No 92 to 95 on NH 347       Chhindwara       Regular       150       Open         Up to 3 Km from Atarwada Square       Chindwara towards Nagpur       NH 547       Chhindwara       Regular       150       Open         Ranjhi (Wmi)       Jabalapur       Regular       150       OBC PH         Within municipal limit of Bijuri       Anuppur       Regular       150       OBC PH         Within municipal limit of Bijuri       Anuppur       Regular       150       Open         Ranjhi (Wmi)       Jabalapur from Bagiari Mata Mandir       Ghunai towards Jabalapur on LHS       Seoni       Regular       150       Open         Upto 4 Km from Eagiari Mata Mandir       Ghunai towards Jabalapur on LHS       Seoni       Regular       100       OSC         Between Mile Stone No 620 to 624 on old NH 7 (NH 44)At LHS while going towar</td><td>Lakhanadone (within municipal limit ) on Old NH28         Seconi         Regular         100         Open         DC           Fiom Govt. Pg College         Seconi Invested Mungwani within municipal limit of Seconi         Regular         100         Open         DC           Parasia (within municipal limit)         Chhindwara         Regular         100         OBC         DC           Within 2Km from Agriculture University on Padra to Benkat Chauraha Road (within Municipal limit)         Chhindwara         Regular         100         ST         CFS           Between Mile Store No 92 to 95 on NH 347         Chhindwara         Regular         150         Open         DC           Up to 3 Km from Atarwads Square         Chindwara towards Nagpur         Regular         150         OBE         DC           Ranjhi (Wmi)         Jabaipur         Regular         150         OBE         DC           Within municipal limit of Bijuri         Anuppur         Regular         150         OBE         DC           Between Mile Store No. 605 to 610 on NH 07 (NH44) RH5 while going towards Jabalpur from Nagpur         Regular         150         OBE         DC           Within municipal limit of Bijuri         Balaghat         Regular         150         Open         DC           It on NH 7 (NH 44)         RH</td><td>Lakhanadone ( within municipal limit )DiddDiddOpenDC20Lakhanadone ( within municipal limit )SeoniRegular100OpenDC20Parasia ( within municipal limit)ChhindwaraRegular100OpenDC20Parasia ( within municipal limit)ChhindwaraRegular100OBECDC20Within 2 Km from Agricallure University on Padra to Benkat ChaurahaRewnRegular100STCFS20Between Mile Stone No 22 to 95 on NH 347ChhindwaraRegular150OpenDC35Ranji (Wrri)JabalpurRegular150OpenDC20Within municipal limit of BijuriAnuppurRegular150OpenDC20Within municipal limit of BijuriAnuppurRegular150OpenDC20Between Kile Stone No 50 to 0 n NH 07 (NH44) RHS while goingSeoniRegular150OpenDC35Tirdd ( within municipal limit)BalaghatRegular150OpenDC35Between Kin Stone No 502 to 50 to 0 NH 77 (NH 44)AL HS while goingSeoniRegular150OpenDC35Tirdd ( within municipal limit)BalaghatRegular150OpenDC35Up to 4 Km from Banjar Mata MandirGhunai towards Jabalpur on LHSSeoniRegular100SCCFS35Up to 4 Km from Stone No 502 to 502 to 70 to 70 NH 77 (NH 44)AL LHS while goingSeoniReg</td><td>Discrete Control Control Control         <t< td=""><td>Linkhanadone (within municipal limit) on Old NH26         Seroit         Regular         100         Open         DC         200         200         400           Parasia ( within municipal limit) on Old NH26         Seroit         Regular         100         Open         DC         200         200         400           Parasia ( within municipal limit)         Chinkdwara         Regular         100         Open         DC         200         200         400           Parasia ( within municipal limit)         Chinkdwara         Regular         100         Open         DC         200         200         400           Within 2 Km thur Appicables University on Pards to Benket Chausha         Reward         Regular         100         ST         CFS         200         200         400           Between Mile Store No 52 to 55 on NH 547         Chinkdwara         Regular         150         Open         DC         350         152           Lift Swine going Yound's Nagour         Jabalapa         Regular         150         Open         DC         355         455         1575           Regular Diff MH40         Jabalapa         Regular         150         Open         DC         355         455         1575           Regular Diff MH41&lt;</td><td>Construction         Construction         Construction&lt;</td><td>Link         Link         <thlink< th="">         Link         Link         <thl< td=""><td>Construction         Construction         Construction&lt;</td><td>Concernence         Concernence         Concernence</td></thl<></thlink<></td></t<></td></td<>	Lakhanadone ( within municipal limit ) on Old NH26       Seoni       Regular       100       Open         From Govt. Pg College Seoni towards Mungwani within municipal limit of       Seoni       Regular       100       Open         Parasia ( within municipal limit)       Chhindwara       Regular       100       OBC         Within 2 Km from Agriculture University on Padra to Benkat Chauraha       Rewa       Regular       100       ST         Between Mile Stone No 92 to 95 on NH 347       Chhindwara       Regular       150       Open         Up to 3 Km from Atarwada Square       Chindwara towards Nagpur       NH 547       Chhindwara       Regular       150       Open         Ranjhi (Wmi)       Jabalapur       Regular       150       OBC PH         Within municipal limit of Bijuri       Anuppur       Regular       150       OBC PH         Within municipal limit of Bijuri       Anuppur       Regular       150       Open         Ranjhi (Wmi)       Jabalapur from Bagiari Mata Mandir       Ghunai towards Jabalapur on LHS       Seoni       Regular       150       Open         Upto 4 Km from Eagiari Mata Mandir       Ghunai towards Jabalapur on LHS       Seoni       Regular       100       OSC         Between Mile Stone No 620 to 624 on old NH 7 (NH 44)At LHS while going towar	Lakhanadone (within municipal limit ) on Old NH28         Seconi         Regular         100         Open         DC           Fiom Govt. Pg College         Seconi Invested Mungwani within municipal limit of Seconi         Regular         100         Open         DC           Parasia (within municipal limit)         Chhindwara         Regular         100         OBC         DC           Within 2Km from Agriculture University on Padra to Benkat Chauraha Road (within Municipal limit)         Chhindwara         Regular         100         ST         CFS           Between Mile Store No 92 to 95 on NH 347         Chhindwara         Regular         150         Open         DC           Up to 3 Km from Atarwads Square         Chindwara towards Nagpur         Regular         150         OBE         DC           Ranjhi (Wmi)         Jabaipur         Regular         150         OBE         DC           Within municipal limit of Bijuri         Anuppur         Regular         150         OBE         DC           Between Mile Store No. 605 to 610 on NH 07 (NH44) RH5 while going towards Jabalpur from Nagpur         Regular         150         OBE         DC           Within municipal limit of Bijuri         Balaghat         Regular         150         Open         DC           It on NH 7 (NH 44)         RH	Lakhanadone ( within municipal limit )DiddDiddOpenDC20Lakhanadone ( within municipal limit )SeoniRegular100OpenDC20Parasia ( within municipal limit)ChhindwaraRegular100OpenDC20Parasia ( within municipal limit)ChhindwaraRegular100OBECDC20Within 2 Km from Agricallure University on Padra to Benkat ChaurahaRewnRegular100STCFS20Between Mile Stone No 22 to 95 on NH 347ChhindwaraRegular150OpenDC35Ranji (Wrri)JabalpurRegular150OpenDC20Within municipal limit of BijuriAnuppurRegular150OpenDC20Within municipal limit of BijuriAnuppurRegular150OpenDC20Between Kile Stone No 50 to 0 n NH 07 (NH44) RHS while goingSeoniRegular150OpenDC35Tirdd ( within municipal limit)BalaghatRegular150OpenDC35Between Kin Stone No 502 to 50 to 0 NH 77 (NH 44)AL HS while goingSeoniRegular150OpenDC35Tirdd ( within municipal limit)BalaghatRegular150OpenDC35Up to 4 Km from Banjar Mata MandirGhunai towards Jabalpur on LHSSeoniRegular100SCCFS35Up to 4 Km from Stone No 502 to 502 to 70 to 70 NH 77 (NH 44)AL LHS while goingSeoniReg	Discrete Control Control Control         Control <t< td=""><td>Linkhanadone (within municipal limit) on Old NH26         Seroit         Regular         100         Open         DC         200         200         400           Parasia ( within municipal limit) on Old NH26         Seroit         Regular         100         Open         DC         200         200         400           Parasia ( within municipal limit)         Chinkdwara         Regular         100         Open         DC         200         200         400           Parasia ( within municipal limit)         Chinkdwara         Regular         100         Open         DC         200         200         400           Within 2 Km thur Appicables University on Pards to Benket Chausha         Reward         Regular         100         ST         CFS         200         200         400           Between Mile Store No 52 to 55 on NH 547         Chinkdwara         Regular         150         Open         DC         350         152           Lift Swine going Yound's Nagour         Jabalapa         Regular         150         Open         DC         355         455         1575           Regular Diff MH40         Jabalapa         Regular         150         Open         DC         355         455         1575           Regular Diff MH41&lt;</td><td>Construction         Construction         Construction&lt;</td><td>Link         Link         <thlink< th="">         Link         Link         <thl< td=""><td>Construction         Construction         Construction&lt;</td><td>Concernence         Concernence         Concernence</td></thl<></thlink<></td></t<>	Linkhanadone (within municipal limit) on Old NH26         Seroit         Regular         100         Open         DC         200         200         400           Parasia ( within municipal limit) on Old NH26         Seroit         Regular         100         Open         DC         200         200         400           Parasia ( within municipal limit)         Chinkdwara         Regular         100         Open         DC         200         200         400           Parasia ( within municipal limit)         Chinkdwara         Regular         100         Open         DC         200         200         400           Within 2 Km thur Appicables University on Pards to Benket Chausha         Reward         Regular         100         ST         CFS         200         200         400           Between Mile Store No 52 to 55 on NH 547         Chinkdwara         Regular         150         Open         DC         350         152           Lift Swine going Yound's Nagour         Jabalapa         Regular         150         Open         DC         355         455         1575           Regular Diff MH40         Jabalapa         Regular         150         Open         DC         355         455         1575           Regular Diff MH41<	Construction         Construction<	Link         Link <thlink< th="">         Link         Link         <thl< td=""><td>Construction         Construction         Construction&lt;</td><td>Concernence         Concernence         Concernence</td></thl<></thlink<>	Construction         Construction<	Concernence         Concernence

1608	Upto 2 Km from Herbal Garden Banjari towards Seoni on old NH 7 (NH 34)on RHS while going towards Seoni	Seoni	Regular	150	Open	DC	35	45	1575	25	75	Draw of Lots	15	5
1609	Gadarwara (within municipal limit 1)	Narsinghpur	Regular	100	Open CC 1	DC	20	20	400	25	45	Draw of Lots	15	5
1610	Within 4 Km from Railway crossing Unchahra towards Satna on SH-11	Satna	Regular	100	OBC	DC	35	35	1225	25	60	Draw of Lots	15	4
1611	Between Km Stone 135 to 140 towards Amarkantak on SH 22	Dindori	Regular	100	ST	CFS	35	35	1225	0	0	Draw of Lots	0	3
1612	From Raddi Chowki to Adhartal Police Station	Jabalpur	Regular	150	Open	DC	20	20	400	25	60	Draw of Lots	15	5
1613	Bhedaghat Chouraha to Bhitoni on NH 12 on Right Hand side	Jabalpur	Regular	150	Open	DC	35	45	1575	25	75	Draw of Lots	15	5
1614	Sleemnabad Bypass on NH7 ( LHS towards Jabalpur)	Katni	Regular	150	OBC	DC	35	45	1575	25	75	Draw of Lots	15	4
1615	On either side of Km Stone No 80 to 90 on SH 40 Mandla to Dindori Road	Dindori	Regular	100	SC	CFS	35	45	1575	0	0	Draw of Lots	0	3
1616	Bhedaghat Chouraha to Bhitoni on NH 12 on Left Hand side	Jabalpur	Regular	150	Open	DC	35	45	1575	25	75	Draw of Lots	15	5
	From Police Thana Madhotal to Katangi Bypass Chouraha on Jabalpur Katangi Road ( within municipal limit)	Jabalpur	Regular	150	Open	DC	20	20	400	25	60	Draw of Lots	15	5
1618	LHS on NH 7 from village Muhatara to Starting of Sehora Bypass	Jabalpur	Regular	150	Open	DC	35	45	1575	25	75	Draw of Lots	15	5
1619	Between Km Stone No.43 and 45 on SH 52	Panna	Regular	100	OBC CC 1	DC	35	45	1575	25	60	Draw of Lots	15	4
1620	Within municipal limit of Mangawan	Rewa	Regular	100	SC CC 1	CFS	20	20	400	0	0	Draw of Lots	0	3
1621	From Damoh Naka to Aga Khan Chowk on RHS	Jabalpur	Regular	150	Open PH	DC	20	20	400	25	60	Draw of Lots	15	5
1622	Within municipal limit of Piplanarayanwar	Chhindwara	Regular	100	OBC	DC	20	20	400	25	45	Draw of Lots	15	4
1623	Between Km Stone No.283 and 286 on NH 7 RHS while going from Amarpatan to Maihar	Satna	Regular	150	Open	DC	35	45	1575	25	75	Draw of Lots	15	5
1624	Between Km Store 8 10 on NH 39 (Old NH 75) (Chattarpur Navgaon Road)	Chhatarpur	Regular	150	ST	CFS	35	35	1225	0	0	Draw of Lots	0	3
1625	RHS on NH 7 from andhmukh Chouraha to Radha Swami Satsang Khajri In Jabalpur District	Jabalpur	Regular	150	Open	DC	35	45	1575	25	75	Draw of Lots	15	5
1626	Within municipal Limt of Kirnapur	Balaghat	Regular	100	OBC	DC	20	20	400	25	45	Draw of Lots	15	4

-					1		1	1	1					
1627	Between Km Stone No 260 to 266 on NH 39	Rewa	Regular	150	Open	DC	35	45	1575	25	75	Draw of Lots	15	5
1628	From Adhartal Police Station to Jawahar Lal Nehru Krishi Vishwavidyalay	Jabalpur	Regular	150	Open	DC	20	20	400	25	60	Draw of Lots	15	5
1629	Upto 7 Km from Janta Nagar Chowk Seoni towards Katangi SH 54	Seoni	Regular	100	SC	CFS	35	35	1225	0	0	Draw of Lots	0	3
1630	Between Tillai Naka & Tingulli Chowk ( within municipal limit of Damoh)	Damoh	Regular	100	OBC	DC	20	20	400	25	45	Draw of Lots	15	4
1631	From Bilhari Upto New Bypass (NH 12A) Via Tilhari (within municipal limit)	Jabalpur	Regular	150	Open	DC	20	20	400	25	60	Draw of Lots	15	5
1632	Dindori ( within municipal limit 1)	Dindori	Regular	100	Open CC 1	DC	20	20	400	25	45	Draw of Lots	15	5
1633	Within 2Km from Raigaon Mod towards Satna on NH 75	Satna	Regular	150	ST	CFS	35	45	1575	0	0	Draw of Lots	0	3
1634	Between Km Stone No 357 to 359 on NH 7	Katni	Regular	150	OBC	DC	35	45	1575	25	75	Draw of Lots	15	4
1635	On either side of Indra Chowk to Ramabai Hospital Road In Shahdol City	Shahdol	Regular	100	Open	DC	20	20	400	25	45	Draw of Lots	15	5
1636	Within 3 Km from Sirmour Chowk to Ajgarha Road ( within Municiapl limit of Rewa)	Rewa	Regular	100	Open	DC	20	20	400	25	45	Draw of Lots	15	5
1637	Between Km Stone No. 11 to 16 on NH 43	Katni	Regular	150	OBC	DC	35	35	1225	25	75	Draw of Lots	15	4
1638	On either side of Km Stone No 50 to 60 while going from Jabalpur to Bhopal NH 45 ( Old NH 12)	Narsinghpur	Regular	150	ST	CFS	35	35	1225	0	0	Draw of Lots	0	3
1639	Between Km Stone No 23 to 28 on NH 43	Katni	Regular	150	Open	DC	35	35	1225	25	75	Draw of Lots	15	5
1640	Between Km Stone No 347 to 352 on NH 7 RHS while going towards Katni	Katni	Regular	150	Open	DC	35	45	1575	25	75	Draw of Lots	15	5
1641	Hatta ( within municipal limit)	Damoh	Regular	100	OBC	DC	20	20	400	25	45	Draw of Lots	15	4
1642	1 Km both side from Bamnora Tigadda on SH 42 (Malthon Khimlasa Road)	Sagar	Regular	100	SC	CFS	35	35	1225	0	0	Draw of Lots	0	3
1643	Nagpur Road In Jabalpur from Dashmesh Dwar to LIC Divisional office	Jabalpur	Regular	150	Open	DC	20	20	400	25	60	Draw of Lots	15	5
1644	Between Km Stone No. 42 to 47 on NH 43	Umaria	Regular	150	Open	DC	35	35	1225	25	75	Draw of Lots	15	5
1645	Within 2 Km from village Kurraha on NH 34 (Chattarpur to Mahoba Road)	Chhatarpur	Regular	150	OBC	DC	35	35	1225	25	75	Draw of Lots	15	4

1646	Within 2 Km from Vill Dhanwahi on NH 30	Mandla	Regular	150	ST	CFS	35	45	1575	0	0	Draw of Lots	0	3
1647	Between Madhavnagar Gate & Branch Sbi Personal Banking within municipal limit of Katni	Katni	Regular	100	Open	DC	20	20	400	25	45	Draw of Lots	15	5
1648	Within 2 Km from Krishi Upaj Mandi Sihora towards Bhopal on NH 146 (Old NH 86)	Sagar	Regular	150	OBC	DC	35	35	1225	25	75	Draw of Lots	15	4
1649	On Narmada Gwarighat Road from Rampur Chowk to South Avenue Mall In Jabalpur	Jabalpur	Regular	150	Open	DC	20	20	400	25	60	Draw of Lots	15	5
1650	Pureni (between SBI Lamtara Branch & Kuthla Police Station) within municipal limits of Katni	Katni	Regular	100	Open	DC	20	20	400	25	45	Draw of Lots	15	5
1651	On Ukhri Road from Shri Narmada Hospital to Small Wonders Sr. Secondary School on LHS	Jabalpur	Regular	150	SC	CFS	20	20	400	0	0	Draw of Lots	0	3
1652	Within 2 Km from Mandi Chauraha Sagar towards Khurai Road on NH 934	Sagar	Regular	150	OBC	DC	35	35	1225	25	75	Draw of Lots	15	4
1653	Between Balaji Residency to Bijasen Mandir In Sagar City	Sagar	Regular	100	Open	DC	20	20	400	25	45	Draw of Lots	15	5
1654	Between Km Stone 265 to 267 (RHS) on NH 26	Sagar	Regular	150	Open	DC	35	45	1575	25	75	Draw of Lots	15	5
1655	Either side of 3 Km from Tikaria Police Station on NH 30	Mandla	Regular	150	ST	CFS	35	45	1575	0	0	Draw of Lots	0	3
1656	Within 2 Km from Dalpatpur on NH 934 (Old NH 86)	Sagar	Regular	150	OBC	DC	35	35	1225	25	75	Draw of Lots	15	4
1657	Between Makronia Chowk to Hotel Deepali Sagar City	Sagar	Regular	100	Open	DC	20	20	400	25	45	Draw of Lots	15	5
1658	From Damoh Naka to Deen Dayal Chowk	Jabalpur	Regular	150	Open CC 1	DC	20	20	400	25	60	Draw of Lots	15	5
1659	Within 2 Km from village Baroda on SH 15	Sagar	Regular	100	OBC	DC	35	35	1225	25	60	Draw of Lots	15	4
1660	Gotegaon (within municipal limit 1)	Narsinghpur	Regular	100	ST	CFS	20	20	400	0	0	Draw of Lots	0	3
1661	From Level crossing of Railway Line Near Sarswati Institute of Technology Upto NH 7 (Choukital Bypass Chowk) In Jabalpur	Jabalpur	Regular	150	Open	DC	20	20	400	25	60	Draw of Lots	15	5
1662	Between Railway Station Harpalpur to New Police Station Harpalpur In Harpalpur City	Chhatarpur	Regular	100	Open	DC	20	20	400	25	45	Draw of Lots	15	5
1663	Upto 4 Km from PWd Rest House Parasia towards Chhindwara on SH 19	Chhindwara	Regular	100	OBC	DC	35	35	1225	25	60	Draw of Lots	15	4
1664	Chhatarpur ( within municipal limit 2 )	Chhatarpur	Regular	100	SC	CFS	20	20	400	0	0	Draw of Lots	0	3

1665	Within 2 Km from JataSHankar Dhaba toward Panna on NH 75	Chhatarpur	Regular	150	Open	DC	35	45	1575	25	75	Draw of Lots	15	5
1666	Sagar (within municipal limit 1)	Sagar	Regular	100	Open	DC	20	20	400	25	45	Draw of Lots	15	5
1667	Katni (within municipal limit 2)	Katni	Regular	100	OBC	DC	20	20	400	25	45	Draw of Lots	15	4
1668	Between Km Stone 202 204 on NH 26 LHS while going from Jhansi to Narsinghpur)	Sagar	Regular	150	Open	DC	35	45	1575	25	75	Draw of Lots	15	5
1669	Between Km Stone No 378 to 385 on either side of Lakhnadon to Jhansi NH 26 (New NH 44)	Narsinghpur	Regular	150	ST CC 1	CFS	35	45	1575	0	0	Draw of Lots	0	3
1670	From Aga Chowk to Malviya Chowk Via Ranital Hanuman Mandir on LHS	Jabalpur	Regular	150	Open CC 2	DC	20	20	400	25	60	Draw of Lots	15	5
1671	From Garha Tiraha to Bt Tiraha	Jabalpur	Regular	150	OBC CC 1	DC	20	20	400	25	60	Draw of Lots	15	4
1672	Upto 5 Km from Bhamori Chowk towards Jhansi on NH 26	Sagar	Regular	150	Open	DC	35	45	1575	25	75	Draw of Lots	15	5
1673	On either side of Km Stone No 70 to 80 while going from Jabalpur to Bhopal NH 45 ( Old NH 12)	Narsinghpur	Regular	150	ST	CFS	35	35	1225	0	0	Draw of Lots	0	3
1674	within 4 Kms towards Panna from Devendranagar Police Station NH 75	Panna	Regular	150	OBC	DC	35	45	1575	25	75	Draw of Lots	15	4
1675	Within 2 Km from village Hirapur on NH 934 (Old NH 86)	Sagar	Regular	150	Open	DC	35	35	1225	25	75	Draw of Lots	15	5
1676	New Bypass Road (NH 12A) from village Manegaon to village Saliwada	Jabalpur	Regular	150	Open	DC	35	45	1575	25	75	Draw of Lots	15	5
1677	Upto 2 Kms from Uchwa tola Tiraha on Maihar Byepass Road Satna ( within municipal limit of Satna	Satna	Regular	100	OBC	DC	20	20	400	25	45	Draw of Lots	15	4
1678	Up to 3 KI from Donda Seoni Tiraha towards Barghat Road. on LHS while going towards Barghat	Seoni	Regular	100	SC	CFS	20	20	400	0	0	Draw of Lots	0	3
1679	Between Maruti SHowroom to Hotel Ram Saroj Palace Sagar Cirty	Sagar	Regular	100	Open	DC	20	20	400	25	45	Draw of Lots	15	5
1680	From Russel Chowk to Rishi Regency	Jabalpur	Regular	150	Open	DC	20	20	400	25	60	Draw of Lots	15	5
1681	Panna (within municipal limit 1 )	Panna	Regular	100	OBC	DC	20	20	400	25	45	Draw of Lots	15	4
1682	Mandla (within municipal limit 1)	Mandla	Regular	100	ST	CFS	20	20	400	0	0	Draw of Lots	0	3
1683	Between Km Stone No 157 to 159 (LHS while going from Sahdol to Manendra Garh ) on NH 43.	Shahdol	Regular	150	Open	DC	35	35	1225	25	75	Draw of Lots	15	5

1684	From Bada Favara to Ghanta Ghar	Jabalpur	Regular	150	Open CC 1	DC	20	20	400	25	60	Draw of Lots	15	5
1685	In between Circuit House Chouraha and Hotel Sabera ( within municipal limit of Satna	Satna	Regular	100	OBC	DC	20	20	400	25	45	Draw of Lots	15	4
1686	From Parasia Police Station towards Chhindwara ( within municipal limit of Parasia)	Chhindwara	Regular	100	ST	CFS	20	20	400	0	0	Draw of Lots	0	3
1687	Between Km Stone 287 and 291 LHS while going to Amarpatan to Maihar on NH 7	Satna	Regular	150	Open	DC	35	45	1575	25	75	Draw of Lots	15	5
1688	On NH 7 (within 3 Kms from Main Gate of office of Matsya Bij Prachetra Pondi RHS while going from Maihar towards Katni)	Satna	Regular	150	Open	DC	35	45	1575	25	75	Draw of Lots	15	5
1689	From Subhas Chandra Chowk Lanjhi on Amgaon Raod (MDR) ( within municipal limit)	Balaghat	Regular	100	OBC	DC	20	20	400	25	45	Draw of Lots	15	4
1690	On NH 7 between Km Stone 324 and 326 RHS while going from Maihar towards Katni	Satna	Regular	150	Open	DC	35	45	1575	25	75	Draw of Lots	15	5
	Between Bhagyodaya Tirth Pharmacy College to Krishi Upaj Mandi Sagar City	Sagar	Regular	100	SC	CFS	20	20	400	0	0	Draw of Lots	0	3
1692	NH 7 between Km Stone No. 258 and 263 while going from Bela towards Amarpatan RHS	Satna	Regular	150	Open	сс	35	45	1575	25	10	Bidding	30	5
1693	Between Km Stone No 93 to 95 on SH 11	Katni	Regular	100	OBC	DC	35	35	1225	25	60	Draw of Lots	15	4
	Between Km Stone 10 and 13 SH 52 LHS while going from Bela to Govindgarh	Satna	Regular	100	Open	DC	35	45	1575	25	60	Draw of Lots	15	5
1695	Within municipal limit of Kotma	Anuppur	Regular	100	SC PH	CFS	20	20	400	0	0	Draw of Lots	0	3
1696	From Dhanwantri Nagar Chowk to Nalanda Public School In Sai Colony	Jabalpur	Regular	150	OBC PH	DC	20	20	400	25	60	Draw of Lots	15	4
1697	Upto 2 Kms from NH 7 Bypass Junction Amarpatan (Govt.Iti End) towards Rewa LHs on New Amarpatna Byepass Road	Satna	Regular	150	Open	сс	35	45	1575	25	10	Bidding	30	5
1698	On NH 75 on Rampur Baghelan Proposed Bypass Road LHS while going Satna to Rewa	Satna	Regular	150	Open	DC	35	45	1575	25	75	Draw of Lots	15	5
1699	Within Muncipal limit of Lalbarra	Balaghat	Regular	100	OBC	DC	20	20	400	25	45	Draw of Lots	15	4
1700	Between Milestone 140 to 145 on NH 547	Chhindwara	Regular	150	ST	CFS	35	35	1225	0	0	Draw of Lots	0	3
1701	In between Barethiya and Akouna Khurd Mod on NH 75	Satna	Regular	150	Open	DC	35	45	1575	25	75	Draw of Lots	15	5
1702	On NH 7 (between Reliance Cement Plant Mod and Bhadanpur Station Mod Kusedi)LHS while going from Maihar to Katni	Satna	Regular	150	Open	DC	35	45	1575	25	75	Draw of Lots	15	5

1703	From Dashnesh Dwar to Gupteshwar Temple	Jabalpur	Regular	150	OBC	DC	20	20	400	25	60	Draw of Lots	15	4
1704	Within 2 Km from Gate of Matguan Police Station (NH 34) towards Chhatarpur Road( LHS)	Chhatarpur	Regular	150	SC	CFS	35	35	1225	0	0	Draw of Lots	0	3
1705	Between Circuit House Chouraha and Civil Line Chouraha Satna( within municipal limit of Satna	Satna	Regular	100	Open	DC	20	20	400	25	45	Draw of Lots	15	5
1706	on NH 75 Upto 3 Kms. from Satna Rever Bridge Madhavgarh towards Rewa RHS while going to Rewa	Satna	Regular	150	Open	DC	35	45	1575	25	75	Draw of Lots	15	5
1707	On NH 7 Byepass Road Bela	Satna	Regular	150	Open	DC	35	45	1575	25	75	Draw of Lots	15	5
1708	From Khermai Mandir to Dhanmantri Nagar Chowk	Jabalpur	Regular	150	OBC	DC	20	20	400	25	60	Draw of Lots	15	4
1709	Within municipal limit of Mokhed	Chhindwara	Regular	100	ST	CFS	20	20	400	0	0	Draw of Lots	0	3
1710	Upto 3 Km from Chindwara Chowk Seoni on Old NH 7 towards Nagpur within municipal limit of Seoni	Seoni	Regular	100	Open CC 1	DC	20	20	400	25	45	Draw of Lots	15	5
1711	From Gulaua Chowk to Khermai Mandir	Jabalpur	Regular	150	OBC	DC	20	20	400	25	60	Draw of Lots	15	4
1712	Kathoutha to Sidhi on NH 39 from Purva Madhyamik Vidyalaya to 1Km towards Sidhi. Near Sonbhadra Sahakari Khandsari Mill	Sidhi	Regular	150	Open	DC	35	35	1225	25	75	Draw of Lots	15	5
1713	Between Km 14 to 16 on NH 934(Old NH 86)	Sagar	Regular	150	SC	CFS	35	35	1225	0	0	Draw of Lots	0	3
1714	Nagpur Road In Jabalpur from LIC Divisional office to Garha Police Station	Jabalpur	Regular	150	Open	DC	20	20	400	25	60	Draw of Lots	15	5
1715	From Dhanwantri Nagar Chowk to Pisanhari Ki Madiya	Jabalpur	Regular	150	OBC	DC	20	20	400	25	60	Draw of Lots	15	4
1716	Maihar town (within municipal limit)	Satna	Regular	100	Open	DC	20	20	400	25	45	Draw of Lots	15	5
1717	Khermai Road Satna City	Satna	Regular	100	Open	DC	20	20	400	25	45	Draw of Lots	15	5
1718	From Damoh Naka to Aga Khan Chowk on LHS	Jabalpur	Regular	150	ST CC 1	CFS	20	20	400	0	0	Draw of Lots	0	3
1719	From Penty Naka to Bilhari Post office Via Gora Bazar Masjid	Jabalpur	Regular	150	OBC CC 1	DC	20	20	400	25	60	Draw of Lots	15	4
1720	In between Satna Railway Station Road to Circuit House Satna City	Satna	Regular	100	Open	DC	20	20	400	25	45	Draw of Lots	15	5
1721	From Ahimsa Chowk Upto Kachhpura Over Bridge on LHS on MR 4 Road	Jabalpur	Regular	150	Open PH	DC	20	20	400	25	60	Draw of Lots	15	5

1722	Umaria ( within municipal limit 1)	Umaria	Regular	100	ST	CFS	20	20	400	0	0	Draw of Lots	0	3
1723	From Tayebali Chowk to Ghanta Ghar	Jabalpur	Regular	150	OBC	DC	20	20	400	25	60	Draw of Lots	15	4
1724	Between Civil lines Chouraha to Sohawal Mod LHS while going to Nagod from Satna ( within municipal limit of Satna	Satna	Regular	100	Open	DC	20	20	400	25	45	Draw of Lots	15	5
1725	From Civil Lines Police Station to IG office	Jabalpur	Regular	150	OBC	DC	20	20	400	25	60	Draw of Lots	15	4
1726	Within municipal limit of Jatahri	Anuppur	Regular	100	ST	CFS	20	20	400	0	0	Draw of Lots	0	3
1727	Within 2 Km from Ramleela ground towards industrial area road waidhan W	Singrauli	Regular	100	Open	DC	20	20	400	25	45	Draw of Lots	15	5
1728	Between Gorthara to Baghel Dhaba on NH 43/OldNH 78	Shahdol	Regular	150	Open	DC	35	35	1225	25	75	Draw of Lots	15	5
1729	On Birsinghpur Harsed Road within 3 Kms from Birsinghpur Bus Stand	Satna	Regular	100	Open	DC	20	20	400	25	45	Draw of Lots	15	5
1730	From Hotel Narmada Jackson to Gcf Main Gate	Jabalpur	Regular	150	OBC	DC	20	20	400	25	60	Draw of Lots	15	4
1731	Within 4 Km from Rampur Bhagelan Thana towards Rewa on NH 75	Satna	Regular	150	SC	CFS	35	45	1575	0	0	Draw of Lots	0	3
1732	Satna City (within municipal limit) 1	Satna	Regular	100	Open	сс	20	20	400	25	10	Bidding	30	5
1733	Between Km 156 to 159 on either side of NH 135 Near Khatkhari	Rewa	Regular	150	Open CC 1	DC	35	45	1575	25	75	Draw of Lots	15	5
1734	From SP office to Hotel Narmada Jackson	Jabalpur	Regular	150	OBC	DC	20	20	400	25	60	Draw of Lots	15	4
1735	Annupur (within municipal limit 2)	Anuppur	Regular	100	ST	CFS	20	20	400	0	0	Draw of Lots	0	3
1736	On SH 47 Panna Bypass Road	Panna	Regular	100	Open	DC	35	45	1575	25	60	Draw of Lots	15	5
1737	From Khamaria Police Station to village Amakhoh on Jabalpur Kundam Road	Jabalpur	Regular	100	OBC	DC	35	35	1225	25	60	Draw of Lots	15	4
1738	Barghat ( within municipal limit )	Seoni	Regular	100	Open	DC	20	20	400	25	45	Draw of Lots	15	5
1739	Chandametta Muncipial limit Area on Parasiya Baitul Road	Chhindwara	Regular	100	Open	DC	20	20	400	25	45	Draw of Lots	15	5
1740	Between Simaria Chowk and Birla Cement Factory Satna	Satna	Regular	100	SC	CFS	20	20	400	0	0	Draw of Lots	0	3

1741	Between Km Stone No 166 to 170 on SH14	Katni	Regular	100	OBC	DC	35	35	1225	25	60	Draw of Lots	15	4
1742	Between Km Stone No 69 to 76 on NH 347	Chhindwara	Regular	150	Open	DC	35	35	1225	25	75	Draw of Lots	15	5
1743	Between Km from 212 and 214 on NH 30	Rewa	Regular	150	Open	DC	35	45	1575	25	75	Draw of Lots	15	5
1744	Within 2 Km from Vill Barha on SH 09	Shahdol	Regular	100	ST	CFS	35	35	1225	0	0	Draw of Lots	0	3
1745	Within 3 Kms from Kothi Bus Stand towards Satna on SH 11	Satna	Regular	100	OBC	DC	35	45	1575	25	60	Draw of Lots	15	4
1746	Upto 2 Km from Saleteka Bus Stand on SH 11	Balaghat	Regular	100	Open	DC	35	35	1225	25	60	Draw of Lots	15	5
1747	4 Km from Police Station Churhat towards Rampur Naikin NH 39	Sidhi	Regular	150	Open	DC	35	35	1225	25	75	Draw of Lots	15	5
1748	Satna to Amarpatan Road(SH 13) within 5Km from Satna River Bridge towards Amarpatan	Satna	Regular	100	OBC	DC	35	45	1575	25	60	Draw of Lots	15	4
1749	Within municipallity limit of Burhar on Burhar Kotma Road	Shahdol	Regular	100	ST	CFS	20	20	400	0	0	Draw of Lots	0	3
1750	From RTO office to village Sukha on Jabalpur Patan Road	Jabalpur	Regular	150	Open	DC	20	20	400	25	60	Draw of Lots	15	5
1751	From Baihar Bus Station towards Chilpli Road (within Muncipal limit)	Balaghat	Regular	100	Open	сс	20	20	400	25	10	Bidding	30	5
1752	Between Milestone No. 82 to 85 on NH 39	Sidhi	Regular	150	OBC	DC	35	35	1225	25	75	Draw of Lots	15	4
1753	Damoh (within municipal limit 3)	Damoh	Regular	100	SC	CFS	20	20	400	0	0	Draw of Lots	0	3
1754	From District Section Court on Gauria Road within municipal limit Chhindwara	Chhindwara	Regular	100	Open	DC	20	20	400	25	45	Draw of Lots	15	5
1755	Between Km 183 to 185 on NH 135 either side of going from Hanumana to Rewa	Rewa	Regular	150	Open	DC	35	45	1575	25	75	Draw of Lots	15	5
1756	Between Milestone No. 310 to 312 on NH 39	Sidhi	Regular	150	OBC	DC	35	35	1225	25	75	Draw of Lots	15	4
1757	From Veer Chatrapati Shivaji Maharaj Square Chindwara towards Nagpur Road on LHS (within municipal limit)	Chhindwara	Regular	100	Open	сс	20	20	400	25	10	Bidding	30	5
1758	Between Chana toriya toll Plaza to Baheria Tigadda on SH 14	Sagar	Regular	100	ST	CFS	35	35	1225	0	0	Draw of Lots	0	3
1759	LHS on NH 7 from New Bypass of village Bargi Nagar to village Hulki	Jabalpur	Regular	150	OBC	DC	35	45	1575	25	75	Draw of Lots	15	4

1760	Within municipal limit of Shahdol 1	Shahdol	Regular	100	Open CC 1	DC	20	20	400	25	45	Draw of Lots	15	5
1761	Amarwada Road Tiraha at Chaurai towards Amarwada within within municipal limit of Chaurai	Chhindwara	Regular	100	Open	DC	20	20	400	25	45	Draw of Lots	15	5
1762	Up to 5Km from Khunajhi Kalan Ring Road Chowk towards Parasiya on ring road Chindwara	Chhindwara	Regular	150	sc	CFS	35	35	1225	0	0	Draw of Lots	0	3
1763	Sidhi(within municipal limit)1	Sidhi	Regular	100	OBC	DC	20	20	400	25	45	Draw of Lots	15	4
1764	2 Km on either side of Khanhana Barrier NH 39	Singrauli	Regular	150	Open	DC	35	35	1225	25	75	Draw of Lots	15	5
1765	Between Km 206 to 208 on NH 30	Rewa	Regular	150	Open	DC	35	45	1575	25	75	Draw of Lots	15	5
1766	Between Mile Stone No.305 to 308 on NH 39	Sidhi	Regular	150	ST	CFS	35	35	1225	0	0	Draw of Lots	0	3
1767	Tendukhera ( within municipal limit)	Narsinghpur	Regular	100	OBC	DC	20	20	400	25	45	Draw of Lots	15	4
1768	Panna (within municipal limit 2 )	Panna	Regular	100	Open	DC	20	20	400	25	45	Draw of Lots	15	5
1769	Within 2 Km from village Khadgayn on NH 34 (Old NH 86)	Chhatarpur	Regular	150	Open CC 2	DC	35	35	1225	25	75	Draw of Lots	15	5
1770	Within municipal limit of Mauganj	Rewa	Regular	100	OBC CC 1	DC	20	20	400	25	45	Draw of Lots	15	4
1771	Within 2 Km from village Madhpiparia on NH 26	Sagar	Regular	150	SC CC 1	CFS	35	45	1575	0	0	Draw of Lots	0	3
1772	Upto 4 Km from Madhai toll Plaza on NH 7 towards Nagpur on LHS while going towards Nagpur	Seoni	Regular	150	Open	DC	35	45	1575	25	75	Draw of Lots	15	5
1773	Upto 3 Km from Post office Pandhurna on Multai Sawner Road ( within municipal limit of Pandhurna)	Chhindwara	Regular	100	Open	DC	20	20	400	25	45	Draw of Lots	15	5
1774	Chhatarpur ( within municipal limit 1)	Chhatarpur	Regular	100	OBC	DC	20	20	400	25	45	Draw of Lots	15	4
1775	Within municipal limit of Bharveli 2	Balaghat	Regular	100	ST	CFS	20	20	400	0	0	Draw of Lots	0	3
1776	From Accord Motors Mahendra SHowroom towards Parasia on RHS while going towards Parasia ( within municipal limit Chindwara)	Chhindwara	Regular	100	Open	сс	20	20	400	25	10	Bidding	30	5
1777	From EIC Church Junnardeo on Tamia bypass Road within municipal limit Junnardeo	Chhindwara	Regular	100	Open	DC	20	20	400	25	45	Draw of Lots	15	5
1778	on NH 135 between Km 200 to 206	Rewa	Regular	150	OBC	DC	35	45	1575	25	75	Draw of Lots	15	4

1779	Rewa Bypass(between Km 13 to 15 on NH 30)	Rewa	Regular	150	Open	DC	35	45	1575	25	75	Draw of Lots	15	5
1780	Mohgaon within Muncipal limit	Chhindwara	Regular	100	SC	CFS	20	20	400	0	0	Draw of Lots	0	3
1781	Upto 2 Km from Shanti Cold Storage and Ice Factory on Seoni Road towards Seoni ( WML of Chhindwara )	Chhindwara	Regular	100	Open	СС	20	20	400	25	10	Bidding	30	5
1782	Within 2 Km from village Khop Niwari on NH 34	Chhatarpur	Regular	150	OBC	DC	35	35	1225	25	75	Draw of Lots	15	4
1783	Upto 1.5 Km from Indira Tiraha on Parasia Road	Chhindwara	Regular	100	Open CC 1	DC	20	20	400	25	45	Draw of Lots	15	5
1784	Between Mile Stone No.302 to 304 on NH 39	Sidhi	Regular	150	ST	CFS	35	35	1225	0	0	Draw of Lots	0	3
1785	Mission Chowk to Chaparwaha Road within Munucipal limit of Katni	Katni	Regular	100	OBC	DC	20	20	400	25	45	Draw of Lots	15	4
1786	on either side of Rajendra Talkies Chowk to Polytechnic College Road In Sahdol City	Shahdol	Regular	100	Open	DC	20	20	400	25	45	Draw of Lots	15	5
1787	Between Milestone 144 to 150 on NH 347	seoni	Regular	150	Open	DC	35	35	1225	25	75	Draw of Lots	15	5
1788	Between Km Stone No 106 to 110 on SH10 LHS while going towards Katni	Umaria	Regular	100	OBC	DC	35	35	1225	25	60	Draw of Lots	15	4
1789	Chaurai (within municipal limit) on Chindwara Seoni Road	Chhindwara	Regular	100	SC	CFS	20	20	400	0	0	Draw of Lots	0	3
1790	Up to 3 Km from Kurai Police Station on LHS while going towards Seoni from Nagpur NH 7 (NH 44)	seoni	Regular	150	Open	DC	35	45	1575	25	75	Draw of Lots	15	5
1791	Ganesh Chowk to Doonda Seoni Teeraha in Seoni Municipal limit	seoni	Regular	100	Open	СС	20	20	400	25	10	Bidding	30	5
1792	Within 2 Km from village Ganiyari ( both side) on NH 39	Singrauli	Regular	150	OBC	DC	35	35	1225	25	75	Draw of Lots	15	4
1793	Within 3 Kms from Mayapur towards Hanumana on SH 55	Sidhi	Regular	100	ST	CFS	35	35	1225	0	0	Draw of Lots	0	3
1794	Between Km 175 to 177 on LHS while going from Hanumana to Rewa NH 135	Rewa	Regular	150	Open	DC	35	45	1575	25	75	Draw of Lots	15	5
1795	Between Imli Khera Chawk to Khuna Jhir Kalan Ring Road Chowk Chhindwara on NH 347	Chhindwara	Regular	150	Open	DC	35	35	1225	25	75	Draw of Lots	15	5
1796	From Gohalpur Police Station Upto NH 7 Via Amkhera (within municipal limit)	Jabalpur	Regular	150	OBC PH	DC	20	20	400	25	60	Draw of Lots	15	4
1797	2 Km both side of village Koharakhoh on NH 39	Singrauli	Regular	150	ST PH	CFS	35	35	1225	0	0	Draw of Lots	0	3

1798	2 Km. from Shakshi Education College Badhaura towards Rewa at Sidhi	Sidhi	Develop	150	0	DC	35	35	1225	25	75	Draw of Lots	15	5
1796	Rewa Road (NH 39)	Sidhi	Regular	150	Open	DC	30	35	1223	25	75	Draw of Lots	15	5
1799	3 Km from NCL Head Quarters towards Jayant At Singrauli Jayant Road (NH 39)	Singrauli	Regular	150	Open	DC	35	35	1225	25	75	Draw of Lots	15	5
1800	Between Km Stone No 50 to 52 on SH 10	Katni	Regular	100	OBC	DC	35	35	1225	25	60	Draw of Lots	15	4
1801	Between Milestone No 162 to 164 on NH 39	Singrauli	Regular	150	Open	DC	35	35	1225	25	75	Draw of Lots	15	5
1802	Upto 2 Km from Rampayli Police Station towards Waraseoni SH 48	Balaghat	Regular	100	SC	CFS	35	35	1225	0	0	Draw of Lots	0	3
1803	2 Km from Purva Madhyamik Vidhyalya (Near Sonbhadra Sahakari Khandsari Mill) towards Singrauli on NH 39	Sidhi	Regular	150	Open	DC	35	35	1225	25	75	Draw of Lots	15	5
1804	Umaria ( within municipal limit 2)	Umaria	Regular	100	OBC	DC	20	20	400	25	45	Draw of Lots	15	4
1805	From Jayant to Navanagar via Nigahi (NH 39)	Singrauli	Regular	150	Open	DC	35	35	1225	25	75	Draw of Lots	15	5
1806	2 Km both side of Vill: Banjari Tehsil: Gopadbanas SH 55	Sidhi	Regular	100	ST	CFS	35	35	1225	0	0	Draw of Lots	0	3
1807	1 Km each side of Badhaura Railway Station (NH39)	Sidhi	Regular	150	OBC	DC	35	35	1225	25	75	Draw of Lots	15	4
1808	Between Milestone 86 to 90 Sidhi to Singrauli NH39	Sidhi	Regular	150	Open	DC	35	35	1225	25	75	Draw of Lots	15	5
1809	2 Km both side of village Kubari on NH 39	Sidhi	Regular	150	Open CC 1	DC	35	35	1225	25	75	Draw of Lots	15	5
1810	Between Km Stone No 165 to 167 on NH 39	Singrauli	Regular	150	OBC	DC	35	35	1225	25	75	Draw of Lots	15	4
1811	Newton Chikhali (within municipal limit 1)	Chhindwara	Regular	100	ST	CFS	20	20	400	0	0	Draw of Lots	0	3
1812	on NH 39 (3Km from Baheri River Bridge towards Singrauli)	Sidhi	Regular	150	Open	DC	35	35	1225	25	75	Draw of Lots	15	5
1813	NH 39 5Km from Madhyanchal Gramin Bank towards Singrauli in front of Trimula Industry	Singrauli	Regular	150	Open	DC	35	35	1225	25	75	Draw of Lots	15	5
1814	within 2 Km from village Betahadand on NH 39	Singrauli	Regular	150	OBC	DC	35	35	1225	25	75	Draw of Lots	15	4
1815	Kachani to NTPC Vindyanagar main road via Collectorate (Singrauli within municipal limit)	Singrauli	Regular	100	SC	CFS	20	20	400	0	0	Draw of Lots	0	3
1816	From Churhat to Mohania Ghati on NH 39	Sidhi	Regular	150	Open	DC	35	35	1225	25	75	Draw of Lots	15	5

							·		r					·
1817	5 Km from toll Plaza Sidhi towards Sidhi on NH 39	Sidhi	Regular	150	Open	DC	35	35	1225	25	75	Draw of Lots	15	5
1818	5 Km from Sidhi toll Plaza towards Churhat on NH 39	Sidhi	Regular	150	Open	DC	35	35	1225	25	75	Draw of Lots	15	5
1819	on NH 30 between Mangawan to Gangev	Rewa	Regular	150	OBC CC 1	DC	35	45	1575	25	75	Draw of Lots	15	4
1820	From Shivaji Chowk to Charphtak Railway crossing ( within municipal limit of Chhindwara)	Chhindwara	Regular	100	SC CC 1	CFS	20	20	400	0	0	Draw of Lots	0	3
1821	Beohari ( within municipal limit)	Shahdol	Regular	100	Open PH	DC	20	20	400	25	45	Draw of Lots	15	5
1822	Makronia Bujurg ( within municipal limit 1 )	Sagar	Regular	100	OBC	DC	20	20	400	25	45	Draw of Lots	15	4
1823	Within 2 Km from Mayur Bagh Resort(Sagar) towards Pathiariya Jat (Sagar City)	Sagar	Regular	100	Open	DC	20	20	400	25	45	Draw of Lots	15	5
1824	2 Km both side of village Morwa on NH 39	Singrauli	Regular	150	ST	CFS	35	45	1575	0	0	Draw of Lots	0	3
1825	Khurai Beena Bye Pass on NH 934 (within 1 Km either side on New Galla Mandi Khurai)	Sagar	Regular	150	Open	DC	35	35	1225	25	75	Draw of Lots	15	5
1826	Within 2 Km of Dihiya Chauraha on SH 09	Rewa	Regular	100	OBC	DC	35	35	1225	25	60	Draw of Lots	15	4
1827	Within 2 Km from village Amarmau on NH 934 (Old NH 86)	Sagar	Regular	150	Open	DC	35	35	1225	25	75	Draw of Lots	15	5
1828	Within 5 Km from Bina Khurai Railway crossing towards Khurai on NH 93	Sagar	Regular	150	Open	DC	35	35	1225	25	75	Draw of Lots	15	5
1829	Within 2 Km from Samudayik Swast Kendra Bharra at Bharra Deosar Road (Singrauli within municipal limit)	Singrauli	Regular	100	SC	CFS	20	20	400	0	0	Draw of Lots	0	3
1830	Rewa (within municipal limit 3)	Rewa	Regular	100	OBC	DC	20	20	400	25	45	Draw of Lots	15	4
1831	Rewa (within municipal limit) Bichhiya River towards Silpara	Rewa	Regular	100	Open	DC	20	20	400	25	45	Draw of Lots	15	5
1832	Makronia Bujurg ( within municipal limit 3 )	Sagar	Regular	100	Open CC 1	DC	20	20	400	25	45	Draw of Lots	15	5
1833	Within 2 Km from Samrat Chowk to Patpara	Sidhi	Regular	100	ST	CFS	20	20	400	0	0	Draw of Lots	0	3
1834	Within 1 Km on either side of Police Station Govind Garh on SH 09	Rewa	Regular	100	OBC	DC	35	35	1225	25	60	Draw of Lots	15	4
1835	Anuppur ( within municipal limit 3)	Anuppur	Regular	100	Open	DC	20	20	400	25	45	Draw of Lots	15	5

Rewa	Regular	100										
	····guiui	100	Open	DC	35	35	1225	25	60	Draw of Lots	15	5
Dindori	Regular	100	OBC	DC	20	20	400	25	45	Draw of Lots	15	4
Balaghat	Regular	150	ST	CFS	35	45	1575	0	0	Draw of Lots	0	3
Balaghat	Regular	100	Open	DC	20	20	400	25	45	Draw of Lots	15	5
Anuppur	Regular	100	Open	DC	20	20	400	25	45	Draw of Lots	15	5
Sagar	Regular	100	OBC	DC	20	20	400	25	45	Draw of Lots	15	4
Katni	Regular	100	SC	CFS	20	20	400	0	0	Draw of Lots	0	3
Rewa	Regular	100	Open	DC	20	20	400	25	45	Draw of Lots	15	5
Rewa	Regular	150	Open	DC	35	35	1225	25	75	Draw of Lots	15	5
Mandla	Regular	100	OBC	DC	20	20	400	25	45	Draw of Lots	15	4
Seoni	Regular	100	ST	CFS	20	20	400	0	0	Draw of Lots	0	3
Chhindwara	Regular	100	Open	DC	20	20	400	25	45	Draw of Lots	15	5
Sagar	Regular	100	OBC	DC	35	35	1225	25	60	Draw of Lots	15	4
Narsinghpur	Regular	100	Open	DC	35	35	1225	25	60	Draw of Lots	15	5
Chhindwara	Regular	100	Open	DC	20	20	400	25	45	Draw of Lots	15	5
Chhindwara	Regular	100	SC	CFS	35	35	1225	0	0	Draw of Lots	0	3
Damoh	Regular	100	OBC	DC	35	35	1225	25	60	Draw of Lots	15	4
Sagar	Regular	100	Open	DC	35	35	1225	25	60	Draw of Lots	15	5
Chhindwara	Regular	150	Open	DC	35	35	1225	25	75	Draw of Lots	15	5
	Balaghat Balaghat Anuppur Sagar Katni Rewa Mandla Mandla Seoni Chhindwara Sagar Narsinghpur Chhindwara Chhindwara Chhindwara	BalaghatRegularBalaghatRegularBalaghatRegularAnuppurRegularSagarRegularKatniRegularRewaRegularRewaRegularMandlaRegularSagarRegularSagarRegularSagarRegularChhindwaraRegularChhindwaraRegularChhindwaraRegularChhindwaraRegularChhindwaraRegularSagarRegularSagarRegularSagarRegular	Image: seriesBalaghatRegular150BalaghatRegular100AnuppurRegular100SagarRegular100KatniRegular100RewaRegular100RewaRegular100MandlaRegular100SeoniRegular100SeoniRegular100ChhindwaraRegular100NarsinghpurRegular100ChhindwaraRegular100ChhindwaraRegular100ChhindwaraRegular100ChhindwaraRegular100ChhindwaraRegular100ChamohRegular100SagarReg	Image: series of the section of the	Image: Constraint of the constra	BalaghatRegular150STCFS35BalaghatRegular100OpenDC20AnuppurRegular100OpenDC20SagarRegular100OBCDC20KatniRegular100SCCFS20RewaRegular100SCCFS20RewaRegular100OpenDC20RewaRegular100OpenDC20SeoniRegular150OpenDC35MandlaRegular100OBCDC20SeoniRegular100OpenDC20SagarRegular100OpenDC35NarsinghpurRegular100OpenDC35ChhindwaraRegular100OpenDC20ChindwaraRegular100OpenDC35DamohRegular100SCCFS35SagarRegular100OpenDC35SagarRegular100OpenDC35DamohRegular100OBCDC35SagarRegular100OpenDC35SagarRegular100OpenDC35DamohRegular100OpenDC35SagarRegular100OpenDC35DamohRegular100	And BalaghatRegular150STCFS335445BalaghatRegular100OpenDC2020AnuppurRegular100OpenDC2020SagarRegular100OBCDC2020KatniRegular100OBCDC2020RewaRegular100SCCFS2020RewaRegular100OpenDC2020RewaRegular100OpenDC3535MandlaRegular100OpenDC2020SeoniRegular100OBCDC2020SagarRegular100OPenDC2020SagarRegular100OPenDC2020ShindwaraRegular100OpenDC3535NarsinghpurRegular100OpenDC2020ChindwaraRegular100OpenDC3535ChindwaraRegular100OpenDC3535DarnohRegular100OpenDC3535SagarRegular100OpenDC3535SagarRegular100OpenDC3535DarnohRegular100OpenDC3535SagarRegular100OpenDC </td <td>Image: Constraint of the section of the se</td> <td>Image: Constraint of the section of</td> <td>Image         Image         <t< td=""><td>A         A</td><td>Image: A sector of the secto</td></t<></td>	Image: Constraint of the section of the se	Image: Constraint of the section of	Image         Image <t< td=""><td>A         A</td><td>Image: A sector of the secto</td></t<>	A         A	Image: A sector of the secto

1855	Between Km 170 to 175 on NH 135(Mauganj Bypass)	Rewa	Regular	150	ST	CFS	35	45	1575	0	0	Draw of Lots	0	3
1856	2 Km both side of Vill: Karthua NH39	Sidhi	Regular	150	OBC	DC	35	35	1225	25	75	Draw of Lots	15	4
1857	Within 2 Km from Bagaspur Chauraha towards Narsinghpur on SH 26 ( Gotegaon Bypass)	Narsinghpur	Regular	100	Open	DC	35	35	1225	25	60	Draw of Lots	15	5
1858	Mandla (within municipal limit 3)	Mandla	Regular	100	Open CC 1	DC	20	20	400	25	45	Draw of Lots	15	5
1859	2 Km from village Jhokho Tehsil Chitrangi on NH 39	Singrauli	Regular	150	OBC	DC	35	35	1225	25	75	Draw of Lots	15	4
1860	Harrai ( within municipal limit) on Old NH 347	Chhindwara	Regular	100	ST	CFS	20	20	400	0	0	Draw of Lots	0	3
1861	Between Devendra Nagar Tiraha and Krishi Upaj Mandi Devendra Nagar	Panna	Regular	100	Open	DC	20	20	400	25	45	Draw of Lots	15	5
1862	Chhattarpur ( within municipal limit 3 )	Chhatarpur	Regular	100	Open	DC	20	20	400	25	45	Draw of Lots	15	5
1863	In between Vinayak Industries (Rice Mill) and Satna Rever Bridge RHS while going from Satna to Maihar on Proposed NH 135 BC	Satna	Regular	150	OBC	DC	35	45	1575	25	75	Draw of Lots	15	4
1864	Between Ghandhi Chowk to Rampuri Tiraha (within municipal limit of Umaria)	Umaria	Regular	100	SC	CFS	20	20	400	0	0	Draw of Lots	0	3
1865	On SH 14 RHS between Km Stone 131 and 134 while going from Damoh to Katni.	Panna	Regular	100	Open	сс	35	45	1575	25	10	Bidding	30	5
1866	Between Km Stone No. 27 to 29 on either side of Sahdol to Karondi Road SH 09	Shahdol	Regular	100	Open	DC	35	35	1225	25	60	Draw of Lots	15	5
1867	Unchera town 1	Satna	Regular	100	OBC	DC	20	20	400	25	45	Draw of Lots	15	4
1868	on NH 30 within 4 Km from either side of Ghuma	Rewa	Regular	150	Open	DC	35	45	1575	25	75	Draw of Lots	15	5
1869	Within municipal limit of Bharveli	Balaghat	Regular	100	ST CC 1	CFS	20	20	400	0	0	Draw of Lots	0	3
1870	In between Km Stone No. 64 and 68 on SH 56	Panna	Regular	100	Open CC 2	DC	35	45	1575	25	60	Draw of Lots	15	5
1871	Within municipal limit of Rampur Baghelan Tehsil	Satna	Regular	100	OBC CC 1	DC	20	20	400	25	45	Draw of Lots	15	4
1872	Between Km Stone No 38 to 42 on SH 47	Damoh	Regular	100	Open	DC	35	35	1225	25	60	Draw of Lots	15	5
1873	Up to 2 Km from Govt Primery School Pachpedi on SH 11	Balaghat	Regular	100	ST	CFS	35	35	1225	0	0	Draw of Lots	0	3

1874	on proposed NH75 Bypass Road Satna ( within 2 Kms. from RS Resort towards Bagha)	Satna	Regular	150	OBC	DC	35	45	1575	25	75	Draw of Lots	15	4
1875	Katni (within municipal limit 4)	Katni	Regular	100	Open	DC	20	20	400	25	45	Draw of Lots	15	5
1876	Between Km Stone No 388 to 392 on NH7(RHS towards Jabalpur)	Katni	Regular	150	Open	DC	35	45	1575	25	75	Draw of Lots	15	5
1877	on NH 7 between Km Stone 316 and 319 LHS while going from Maihar to Katni	Satna	Regular	150	OBC	DC	35	45	1575	25	75	Draw of Lots	15	4
1878	Dindori ( within municipal limit 4)	Dindori	Regular	100	SC	CFS	20	20	400	0	0	Draw of Lots	0	3
1879	Between Km Stone No 354 to 356 on NH 7	Katni	Regular	150	Open	DC	35	45	1575	25	75	Draw of Lots	15	5
1880	Between Km Stone No 379 to 384 on NH 7(RHS towards Jabalpur)	Katni	Regular	150	Open	DC	35	45	1575	25	75	Draw of Lots	15	5
1881	Satna City (within municipal limit) 2	Satna	Regular	100	OBC	DC	20	20	400	25	45	Draw of Lots	15	4
1882	Panna (within municipal limit 3 )	Panna	Regular	100	ST	CFS	20	20	400	0	0	Draw of Lots	0	3
1883	Umaria ( within municipal limit 3)	Umaria	Regular	100	Open	DC	20	20	400	25	45	Draw of Lots	15	5
1884	Within Muncipal limit of Rampur Baghelan	Satna	Regular	100	Open CC 1	DC	20	20	400	25	45	Draw of Lots	15	5
1885	On Tala Rewa Road between Tala Panchayat Bhawan and main market	Satna	Regular	100	OBC	DC	20	20	400	25	45	Draw of Lots	15	4
1886	Sidhi(within municipal limit of Sidhi) 2	Sidhi	Regular	100	ST	CFS	20	20	400	0	0	Draw of Lots	0	3
1887	Pali Birsinghpur Bypass on NH 43 ( RHS towards SHahdol)	Umaria	Regular	150	Open	DC	35	35	1225	25	75	Draw of Lots	15	5
1888	Between Km Stone No 102 to 105 on SH 10	Umaria	Regular	100	Open	DC	35	35	1225	25	60	Draw of Lots	15	5
1889	Within municipal limit of Majhgawan	Satna	Regular	100	OBC	DC	20	20	400	25	45	Draw of Lots	15	4
1890	Within 2 Km from village Dhara Bibha ( Mangawan to Allahabad Road ) on NH 30	Rewa	Regular	150	Open	DC	35	45	1575	25	75	Draw of Lots	15	5
1891	Within 2 Km from village Harratola on SH 8	Anuppur	Regular	100	SC	CFS	35	35	1225	0	0	Draw of Lots	0	3
1892	Either side of 1 Km from village Mahsaon on NH 39	Rewa	Regular	150	Open	DC	35	45	1575	25	75	Draw of Lots	15	5

Image: Contract of the original of the															
Image: Constraint of Nagoe         Image: Constraint of Nagoe <t< td=""><td>1893</td><td>Within municipal limit of Amarpatan</td><td>Satna</td><td>Regular</td><td>100</td><td>OBC</td><td>DC</td><td>20</td><td>20</td><td>400</td><td>25</td><td>45</td><td>Draw of Lots</td><td>15</td><td>4</td></t<>	1893	Within municipal limit of Amarpatan	Satna	Regular	100	OBC	DC	20	20	400	25	45	Draw of Lots	15	4
No.         No. <td>1894</td> <td>Within Km 158 to 160 on NH 39</td> <td>Rewa</td> <td>Regular</td> <td>150</td> <td>Open</td> <td>DC</td> <td>35</td> <td>35</td> <td>1225</td> <td>25</td> <td>75</td> <td>Draw of Lots</td> <td>15</td> <td>5</td>	1894	Within Km 158 to 160 on NH 39	Rewa	Regular	150	Open	DC	35	35	1225	25	75	Draw of Lots	15	5
Image: Constraint of Parama Invascues Kathi in od Parama InSeques (Within Kathi inod Parama InSeques (Within Kathinod Varama InSeques (Within Kathi inod Parama InSeque	1895	Within municipal limit of Nagod	Satna	Regular	100	SC PH	CFS	20	20	400	0	0	Draw of Lots	0	3
Image: Constraint of the second of the s	1896	Within municipal limit of Maihar	Satna	Regular	100	OBC PH	DC	20	20	400	25	45	Draw of Lots	15	4
Image: Control of Contro of Contro of Contro of Control of Control of Control of Control	1897	Within 1 Km from Karhi mod Pawai towards Karhi	Panna	Regular	100	Open	DC	20	20	400	25	45	Draw of Lots	15	5
1888       from Ghuma to Suhagi)       1.00       Norma       Negular       1.00       OEC       1.00       1.01       2.33       1.01       2.43       1.03 <th1.03< th="">       1.03       1.03</th1.03<>	1898	Either side of 2 Km from village Amwa on SH 09	Rewa	Regular	100	Open	DC	35	35	1225	25	60	Draw of Lots	15	5
Index of the formulation of the for	1899		Rewa	Regular	150	OBC	DC	35	45	1575	25	75	Draw of Lots	15	4
Image: Construction of Agages for the Agages for t	1900	Waidhan (within municipal limit) 2	Singrauli	Regular	100	ST	CFS	20	20	400	0	0	Draw of Lots	0	3
Image: Constraint of the state of the st	1901	Narsinghpur (within municipal limit 3)	Narsinghpur	Regular	100	Open	DC	20	20	400	25	45	Draw of Lots	15	5
Index and the second	1902	Within municipal limit of Ajaygarh	Panna	Regular	100	Open	DC	20	20	400	25	45	Draw of Lots	15	5
Image: And and a branceAnd and and and and and and and and and a	1903	Gurh ( within municipal limit)	Rewa	Regular	100	OBC	DC	20	20	400	25	45	Draw of Lots	15	4
Image: And the second	1904	3 Km from Mahajan Mod towards Naugarh NH 39	Singrauli	Regular	150	SC	CFS	35	35	1225	0	0	Draw of Lots	0	3
Image: Instruction of Gunnor     Panna     Regular     100     Open     DC     20     20     400     25     45     Draw of Lots     15     5	1905	Within 1 Km from village Laad on NH 30	Rewa	Regular	150	Open	DC	35	45	1575	25	75	Draw of Lots	15	5
	1906	Within municipal limit of Pawai	Panna	Regular	100	Open	DC	20	20	400	25	45	Draw of Lots	15	5
1908       Between Km 166 to 168 on NH 43       Shahdol       Regular       150       OBC       DC       35       35       1225       25       75       Draw of Lots       15       4	1907	within municipal limit of Gunnor	Panna	Regular	100	Open	DC	20	20	400	25	45	Draw of Lots	15	5
	1908	Between Km 166 to 168 on NH 43	Shahdol	Regular	150	OBC	DC	35	35	1225	25	75	Draw of Lots	15	4
1909       Within 2 Km either side of Beeda on SH 09       Rewa       Regular       100       ST       CFS       35       1225       0       0       Draw of Lots       0       35	1909	Within 2 Km either side of Beeda on SH 09	Rewa	Regular	100	ST	CFS	35	35	1225	0	0	Draw of Lots	0	3
1910         Within municipal limit of Shahnagar         Panna         Regular         100         Open CC 1         DC         20         400         25         45         Draw of Lots         15         5	1910	Within municipal limit of Shahnagar	Panna	Regular	100	Open CC 1	DC	20	20	400	25	45	Draw of Lots	15	5
1911         Within municipal limit of Devendra Nagar         Panna         Regular         100         OBC         DC         20         400         25         45         Draw of Lots         15         4	1911	Within municipal limit of Devendra Nagar	Panna	Regular	100	OBC	DC	20	20	400	25	45	Draw of Lots	15	4

1912	Within 2 Km of village Shakhi on SH 55	Shahdol	Regular	100	Open	DC	35	35	1225	25	60	Draw of Lots	15	5
1913	2 Km from Shukla Mode towards Jayant Singrauli (NH 39)	Singrauli	Regular	150	SC	CFS	35	35	1225	0	0	Draw of Lots	0	3
1914	Within municipal limit of Raipura	Panna	Regular	100	Open	DC	20	20	400	25	45	Draw of Lots	15	5
1915	Within municipal limit of Raghurajnagar	Satna	Regular	100	OBC	DC	20	20	400	25	45	Draw of Lots	15	4
1916	Within 1 Km from Annapurna Ware House towards Rehli on SH 15 ( RHS while going from Sagar to Rehli)	Sagar	Regular	100	Open	DC	35	35	1225	25	60	Draw of Lots	15	5
1917	Between Km Stone No. 55 to 60 on NH 43	Umaria	Regular	150	Open	DC	35	35	1225	25	75	Draw of Lots	15	5
1918	Within 3 Kms from Allahabad Bank Chaufal on SH 55	Sidhi	Regular	100	ST CC 1	CFS	35	35	1225	0	0	Draw of Lots	0	3
1919	Within municipal limit of Birsinghpur	Satna	Regular	100	OBC CC 1	DC	20	20	400	25	45	Draw of Lots	15	4
1920	Katangi within Muncipal limit	Balaghat	Regular	100	Open	DC	20	20	400	25	45	Draw of Lots	15	5
1921	Chhattarpur ( within municipal limit 4)	Chhatarpur	Regular	100	Open PH	DC	20	20	400	25	45	Draw of Lots	15	5
1922	Within 4 Kms from NH 75 and SH 52 Junction towards Sundara	Satna	Regular	100	ST	CFS	35	45	1575	0	0	Draw of Lots	0	3
1923	Within Municipal Limit of Kotar	Satna	Regular	100	OBC	DC	20	20	400	25	45	Draw of Lots	15	4
1924	Between Mile Stone No.158 to 161 on NH 39	Singrauli	Regular	150	Open	DC	35	35	1225	25	75	Draw of Lots	15	5
1925	Byepass Road Panna on SH 47	Panna	Regular	100	OBC	DC	35	45	1575	25	60	Draw of Lots	15	4
1926	Satna City (within municipal limit) 3	Satna	Regular	100	ST	CFS	20	20	400	0	0	Draw of Lots	0	3
1927	2 Km from village Tendhua Tahasil Samira on NH 39	Sidhi	Regular	150	Open	DC	35	35	1225	25	75	Draw of Lots	15	5
1928	2 Km from village Panwar Baghlan Tahsil Gopad Banas on NH 39	Sidhi	Regular	150	Open	DC	35	35	1225	25	75	Draw of Lots	15	5
1929	within 2 Kms from village Morwa on NH 39	Singrauli	Regular	150	Open	DC	35	35	1225	25	75	Draw of Lots	15	5
1930	within 2 Km from village Khurodi on SH 11	Balaghat	Regular	100	OBC	DC	35	35	1225	25	60	Draw of Lots	15	4

								1				1		
1931	Narsinghpur (within municipal limit 2)	Narsinghpur	Regular	100	SC	CFS	20	20	400	0	0	Draw of Lots	0	3
1932	Damoh (within municipal limit 4 )	Damoh	Regular	100	Open	DC	20	20	400	25	45	Draw of Lots	15	5
1933	Up to 2 Km from Shri Srushti ITI Collage Jeonara on SH 26	Seoni	Regular	100	Open CC 1	DC	35	35	1225	25	60	Draw of Lots	15	5
1934	Within Muncipal limit of Sirgora	Chhindwara	Regular	100	OBC	DC	20	20	400	25	45	Draw of Lots	15	4
1935	Within municipal limit of Ramnagar	Satna	Regular	100	ST	CFS	20	20	400	0	0	Draw of Lots	0	3
1936	Within 2 Kms from Jamodi Chouraha to SHahdol Road SH 55	Sidhi	Regular	100	Open	DC	35	35	1225	25	60	Draw of Lots	15	5
1937	Gotegaon (within municipal limit 2)	Narsinghpur	Regular	100	OBC	DC	20	20	400	25	45	Draw of Lots	15	4
1938	Satna City (within municipal limit) 4	Satna	Regular	100	Open	DC	20	20	400	25	45	Draw of Lots	15	5
1939	on NH 75 within 2 Kms from Nagod Unchera Mod towards Satna	Satna	Regular	150	Open	DC	35	45	1575	25	75	Draw of Lots	15	5
1940	Sagar (within municipal limit 2)	Sagar	Regular	100	SC	CFS	20	20	400	0	0	Draw of Lots	0	3
1941	Gadarwara (within municipal limit 2)	Narsinghpur	Regular	100	OBC	DC	20	20	400	25	45	Draw of Lots	15	4
1942	Kareli (within municipal limit 2)	Narsinghpur	Regular	100	Open	DC	20	20	400	25	45	Draw of Lots	15	5
1943	On NH 39 between Barhaai to Churhat Khas	Sidhi	Regular	150	Open	DC	35	35	1225	25	75	Draw of Lots	15	5
1944	Within 2 Kilometers from Palhanpur toward Nagod on SH 56	Satna	Regular	100	ST	CFS	35	45	1575	0	0	Draw of Lots	0	3
1945	Narsinghpur (within municipal limit 4)	Narsinghpur	Regular	100	OBC	DC	20	20	400	25	45	Draw of Lots	15	4
1946	Within 2 Km from village Gorbi on NH 39	Singrauli	Regular	150	Open	DC	35	35	1225	25	75	Draw of Lots	15	5
1947	Barhawa tola Tehsil Deosar NH 39	Singrauli	Regular	150	Open	DC	35	35	1225	25	75	Draw of Lots	15	5
1948	Rewa (within municipal limit 4)	Rewa	Regular	100	OBC	сс	20	20	400	25	10	Bidding	30	4
1949	Within municipal limit of Amanganj	Panna	Regular	100	ST	CFS	20	20	400	0	0	Draw of Lots	0	3

														()
1950	Within 5 Kms towards Maihar from Lotus City Satna on Poposed NH 135 BC	Satna	Regular	150	Open	DC	35	45	1575	25	75	Draw of Lots	15	5
	Between Kargil Dhaba and Sindhu Kanya Mahavidhyala on Maihar Byepass Road Satna RHS while going to Maihar from Kargil Dhaba End	Satna	Regular	100	Open	DC	20	20	400	25	45	Draw of Lots	15	5
1952	Seoni within Muncipal limit 2	seoni	Regular	100	OBC	DC	20	20	400	25	45	Draw of Lots	15	4
1953	Makronia Bujurg ( within municipal limit 2 )	Sagar	Regular	100	SC	CFS	20	20	400	0	0	Draw of Lots	0	3
1954	In between City Kotwali and Jai Stambh Chouwk Satna City	Satna	Regular	100	Open	DC	20	20	400	25	45	Draw of Lots	15	5
	On NH-75 upto 3 km from Satna River Bridge MadhavGarh towards Rewa LHS while going Stana to Rewa	Satna	Regular	150	Open	DC	35	45	1575	25	75	Draw of Lots	15	5
1956	Keolari within Muncipal limit	seoni	Regular	100	OBC	DC	20	20	400	25	45	Draw of Lots	15	4
1957	On SH 14 RHS between Km Stone 131 and 134 while going from Damoh to Katni	Panna	Regular	100	Open	DC	35	45	1575	25	60	Draw of Lots	15	5
1958	Unchera town 2	Satna	Regular	100	ST	CFS	20	20	400	0	0	Draw of Lots	0	3
1959	Within municipal limit of Jaisingh Nagar 2	Shahdol	Regular	100	OBC	DC	20	20	400	25	45	Draw of Lots	15	4
1960	Upto 3 Km from Garra toll Plaza towards Lalbarra on SH-26	Balaghat	Regular	100	Open CC 1	DC	35	35	1225	25	60	Draw of Lots	15	5
1961	On NH 75 byepass road Satna In between Satna cement mines and siding kaima road	Satna	Regular	150	Open	DC	35	45	1575	25	75	Draw of Lots	15	5
1962	Within 2 Km from Vill Gaurjhamar on NH 26	Sagar	Regular	150	SC	CFS	35	45	1575	0	0	Draw of Lots	0	3
1963	Within municipal limit of Shahdol 3	Shahdol	Regular	100	OBC	сс	20	20	400	25	10	Bidding	30	4
1964	On NH 7 between Kilometer No. 341 and 343 RHS while going from Maihar to Katni	Satna	Regular	100	Open	DC	35	45	1575	25	60	Draw of Lots	15	5
1965	Between Gunnour Bus Stand and Sarswatri Gyan Mandir School Gunnor on Gunnour Amanganj Road	Panna	Regular	100	Open	DC	20	20	400	25	45	Draw of Lots	15	5
1966	Within municipal limit of Shahdol 2	Shahdol	Regular	100	ST	CFS	20	20	400	0	0	Draw of Lots	0	3
1967	Singrauli ( within municipal limit 2 )	Singrauli	Regular	100	OBC	сс	20	20	400	25	10	Bidding	30	4
1968	Between Madhyanchal Gramin Bank Kusedi (Bhadanpur Station Mod) and Reliance Plant Mod on NH 7 LHS while going from Maihar to Katni	Satna	Regular	150	Open	DC	35	45	1575	25	75	Draw of Lots	15	5

1969	Seoni within Muncipal limit 1	seoni	Regular	100	Open CC 2	DC	20	20	400	25	45	Draw of Lots	15	5
1970	Chapara within Muncipal limit	seoni	Regular	100	OBC CC 1	DC	20	20	400	25	45	Draw of Lots	15	4
1971	Malajkhand ( within municipal limit 2)	Balaghat	Regular	100	SC CC 1	CFS	20	20	400	0	0	Draw of Lots	0	3
1972	Upto 3 Kms from Panna Tiraha Paharikhera towards Singhpur RHS while going from Paharikhera to Singhpur on SH 56	Panna	Regular	100	Open	DC	35	45	1575	25	60	Draw of Lots	15	5
1973	On Goraiya Road between Futoundha Mod and Futoundha Govt. Primary School	Satna	Regular	100	Open	DC	35	45	1575	25	60	Draw of Lots	15	5
1974	Jabalpur ( within municipal limit 1)	Jabalpur	Regular	150	OBC	сс	20	20	400	25	10	Bidding	30	4
1975	Singrauli ( within municipal limit 1 )	Singrauli	Regular	100	ST	CFS	20	20	400	0	0	Draw of Lots	0	3
1976	Between Milestone No. 264 to 268 on NH 7	Satna	Regular	150	Open	DC	35	45	1575	25	75	Draw of Lots	15	5
1977	Within 2 Km of village Sarra Tahasil Churhat on NH 39	Sidhi	Regular	150	Open	DC	35	35	1225	25	75	Draw of Lots	15	5
1978	Within municipal limit of Malajkhand on Baihar Birsa Road	Balaghat	Regular	100	OBC	DC	20	20	400	25	45	Draw of Lots	15	4
1979	Within Muncipal limit of Balaghat 5	Balaghat	Regular	100	Open	СС	20	20	400	25	10	Bidding	30	5
1980	Between Makronia Chowk to Deepak Memorial School In Sagar City	Sagar	Regular	100	SC	CFS	20	20	400	0	0	Draw of Lots	0	3
1981	Balaghat ( within municipal limit 4)	Balaghat	Regular	100	Open	DC	20	20	400	25	45	Draw of Lots	15	5
1982	Within 5 km from Bhopal tiraha at Rahatgarh on NH 146 towards Vidisha	Sagar	Regular	150	OBC	DC	35	35	1225	25	75	Draw of Lots	15	4
1983	Jabalpur within municipal limit 3	Jabalpur	Regular	150	Open CC 1	DC	20	20	400	25	60	Draw of Lots	15	5
1984	Upto 2 Km from State Bank of India Keolari Branch on SH 12 towards Nainpur	SEONI	Regular	100	ST	CFS	35	35	1225	0	0	Draw of Lots	0	3
1985	Between Km Stone No 150 to 153 on SH 14	Katni	Regular	100	OBC	DC	35	35	1225	25	60	Draw of Lots	15	4
1986	Chourai within Muncipal limit	Chhindwara	Regular	100	Open	DC	20	20	400	25	45	Draw of Lots	15	5
1987	Chhindwara within Muncipal limit 2	Chhindwara	Regular	100	Open	DC	20	20	400	25	45	Draw of Lots	15	5

1988	Upto 1 Km from village Bamhodi on SH-26	Seoni	Regular	100	OBC	DC	35	35	1225	25	60	Draw of Lots	15	4
1989	Ghamapur Chouk to Kanchghar (within Muncipal limit of Jabalpur)	Jabalpur	Regular	150	SC	CFS	20	20	400	0	0	Draw of Lots	0	3
1990	Mandla (within municipal limit 4)	Mandla	Regular	100	Open	DC	20	20	400	25	45	Draw of Lots	15	5
1991	Gadarwara (within municipal limit 3)	Narsinghpur	Regular	100	Open	DC	20	20	400	25	45	Draw of Lots	15	5
1992	Within municipal limit of Ambada	Chhindwara	Regular	100	OBC	DC	20	20	400	25	45	Draw of Lots	15	4
1993	Chhindwara ( within municipal limit 1 )	Chhindwara	Regular	100	ST	CFS	20	20	400	0	0	Draw of Lots	0	3
1994	Sagar (within municipal limit 4)	Sagar	Regular	100	Open	СС	20	20	400	25	10	Bidding	30	5
1995	Seoni within Muncipal limit 3	seoni	Regular	100	Open	DC	20	20	400	25	45	Draw of Lots	15	5
1996	Jabalpur within municipal limit 4	Jabalpur	Regular	150	OBC PH	DC	20	20	400	25	60	Draw of Lots	15	4
1997	Up to 4 Km from Gulganj Bijawar Tiraha towards Bijawar on SH 10	Chhatarpur	Regular	100	ST PH	CFS	35	35	1225	0	0	Draw of Lots	0	3
1998	Within municipal limit of Shahdol 4	Shahdol	Regular	100	Open	сс	20	20	400	25	10	Bidding	30	5
1999	Sidhi ( within municipal limit of Sidhi ) 3	Sidhi	Regular	100	Open	сс	20	20	400	25	10	Bidding	30	5
2000	Between Circuit House Chouraha to Sohawal Mod RHS while going to Nagod from Satna	Satna	Regular	100	OBC	DC	20	20	400	25	45	Draw of Lots	15	4
2001	Singrauli ( within municipal limit 3 )	Singrauli	Regular	100	Open	DC	20	20	400	25	45	Draw of Lots	15	5
2002	Bhedaghat Choraha to Heerapur Bandha on NH 12 on RHS while going towards Heerapur Bandha	Jabalpur	Regular	150	SC	CFS	20	20	400	0	0	Draw of Lots	0	3
2003	between Km Stone 116 to 121 on SH 14	Damoh	Regular	100	Open	DC	35	35	1225	25	60	Draw of Lots	15	5
2004	Between Milestone 15 and 18 on SH-13	Panna	Regular	100	OBC	DC	35	35	1225	25	60	Draw of Lots	15	4
2005	Jabalpur ( within municipal limit 2)	Jabalpur	Regular	150	Open	СС	20	20	400	25	10	Bidding	30	5
2006	Bina ( within municipal limit)	Sagar	Regular	100	ST	CFS	20	20	400	0	0	Draw of Lots	0	3

Niwas (within municipal limit)	Mandla	Regular	100	OBC	DC	20	20	400	25	45	Draw of Lots	15	4
Up to 3 km from Ukwa police station on SH 26	Balaghat	Regular	100	Open	DC	35	35	1225	25	60	Draw of Lots	15	5
Within municipal limit of Hindoriya	Damoh	Regular	100	Open CC 1	DC	20	20	400	25	45	Draw of Lots	15	5
Within municipal limit of Pindrai	Mandla	Regular	100	OBC	DC	20	20	400	25	45	Draw of Lots	15	4
on SH 22A , Shahpura to Patan Road within 5 Km from NH-12	Jabalpur	Regular	100	ST	CFS	35	35	1225	0	0	Draw of Lots	0	3
Murrai to Luhari on SH-37	Jabalpur	Regular	100	Open	DC	35	35	1225	25	60	Draw of Lots	15	5
Between Km Stone No 19 to 23 on NH 30 (Old NH 12A)	Mandla	Regular	150	Open	DC	35	35	1225	25	75	Draw of Lots	15	5
From Navlakha Sqaure to Tin Imli Bridg Crossing	Indore	Regular	180	OBC	сс	20	20	400	25	10	Bidding	30	4
Upto 3 Kms from HPC RO Krishna Filling Station Bhatkhedi towards Mhow	Indore	Regular	150	sc	CFS	35	35	1225	0	0	Draw of Lots	0	3
Between IIM Indore to Power House Square on Pithampur Main Road.	Indore	Regular	185	Open	DC	20	20	400	25	45	Draw of Lots	15	5
Ujjain City (Within 2 KM from Saint Paul School on Inner ring road)	Ujjain	Regular	150	Open	сс	20	20	400	25	10	Bidding	30	5
Between KM Stone 40 to 43 on NH59A (Indore to Betul Road)	Dewas	Regular	160	Open	сс	35	45	1575	25	10	Bidding	30	5
Between Marimata square and Rajwada Chowk, on Ujjain-Indore Road, indore city	Indore	Regular	160	OBC CC 1	DC	20	20	400	25	60	Draw of Lots	15	4
Between Indian Oil- Malviya Petrol Pump and Bengali Square, on Eastern Ring Road, Indore City	Indore	Regular	160	SC CC 1	CFS	20	20	400	0	0	Draw of Lots	0	3
Upto 4 km from Double Choukey towards Nemawar, on Indore-Betul Road (Nemawar Road)	Dewas	Regular	160	Open PH	DC	35	45	1575	25	75	Draw of Lots	15	5
Within Mahidpur Nagarpalika limit	Ujjain	Regular	100	OBC	DC	20	20	400	25	45	Draw of Lots	15	4
Ujjain City (Between Chamunda Mata Chouraha to HPC RO Akash Filling Station on Agar Road)	Ujjain	Regular	160	Open	DC	20	20	400	25	60	Draw of Lots	15	5
Between New RTO Office Nayta Mundla to Tin Imli Bridg Crossing	Indore	Regular	150	ST	CFS	20	20	400	0	0	Draw of Lots	0	3
Between Km Stone Number 6 to 8 on NH 47 on Dhar Road	Indore	Regular	150	Open	DC	35	45	1575	25	75	Draw of Lots	15	5
	Between Km Stone No       19 to 23 on NH 30 (Old NH 12A)         From Navlakha Sqaure to Tin Imli Bridg Crossing         Upto 3 Kms from HPC RO Krishna Filling Station Bhatkhedi towards Mhow         Between IIM Indore to Power House Square on Pithampur Main Road.         Ujjain City (Within 2 KM from Saint Paul School on Inner ring road)         Between KM Stone 40 to 43 on NH59A (Indore to Betul Road)         Between Marimata square and Rajwada Chowk, on Ujjain-Indore Road, indore city         Between Indian Oil- Malviya Petrol Pump and Bengali Square, on Eastern Ring Road, Indore City         Upto 4 km from Double Choukey towards Nemawar, on Indore-Betul Road (Nemawar Road)         Within Mahidpur Nagarpalika limit         Ujjain City (Between Chamunda Mata Chouraha to HPC RO Akash Filling Station on Agar Road)         Between New RTO Office Nayta Mundla to Tin Imli Bridg Crossing	Up to 3 km from Ukwa police station on SH 26       Balaghat         Within municipal limit of Hindoriya       Damoh         Within municipal limit of Pindrai       Mandla         on SH 22A , Shahpura to Patan Road within 5 Km from NH-12       Jabalpur         Murrai to Luhari on SH-37       Jabalpur         Between Km Stone No 19 to 23 on NH 30 (Old NH 12A)       Mandla         From Navlakha Sqaure to Tin Imli Bridg Crossing       Indore         Upto 3 Kms from HPC RO Krishna Filling Station Bhatkhedi towards Mhow       Indore         Upto 3 Kms from HPC RO Krishna Filling Station Bhatkhedi towards Mhow       Indore         Upto 3 Kms from HPC RO Krishna Filling Station Bhatkhedi towards Mhow       Indore         Upiain City (Within 2 KM from Saint Paul School on Inner ring road)       Ujain         Between KM Stone 40 to 43 on NH59A (Indore to Betul Road)       Dewas         Between Indian Oli- Malviya Petrol Pump and Bengali Square, on Eastern Indore       Indore         Upto 4 km from Double Choukey towards Nemawar, on Indore-Betul Road       Dewas         Within Mahidpur Nagarpalika limit       Ujain         Ujain City (Between Chamunda Mata Chouraha to HPC RO Akash Filling Station on Agar Road)       Ujain         Between New RTO Office Nayta Mundla to Tin Imli Bridg Crossing       Indore	Up to 3 km from Ukwa police station on SH 26BalaghatRegularWithin municipal limit of HindoriyaDamohRegularWithin municipal limit of PindraiMandlaRegularon SH 22A , Shahpura to Patan Road within 5 Km from NH-12JabalpurRegularMurrai to Luhari on SH-37JabalpurRegularBetween Km Stone No 19 to 23 on NH 30 (Old NH 12A)MandlaRegularFrom Navlakha Sqaure to Tin Imli Bridg CrossingIndoreRegularUp to 3 Kms from HPC RO Krishna Filling Station Bhatkhedi towards MhowIndoreRegularBetween IlM Indore to Power House Square on Pithampur Main Road.IndoreRegularUjjain City (Within 2 KM from Saint Paul School on Inner ring road)UjjainRegularBetween Indian Oil- Malviya Petrol Pump and Bengali Square, on Eastern IndoreIndoreRegularBetween Indian Oil- Malviya Petrol Pump and Bengali Square, on Eastern IndoreRegularRegularUpto 4 km from Double Choukey towards Nemawar, on Indore-Betul Road UljainDewasRegularWithin Mahidpur Nagarpalika IimitUjjainRegularUjjain City (Between Chamunda Mata Chouraha to HPC RO Akash UjjainUjjainRegularBetween New RTO Office Nayta Mundla to Tin Imli Bridg CrossingIndoreRegular	Up to 3 km from Ukwa police station on SH 26       Balaghat       Regular       100         Within municipal limit of Hindoriya       Damoh       Regular       100         Within municipal limit of Pindrai       Mandla       Regular       100         Within municipal limit of Pindrai       Mandla       Regular       100         on SH 22A , Shahpura to Patan Road within 5 Km from NH-12       Jabalpur       Regular       100         Murrai to Luhari on SH-37       Jabalpur       Regular       100         Between Km Stone No 19 to 23 on NH 30 (Old NH 12A)       Mandla       Regular       150         From Navlakha Sqaure to Tin Imil Bridg Crossing       Indore       Regular       150         Upto 3 Kms from HPC RO Krishna Filling Station Bhatkhedi towards Mhow       Indore       Regular       150         Between IIM Indore to Power House Square on Pithampur Main Road.       Indore       Regular       150         Between KM Stone 40 to 43 on NH59A (Indore to Betul Road)       Dewas       Regular       160         Between Indian Oli- Mahviga Petrol Pump and Bengali Square, on Eastern Indore       Indore       Regular       160         Upto 4 km from Double Choukey towards Nemawar, on Indore-Betul Road       Dewas       Regular       160         Upian City (Between Chamunda Mata Chouraha to HPC RO Akash Hilling	Up to 3 km from Ukwa police station on SH 26       Balaghat       Regular       100       Open         Within municipal limit of Hindoriya       Damoh       Regular       100       Open CC 1         Within municipal limit of Hindoriya       Mandla       Regular       100       Open CC 1         Within municipal limit of Pindrai       Mandla       Regular       100       OBC         on SH 22A , Shahpura to Patan Road within 5 Km from NH-12       Jabalpur       Regular       100       Open         Murrai to Luhari on SH-37       Jabalpur       Regular       100       Open         Between Km Stone No       19 to 23 on NH 30 (Old NH 12A)       Mandla       Regular       150       Open         From Navlakha Sqaure to Tin Imil Bridg Crossing       Indore       Regular       150       OSC         Upto 3 Kms from HPC RO Krishna Filling Station Bhatkhedi towards Mhow       Indore       Regular       150       Open         Ujain City (Within 2 KM from Saint Paul School on Inner ring read)       Ujain       Regular       160       Open         Between KM Stone 40 to 43 on NH59A (Indore to Betul Road)       Dewas       Regular       160       Open         Between KM Stone 40 to 43 on NH59A (Indore to Betul Road)       Indore       Regular       160       Open      <	LinkLi	Link         Link <thlink< th="">         Link         Link         <thl< td=""><td>International and the second of the</td><td>LinkLi</td><td>Link of the control Link of the control Link of the control Link of the control Link of the control Link of the control Link of the control control of the control Link of the control control con</br></br></br></br></td><td>Land Carlon Lives police station of 9126         Results         Results</td><td>Link       Link       <thlink< th="">       Link       Link</thlink<></td><td>Link         Link         <thlink< th="">         Link         Link         <th< td=""></th<></thlink<></td></thl<></thlink<>	International and the second of the	LinkLi	Link of the control Link of the control 	Land Carlon Lives police station of 9126         Results         Results	Link       Link <thlink< th="">       Link       Link</thlink<>	Link         Link <thlink< th="">         Link         Link         <th< td=""></th<></thlink<>

Ujjain City , Within 1.5 km radius from Ujjain Charitable Trust Hospital	Ujjain	Regular	150	OBC	DC	20	20	400	25	60	Draw of Lots	15	4
Upto 3 Kms from Indorama Industry towards Dhar on SH31	Indore	Regular	150	Open	DC	35	35	1225	25	60	Draw of Lots	15	5
Between Sadalpur to Harsora on Mhow Neemuch Road on LHS while going towards Lebad	Dhar	Regular	110	Open	сс	35	35	1225	25	10	Bidding	30	5
Within 2 km on either side from Hotel Panchawati on Dhar-Mandav road	Dhar	Regular	150	SC	CFS	35	35	1225	0	0	Draw of Lots	0	3
Barwani within municipal limit	Badwani	Regular	110	OBC	DC	20	20	400	25	45	Draw of Lots	15	4
Within 3 KM from Agar Collector offfice on Agar - Sarangpur road	Agar	Regular	110	Open	сс	35	35	1225	25	10	Bidding	30	5
Between police radio training school, Panchsheel nagar and Hansraj math, Mahavir bagh on 60feet Airport road, Indore	Indore	Regular	160	Open CC 1	DC	20	20	400	25	60	Draw of Lots	15	5
Between DIG Office, Indore to Madhumilan Sqaure, Indore	Indore	Regular	200	ST	CFS	20	20	400	0	0	Draw of Lots	0	3
From Musakhedi Square to Tin Imli Square	Indore	Regular	170	OBC	DC	20	20	400	25	60	Draw of Lots	15	4
Anjad (Within Municipal Limit)	Badwani	Regular	100	Open	DC	20	20	400	25	45	Draw of Lots	15	5
Upto 3 KM from HPC RO Anand Filling at Majhania, Shajapur on LHS on Agra Mumbai Highway while going towards Sarangpur	Shajapur	Regular	160	Open	DC	35	45	1575	25	75	Draw of Lots	15	5
Rojibeg Block Fanda Tehsil Huzur	Bhopal	Rural	46	Open	DC	20	20	400	12	30	Draw of Lots	5	4
Ashapuri Block Obedullaganj Tehsil Goharganj	Raisen	Rural	46	OBC	DC	20	20	400	12	30	Draw of Lots	5	3
Barri Cheer Kheda, Block Berasia Tehsil Berasia	Bhopal	Rural	72	ST	CFS	20	20	400	0	0	Draw of Lots	0	2
Khargone Block Badi Tehsil Bareli	Raisen	Rural	46	Open	DC	20	20	400	12	30	Draw of Lots	5	4
Silwani Block Silwani Tehsil Silwai	Raisen	Rural	46	Open	DC	20	20	400	12	30	Draw of Lots	5	4
Pipalia Hasnabad On Berasia Nazirabad Road Block Berasia Tehsil Berasi	Bhopal	Rural	46	OBC	DC	20	20	400	12	30	Draw of Lots	5	3
Dillod Block Berasia Tehsil Berasia	Bhopal	Rural	72	SC	CFS	20	20	400	0	0	Draw of Lots	0	2
Sendora Block Sanchi Tehsil Raisen	Raisen	Rural	46	Open	DC	20	20	400	12	30	Draw of Lots	5	4
	Upto 3 Kms from Indorama Industry towards Dhar on SH31 Between Sadalpur to Harsora on Mhow Neemuch Road on LHS while going towards Lebad Within 2 km on either side from Hotel Panchawati on Dhar-Mandav road Barwani within municipal limit Within 3 KM from Agar Collector offfice on Agar - Sarangpur road Between police radio training school, Panchsheel nagar and Hansraj math, Mahavir bagh on 60feet Airport road, Indore Between DIG Office, Indore to Madhumilan Sqaure, Indore From Musakhedi Square to Tin Imli Square Anjad (Within Municipal Limit) Upto 3 KM from HPC RO Anand Filling at Majhania, Shajapur on LHS on Agra Mumbai Highway while going towards Sarangpur Rojibeg Block Fanda Tehsil Huzur Ashapuri Block Obedullaganj Tehsil Goharganj Barri Cheer Kheda, Block Berasia Tehsil Berasia Khargone Block Silwani Tehsil Silwai Pipalia Hasnabad On Berasia Nazirabad Road Block Berasia Tehsil Berasia Dillod Block Berasia Tehsil Berasia	Upto 3 Kms from Indorama Industry towards Dhar on SH31       Indore         Upto 3 Kms from Indorama Industry towards Dhar on SH31       Indore         Between Sadalpur to Harsora on Mhow Neemuch Road on LHS while going towards Lebad       Dhar         Within 2 km on either side from Hotel Panchawati on Dhar-Mandav road       Dhar         Barwani within municipal limit       Badwani         Within 3 KM from Agar Collector office on Agar - Sarangpur road       Agar         Between police radio training school, Panchsheel nagar and Hansraj math, Mahavir bagh on 60feet Airport road, Indore       Indore         Between DIG Office, Indore to Madhumilan Sqaure, Indore       Indore         From Musakhedi Square to Tin Imli Square       Indore         Anjad (Within Municipal Limit)       Badwani         Upto 3 KM from HPC RO Anand Filling at Majhania, Shajapur on LHS on Agra Mumbai Highway while going towards Sarangpur       Shajapur         Rojibeg Block Fanda Tehsil Huzur       Bhopal         Batri Cheer Kheda, Block Berasia Tehsil Berasia       Bhopal         Khargone Block Badi Tehsil Bareli       Raisen         Silwani Block Silwani Tehsil Silwai       Raisen         Pipalia Hasnabad On Berasia Nazirabad Road Block Berasia Tehsil Berasis       Bhopal         Dillod Block Berasia Tehsil Berasia       Bhopal	Upto 3 Kms from Indorama Industry towards Dhar on SH31       Indore       Regular         Between Sadalpur to Harsora on Mhow Neemuch Road on LHS while       Dhar       Regular         Within 2 km on either side from Hotel Panchawati on Dhar-Mandav road       Dhar       Regular         Barwani within municipal limit       Badwani       Regular         Within 3 KM from Agar Collector offfice on Agar - Sarangpur road       Agar       Regular         Between Dilce radio training school, Panchsheel nagar and Hansraj math. Mahavir bagh on 60feet Airport road, Indore       Indore       Regular         Between DIG Office, Indore to Madhumilan Sqaure, Indore       Indore       Regular         From Musakhedi Square to Tin Imli Square       Indore       Regular         Agar Mumbai Highway while going towards Sarangpur       Shajapur       Regular         Rojbeg Block Fanda Tehsil Huzur       Bhopal       Rural         Ratire Check, Slowani Block Berasia Tehsil Berasia       Bhopal       Rural         Silwani Block Silwani Tehsil Sliwai       Raisen       Rural         Pipala Hasnabad On Berasia Nazirabad Road Block Berasia Tehsil Berasia       Bhopal       Rural         Dillod Block Berasia Tehsil Berasia       Bhopal       Rural	Upto 3 Kms from Indorama Industry towards Dhar on SH31IndoreRegular150Between Sadalpur to Harsora on Mhow Neemuch Road on LHS while oping towards LebadDharRegular110Within 2 km on either side from Hotel Panchawati on Dhar-Mandav roadDharRegular110Barwani within municipal limitBadwaniRegular110Within 3 KM from Agar Collector office on Agar - Sarangpur roadAgarRegular110Between police radio training school, Panchsheel nagar and Hansraj math, Mahavir bagh on 60feet Airport road, IndoreIndoreRegular160Between DIG Office, Indore to Madhumilan Sqaure, IndoreIndoreRegular170From Musakhedi Square to Tin Imli SquareIndoreRegular100Upto 3 KM from HPC RO Anand Filling at Majhania, Shajapur on LHS on Agra Mumbai Highway while going towards SarangpurShajapurRegular160Rojbeg Block Fanda Tehsil HuzurBhopalRural4646Barri Cheer Kheda, Block Berasia Tehsil BerasiaBhopalRural46Shapuri Block Silwari Tehsil ShwaiReisenRural46Silwani Block Silwari Tehsil ShwaiReisenRural46Dilod Block Berasia Tehsil BerasiaBhopalRural46Dilod Block Berasia Tehsil BerasiaBhopalRural46Dilod Block Berasia Tehsil BerasiaBhopalRural46	Upto 3 Kms from Indorama Industry towards Dhar on SH31       Indore       Regular       150       Open         Between Sadalpur to Hartora on Mhow Neemuch Road on LHS while       Dhar       Regular       110       Open         Within 2 km on either side from Hotel Panchawati on Dhar-Mandav road       Dhar       Regular       110       OBC         Barwani within municipal limit       Badwani       Regular       110       OBC         Within 3 KM from Agar Collector offlice on Agar - Sarangpur road       Agar       Regular       110       Open         Between police radio training school, Panchaheel nagar and Hansraj math, hadre bagin on Bittee Apport road, Indore       Regular       160       Open CC 1         Between DIG Office, Indore to Madhumilan Sqaure, Indore       Indore       Regular       100       OBC         From Musakhedi Square to Tin Imil Square       Indore       Regular       100       Open         Proo 3 KM from HPC RO Anand Filling at Majhania, Shajapur on LHS on Agae       Shajapur       Regular       160       Open         Rajae Block Fanda Tehsil Huzur       Bhopal       Rural       46       Open         Rajae Mumba Highway while going towards Sarangnur       Raisen       Rural       46       Open         Rajae Block Fanda Tehsil Huzur       Bhopal       Rural       46	Lipito       Lipito       Lipito       Lipito       Lipito       Company         Lipito       3 Kms from Indoxrama Industry towards Dhar on SH31       Indore       Regular       150       Open       DC         Between Sadalpur to Hanora on Mhow Neemuch Road on LHS while       Dhar       Regular       110       Open       CC         Within 2 km on either side from Hotel Panchawati on Dhar-Mandav road       Dhar       Regular       110       OBC       DC         Barwani within municipal limit       Badwani       Regular       110       OBC       DC         Barwani within municipal limit       Badwani       Regular       110       OBC       DC         Between police radio training school, Panchaheel nagar and Hanarai math, Indore       Regular       160       Open CC 1       DC         Between DIG Office, Indore to Madhumilan Square, Indore       Indore       Regular       170       OBC       DC         Anjad (Within Municipal Limit)       Badwani       Regular       160       Open       DC         Anjad (Within Municipal Limit)       Badwani       Regular       160       Open       DC         Anjad (Within Municipal Limit)       Badwani       Regular       160       Open       DC         Rogibeg Block Fanda Teheil Hu	LineLi	Line         Line <thline< th="">         Line         Line         <thl< td=""><td>Line     Line     Line</td><td>International and the stateIndex&lt;</td><td>Image: Control integration integrateredited integration integration integration integratio</td><td>Apple 3 form from holograms hologr</td><td>Image: Control of the set of th</td></thl<></thline<>	Line     Line	International and the stateIndex<	Image: Control integration integrateredited integration integration integration integratio	Apple 3 form from holograms hologr	Image: Control of the set of th

2045	Surajpura Block Berasia Tehsil Berasia	Bhopal	Rural	46	Open	DC	20	20	400	12	30	Draw of Lots	5	4
2046	Uchera, Block Begamganj Tehsil Begumganj	Raisen	Rural	46	OBC	DC	20	20	400	12	30	Draw of Lots	5	3
2047	Runaha Block Berasia Tehsil Berasia	Bhopal	Rural	46	Open	DC	20	20	400	12	30	Draw of Lots	5	4
2048	Sukhi Sevania Block Phanda (Bhopal) Tehsil Huzur	Bhopal	Rural	72	ST	CFS	20	20	400	0	0	Draw of Lots	0	2
2049	Bilkhiriyan Kalan Block Phanda (Bhopal) Tehsil Huzur	Bhopal	Rural	46	OBC	DC	20	20	400	12	30	Draw of Lots	5	3
2050	Parwaliya Sadak Block Phanda (Bhopal) Tehsil Huzur	Bhopal	Rural	46	Open CC 1	DC	20	20	400	12	30	Draw of Lots	5	4
2051	Bamori Sala Block Sironj Tehsil Sironj	Vidisha	Rural	46	Open	DC	20	20	400	12	30	Draw of Lots	5	4
2052	Balampur Block Phanda (Bhopal) Tehsil Huzur	Bhopal	Rural	72	SC	CFS	20	20	400	0	0	Draw of Lots	0	2
2053	Barkheda Jagir Block Shamshabad Tehsil Shamshabad	Vidisha	Rural	46	OBC	DC	20	20	400	12	30	Draw of Lots	5	3
2054	Lalariya Block Berasia Tehsil Berasia	Bhopal	Rural	46	Open	DC	20	20	400	12	30	Draw of Lots	5	4
2055	Intkhedi Sadak Block Phanda (Bhopal) Tehsil Huzur	Bhopal	Rural	46	Open	DC	20	20	400	12	30	Draw of Lots	5	4
2056	Sanai On Road Connecting Binaganj To Batawada To Mrigwas To Sanai To	Guna	Rural	72	ST	CFS	20	20	400	0	0	Draw of Lots	0	2
2057	From Purawash Tiraha Towards Badagaon Upto 1 Km Block Ambah Tehsil	Morena	Rural	46	OBC	DC	20	20	400	12	30	Draw of Lots	5	3
2058	Toomda Block Phanda (Bhopal) Tehsil Huzur	Bhopal	Rural	46	Open	DC	20	20	400	12	30	Draw of Lots	5	4
2059	Shahpur Block Sanchi Tehsil Raisen	Raisen	Rural	46	Open CC 2	DC	20	20	400	12	30	Draw of Lots	5	4
2060	Jamusar Kalan Block Berasia Tehsil Berasia	Bhopal	Rural	46	OBC CC 1	DC	20	20	400	12	30	Draw of Lots	5	3
2061	Kolu Khedi Kalan Block Berasia Tehsil Berasia	Bhopal	Rural	72	SC CC 1	CFS	20	20	400	0	0	Draw of Lots	0	2
2062	Amjhira Block Phanda (Bhopal) Tehsil Huzur	Bhopal	Rural	46	Open	DC	20	20	400	12	30	Draw of Lots	5	4
2063	Bangawan Block Sanchi Tehsil Raisen	Raisen	Rural	46	Open	DC	20	20	400	12	30	Draw of Lots	5	4

													_	
2064	Hardout Block Gairatganj Tehsil Gairatganj	Raisen	Rural	46	OBC	DC	20	20	400	12	30	Draw of Lots	5	3
2065	Kalara Block Berasia Tehsil Berasia	Bhopal	Rural	72	ST	CFS	20	20	400	0	0	Draw of Lots	0	2
2066	Banskheda Block Sanchi Tehsil Raisen	Raisen	Rural	46	Open	DC	20	20	400	12	30	Draw of Lots	5	4
2067	Amayan To Lahar Road On Villahe Rehera Block Seonda Tehsil Seonda	Datia	Rural	46	Open	DC	20	20	400	12	30	Draw of Lots	5	4
2068	Between Chhimak To Bhitarwar Road Block Dabra Tehsil Dabra	Gwalior	Rural	46	OBC	DC	20	20	400	12	30	Draw of Lots	5	3
2069	Ghatigaon To Ranighati Road On Karahi Block Ghatigaon (Barai) Tehsil Gł	Gwalior	Rural	46	Open	DC	20	20	400	12	30	Draw of Lots	5	4
2070	Rajapur On Unav Road, Block Datia Tehsil Datia	Datia	Rural	72	SC	CFS	20	20	400	0	0	Draw of Lots	0	2
2071	Kotra Block Phanda (Bhopal) Tehsil Huzur	Bhopal	Rural	46	Open	DC	20	20	400	12	30	Draw of Lots	5	4
2072	Aantri Block Ghatigaon (Barai) Tehsil Gwalior	Gwalior	Rural	46	OBC	DC	20	20	400	12	30	Draw of Lots	5	3
2073	Basai Block Datia Tehsil Datia	Datia	Rural	46	Open CC 1	DC	20	20	400	12	30	Draw of Lots	5	4
2074	Jadia On Sewndha Road Block Datia Tehsil Datia	Datia	Rural	72	ST	CFS	20	20	400	0	0	Draw of Lots	0	2
2075	Puraa On Bhapar Alampur Road Block Bhander Tehsil Bhander	Gwalior	Rural	46	OBC	DC	20	20	400	12	30	Draw of Lots	5	3
2076	Sultania On Kararia To Mahanim Road Block Vidisha Tehsil Vidisha	Vidisha	Rural	46	Open	DC	20	20	400	12	30	Draw of Lots	5	4
2077	Ahmadpur Not On Sh Block Vidisha Tehsil Vidisha	Vidisha	Rural	46	Open	DC	20	20	400	12	30	Draw of Lots	5	4
2078	Within 2 Km From Nh146 Bhairokhedi Jn Towards Tharr Block Vidisha Teh	Vidisha	Rural	46	OBC	DC	20	20	400	12	30	Draw of Lots	5	3
2079	Murariya Block Lateru Tehsil Lateri	Vidisha	Rural	72	SC	CFS	20	20	400	0	0	Draw of Lots	0	2
2080	Within 2 Km On Either Side Of Teonda Police Thana On Basoda - Bagrod F	Vidisha	Rural	46	Open	DC	20	20	400	12	30	Draw of Lots	5	4
2081	Within 2 Km From Nh146 Jn At Bagrod Towards Teonda On Bagrod Basod	Vidisha	Rural	46	Open	DC	20	20	400	12	30	Draw of Lots	5	4
2082	With In 2 Km From Bais River Over Bridge Towards Sanchi Block Vidisha T	Vidisha	Rural	46	OBC	DC	20	20	400	12	30	Draw of Lots	5	3

														]
2083	Pipaldhar On Karariya To Mahanim Junction Block Nateran Tehsil Nateran	Vidisha	Rural	72	ST	CFS	20	20	400	0	0	Draw of Lots	0	2
2084	Between 1Km & 9Km From loc Ro At Pathari Towards Khurai Block Kurwai	Vidisha	Rural	46	Open	DC	20	20	400	12	30	Draw of Lots	5	4
2085	Haidargarh Block Gyaraspur Tehsil Gyaraspur	Vidisha	Rural	46	Open	DC	20	20	400	12	30	Draw of Lots	5	4
2086	Garetha Block Sironj Tehsil Sironj	Vidisha	Rural	46	OBC PH	DC	20	20	400	12	30	Draw of Lots	5	3
2087	Khamkheda Block Vidisha Tehsil Vidisha	Vidisha	Rural	72	ST PH	CFS	20	20	400	0	0	Draw of Lots	0	2
2088	Behlot On Ganj Basoda Railway Station To Imli Chouraha Behlot Bypass Bl	Vidisha	Rural	46	Open	DC	20	20	400	12	30	Draw of Lots	5	4
2089	Ramnagar On Sironj To Garetha Road Block Sironj Tehsil Sironj	Vidisha	Rural	46	Open	DC	20	20	400	12	30	Draw of Lots	5	4
2090	Borda Block Obedullaganj Tehsil Goharganj	Raisen	Rural	46	OBC	DC	20	20	400	12	30	Draw of Lots	5	3
2091	From Mandi Bhamora Railway Crossing Towards Khurai On Khurai Road B	Vidisha	Rural	46	Open	DC	20	20	400	12	30	Draw of Lots	5	4
2092	Wardha Block Nateran Tehsil Shamshabad	Vidisha	Rural	72	SC	CFS	20	20	400	0	0	Draw of Lots	0	2
2093	Between 3Km & 10Km From New Nh346 Jn At Bangali Chouraha Towards	Vidisha	Rural	46	Open	DC	20	20	400	12	30	Draw of Lots	5	4
2094	Within 4 Km From Halali River Towards Khamkheda Block Vidisha Tehsil V	Vidisha	Rural	46	OBC	DC	20	20	400	12	30	Draw of Lots	5	3
2095	From Bhaurasa Sh 14 Jn Towards Mungaoli On Bhaurasa Mungaoli Road E	Vidisha	Rural	46	Open	DC	20	20	400	12	30	Draw of Lots	5	4
2096	Ghatera Block Basoda Tehsil Teonda	Vidisha	Rural	72	ST	CFS	20	20	400	0	0	Draw of Lots	0	2
2097	Mohanpura On Gormi Kachnav Road Between 2 Km & 3 Km From Gormi Sl	Bhind	Rural	46	OBC	DC	20	20	400	12	30	Draw of Lots	5	3
2098	Within 2 Km From Pathariya Sh 14 Jn Towards Deepnakheda On Pathariya	Vidisha	Rural	46	Open	DC	20	20	400	12	30	Draw of Lots	5	4
2099	Gajanpur Block Seonimalwa Tehsil Seonimalwa	Hoshangabad	Rural	46	Open CC 1	DC	20	20	400	12	30	Draw of Lots	5	4
2100	Deepnakheda On Pathariya To Bangali Chouraha Road Block Sironj Tehsil	Vidisha	Rural	46	OBC	DC	20	20	400	12	30	Draw of Lots	5	3
2101	Within 2 Km From Sh 23 Jn At Sironj Towards Garetha Block Sironj Tehsil	Vidisha	Rural	72	ST	CFS	20	20	400	0	0	Draw of Lots	0	2

		1					1	1					
Within 3Km From Ganj Basoda Railway Crossing Towards Teonda On Base	Vidisha	Rural	46	Open	DC	20	20	400	12	30	Draw of Lots	5	4
Nahli On Talen To Kurawar Road Block Narsinghgarh Tehsil Pachore	Rajgarh	Rural	46	Open	DC	20	20	400	12	30	Draw of Lots	5	4
Dhankhedi On Talen To Kurawar Road Block Narsinghgarh Tehsil Narsinga	Rajgarh	Rural	46	OBC	DC	20	20	400	12	30	Draw of Lots	5	3
Kotri Kalan On Kotri Kalan To Boda Road. Block Narsinghgarh Tehsil Narsi	Rajgarh	Rural	72	SC	CFS	20	20	400	0	0	Draw of Lots	0	2
Iklera On Talen To Kurawar Road Block Narsinghgarh Tehsil Pachore	Rajgarh	Rural	46	Open	DC	20	20	400	12	30	Draw of Lots	5	4
Shankarpur Block Gohad Tehsil Gohad	Bhind	Rural	46	Open	DC	20	20	400	12	30	Draw of Lots	5	4
Rai Amla Block Prabhatpattan Tehsil Multai	Betul	Rural	46	Open	DC	20	20	400	12	30	Draw of Lots	5	4
Lodipura On Suthaliya To Narsingarh Road Block Biaora Tehsil Biaora	Rajgarh	Rural	46	OBC CC 1	DC	20	20	400	12	30	Draw of Lots	5	3
Kankaria Meena On Kankaria Meena To Kurawar Road Block Narsinghgarh	Rajgarh	Rural	72	SC CC 1	CFS	20	20	400	0	0	Draw of Lots	0	2
Doongapura On Narsingarh Towards Runaha Road Block Narsinghgarh Te	Rajgarh	Rural	46	Open PH	DC	20	20	400	12	30	Draw of Lots	5	4
With In 2Km From Vidisha Gairat Ganj Road Junction At Ahmadpur Toward	Vidisha	Rural	46	OBC	DC	20	20	400	12	30	Draw of Lots	5	3
Limboda Rajgarh To Khujner Road Block Khilchipur Tehsil Khilchipur	Rajgarh	Rural	46	Open	DC	20	20	400	12	30	Draw of Lots	5	4
Bhyana On Sarangpur To Sandavta Road Block Sarangpur Tehsil Sarangpi	Rajgarh	Rural	72	ST	CFS	20	20	400	0	0	Draw of Lots	0	2
Bhanpura On Machalpur To Khilchipur Road Block Jirapur Tehsil Jirapur	Rajgarh	Rural	46	Open	DC	20	20	400	12	30	Draw of Lots	5	4
Within 2 Km Of Kurawar Talen Road And Boda Road Junction Towards Kur	Rajgarh	Rural	46	OBC	DC	20	20	400	12	30	Draw of Lots	5	3
Biaora Kalan Khilchipur To Chhapiheda Road Block Khilchipur Tehsil Khilch	Rajgarh	Rural	46	Open	DC	20	20	400	12	30	Draw of Lots	5	4
Pichhore On Dabbra Indergarh Road Rhs Block Dabra Tehsil Dabra	Gwalior	Rural	46	Open	DC	20	20	400	12	30	Draw of Lots	5	4
Bedekapura On Rajgarh Road Block Rajgarh Tehsil Rajgarh	Rajgarh	Rural	72	SC	CFS	20	20	400	0	0	Draw of Lots	0	2
Laanch Tehsil Indergarh Block Seondha Tehsil Indergarh	Datia	Rural	46	OBC	DC	20	20	400	12	30	Draw of Lots	5	3
	Nahli On Talen To Kurawar Road Block Narsinghgarh Tehsil Pachore Dhankhedi On Talen To Kurawar Road Block Narsinghgarh Tehsil Narsinge Kotri Kalan On Kotri Kalan To Boda Road. Block Narsinghgarh Tehsil Narsii Iklera On Talen To Kurawar Road Block Narsinghgarh Tehsil Pachore Shankarpur Block Gohad Tehsil Gohad Rai Amla Block Prabhatpattan Tehsil Multai Lodipura On Suthaliya To Narsingarh Road Block Biaora Tehsil Biaora Kankaria Meena On Kankaria Meena To Kurawar Road Block Narsinghgarh Doongapura On Narsingarh Towards Runaha Road Block Narsinghgarh Doongapura On Narsingarh Towards Runaha Road Block Narsinghgarh Itel With In 2Km From Vidisha Gairat Ganj Road Junction At Ahmadpur Toward Limboda Rajgarh To Khujner Road Block Khilchipur Tehsil Khilchipur Bhyana On Sarangpur To Sandavta Road Block Sarangpur Tehsil Sarangpu Within 2 Km Of Kurawar Talen Road And Boda Road Junction Towards Kur Biaora Kalan Khilchipur To Chhapiheda Road Block Khilchipur Tehsil Khilch Pichhore On Dabbra Indergarh Road Block Rajgarh Tehsil Rajgarh Bedekapura On Rajgarh Road Block Rajgarh Tehsil Rajgarh	Dhankhedi On Talen To Kurawar Road Block Narsinghgarh Tehsil Narsinge       Rajgarh         Kotri Kalan On Kotri Kalan To Boda Road. Block Narsinghgarh Tehsil Narsi       Rajgarh         Iklera On Talen To Kurawar Road Block Narsinghgarh Tehsil Pachore       Rajgarh         Shankarpur Block Gohad Tehsil Gohad       Bhind         Rai Amla Block Prabhatpattan Tehsil Multai       Betul         Lodipura On Suthaliya To Narsingarh Road Block Biaora Tehsil Biaora       Rajgarh         Kankaria Meena On Kankaria Meena To Kurawar Road Block Narsinghgart       Rajgarh         Doongapura On Narsingarh Towards Runaha Road Block Narsinghgart Te       Rajgarh         With In 2Km From Vidisha Gairat Ganj Road Junction At Ahmadpur Toward       Vidisha         Limboda Rajgarh To Khujner Road Block Khilchipur Tehsil Khilchipur       Rajgarh         Bhanpura On Sarangpur To Sandavta Road Block Jirapur Tehsil Jirapur       Rajgarh         Within 2 Km Of Kurawar Talen Road And Boda Road Junction Towards Kur       Rajgarh         Biaora Kalan Khilchipur To Chhapiheda Road Block Khilchipur Tehsil Jirapur       Rajgarh         Biaora Kalan Khilchipur To Chhapiheda Road Block Dabra Tehsil Dabra       Gwalior         Biaora Kalan Khilchipur To Chhapiheda Road Block Dabra Tehsil Dabra       Gwalior         Bedekapura On Rajgarh Road Block Rajgarh Tehsil Rajgarh       Rajgarh	Nahli On Talen To Kurawar Road Block Narsinghgarh Tehsil Pachore       Rajgarh       Rural         Dhankhedi On Talen To Kurawar Road Block Narsinghgarh Tehsil Narsings       Rajgarh       Rural         Kotri Kalan On Kotri Kalan To Boda Road. Block Narsinghgarh Tehsil Narsi       Rajgarh       Rural         Iklera On Talen To Kurawar Road Block Narsinghgarh Tehsil Narsi       Rajgarh       Rural         Iklera On Talen To Kurawar Road Block Narsinghgarh Tehsil Pachore       Rajgarh       Rural         Shankarpur Block Gohad Tehsil Gohad       Bhind       Rural         Rai Amla Block Prabhatpattan Tehsil Multai       Betul       Rural         Lodipura On Suthaliya To Narsingarh Road Block Blaora Tehsil Blaora       Rajgarh       Rural         Doongapura On Nansingarh Towards Runaha Road Block Narsinghgarh Te Rajgarh       Rural       Rural         With In 2Km From Vidisha Gairat Ganj Road Junction At Ahmadpur Toward       Vidisha       Rural         Bhyana On Sarangpur To Sandavta Road Block Sarangpur Tehsil Sarangp       Rajgarh       Rural         Within 2 Km Of Kurawar Talen Road And Boda Road Junction Towards Kur Rajgarh       Rural         Biaora Kalan Khilchipur To Khilchipur Road Block Khilchipur Tehsil Jirapur       Rajgarh       Rural         Biaora Kalan Khilchipur To Chhapiheda Road Block Khilchipur Tehsil Jirapur       Rajgarh       Rural         Biaora Kalan Khilchipur To	Indication of the set of the	Income       Income	Indication of Kurawar Road Block Narsinghgarh Tehsil PachoreRajgarhRuralKarlGeneDCDhankhedi On Talen To Kurawar Road Block Narsinghgarh Tehsil Narsingh Rotri Kalan On Kotri Kalan To Boda Road. Block Narsinghgarh Tehsil Narsingh RuralRuralKarlGeneDCKotri Kalan On Kotri Kalan To Boda Road. Block Narsinghgarh Tehsil Narsingh Rural Talen To Kurawar Road Block Narsinghgarh Tehsil PachoreRajgarhRuralGeneDCShankarpur Block Gohad Tehsil GohadBhindRural46OpenDCShankarpur Block Cohad Tehsil GohadBelulRural46OpenDCRid Arris Block Prabhajpatan Tehsil MultaiBelulRural46OpenDCCodpura On Suthaliya To Narsingsh Road Block Blaora Tehsil BaoraRajgarhRural46Open PIDCDongapura On Kankaria Meena To Kurawar Road Block Narsinghgarh Tehsil PachoreRajgarhRural46Open PIDCDongapura On Narsingarh Towards Runaha Road Block Narsinghgarh Tehsil PachoreRugarhRural46Open PIDCWith In 2Km From Vidiaha Gairat Gani Road Junction At Ahmadpur TowardVidiahaRural46OpenDCBrangara On Sarangpur To Sandarda Road Block Jirapur Tehsil JirapuRajgarhRural46OpenDCBiangara Cha Machalpur To Khilchipur Road Block Khilchipur Tehsil JirapuRajgarhRural46OpenDCBiangura On Machalpur To Khilchipur Road Block Khilchipur Tehsil JirapuRajgarhRural46OpenDCBian	Namic       International       Interna       Interna       Inter	Interfact of the set	Andie Charlen für Auswer Road Block Narsinghgahr Tehall Parthole     Ragahr     Rural     Add     Open     De     De <td>And Constrained To Name Name Name Constrained Name Name Dependence Name Dependence Name Dependence Name Dependence Name Dependence Name Dependence Name Dependence Name Dependence Name Dependence Name Dependence Name Dependence Dependence Dependence Name Dependence<br< td=""><td>And Charles Ansairgent Table Photon       Rade       Rad       Rade       Rade&lt;</td><td>And Draw ProblemNo.N</td><td>And Drade for Strang Rock Ready graph from Rock       Rock</td></br<></td>	And Constrained To Name Name Name Constrained Name Name Dependence Name Dependence Name Dependence Name Dependence Name Dependence Name Dependence Name Dependence Name Dependence Name Dependence Name Dependence Name Dependence Dependence Dependence Name Dependence <br< td=""><td>And Charles Ansairgent Table Photon       Rade       Rad       Rade       Rade&lt;</td><td>And Draw ProblemNo.N</td><td>And Drade for Strang Rock Ready graph from Rock       Rock</td></br<>	And Charles Ansairgent Table Photon       Rade       Rad       Rade       Rade<	And Draw ProblemNo.N	And Drade for Strang Rock Ready graph from Rock       Rock

														[]
2121	Berkheda Bir On Narsingarh Towards Runaha Road Block Narsinghgarh Te	Rajgarh	Rural	46	Open	DC	20	20	400	12	30	Draw of Lots	5	4
2122	Khejda Meena On Malawar To Nh-46 Connecting Road Block Biaora Tehsil	Rajgarh	Rural	46	Open CC 1	DC	20	20	400	12	30	Draw of Lots	5	4
2123	Halahedi On Khilchipur To Chhapiheda Road Block Khilchipur Tehsil Khilcł	Rajgarh	Rural	72	ST	CFS	20	20	400	0	0	Draw of Lots	0	2
2124	Hamirpur A Block Datia Tehsil Datia	Datia	Rural	46	OBC	DC	20	20	400	12	30	Draw of Lots	5	3
2125	Godan, Tehsil Bhander Block Bhander Tehsil Bhander	Datia	Rural	46	Open	DC	20	20	400	12	30	Draw of Lots	5	4
2126	Gram Ghamuri Block Gohad Tehsil Gohad	Bhind	Rural	46	Open	DC	20	20	400	12	30	Draw of Lots	5	4
2127	Ukavad Block Raghogarh Tehsil Maksudangarh	Guna	Rural	46	OBC	DC	20	20	400	12	30	Draw of Lots	5	3
2128	Mangrol Block Sabalgarh Tehsil Sabalgarh	Morena	Rural	72	ST	CFS	20	20	400	0	0	Draw of Lots	0	2
2129	Karondiya Block Berasia Tehsil Berasia	Bhopal	Rural	46	Open	DC	20	20	400	12	30	Draw of Lots	5	4
2130	Sonkhedi Block Harda Tehsil Harda	Harda	Rural	46	Open	DC	20	20	400	12	30	Draw of Lots	5	4
2131	Pokharni Block Timarni Tehsil Timarni	Harda	Rural	46	OBC	DC	20	20	400	12	30	Draw of Lots	5	3
2132	Abagaon Khurd Block Harda Tehsil Harda	Harda	Rural	72	SC	CFS	20	20	400	0	0	Draw of Lots	0	2
2133	Undra Khedi Block Hoshangabad Tehsil Hoshangabad	Hoshangabad	Rural	46	Open	DC	20	20	400	12	30	Draw of Lots	5	4
2134	Atarsama Block Harda Tehsil Handiya	Harda	Rural	46	Open	DC	20	20	400	12	30	Draw of Lots	5	4
2135	Nandwada Block Pipariya Tehsil Pipariya	Hoshangabad	Rural	46	OBC	DC	20	20	400	12	30	Draw of Lots	5	3
2136	Muhasa Block Babai Tehsil Babai	Hoshangabad	Rural	72	ST	CFS	20	20	400	0	0	Draw of Lots	0	2
2137	Kala Akhar Block Kesala Tehsil Itarsi	Hoshangabad	Rural	46	Open	DC	20	20	400	12	30	Draw of Lots	5	4
2138	Kiratpur Block Kesala Tehsil Itarsi	Hoshangabad	Rural	46	OBC	DC	20	20	400	12	30	Draw of Lots	5	3
2139	Fofliya Block Chicholi Tehsil Chicholi	Betul	Rural	46	Open	DC	20	20	400	12	30	Draw of Lots	5	4

2140	Kundi Block Shahpur Tehsil Shahpur	Betul	Rural	46	Open	DC	20	20	400	12	30	Draw of Lots	5	4
2141	Mundol Block Bamori Tehsil Bamori	Guna	Rural	72	SC	CFS	20	20	400	0	0	Draw of Lots	0	2
2142	Panjara Kalan On Itrasi Babai Road Block Hoshangabad Tehsil Hoshanga	Hoshangabad	Rural	46	OBC	DC	20	20	400	12	30	Draw of Lots	5	3
2143	Ganj On Basoda To Ambanagar Road Block Basoda Tehsil Basoda	Vidisha	Rural	46	Open	DC	20	20	400	12	30	Draw of Lots	5	4
2144	Gahal,On Magardha Rollgaon Road Block Harda Tehsil Harda	Harda	Rural	46	Open	DC	20	20	400	12	30	Draw of Lots	5	4
2145	Magardha On Magardha Harda Road Block Harda Tehsil Harda	Harda	Rural	72	ST	CFS	20	20	400	0	0	Draw of Lots	0	2
2146	Bisonikalan To Pagdal Block Seonimalwa Tehsil Seoni Malwa	Hoshangabad	Rural	46	OBC	DC	20	20	400	12	30	Draw of Lots	5	3
2147	Mehra Gaon Itarsi On Itarsi Dolariya Road Block Itarsi Tehsil Itrasi	Hoshangabad	Rural	46	Open	DC	20	20	400	12	30	Draw of Lots	5	4
2148	Manora Block Gyaraspur Tehsil Gyaraspur	Vidisha	Rural	46	Open CC 1	DC	20	20	400	12	30	Draw of Lots	5	4
2149	Natertan Block Nateran Tehsil Nateran	Vidisha	Rural	46	OBC	DC	20	20	400	12	30	Draw of Lots	5	3
2150	Bamhangaon Kala Block Hoshangabad Tehsil Dolariya	Hoshangabad	Rural	72	ST	CFS	20	20	400	0	0	Draw of Lots	0	2
2151	Rampur On Rampur Itarsi Road Block Hoshangabad Tehsil Itrasi	Hoshangabad	Rural	46	Open	DC	20	20	400	12	30	Draw of Lots	5	4
2152	Charuwa Block Kirkiya Tehsil Khirkiya	Harda	Rural	46	Open	DC	20	20	400	12	30	Draw of Lots	5	4
2153	Motia (Saket) Itarsi - Sawalkheda Road Block Itarsi Tehsil Itrasi	Hoshangabad	Rural	46	OBC	DC	20	20	400	12	30	Draw of Lots	5	3
2154	Paraswada, On Paraswada Bankhedi Road Block Bankhedi Tehsil Bankhec	Hoshangabad	Rural	72	SC	CFS	20	20	400	0	0	Draw of Lots	0	2
2155	Himmatpur Block Pachore Tehsil Pichore	Shivpuri	Rural	46	Open	DC	20	20	400	12	30	Draw of Lots	5	4
2156	Gram Deharda Ganesh Block Badarwas Tehsil Badarwas	Shivpuri	Rural	46	Open	DC	20	20	400	12	30	Draw of Lots	5	4
2157	Sillarpur On Karera Road Block Karera Tehsil Karera	Shivpuri	Rural	46	OBC	DC	20	20	400	12	30	Draw of Lots	5	3
2158	Birpur On Birpur -Sabalgarh Road Block Vijaypur Tehsil Beerpur	Sheopur	Rural	46	Open	DC	20	20	400	12	30	Draw of Lots	5	4

2159	Rupepur Block Pichhore Tehsil Pichhore	Shivpuri	Rural	72	ST CC 1	CFS	20	20	400	0	0	Draw of Lots	0	2
2160	Sunari On Sunari-Dabra Road Block Narwar Tehsil Narwar	Shivpuri	Rural	46	Open CC 2	DC	20	20	400	12	30	Draw of Lots	5	4
2161	Gram Pangatha On Magrauni Road Block Narwar Tehsil Narwar	Shivpuri	Rural	46	OBC CC 1	DC	20	20	400	12	30	Draw of Lots	5	3
2162	Gilgawan Block Kolaras Tehsil Kolaras	Shivpuri	Rural	46	Open	DC	20	20	400	12	30	Draw of Lots	5	4
2163	Dhoti Block Sheopur Tehsil Sheopur	Sheopur	Rural	72	ST	CFS	20	20	400	0	0	Draw of Lots	0	2
2164	Toda Kareree,Tehsil Karera Block Karera Tehsil Karera	Shivpuri	Rural	46	OBC	DC	20	20	400	12	30	Draw of Lots	5	3
2165	Shyampur On Sheopur Morena Road Block Vijaypur Tehsil Beerpur	Sheopur	Rural	46	Open	DC	20	20	400	12	30	Draw of Lots	5	4
2166	Dholagarh Block Shivpuri Tehsil Shivpuri	Shivpuri	Rural	46	Open	DC	20	20	400	12	30	Draw of Lots	5	4
2167	Jargawan Abbal Block Karera Tehsil Karera	Shivpuri	Rural	46	OBC	DC	20	20	400	12	30	Draw of Lots	5	3
2168	Pipalkhedakalan On Kararia Chouraha To Shamshabad Road Block Vidisha	Vidisha	Rural	72	SC	CFS	20	20	400	0	0	Draw of Lots	0	2
2169	Khairaghat On Karera-Bhitarwar Road Block Karera Tehsil Karera	Shivpuri	Rural	46	Open	DC	20	20	400	12	30	Draw of Lots	5	4
2170	Magroni On Magroni-Narwar Road Block Narwar Tehsil Narwar	Shivpuri	Rural	46	Open	DC	20	20	400	12	30	Draw of Lots	5	4
2171	Within 1Km From New Mandi, Piparsama Towards Shivpuri Block Shivpuri	Shivpuri	Rural	46	OBC	DC	20	20	400	12	30	Draw of Lots	5	3
2172	Rampur On Kolaras- Bhadota Road Block Kolaras Tehsil Kolaras	Shivpuri	Rural	72	ST	CFS	20	20	400	0	0	Draw of Lots	0	2
2173	Lalitpura On Baroda Road Block Sheopur Tehsil Badoda	Sheopur	Rural	46	Open	DC	20	20	400	12	30	Draw of Lots	5	4
2174	Kanapur On Sheopur Road Block Sheopur Tehsil Sheopur	Sheopur	Rural	46	Open CC 1	DC	20	20	400	12	30	Draw of Lots	5	4
2175	Gaswani On Gaswani Vijaypur Road Within 2 Km From Mpeb Center Block	Sheopur	Rural	46	OBC	DC	20	20	400	12	30	Draw of Lots	5	3
2176	Gram Panchayat Karahal On Khirkhiri Road Block Karhal Tehsil Karhal	Sheopur	Rural	72	ST	CFS	20	20	400	0	0	Draw of Lots	0	2
2177	Rawatpura Sani On Amayan Lahar Road Block Lahar Tehsil Lahar	Bhind	Rural	46	Open	DC	20	20	400	12	30	Draw of Lots	5	4

		1	r											
2178	2 Km From Zaida Tiraha Towards Baroda On Sheopur-Baroda Road Block	Sheopur	Rural	46	Open	DC	20	20	400	12	30	Draw of Lots	5	4
2179	Umri Kalan Block Pichhore Tehsil Pichhore	Shivpuri	Rural	46	OBC	DC	20	20	400	12	30	Draw of Lots	5	3
2180	Sunaj On Padora-Pichhore Road Block Badarwas Tehsil Kolaras	Shivpuri	Rural	46	Open	DC	20	20	400	12	30	Draw of Lots	5	4
2181	Nawli On Sirsod-Khod Road Block Pichhore Tehsil Pichhore	Shivpuri	Rural	72	SC	CFS	20	20	400	0	0	Draw of Lots	0	2
2182	Amolpatha Block Karera Tehsil Karera	Shivpuri	Rural	46	Open	DC	20	20	400	12	30	Draw of Lots	5	4
2183	Sahasram Block Vijaypur Tehsil Vijaypur	Sheopur	Rural	46	OBC	DC	20	20	400	12	30	Draw of Lots	5	3
2184	Semari On Pichhore Road Block Kolaras Tehsil Pichhore	Shivpuri	Rural	46	Open	DC	20	20	400	12	30	Draw of Lots	5	4
2185	Aswar On Seondha Chorai Road Block Lahar Tehsil Lahar	Bhind	Rural	72	SC PH	CFS	20	20	400	0	0	Draw of Lots	0	2
2186	Gram Chapak Block Porsa Tehsil Porsa	Morena	Rural	46	OBC PH	DC	20	20	400	12	30	Draw of Lots	5	3
2187	Sikroda On Morena Sikroda Road Block Morena Tehsil Morena	Morena	Rural	46	Open	DC	20	20	400	12	30	Draw of Lots	5	4
2188	Sadha On Bhind Amayan Road Block Mehgaon Tehsil Mehgaon	Bhind	Rural	46	Open	DC	20	20	400	12	30	Draw of Lots	5	4
2189	Kamtari On Morena-Porsa Road Block Ambah Tehsil Ambah	Morena	Rural	46	OBC	DC	20	20	400	12	30	Draw of Lots	5	3
2190	Alapur On Jaura-Alapur Road Block Joura Tehsil Joura	Morena	Rural	72	ST	CFS	20	20	400	0	0	Draw of Lots	0	2
2191	Sujarma On Kailaras Sujarma Road Block Kailaras Tehsil Kailaras	Morena	Rural	46	Open	DC	20	20	400	12	30	Draw of Lots	5	4
2192	Gram Tehara Post Dhondari Block Porsa Tehsil Porsa	Morena	Rural	46	Open	DC	20	20	400	12	30	Draw of Lots	5	4
2193	Rawatpura On Rawatpura Road Block Mehgaon Tehsil Gormi	Bhind	Rural	46	OBC	DC	20	20	400	12	30	Draw of Lots	5	3
2194	Antari Block Kailaras Tehsil Kailras	Morena	Rural	72	SC	CFS	20	20	400	0	0	Draw of Lots	0	2
2195	Between Uhar And Dehri On Sironj-Ambanagar Road Block Sironj Tehsil Si	Vidisha	Rural	46	Open	DC	20	20	400	12	30	Draw of Lots	5	4
2196	Mihona On Bhind Gopalpura Road Block Mohona Tehsil Mihona	Bhind	Rural	46	Open	DC	20	20	400	12	30	Draw of Lots	5	4

2197	Bharouli On Bhind Bharoli Road Block Mehgaon Tehsil Mehgaon	Bhind	Rural	46	Open	DC	20	20	400	12	30	Draw of Lots	5	4
2198	Unarsi Kalan Block Lateri Tehsil Lateri	Vidisha	Rural	46	OBC	DC	20	20	400	12	30	Draw of Lots	5	3
2199	Muktapur, Block Sanchi Tehsil Raisen	Raisen	Rural	72	ST	CFS	20	20	400	0	0	Draw of Lots	0	2
2200	Bamaniya Block Rajgarh Tehsil Rajgarh	Rajgarh	Rural	46	Open CC 1	DC	20	20	400	12	30	Draw of Lots	5	4
2201	Sankra On Runipur Road Block Joura Tehsil Joura	Morena	Rural	46	OBC	DC	20	20	400	12	30	Draw of Lots	5	3
2202	Gujarna Block Pahadgarh Tehsil Joura	Morena	Rural	46	Open	DC	20	20	400	12	30	Draw of Lots	5	4
2203	Kheda Mewda On Morena Ambah Road Block Morena Tehsil Morena	Morena	Rural	72	SC	CFS	20	20	400	0	0	Draw of Lots	0	2
2204	Bamsoli On Sabalgarh Bamsoli Road Block Sabalgarh Tehsil Sabalgarh	Morena	Rural	46	Open	DC	20	20	400	12	30	Draw of Lots	5	4
2205	Gram Mungavali On Mehgaon-Gona Road Block Mehgaon Tehsil Mehgaor	Bhind	Rural	46	OBC	DC	20	20	400	12	30	Draw of Lots	5	3
2206	Bhadawali Block Porsa Tehsil Porsa	Morena	Rural	46	Open	DC	20	20	400	12	30	Draw of Lots	5	4
2207	Chandarpura On Bhind Barolli Road Block Bhind Tehsil Bhind	Bhind	Rural	46	Open	DC	20	20	400	12	30	Draw of Lots	5	4
2208	Rampahadi Block Sabalgarh Tehsil Sabalgarh	Morena	Rural	72	ST CC 1	CFS	20	20	400	0	0	Draw of Lots	0	2
2209	Chitara Block Karahal Tehsil Karahal	Sheopur	Rural	46	OBC CC 1	DC	20	20	400	12	30	Draw of Lots	5	3
2210	On Phoop Pali Road Rhs Towards Pali Upto 1Km From Nh-92 Junction Blo	Bhind	Rural	46	Open	DC	20	20	400	12	30	Draw of Lots	5	4
2211	Tentara Block Sabalgarh Tehsil Sabalgarh	Morena	Rural	46	Open PH	DC	20	20	400	12	30	Draw of Lots	5	4
2212	Piproli Block Mehgaon Tehsil Mehgaon	Bhind	Rural	72	ST	CFS	20	20	400	0	0	Draw of Lots	0	2
2213	3 Km From Shikarpur Railway Line Crossing Towards Nandepura Road (Pr	Morena	Rural	46	OBC	DC	20	20	400	12	30	Draw of Lots	5	3
2214	Khargapur Block Khargapur Tehsil Khargapur	Tikamgarh	Rural	46	Open	DC	20	20	400	12	30	Draw of Lots	5	4
2215	Gram Berai Block Porsa Tehsil Porsa	Morena	Rural	46	OBC	DC	20	20	400	12	30	Draw of Lots	5	3

2216	Gram Budhanpur From Gormi To Porsa Ater Road Block Ater Tehsil Ater	Bhind	Rural	72	ST	CFS	20	20	400	0	0	Draw of Lots	0	2
2217	Bichalpura On Thengur Road Block Bhind Tehsil Bhind	Bhind	Rural	46	Open	DC	20	20	400	12	30	Draw of Lots	5	4
2218	Within 2 Kms From Shyampur Junction Towards Sehore On Shyampur Seh	Sehore	Rural	46	Open	DC	20	20	400	12	30	Draw of Lots	5	4
2219	Makodiya On Salkanpur Anwli Ghat Road Block Budni Tehsil Rehti	Sehore	Rural	46	Open	DC	20	20	400	12	30	Draw of Lots	5	4
2220	Harmau On Chakaldi Satrana Road Block Nasrullaganj Tehsil Rehti	Sehore	Rural	46	OBC	DC	20	20	400	12	30	Draw of Lots	5	3
2221	Janpur Bawadia Block Sehore Tehsil Sehore	Sehore	Rural	72	SC	CFS	20	20	400	0	0	Draw of Lots	0	2
2222	Satoraniya Block Sehore Tehsil Shyampur	Sehore	Rural	46	Open	DC	20	20	400	12	30	Draw of Lots	5	4
2223	Mankapur Block Badi Tehsil Badi	Raisen	Rural	46	Open CC 1	DC	20	20	400	12	30	Draw of Lots	5	4
2224	Nimnagaon Block Nasrullaganj Tehsil Nasrullaganj	Sehore	Rural	46	OBC	DC	20	20	400	12	30	Draw of Lots	5	3
2225	Kishangarh Block Begamganj Tehsil Begumganj	Raisen	Rural	72	ST	CFS	20	20	400	0	0	Draw of Lots	0	2
2226	Searmau Block Silwani Tehsil Silwani	Raisen	Rural	46	Open	DC	20	20	400	12	30	Draw of Lots	5	4
2227	Khaparkheda Block Pipariya Tehsil Piparia	Hoshangabad	Rural	46	OBC	DC	20	20	400	12	30	Draw of Lots	5	3
2228	Jamoniya Hatesingh Block Icchawar Tehsil Icchawar	Sehore	Rural	46	Open	DC	20	20	400	12	30	Draw of Lots	5	4
2229	Gouharganj Within 1 Kms From Ambai Trisection On Gouharganj Bhojpur R	Raisen	Rural	46	Open	DC	20	20	400	12	30	Draw of Lots	5	4
2230	Satlapur Block Obedullaganj Tehsil Goharganj	Raisen	Rural	72	SC	CFS	20	20	400	0	0	Draw of Lots	0	2
2231	Semra Dangi Block Sehore Tehsil Sehore	Sehore	Rural	46	OBC	DC	20	20	400	12	30	Draw of Lots	5	3
2232	Bain On Piplani Gopalpur Road Block Nasrullaganj Tehsil Nasrullaganj	Sehore	Rural	46	Open	DC	20	20	400	12	30	Draw of Lots	5	4
2233	Dahod On Dahod Mandideep Road Block Obedullaganj Tehsil Gouharganj	Raisen	Rural	46	Open	DC	20	20	400	12	30	Draw of Lots	5	4
2234	Chunhetiya Block Silwani Tehsil Silwani	Raisen	Rural	72	ST	CFS	20	20	400	0	0	Draw of Lots	0	2

2235	Hakimpur Block Astha Tehsil Jawar	Sehore	Rural	46	OBC	DC	20	20	400	12	30	Draw of Lots	5	3
2236	Rampura Chakaldi On Chakaldi Satrana Road Block Nasrullaganj Tehsil Re	Sehore	Rural	46	Open	DC	20	20	400	12	30	Draw of Lots	5	4
2237	Kamton Block Badi Tehsil Baraily	Raisen	Rural	46	Open	DC	20	20	400	12	30	Draw of Lots	5	4
2238	Sardar Nagar Block Budni Tehsil Budni	Sehore	Rural	46	OBC	DC	20	20	400	12	30	Draw of Lots	5	3
2239	Chhater Block Udaipura Tehsil Udaipura	Raisen	Rural	72	ST	CFS	20	20	400	0	0	Draw of Lots	0	2
2240	Boras Block Udaipura Tehsil Udaipura	Raisen	Rural	46	Open	DC	20	20	400	12	30	Draw of Lots	5	4
2241	Khireti Block Udaipura Tehsil Udaipura	Raisen	Rural	46	Open	DC	20	20	400	12	30	Draw of Lots	5	4
2242	Dighawan Block Udaipura Tehsil Udaipura	Raisen	Rural	46	OBC	DC	20	20	400	12	30	Draw of Lots	5	3
2243	Bamuliya Block Sehore Tehsil Sehore	Sehore	Rural	72	SC	CFS	20	20	400	0	0	Draw of Lots	0	2
2244	Gurariya Block Badi Tehsil Baraily	Raisen	Rural	46	Open	DC	20	20	400	12	30	Draw of Lots	5	4
2245	Amrawad Kalan Block Badi Tehsil Badi	Raisen	Rural	46	Open	DC	20	20	400	12	30	Draw of Lots	5	4
2246	Mogra On Salkanpur Anwli Ghat Road Block Budni Tehsil Rehti	Sehore	Rural	46	OBC	DC	20	20	400	12	30	Draw of Lots	5	3
2247	Bilkisganj Block Sehore Tehsil Sehore	Sehore	Rural	46	Open	DC	20	20	400	12	30	Draw of Lots	5	4
2248	Nipaniya Kalan Block Astha Tehsil Ashta	Sehore	Rural	72	ST	CFS	20	20	400	0	0	Draw of Lots	0	2
2249	Kingi Block Badi Tehsil Baraily	Raisen	Rural	46	OBC	DC	20	20	400	12	30	Draw of Lots	5	3
2250	Bager Block Astha Tehsil Ashta	Sehore	Rural	46	Open CC 1	DC	20	20	400	12	30	Draw of Lots	5	4
2251	Mograram Block Sehore Tehsil Sehore	Sehore	Rural	46	Open	DC	20	20	400	12	30	Draw of Lots	5	4
2252	Ramgarh Of Bhander Dalipura Road Block Bhander Tehsil Bhander	Datia	Rural	72	SC	CFS	20	20	400	0	0	Draw of Lots	0	2
2253	Bharkachha Kalan Block Badi Tehsil Badi	Sehore	Rural	46	OBC	DC	20	20	400	12	30	Draw of Lots	5	3

2254	Bhonra Block Astha Tehsil Ashta	Sehore	Rural	46	Open	DC	20	20	400	12	30	Draw of Lots	5	4
2255	Bhonra Kachhi Block Ashoknagar Tehsil Ashoknagar	Ashoknagar	Rural	46	Open	DC	20	20	400	12	30	Draw of Lots	5	4
2256	Khedicourt Block Multai Tehsil Multai	Betul	Rural	72	ST	CFS	20	20	400	0	0	Draw of Lots	0	2
2257	Dharnawada Within 14Km From locl Guna Bottling Plant Towards Dharnaw	Guna	Rural	46	OBC	DC	20	20	400	12	30	Draw of Lots	5	3
2258	Mundra On Shadora Nai Sarai Road Block Mungaoli Tehsil Mungaoli	Ashoknagar	Rural	46	Open	DC	20	20	400	12	30	Draw of Lots	5	4
2259	Patai (On Patai-Umri Rd.) Block Guna Tehsil Guna	Guna	Rural	46	Open CC 2	DC	20	20	400	12	30	Draw of Lots	5	4
2260	Pachwali (Not On Sh) Block Kolaras Tehsil Kolaras	Shivpuri	Rural	46	OBC CC 1	DC	20	20	400	12	30	Draw of Lots	5	3
2261	Within 1Km From Wajidpur Shadora Chauraha Towards Ashoknagar On Ar	Ashoknagar	Rural	72	SC CC 1	CFS	20	20	400	0	0	Draw of Lots	0	2
2262	Miyanpur On Shadora Ishagarh Road Block Ashoknagar Tehsil Shadora	Ashoknagar	Rural	46	Open	DC	20	20	400	12	30	Draw of Lots	5	4
2263	Markimahu With In 2 Km From Old Hospital Block Guna Tehsil Guna	Guna	Rural	46	Open	DC	20	20	400	12	30	Draw of Lots	5	4
2264	In Singhada Gaon On Athai Kheda Tamasha Road Block Mungaoli Tehsil N	Ashoknagar	Rural	46	OBC	DC	20	20	400	12	30	Draw of Lots	5	3
2265	Amalya Gocha On Janjali Maksudangarh Road Block Raghogarh Tehsil Ma	Guna	Rural	72	ST	CFS	20	20	400	0	0	Draw of Lots	0	2
2266	Amoda On Shadora Wajidpur Road Block Ashoknagar Tehsil Shadora	Ashoknagar	Rural	46	Open	DC	20	20	400	12	30	Draw of Lots	5	4
2267	Barvahi Block Betul Tehsil Betul	Betul	Rural	46	Open	DC	20	20	400	12	30	Draw of Lots	5	4
2268	Within 4 Km From Bangla Chauraha At Sumer Block Mungaoli Tehsil Mung	Ashoknagar	Rural	46	OBC	DC	20	20	400	12	30	Draw of Lots	5	3
2269	Takanera On Miana Taknera Road Block Guna Tehsil Guna	Guna	Rural	46	Open	DC	20	20	400	12	30	Draw of Lots	5	4
2270	Sundar Khedi On Janjali Maksudangarh Road Block Raghogarh Tehsil Rag	Guna	Rural	72	SC	CFS	20	20	400	0	0	Draw of Lots	0	2
2271	Within 4Km From Shadora On Guna Ashoknagar Road At Nagau Khedi Blo	Ashoknagar	Rural	46	Open	DC	20	20	400	12	30	Draw of Lots	5	4
2272	Ram Nagar On Fatehgarh Khusepur Road Block Bamori Tehsil Bamori	Guna	Rural	46	OBC	DC	20	20	400	12	30	Draw of Lots	5	3

2273	Lakhangarh Block Basoda Tehsil Basoda	Vidisha	Rural	46	Open CC 1	DC	20	20	400	12	30	Draw of Lots	5	4
2274	In Mrigwas On Road Connecting Binaganj To Batawada To Mrigwas To Sar	Guna	Rural	72	ST	CFS	20	20	400	0	0	Draw of Lots	0	2
2275	Mehda On Gorai Road Block Mihona Tehsil Roun	Bhind	Rural	46	OBC	DC	20	20	400	12	30	Draw of Lots	5	3
2276	Bagheri On Guna Bamori Road Block Bamori Tehsil Bamori	Guna	Rural	46	Open	DC	20	20	400	12	30	Draw of Lots	5	4
2277	Within 1 Km From Renjha Mudra Tiraha Towards Nayi Saray On Lhs Block	Ashoknagar	Rural	46	Open	DC	20	20	400	12	30	Draw of Lots	5	4
2278	Jawar On Kajlas Road Block Jawar Tehsil Jawar	Sehore	Rural	46	OBC	DC	20	20	400	12	30	Draw of Lots	5	3
2279	Madhopura Block Kailaras Tehsil Kailaras	Morena	Rural	72	SC	CFS	20	20	400	0	0	Draw of Lots	0	2
2280	Leelakhedi Block Sehore Tehsil Sehore	Sehore	Rural	46	Open	DC	20	20	400	12	30	Draw of Lots	5	4
2281	Jhundpura On Semai Jhundpura Road Block Sabalgarh Tehsil Sabalgarh	Morena	Rural	46	Open	DC	20	20	400	12	30	Draw of Lots	5	4
2282	Kalipith Block Rajgarh Tehsil Rajgarh	Rajgarh	Rural	46	OBC	DC	20	20	400	12	30	Draw of Lots	5	3
2283	Dhekan Block Mungaoli Tehsil Mungaoli	Ashoknagar	Rural	72	ST	CFS	20	20	400	0	0	Draw of Lots	0	2
2284	Kodiya Block Phanda (Bhopal) Tehsil Huzur	Bhopal	Rural	46	Open	DC	20	20	400	12	30	Draw of Lots	5	4
2285	Umri With In 2 Km From Umri Global School Block Guna Tehsil Guna	Guna	Rural	46	Open	DC	20	20	400	12	30	Draw of Lots	5	4
2286	Tharr Block Vidisha Tehsil Vidisha	Vidisha	Rural	46	OBC PH	DC	20	20	400	12	30	Draw of Lots	5	3
2287	Sontalai Block Harda Tehsil Handiya	Harda	Rural	72	ST PH	CFS	20	20	400	0	0	Draw of Lots	0	2
2288	Within 2 Km From Karpa Chouraha On Khedli-Bordehi Marg Towards Multa	Betul	Rural	46	Open	DC	20	20	400	12	30	Draw of Lots	5	4
2289	Chunalohma Block Bhimpur Tehsil Bhainsdehi	Betul	Rural	46	Open	DC	20	20	400	12	30	Draw of Lots	5	4
2290	Hasalpur On Amla Pankha Road Block Amla Tehsil Amla	Betul	Rural	46	OBC	DC	20	20	400	12	30	Draw of Lots	5	3
2291	Prabhat Pattan On Birolijhilpa Road Block Prabhatpattan Tehsil Multai	Betul	Rural	46	Open	DC	20	20	400	12	30	Draw of Lots	5	4

-														
2292	Hiwarkhed Towards Bhainsdehi-Multai Road Block Prabhatpattan Tehsil M	Betul	Rural	72	SC	CFS	20	20	400	0	0	Draw of Lots	0	2
2293	Bhimpur On The Road Towards Sh26 Block Bhimpur Tehsil Bhainsdehi	Betul	Rural	46	Open	DC	20	20	400	12	30	Draw of Lots	5	4
2294	Damron Khurd Block Karera Tehsil Karera	Shivpuri	Rural	46	OBC	DC	20	20	400	12	30	Draw of Lots	5	3
2295	Pathakheda, On The Road Towards Nh47 Block Multai Tehsil Multai	Betul	Rural	46	Open	DC	20	20	400	12	30	Draw of Lots	5	4
2296	Masod On Bhainsdehi-Multai Road Block Prabhatpattan Tehsil Multai	Betul	Rural	72	ST	CFS	20	20	400	0	0	Draw of Lots	0	2
2297	Jamdehi Kalan Block Amla Tehsil Amla	Betul	Rural	46	OBC	DC	20	20	400	12	30	Draw of Lots	5	3
2298	Pisata On Moharkheda And Karajgaon Road Block Multai Tehsil Multai	Betul	Rural	46	Open	DC	20	20	400	12	30	Draw of Lots	5	4
2299	Gurva Block Bhimpur Tehsil Bhainsdehi	Betul	Rural	46	Open CC 1	DC	20	20	400	12	30	Draw of Lots	5	4
2300	Sainkheda On Junapani - Jamthi Road Block Multai Tehsil Multai	Betul	Rural	46	OBC	DC	20	20	400	12	30	Draw of Lots	5	3
2301	Ratamati On Road Towards Sh26 Block Bhimpur Tehsil Bhainsdehi	Betul	Rural	72	ST	CFS	20	20	400	0	0	Draw of Lots	0	2
2302	Khedli Bazar Towards Multai Block Amla Tehsil Amla	Betul	Rural	46	Open	DC	20	20	400	12	30	Draw of Lots	5	4
2303	Jhallar Block Bhainsdehi Tehsil Bhainsdehi	Betul	Rural	46	Open	DC	20	20	400	12	30	Draw of Lots	5	4
2304	Rondha Towards Nayegaon Block Betuk Tehsil Betul	Betul	Rural	46	OBC	DC	20	20	400	12	30	Draw of Lots	5	3
2305	Pipariya Towards Bhainsdehi-Multai Road Block Bhimpur Tehsil Bhainsdeh	Betul	Rural	72	SC	CFS	20	20	400	0	0	Draw of Lots	0	2
2306	Ghat Pipriya Block Multai Tehsil Multai	Betul	Rural	46	Open	DC	20	20	400	12	30	Draw of Lots	5	4
2307	Chikhali On Chhuri- Jhadkund Road Block Bhainsdehi Tehsil Bhainsdehi	Betul	Rural	46	Open	DC	20	20	400	12	30	Draw of Lots	5	4
2308	Within 3 Km From Baldeogarh Tiraha Towards Khargapur On Baldeogarh K	Tikamgarh	Rural	46	Open	DC	20	20	400	12	30	Draw of Lots	5	4
2309	Satguwa Khas On Lidhora To Jatara Road Block Jatara Tehsil Lidhora	Tikamgarh	Rural	46	OBC CC 1	DC	20	20	400	12	30	Draw of Lots	5	3
2310	Budaur On Palera Road Block Palera Tehsil Palera	Tikamgarh	Rural	72	SC CC 1	CFS	20	20	400	0	0	Draw of Lots	0	2

2311	Seoda Block Astha Tehsil Ashta	Sehore	Rural	46	Open PH	DC	20	20	400	12	30	Draw of Lots	5	4
2312	Bhelsi On Baldeogarh To Khargapur Road Block Baldeogarh Tehsil Baldeo	Tikamgarh	Rural	46	OBC	DC	20	20	400	12	30	Draw of Lots	5	3
2313	Ghoorakhas Block Palera Tehsil Palera	Tikamgarh	Rural	46	Open	DC	20	20	400	12	30	Draw of Lots	5	4
2314	Borkheda Kalan Block Nasrullaganj Tehsil Nasrullaganj	Sehore	Rural	72	ST	CFS	20	20	400	0	0	Draw of Lots	0	2
2315	Piplani Block Nasrullaganj Tehsil Nasrullaganj	Sehore	Rural	46	Open	DC	20	20	400	12	30	Draw of Lots	5	4
2316	Semalpani Kadeem Block Nasrullaganj Tehsil Nasrullaganj	Sehore	Rural	46	OBC	DC	20	20	400	12	30	Draw of Lots	5	3
2317	Chhapari Block Nasrullaganj Tehsil Nasrullaganj	Sehore	Rural	46	Open	DC	20	20	400	12	30	Draw of Lots	5	4
2318	Tiladia Block Nasrullaganj Tehsil Nasrullaganj	Sehore	Rural	46	Open	DC	20	20	400	12	30	Draw of Lots	5	4
2319	Diwadiya Block Icchawar Tehsil Icchawar	Sehore	Rural	72	SC	CFS	20	20	400	0	0	Draw of Lots	0	2
2320	Brijis Nagar Block Icchawar Tehsil Icchawar	Sehore	Rural	46	OBC	DC	20	20	400	12	30	Draw of Lots	5	3
2321	Dhamanda Block Icchawar Tehsil Icchawar	Sehore	Rural	46	Open	DC	20	20	400	12	30	Draw of Lots	5	4
2322	Kheri Block Icchawar Tehsil Icchawar	Sehore	Rural	46	Open CC 1	DC	20	20	400	12	30	Draw of Lots	5	4
2323	Jhalki Block Icchawar Tehsil Icchawar	Sehore	Rural	72	ST	CFS	20	20	400	0	0	Draw of Lots	0	2
2324	Timrawan Block Udaipura Tehsil Udaipura	Raisen	Rural	46	OBC	DC	20	20	400	12	30	Draw of Lots	5	3
2325	Khandwa Block Sehore Tehsil Shyampur	Sehore	Rural	46	Open	DC	20	20	400	12	30	Draw of Lots	5	4
2326	Dagawan Shankar Block Harda Tehsil Harda	Harda	Rural	46	Open	DC	20	20	400	12	30	Draw of Lots	5	4
2327	Khajuriya Kalan Block Sehore Tehsil Shyampur	Sehore	Rural	46	OBC	DC	20	20	400	12	30	Draw of Lots	5	3
2328	Patan Block Sehore Tehsil Shyampur	Sehore	Rural	72	ST	CFS	20	20	400	0	0	Draw of Lots	0	2
2329	Murawar Block Astha Tehsil Jawar	Sehore	Rural	46	Open	DC	20	20	400	12	30	Draw of Lots	5	4

														[]
2330	Siradi Block Sehore Tehsil Shyampur	Sehore	Rural	46	Open	DC	20	20	400	12	30	Draw of Lots	5	4
2331	Metwara Block Astha Tehsil Jawar	Sehore	Rural	46	OBC	DC	20	20	400	12	30	Draw of Lots	5	3
2332	Siddiqueganj Block Astha Tehsil Jawar	Sehore	Rural	72	SC	CFS	20	20	400	0	0	Draw of Lots	0	2
2333	Kajlas Block Astha Tehsil Jawar	Sehore	Rural	46	Open	DC	20	20	400	12	30	Draw of Lots	5	4
2334	Doraha Block Sehore Tehsil Shyampur	Sehore	Rural	46	Open	DC	20	20	400	12	30	Draw of Lots	5	4
2335	Mukhtyar Nagar Block Sehore Tehsil Shyampur	Sehore	Rural	46	OBC	DC	20	20	400	12	30	Draw of Lots	5	3
2336	Nandara Block Harda Tehsil Handiya	Harda	Rural	72	ST	CFS	20	20	400	0	0	Draw of Lots	0	2
2337	Tekapar Khodi Block Gairatganj Tehsil Gairatgunj	Raisen	Rural	46	Open	DC	20	20	400	12	30	Draw of Lots	5	4
2338	Ahmadpur Block Sehore Tehsil Shyampur	Sehore	Rural	46	OBC	DC	20	20	400	12	30	Draw of Lots	5	3
2339	Barod Block Raghogarh Tehsil Maksudangarh	Guna	Rural	46	Open	DC	20	20	400	12	30	Draw of Lots	5	4
2340	Tarena On Suthaliya To Narsingh Garh Road Block Biaora Tehsil Biaora	Rajgarh	Rural	46	Open	DC	20	20	400	12	30	Draw of Lots	5	4
2341	Fofilya Block Shahpur Tehsil Shahpur	Betul	Rural	72	SC	CFS	20	20	400	0	0	Draw of Lots	0	2
2342	Sora (On Mau To Behat Road) Block Gohad Tehsil Gohad	Bhind	Rural	46	OBC	DC	20	20	400	12	30	Draw of Lots	5	3
2343	Magrana Block Guna Tehsil Guna	Guna	Rural	46	Open	DC	20	20	400	12	30	Draw of Lots	5	4
2344	Kudila On Khargapur Road Block Baldeogarh Tehsil Khargapur	Tikamgarh	Rural	46	Open	DC	20	20	400	12	30	Draw of Lots	5	4
2345	Kajli Block Amla Tehsil Amla	Betul	Rural	72	ST	CFS	20	20	400	0	0	Draw of Lots	0	2
2346	Malakhedi Block Hoshangabad Tehsil Hoshangabad	Hoshangabad	Rural	46	OBC	DC	20	20	400	12	30	Draw of Lots	5	3
2347	Kanathar Block Mehgaon Tehsil Mehgaon	Bhind	Rural	46	Open	DC	20	20	400	12	30	Draw of Lots	5	4
2348	Baijnath Block Astha Tehsil Ashta	Sehore	Rural	46	Open CC 1	DC	20	20	400	12	30	Draw of Lots	5	4

			1	1										i i i i i i i i i i i i i i i i i i i
2349	Kadia Hat On Suthaliya Lakhanwas Road Block Biaora Tehsil Biaora	Rajgarh	Rural	46	OBC	DC	20	20	400	12	30	Draw of Lots	5	3
2350	Bichhola Mal Block Harda Tehsil Handiya	Harda	Rural	72	ST	CFS	20	20	400	0	0	Draw of Lots	0	2
2351	Jiwajipur Block Vidisha Tehsil Vidisha	Vidisha	Rural	46	Open	DC	20	20	400	12	30	Draw of Lots	5	4
2352	Dhamjipura Block Bhimpur Tehsil Bhainsdehi	Betul	Rural	46	Open	DC	20	20	400	12	30	Draw of Lots	5	4
2353	Imjhra Block Guna Tehsil Guna	Guna	Rural	46	OBC	DC	20	20	400	12	30	Draw of Lots	5	3
2354	Mayapur On Pichhore-Rannodh Road Block Khaniyadana Tehsil Khaniyada	Shivpuri	Rural	72	SC	CFS	20	20	400	0	0	Draw of Lots	0	2
2355	Rusalla Khurd Block Ashoknagar Tehsil Ashoknagar	Ashoknagar	Rural	46	Open	DC	20	20	400	12	30	Draw of Lots	5	4
2356	Udadmau Block Badi Tehsil Sultanpur	Raisen	Rural	46	Open	DC	20	20	400	12	30	Draw of Lots	5	4
2357	Lashkarpur On Vidisha Kherua Road, Block Vidisha Tehsil Vidisha	Vidisha	Rural	46	OBC	DC	20	20	400	12	30	Draw of Lots	5	3
2358	Sankheda Block Kesala Tehsil Itarsi	Hoshangabad	Rural	46	Open	DC	20	20	400	12	30	Draw of Lots	5	4
2359	Paramandal Block Multai Tehsil Multai	Betul	Rural	72	ST CC 1	CFS	20	20	400	0	0	Draw of Lots	0	2
2360	Barkalan Block Timarni Tehsil Timarni	Harda	Rural	46	Open CC 2	DC	20	20	400	12	30	Draw of Lots	5	4
2361	Ramsagar (On Datia To Badoni Ro) Block Datia Tehsil Badhoni	Datia	Rural	46	OBC CC 1	DC	20	20	400	12	30	Draw of Lots	5	3
2362	Sohagpur Block Betul Tehsil Betul	Betul	Rural	46	Open	DC	20	20	400	12	30	Draw of Lots	5	4
2363	Khutiyawad Block Guna Tehsil Guna	Guna	Rural	72	ST	CFS	20	20	400	0	0	Draw of Lots	0	2
2364	Chhapryai Block Berasia Tehsil Berasia	Bhopal	Rural	46	OBC	DC	20	20	400	12	30	Draw of Lots	5	3
2365	Adampur Block Harda Tehsil Handiya	Harda	Rural	46	Open	DC	20	20	400	12	30	Draw of Lots	5	4
2366	Kesiya Block Shahpur Tehsil Shahpur	Betul	Rural	46	Open	DC	20	20	400	12	30	Draw of Lots	5	4
2367	Rahatkalan Block Khirkiya Tehsil Sirali	Harda	Rural	46	OBC	DC	20	20	400	12	30	Draw of Lots	5	3

2368	Ghatli Block Kesala Tehsil Itarsi	Hoshangabad	Rural	72	SC	CFS	20	20	400	0	0	Draw of Lots	0	2
2300		nosnangabau	Rulai	12	30	0-3	20	20	400	0	0	DIAW OF LOIS	0	2
2369	Amauda Block Ashoknagar Tehsil Shadora	Ashoknagar	Rural	46	Open	DC	20	20	400	12	30	Draw of Lots	5	4
2370	Dhamarra Block Berasia Tehsil Berasia	Bhopal	Rural	46	Open	DC	20	20	400	12	30	Draw of Lots	5	4
2371	Chandbad Block Sehore Tehsil Shyampur	Sehore	Rural	46	OBC	DC	20	20	400	12	30	Draw of Lots	5	3
2372	Parsol Block Issagarh Tehsil Issagarh	Ashoknagar	Rural	72	ST	CFS	20	20	400	0	0	Draw of Lots	0	2
2373	Maholi Block Chanderi Tehsil Chanderi	Ashoknagar	Rural	46	Open	DC	20	20	400	12	30	Draw of Lots	5	4
2374	Baktra Block Budni Tehsil Budhani	Sehore	Rural	46	Open CC 1	DC	20	20	400	12	30	Draw of Lots	5	4
2375	Deori Kala On Harsi Bhitarwar Road Block Bhitarwar Tehsil Bhitarwar	Gwalior	Rural	46	OBC	DC	20	20	400	12	30	Draw of Lots	5	3
2376	Dumar Block Bankhedi Tehsil Bankhedi	Hoshangabad	Rural	72	ST	CFS	20	20	400	0	0	Draw of Lots	0	2
2377	Rampur Block Kolaras Tehsil Kolaras	Shivpuri	Rural	46	Open	DC	20	20	400	12	30	Draw of Lots	5	4
2378	With in 2 KM from Sunar pur chauraha towards Gohad Road Block Mehgao	Bhind	Rural	46	Open	DC	20	20	400	12	30	Draw of Lots	5	4
2379	Dhokheda Block Badi Tehsil Bareli	Raisen	Rural	46	OBC	DC	20	20	400	12	30	Draw of Lots	5	3
2380	Dodari Block Porsa Tehsil Porsa	Morena	Rural	46	Open	DC	20	20	400	12	30	Draw of Lots	5	4
2381	Pachtalai Block Harda Tehsil Handiya	Harda	Rural	72	SC	CFS	20	20	400	0	0	Draw of Lots	0	2
2382	Kamtone Block Badi Tehsil Bareli	Raisen	Rural	46	Open	DC	20	20	400	12	30	Draw of Lots	5	4
2383	Rolgaon Block Harda Tehsil Harda	Harda	Rural	46	OBC	DC	20	20	400	12	30	Draw of Lots	5	3
2384	Bayan Block Budni Tehsil Rehati	Sehore	Rural	46	Open	DC	20	20	400	12	30	Draw of Lots	5	4
2385	Talpura Block Budni Tehsil Budni	Sehore	Rural	72	SC PH	CFS	20	20	400	0	0	Draw of Lots	0	2
2386	Digwad Block Nasrullaganj Tehsil Rehti	Sehore	Rural	46	OBC PH	DC	20	20	400	12	30	Draw of Lots	5	3

Dhabla On Kotri Kalan To Boda Road. Block Narsinghgarh Tehsil Narsinga	Rajgarh	Rural	46	Open	DC	20	20	400	12	30	Draw of Lots	5	4
Chandupura Block Bhind Tehsil Bhind	Bhind	Rural	46	Open	DC	20	20	400	12	30	Draw of Lots	5	4
Kalyanpur Pichore Block Dabra Tehsil Dabra	Gwalior	Rural	46	OBC	DC	20	20	400	12	30	Draw of Lots	5	3
Rajgarh Block Kolaras Tehsil Kolaras	Shivpuri	Rural	72	ST	CFS	20	20	400	0	0	Draw of Lots	0	2
From Deori Kanch Tiraha Towards Harsi Upto 2 Km Block Bhitarwar Tehsil	Gwalior	Rural	46	Open	DC	20	20	400	12	30	Draw of Lots	5	4
klahara On Berul Road Block Prabhatpattan Tehsil Multai	Betul	Rural	46	Open	DC	20	20	400	12	30	Draw of Lots	5	4
Pokharni Block Khirkiya Tehsil Khirkiya	Harda	Rural	46	OBC	DC	20	20	400	12	30	Draw of Lots	5	3
Badnawar On Pohri- Berad Road Block Pohri Tehsil Pohri	Shivpuri	Rural	72	SC	CFS	20	20	400	0	0	Draw of Lots	0	2
Kamthi Block Sohagpur Tehsil Sohagpur	Hoshangabad	Rural	46	Open	DC	20	20	400	12	30	Draw of Lots	5	4
Chandoriya Block Begamganj Tehsil Begum Ganj	Raisen	Rural	46	Open	DC	20	20	400	12	30	Draw of Lots	5	4
Kardai Block Phanda (Bhopal) Tehsil Huzur	Bhopal	Rural	46	Open	DC	20	20	400	12	30	Draw of Lots	5	4
Mundla Block Obedullaganj Tehsil Goharganj	Raisen	Rural	46	OBC	DC	20	20	400	12	30	Draw of Lots	5	3
Noorganj Block Obedullaganj Tehsil Goharganj	Raisen	Rural	72	ST	CFS	20	20	400	0	0	Draw of Lots	0	2
Guradiya Varma Block Astha Tehsil Jawar	Sehore	Rural	46	Open CC 1	DC	20	20	400	12	30	Draw of Lots	5	4
Sasabad Block Amla Tehsil Amla	Betul	Rural	46	OBC	DC	20	20	400	12	30	Draw of Lots	5	3
Hingoni Block Sehore Tehsil Shaympur	Sehore	Rural	46	Open	DC	20	20	400	12	30	Draw of Lots	5	4
Chopna Block Ghoradongri Tehsil Ghora Dongri	Betul	Rural	72	SC	CFS	20	20	400	0	0	Draw of Lots	0	2
Ashapuri Block Obedullaganj Tehsil Goharganj	Raisen	Rural	46	Open	DC	20	20	400	12	30	Draw of Lots	5	4
Bijauri Block Sehore Tehsil Sehore	Sehore	Rural	46	OBC	DC	20	20	400	12	30	Draw of Lots	5	3
	Chandupura Block Bhind Tehsil Bhind Kalyanpur Pichore Block Dabra Tehsil Dabra Rajgarh Block Kolaras Tehsil Kolaras From Deori Kanch Tiraha Towards Harsi Upto 2 Km Block Bhitarwar Tehsil klahara On Berul Road Block Prabhatpattan Tehsil Multai Pokharni Block Khirkiya Tehsil Khirkiya Badnawar On Pohri- Berad Road Block Pohri Tehsil Pohri Kamthi Block Sohagpur Tehsil Sohagpur Chandoriya Block Begamganj Tehsil Begum Ganj Kardai Block Obedullaganj Tehsil Goharganj Avorganj Block Obedullaganj Tehsil Goharganj Buradiya Varma Block Astha Tehsil Jawar Sasabad Block Amla Tehsil Amla tingoni Block Sehore Tehsil Shaympur Chopna Block Obedullaganj Tehsil Goharganj	Calyanpur Pichore Block Dabra Tehsil Dabra       Gwalior         Rajgarh Block Kolaras Tehsil Kolaras       Shivpuri         From Deori Kanch Tiraha Towards Harsi Upto 2 Km Block Bhitarwar Tehsil       Gwalior         Rahara On Berul Road Block Prabhatpattan Tehsil Multai       Betul         Pokharni Block Khirkiya Tehsil Khirkiya       Harda         Badnawar On Pohri- Berad Road Block Pohri Tehsil Pohri       Shivpuri         Gardhi Block Sohagpur Tehsil Sohagpur       Hoshangabad         Chandoriya Block Begamganj Tehsil Begum Ganj       Raisen         Kardai Block Obedullaganj Tehsil Goharganj       Raisen         Aundla Block Obedullaganj Tehsil Goharganj       Sehore         Saabad Block Amla Tehsil Amla       Betul         Sasabad Block Sehore Tehsil Shaympur       Sehore         Shopna Block Ghoradongri Tehsil Goharganj       Betul         Kingoni Block Cobedullaganj Tehsil Goharganj       Betul         Kandaj Block Amla Tehsil Amla       Betul         Kingoni Block Ghoradongri Tehsil Ghora Dongri       Betul	Chandupura       Block Bhind Tehsil Bhind       Bhind       Rural         Calyanpur Pichore Block Dabra Tehsil Dabra       Gwalior       Rural         Rajgarh Block Kolaras Tehsil Kolaras       Shivpuri       Rural         From Deori Kanch Tiraha Towards Harsi Upto 2 Km Block Bhitarwar Tehsil       Gwalior       Rural         Kahara       On Berul Road Block Prabhatpattan Tehsil Multai       Betul       Rural         Pokharni       Block Khirkiya Tehsil Khirkiya       Harda       Rural         Sadnawar On Pohri- Berad Road Block Pohri Tehsil Pohri       Shivpuri       Rural         Sadnawar On Pohri- Berad Road Block Pohri Tehsil Pohri       Shivpuri       Rural         Chandoriya       Block Begamganj Tehsil Begum Ganj       Raisen       Rural         Chandoriya       Block Obedullaganj Tehsil Goharganj       Raisen       Rural         Aundia Block Obedullaganj Tehsil Goharganj       Raisen       Rural         Sasabad Block Amla Tehsil Amla       Betul       Rural         Sasabad Block Anna Tehsil Shaympur       Sehore       Rural         Chopna Block Obedullaganj Tehsil Goharganj       Betul       Rural         Sasabad Block Anna Tehsil Amla       Betul       Rural         Shopna Block Choradongri Tehsil Goharganj       Betul       Rural <t< td=""><td>CorrCo</td><td>ConstructConstructConstructConstructCalyanpur Pichore Block Dabra Tehsil DabraGwaliorRural46OBCCalyanpur Pichore Block Dabra Tehsil DabraGwaliorRural46OBCRajgarh Block Kolaras Tehsil KolarasShivpuriRural72STFrom Deori Kanch Tiraha Towards Harsi Upto 2 Km Block Bhitarwar TehsilGwaliorRural46OpenRichara On Berul Road Block Prabhatpattan Tehsil MultaiBetulRural46OBCPokharni Block Khirkiya Tehsil KhirkiyaHardaRural46OBCBadnawar On Pehri- Berad Road Block Pohri Tehsil PohriShivpuriRural46OpenCanthi Block Sohagpur Tehsil SohagpurHoshangabadRural46OpenCanthi Block Dedullaganj Tehsil GoharganjRaisenRural46OpenAurda Block Obedullaganj Tehsil GoharganjRaisenRural46OBCSasabad Block Anta Tehsil JawarSehoreRural46OpenSasabad Block Anta Tehsil ShaympurSehoreRural46OpenChopna Block Sehore Tehsil ShaympurSehoreRural46OpenChopna Block Obedullaganj Tehsil GoharganjReisenRural46OpenSasabad Block Anta Tehsil AntaBetulRural46OpenChopna Block Obedullaganj Tehsil Ghora DongriBetulRural46OpenChopna Block Obedullaganj Tehsil Ghora DongriReisenRural46OpenChopna Block Obedullag</td><td>Control       Control       Contro       Control       Control</td><td>Control       Control       Contro       Control       Control</td><td>CanadapuraBindRural46OpenDC2020ChandapuraBixindRural46OpenDC2020Calyanpur Pichore Block Dabra Tehal DabraGwalorRural46OBCDC2020Laiganpur Pichore Block Dabra Tehal DabraGwalorRural72STCFS2020Laiganpur Pichore Block Dabra Tehal DabraShippuriRural46OpenDC2020Laigan Block Kolanse Tehal KolanseEhning VanRural46OpenDC2020Kahara On Berul Road Block Prabhatpattan Tehal MultaiBetulRural46OpenDC2020Rotanavar On Pohri- Berad Road Block Printi Tehal PohriBivipuriRural46OpenDC2020Rotanavar On Pohri- Berad Road Block Point Tehal PohriBivipuriRural46OpenDC2020RathangabadRural46OpenDC202020Cantha Block Sohagguar Tehal Road Block Point Tehal PohriBiogalRural46OpenDC2020Chandoniya Block Begangani Tehal Road Block Point Tehal PohriRationRural46OpenDC2020Chandoniya Block Debugagani Tehal RoadRationRural46OpenDC2020Cantha Block Obedullagani Tehal RohaganiRaisenRural46OpenDC2020Sundryn Varme Block Antha T</td><td>Control<t< td=""><td>Conc         Conc         <th< td=""><td>Constraint         Constraint         Constr</td><td>Constraint         Constraint         <thconstraint< th="">         Constraint         Constra</thconstraint<></td><td>And Appendix BitsAnd AppendixAnd</br></br></br></br></br></br></br></br></br></br></br></br></br></br></td></th<></td></t<></td></t<>	CorrCo	ConstructConstructConstructConstructCalyanpur Pichore Block Dabra Tehsil DabraGwaliorRural46OBCCalyanpur Pichore Block Dabra Tehsil DabraGwaliorRural46OBCRajgarh Block Kolaras Tehsil KolarasShivpuriRural72STFrom Deori Kanch Tiraha Towards Harsi Upto 2 Km Block Bhitarwar TehsilGwaliorRural46OpenRichara On Berul Road Block Prabhatpattan Tehsil MultaiBetulRural46OBCPokharni Block Khirkiya Tehsil KhirkiyaHardaRural46OBCBadnawar On Pehri- Berad Road Block Pohri Tehsil PohriShivpuriRural46OpenCanthi Block Sohagpur Tehsil SohagpurHoshangabadRural46OpenCanthi Block Dedullaganj Tehsil GoharganjRaisenRural46OpenAurda Block Obedullaganj Tehsil GoharganjRaisenRural46OBCSasabad Block Anta Tehsil JawarSehoreRural46OpenSasabad Block Anta Tehsil ShaympurSehoreRural46OpenChopna Block Sehore Tehsil ShaympurSehoreRural46OpenChopna Block Obedullaganj Tehsil GoharganjReisenRural46OpenSasabad Block Anta Tehsil AntaBetulRural46OpenChopna Block Obedullaganj Tehsil Ghora DongriBetulRural46OpenChopna Block Obedullaganj Tehsil Ghora DongriReisenRural46OpenChopna Block Obedullag	Control       Contro       Control       Control	Control       Contro       Control       Control	CanadapuraBindRural46OpenDC2020ChandapuraBixindRural46OpenDC2020Calyanpur Pichore Block Dabra Tehal DabraGwalorRural46OBCDC2020Laiganpur Pichore Block Dabra Tehal DabraGwalorRural72STCFS2020Laiganpur Pichore Block Dabra Tehal DabraShippuriRural46OpenDC2020Laigan Block Kolanse Tehal KolanseEhning VanRural46OpenDC2020Kahara On Berul Road Block Prabhatpattan Tehal MultaiBetulRural46OpenDC2020Rotanavar On Pohri- Berad Road Block Printi Tehal PohriBivipuriRural46OpenDC2020Rotanavar On Pohri- Berad Road Block Point Tehal PohriBivipuriRural46OpenDC2020RathangabadRural46OpenDC202020Cantha Block Sohagguar Tehal Road Block Point Tehal PohriBiogalRural46OpenDC2020Chandoniya Block Begangani Tehal Road Block Point Tehal PohriRationRural46OpenDC2020Chandoniya Block Debugagani Tehal RoadRationRural46OpenDC2020Cantha Block Obedullagani Tehal RohaganiRaisenRural46OpenDC2020Sundryn Varme Block Antha T	Control <t< td=""><td>Conc         Conc         <th< td=""><td>Constraint         Constraint         Constr</td><td>Constraint         Constraint         <thconstraint< th="">         Constraint         Constra</thconstraint<></td><td>And Appendix BitsAnd AppendixAnd</br></br></br></br></br></br></br></br></br></br></br></br></br></br></td></th<></td></t<>	Conc         Conc <th< td=""><td>Constraint         Constraint         Constr</td><td>Constraint         Constraint         <thconstraint< th="">         Constraint         Constra</thconstraint<></td><td>And Appendix BitsAnd AppendixAnd</br></br></br></br></br></br></br></br></br></br></br></br></br></br></td></th<>	Constraint         Constr	Constraint         Constraint <thconstraint< th="">         Constraint         Constra</thconstraint<>	And Appendix BitsAnd AppendixAnd 

2406	Mughalia Chaap Block Phanda (Bhopal) Tehsil Huzur	Bhopal	Rural	46	Open	DC	20	20	400	12	30	Draw of Lots	5	4
2407	Nanderwada Block Seonimalwa Tehsil Siwni Malwa	Hoshangabad	Rural	46	Open	DC	20	20	400	12	30	Draw of Lots	5	4
2408	Tajpura-Chipaner Road Block Timarni Tehsil Timarni	Harda	Rural	72	ST CC 1	CFS	20	20	400	0	0	Draw of Lots	0	2
2409	Bankhedi Block Udaipura Tehsil Udaipura	Raisen	Rural	46	OBC CC 1	DC	20	20	400	12	30	Draw of Lots	5	3
2410	Chouras Block Udaipura Tehsil Udaipura	Raisen	Rural	46	Open	DC	20	20	400	12	30	Draw of Lots	5	4
2411	Kenkda Block Udaipura Tehsil Udaipura	Raisen	Rural	46	Open PH	DC	20	20	400	12	30	Draw of Lots	5	4
2412	Kuchwada Block Kuchwada Tehsil Udaipura	Raisen	Rural	72	ST	CFS	20	20	400	0	0	Draw of Lots	0	2
2413	Khamla On Bhainsdehi Road Block Bhainsdehi Tehsil Bhainsdehi	Betul	Rural	46	OBC	DC	20	20	400	12	30	Draw of Lots	5	3
2414	With In 3 Km Jamner Police Station Towards Maksudangarh Block Raghoga	Guna	Rural	46	Open	DC	20	20	400	12	30	Draw of Lots	5	4
2415	Araskheda Block Aron Tehsil Aron	Guna	Rural	46	OBC	DC	20	20	400	12	30	Draw of Lots	5	3
2416	Chaudakhedi Block Raghogarh Tehsil Raghogarh	Guna	Rural	72	ST	CFS	20	20	400	0	0	Draw of Lots	0	2
2417	Hingawali Block Porsa Tehsil Porsa	Morena	Rural	46	Open	DC	20	20	400	12	30	Draw of Lots	5	4
2418	Khujner On Khujner- Banskheda Road Block Rajgarh Tehsil Rajgarh	Rajgarh	Rural	46	Open	DC	20	20	400	12	30	Draw of Lots	5	4
2419	Sihoniya Block Ambah Tehsil Ambah	Morena	Rural	46	Open	DC	20	20	400	12	30	Draw of Lots	5	4
2420	Bhawpur Block Guna Tehsil Guna	Guna	Rural	46	OBC	DC	20	20	400	12	30	Draw of Lots	5	3
2421	Dhamangaon Block Bhainsdehi Tehsil Bhainsdehi	Betul	Rural	72	SC	CFS	20	20	400	0	0	Draw of Lots	0	2
2422	Baidi Block Harda Tehsil Handiya	Harda	Rural	46	Open	DC	20	20	400	12	30	Draw of Lots	5	4
2423	Bhadugaon Block Timarni Tehsil Rehatgaon	Harda	Rural	46	Open CC 1	DC	20	20	400	12	30	Draw of Lots	5	4
2424	Choukadi Block Khirkiya Tehsil Khirkiya	Harda	Rural	46	OBC	DC	20	20	400	12	30	Draw of Lots	5	3

			1											<del>ر</del>
2425	Mandla Block Khirkiya Tehsil Khirkiya	Harda	Rural	72	ST	CFS	20	20	400	0	0	Draw of Lots	0	2
2426	Bagalwada Block Badi Tehsil Bareli	Raisen	Rural	46	Open	DC	20	20	400	12	30	Draw of Lots	5	4
2427	Saket Block Hoshangabad Tehsil Hoshangabad	Hoshangabad	Rural	46	OBC	DC	20	20	400	12	30	Draw of Lots	5	3
2428	Sawalmeda Block Bhainsdehi Tehsil Bhainsdehi	Betul	Rural	46	Open	DC	20	20	400	12	30	Draw of Lots	5	4
2429	Naseerpur Block Raghogarh Tehsil Maksudangarh	Guna	Rural	46	Open	DC	20	20	400	12	30	Draw of Lots	5	4
2430	Badera Block Pichore Tehsil Pichore	Shivpuri	Rural	72	SC	CFS	20	20	400	0	0	Draw of Lots	0	2
2431	Sagar Block Raghogarh Tehsil Raghogarh	Guna	Rural	46	OBC	DC	20	20	400	12	30	Draw of Lots	5	3
2432	Talkesri Block Babai Tehsil Babai	Hoshangabad	Rural	46	Open	DC	20	20	400	12	30	Draw of Lots	5	4
2433	Bordhi Block Budni Tehsil Rehti	Sehore	Rural	46	Open	DC	20	20	400	12	30	Draw of Lots	5	4
2434	Chondapura On Khujner To Rajgarh Road Block Rajgarh Tehsil Rajgarh	Rajgarh	Rural	72	ST	CFS	20	20	400	0	0	Draw of Lots	0	2
2435	Sonthiya On Nasrullahganj Neelkanth Road Block Nasrullaganj Tehsil Nasr	Sehore	Rural	46	OBC	DC	20	20	400	12	30	Draw of Lots	5	3
2436	Ariya Block Icchawar Tehsil Icchawar	Sehore	Rural	46	Open	DC	20	20	400	12	30	Draw of Lots	5	4
2437	Chhipaner Block Timarni Tehsil Timarni	Harda	Rural	46	Open	DC	20	20	400	12	30	Draw of Lots	5	4
2438	Bhonkhedi Tehsil Harda Block Harda Tehsil Harda	Harda	Rural	46	OBC	DC	20	20	400	12	30	Draw of Lots	5	3
2439	Dafaryai Kalan On Karariya To Mahanim Road Block Nateran Tehsil Sham	Vidisha	Rural	72	ST	CFS	20	20	400	0	0	Draw of Lots	0	2
2440	At Or Between Jhaklai And Thuaa On Seoni To Shivpur Road Block Seonin	Hoshangabad	Rural	46	Open	DC	20	20	400	12	30	Draw of Lots	5	4
2441	Bandori On Mandideep Kolar Road On Rhs While Moving Towards Kolar Bl	Bhopal	Rural	46	Open	DC	20	20	400	12	30	Draw of Lots	5	4
2442	Hirnai Block Vidisha Tehsil Vidisha	Raisen	Rural	46	OBC	DC	20	20	400	12	30	Draw of Lots	5	3
2443	Shivpur On Shivpur To Pagdhal Road Block Seoni-Malwa Tehsil Seoni-Mal	Hoshangabad	Rural	72	SC	CFS	20	20	400	0	0	Draw of Lots	0	2

2444	Bakania Block Phanda (Bhopal) Tehsil Huzur	Bhopal	Rural	46	Open	DC	20	20	400	12	30	Draw of Lots	5	4
2445	Phanda Khurd ,With In 1 Km From Phanda Khurd-Piplia -Tilla Khedi Tiraha	Bhopal	Rural	46	Open	DC	20	20	400	12	30	Draw of Lots	5	4
2446	Amrabad Kalan On Mandideep To Kolar Road Block Phanda (Bhopal) Tehs	Bhopal	Rural	46	OBC	DC	20	20	400	12	30	Draw of Lots	5	3
2447	Najirabad Block Berasia Tehsil Berasia	Bhopal	Rural	46	Open	DC	20	20	400	12	30	Draw of Lots	5	4
2448	Ganj Dinara Block Karera Tehsil Karera	Shivpuri	Rural	72	ST	CFS	20	20	400	0	0	Draw of Lots	0	2
2449	Kankar On Bhourasa To Mungawali Road Block Kurwai Tehsil Kurwai	Vidisha	Rural	46	OBC	DC	20	20	400	12	30	Draw of Lots	5	3
2450	With In 3 Km From Ahamadpur Towards Doraha Block Sehore Tehsil Shyar	Sehore	Rural	46	Open CC 1	DC	20	20	400	12	30	Draw of Lots	5	4
2451	Within 2 Km From Mp Tourism Centre (Near Nh-Karera Tiraha) Towards K	Shivpuri	Rural	46	Open	DC	20	20	400	12	30	Draw of Lots	5	4
2452	Within 5 Kms From Sh 18 ( Bhopal-Indore Road) On Sehore Bilkish Ganj R	Sehore	Rural	72	SC	CFS	20	20	400	0	0	Draw of Lots	0	2
2453	Barkhedi On Sehore Bilkisganj Road Block Sehore Tehsil Sehore	Sehore	Rural	46	OBC	DC	20	20	400	12	30	Draw of Lots	5	3
2454	Between Sunga Jod To Surajpura On Berasia-Maksudangarh Road, In Bho	Bhopal	Rural	46	Open	DC	20	20	400	12	30	Draw of Lots	5	4
2455	Chandrapura On Sheopur-Baroda Road Block Sheopur Tehsil Badoda	Sheopur	Rural	46	Open	DC	20	20	400	12	30	Draw of Lots	5	4
2456	With In 2 Km From Janjali Chourahatowards Jamner On Janjali- Maksudang	Guna	Rural	72	ST	CFS	20	20	400	0	0	Draw of Lots	0	2
2457	Up To 5 Kms From Malibayan Tiraha Towards Delawadi Forest Resort Bloc	Sehore	Rural	46	OBC	DC	20	20	400	12	30	Draw of Lots	5	3
2458	Shahpur Kodia On Sehore Kala Pipal Road Block Sehore Tehsil Sehore	Sehore	Rural	46	Open	DC	20	20	400	12	30	Draw of Lots	5	4
2459	Latitpura On Kuhanjapur Baroda Road Block Sheopur Tehsil Badoda	Sheopur	Rural	46	Open CC 2	DC	20	20	400	12	30	Draw of Lots	5	4
2460	Jambada Block Multai Tehsil Multai	Betul	Rural	46	OBC CC 1	DC	20	20	400	12	30	Draw of Lots	5	3
2461	Fatehgarh Block Bamori Tehsil Bamori	Guna	Rural	72	SC CC 1	CFS	20	20	400	0	0	Draw of Lots	0	2
2462	Dhodramau On Road Towards Kharwar Block Shahpur Tehsil Shahpur	Betul	Rural	46	Open	DC	20	20	400	12	30	Draw of Lots	5	4

4 3 2 4 4 3 3 4
2 4 4 3
4 4 3
4 3
3
4
2
4
3
4
2
3
4
4
3
2
4

2482	Sumawali Block Joura Tehsil Joura	Morena	Rural	46	OBC	DC	20	20	400	12	30	Draw of Lots	5	3
2483	Sunari, Block Seondha Tehsil Indergarh	Datia	Rural	72	ST	CFS	20	20	400	0	0	Draw of Lots	0	2
2484	Kisroli Block Ambah Tehsil Ambah	Morena	Rural	46	Open	DC	20	20	400	12	30	Draw of Lots	5	4
2485	Bharoli Khurd Block Mehgaon Tehsil Mehgaon	Bhind	Rural	46	Open	DC	20	20	400	12	30	Draw of Lots	5	4
2486	Hastanapur Block Morar Tehsil Gwalior	Gwalior	Rural	46	OBC PH	DC	20	20	400	12	30	Draw of Lots	5	3
2487	Khedli Bazar Block Amla Tehsil Amla	Betul	Rural	72	ST PH	CFS	20	20	400	0	0	Draw of Lots	0	2
2488	Mangadpura On Bhind To Amayan Road Block Bhind Tehsil Bhind	Bhind	Rural	46	Open	DC	20	20	400	12	30	Draw of Lots	5	4
2489	Dupadiya Bhil On Phanda Tumda Road Block Sehore Tehsil Sehore	Sehore	Rural	46	Open	DC	20	20	400	12	30	Draw of Lots	5	4
2490	Padlyamata On Sarangpur Road Block Sarangpur Tehsil Sarangpur	Rajgarh	Rural	46	OBC	DC	20	20	400	12	30	Draw of Lots	5	3
2491	Bhadkul Block Budni Tehsil Rehti	Sehore	Rural	46	Open	DC	20	20	400	12	30	Draw of Lots	5	4
2492	From Govt School,Dangiyapura Towards Behat Upto 2 Km Block Morar Tel	Gwalior	Rural	72	SC	CFS	20	20	400	0	0	Draw of Lots	0	2
2493	Between Ahmadpur And Bhojapura On Ahmadpur Bhojapura Road Block Se	Sehore	Rural	46	Open	DC	20	20	400	12	30	Draw of Lots	5	4
2494	Raghunathpur On Raghunathpur Beerpur Road Block Vijaypur Tehsil Beerp	Sheopur	Rural	46	OBC	DC	20	20	400	12	30	Draw of Lots	5	3
2495	Kishanpura On Jhagariya Bilkisganj Road Block Sehore Tehsil Sehore	Sehore	Rural	46	Open	DC	20	20	400	12	30	Draw of Lots	5	4
2496	Mahua Kheda Kalan Block Begamganj Tehsil Begum Ganj	Raisen	Rural	72	ST	CFS	20	20	400	0	0	Draw of Lots	0	2
2497	Between Chicholi Police Station And Malajpur Road Chouraha On Nh59A I	Betul	Rural	46	OBC	DC	20	20	400	12	30	Draw of Lots	5	3
2498	Bamuliya Khichi On Sando Khedi Road Block Astha Tehsil Ashta	Sehore	Rural	46	Open	DC	20	20	400	12	30	Draw of Lots	5	4
2499	Chandokhar On Aino Road Block Gohad Tehsil Gohad	Bhind	Rural	46	Open CC 1	DC	20	20	400	12	30	Draw of Lots	5	4
2500	Chatur Ki Ghadi Ambah Kisroli Pm Road Block Ambah Tehsil Ambah	Morena	Rural	46	OBC	DC	20	20	400	12	30	Draw of Lots	5	3

											0			
2501	Within 11 km & 13 km from Bharoli tiraha Towards Amayan Block Bhind Tel	Bhind	Rural	72	ST	CFS	20	20	400	0	0	Draw of Lots	0	2
2502	Rachhed Block Porsa Tehsil Porsa	Morena	Rural	46	Open	DC	20	20	400	12	30	Draw of Lots	5	4
2503	Shanichara Road Gram Piparseva Block Morena Tehsil Morena	Morena	Rural	46	Open	DC	20	20	400	12	30	Draw of Lots	5	4
2504	Within 3 Km From Gormi Tiraha On Kachnav Road Block Mehgaon Tehsil	Bhind	Rural	46	OBC	DC	20	20	400	12	30	Draw of Lots	5	3
2505	Danipura Block Mehgaon Tehsil Mehgaon	Bhind	Rural	72	SC	CFS	20	20	400	0	0	Draw of Lots	0	2
2506	Guhisar Block Gohad Tehsil Gohad	Bhind	Rural	46	Open	DC	20	20	400	12	30	Draw of Lots	5	4
2507	Rawat Ka Pura On Porsa Kherli Road Block Porsa Tehsil Porsa	Morena	Rural	46	Open	DC	20	20	400	12	30	Draw of Lots	5	4
2508	Lakhanwas Block Biaora Tehsil Biaora	Rajgarh	Rural	46	Open	DC	20	20	400	12	30	Draw of Lots	5	4
2509	Bisalpura Block Ater Tehsil Bhind	Bhind	Rural	46	OBC CC 1	DC	20	20	400	12	30	Draw of Lots	5	3
2510	Sahasram Block Vijaypur Tehsil Vijaypur	Sheopur	Rural	72	SC CC 1	CFS	20	20	400	0	0	Draw of Lots	0	2
2511	Hingavali On Ambah Usaid Ghat Road Block Porsa Tehsil Ambah	Morena	Rural	46	Open PH	DC	20	20	400	12	30	Draw of Lots	5	4
2512	Sora Block Gohad Tehsil Gohad	Bhind	Rural	46	OBC	DC	20	20	400	12	30	Draw of Lots	5	3
2513	From Cheemak Chouraha Towards Gwalior Upto 2 Km Block Dabra Tehsil I	Gwalior	Rural	46	Open	DC	20	20	400	12	30	Draw of Lots	5	4
2514	Tadonya On Jamner Maksudangarh Road Block Raghogarh Tehsil Maksud	Guna	Rural	72	ST	CFS	20	20	400	0	0	Draw of Lots	0	2
2515	From Shyampur Panchyat Bhawan Towards Bhitharwar Upto 2 Km Block Bh	Gwalior	Rural	46	Open	DC	20	20	400	12	30	Draw of Lots	5	4
2516	From Gijjaura Tiraha Towards Dabra Upto 1 Km, On Gijjaura Dabra Road B	Gwalior	Rural	46	OBC	DC	20	20	400	12	30	Draw of Lots	5	3
2517	Amon Block Budni Tehsil Budni	Sehore	Rural	46	Open	DC	20	20	400	12	30	Draw of Lots	5	4
2518	Mala On Mala Berkhedi Baramad Garhi Road Block Begamganj Tehsil Begi	Raisen	Rural	46	Open	DC	20	20	400	12	30	Draw of Lots	5	4
2519	Bagoniya Block Phanda (Bhopal) Tehsil Huzur	Bhopal	Rural	72	SC	CFS	20	20	400	0	0	Draw of Lots	0	2

				1				1						)
2520	Either Side Upto 1 Km From Mpeb Sub Station Jakhara, On Malanpur Beha	Gwalior	Rural	46	OBC	DC	20	20	400	12	30	Draw of Lots	5	3
2521	Shahganj On Shahganj Bhopal Road Block Budni Tehsil Budni	Sehore	Rural	46	Open	DC	20	20	400	12	30	Draw of Lots	5	4
2522	Temurni Block Bhainsdehi Tehsil Bhaindehi	Betul	Rural	46	Open CC 1	DC	20	20	400	12	30	Draw of Lots	5	4
2523	Gordhanpura On Jirapur - Susner Road Block Jirapur Tehsil Jirapur	Rajgarh	Rural	72	ST	CFS	20	20	400	0	0	Draw of Lots	0	2
2524	Eklahara On The Road Between Borgaon And Brahmanwada Block Prabha	Betul	Rural	46	OBC	DC	20	20	400	12	30	Draw of Lots	5	3
2525	Bilheti Block Gwalior Tehsil Gwalior	Gwalior	Rural	46	Open	DC	20	20	400	12	30	Draw of Lots	5	4
2526	Baldeopura On Jatara-Khargapur Road Block Jatara Tehsil Jatara	Tikamgarh	Rural	46	Open	DC	20	20	400	12	30	Draw of Lots	5	4
2527	Within 1 Km From Sunhera Head Bridge Towards Berai Block Sabalgarh Te	Morena	Rural	46	OBC	DC	20	20	400	12	30	Draw of Lots	5	3
2528	Dhadhonya On Maksudangarh Road Block Raghogarh Tehsil Maksudangai	Guna	Rural	72	ST	CFS	20	20	400	0	0	Draw of Lots	0	2
2529	Madhopura On Sekhpur To Madhopura Road Block Ater Tehsil Ater	Bhind	Rural	46	Open	DC	20	20	400	12	30	Draw of Lots	5	4
2530	Sukhpura Block Pahadgarh Tehsil Joura	Morena	Rural	46	Open	DC	20	20	400	12	30	Draw of Lots	5	4
2531	Within 1 Km From Rajpura Nahar Towards Etahar Block Ater Tehsil Ater	Bhind	Rural	46	OBC	DC	20	20	400	12	30	Draw of Lots	5	3
2532	Khera On Bawri To Mohangarh Road Block Jatara Tehsil Mohangarh	Tikamgarh	Rural	72	SC	CFS	20	20	400	0	0	Draw of Lots	0	2
2533	Padlya Anjan Block Sarangpur Tehsil Pachore	Rajgarh	Rural	46	Open	DC	20	20	400	12	30	Draw of Lots	5	4
2534	Gopi Talai On Lateri To Shamshabad Road Block Lateri Tehsil Lateri	Vidisha	Rural	46	Open	DC	20	20	400	12	30	Draw of Lots	5	4
2535	Jatara Bypass Block Jatara Tehsil Jatara	Tikamgarh	Rural	46	OBC	DC	20	20	400	12	30	Draw of Lots	5	3
2536	Pipal Khedi On Jamner Road Block Raghogarh Tehsil Raghogarh	Guna	Rural	72	ST	CFS	20	20	400	0	0	Draw of Lots	0	2
2537	2Km Hatwa Khas Govt. School to Amiliya ODR Tehsil Sihawal	Sidhi	Rural	46	Open	DC	20	20	400	12	30	Draw of Lots	5	4
2538	Village Bitodi Tehsil Khairlanji	Balaghat	Rural	46	OBC	DC	20	20	400	12	30	Draw of Lots	5	3

Draw of Lor Draw of Lor Draw of Lor	30 30		4
		of Lots 5	
Draw of Lo			4
	0	of Lots 0	2
Draw of Lot	30	of Lots 5	3
Draw of Lo	30	of Lots 5	4
Draw of Lo	30	of Lots 5	4
Draw of Lo	0	of Lots 0	2
Draw of Lo	30	of Lots 5	3
Draw of Lo	30	of Lots 5	4
Draw of Lo	30	of Lots 5	4
Draw of Lo	30	of Lots 5	3
Draw of Lo	0	of Lots 0	2
Draw of Lo	30	of Lots 5	4
Draw of Lo	30	of Lots 5	4
Draw of Lo	30	of Lots 5	3
Draw of Lo	0	of Lots 0	2
Draw of Lo	30	of Lots 5	4
Draw of Lo	30	of Lots 5	4
Draw of Lo	30	of Lots 5	3
	30 30 30 30 30 30 30 30 30 30 30 30 30 3		Image: series of the series

2558	Village Hinoti ( Between Jhalon and Tejgarh Road) Tehsil Tendukhera	Damoh	Rural	46	Open	DC	20	20	400	12	30	Draw of Lots	5	4
2559	Village Jhari on Pindra Baraundha Road Tehsil Majhgawan	Satna	Rural	46	ST CC 1	CFS	20	20	400	0	0	Draw of Lots	0	2
2500	Village Himour Kaudia Tabail Daduras	Katal	Durel	46	0	DC	20	20	400		20	Drow of Loto		
2560	Village Hirapur Kaudia Tehsil Badwara	Katni	Rural	46	Open CC 2	DC	20	20	400	12	30	Draw of Lots	5	4
2561	Village Simarapatti Tehsil Bahoriband	Katni	Rural	46	OBC CC 1	DC	20	20	400	12	30	Draw of Lots	5	3
2562	Village Bhakarwar ( Jawa to Chakghat Road via Chilla) Tehsil Jawa	Rewa	Rural	46	Open	DC	20	20	400	12	30	Draw of Lots	5	4
2563	On Sakara Road in village Hada Tehsil Patan	Jabalpur	Rural	46	ST	CFS	20	20	400	0	0	Draw of Lots	0	2
2564	Upto 2 Km from Village Madhiyadoh on Hatta Road Tehsil Hatta	Damoh	Rural	46	OBC	DC	20	20	400	12	30	Draw of Lots	5	3
2565	Upto 3 Km from Bahoriband on Salimnabad Road Tehsil Bahoriband	Katni	Rural	46	Open	DC	20	20	400	12	30	Draw of Lots	5	4
2566	Village Khamtara (Between Dheemarkhera and Bilayatkalan Road) Tehsil Dheemarkhera	Katni	Rural	46	Open	DC	20	20	400	12	30	Draw of Lots	5	4
2567	Village Hatta Tehsil Balagaht	Balaghat	Rural	46	OBC	DC	20	20	400	12	30	Draw of Lots	5	3
2568	Village Garhi (not on SH) Tehsil Baihar	Balaghat	Rural	46	SC	CFS	20	20	400	0	0	Draw of Lots	0	2
2569	Between Bankuiyan to Dadar on Rewa Semaria Road via Maidani Tehsil Hu	Rewa	Rural	46	Open	DC	20	20	400	12	30	Draw of Lots	5	4
2570	Village Pindrai Kalan Tehsil Chhindwara	Chhindwara	Rural	46	Open	DC	20	20	400	12	30	Draw of Lots	5	4
2571	Village Bhatekhari Tehsil Seoni	Seoni	Rural	46	OBC	DC	20	20	400	12	30	Draw of Lots	5	3
2572	Village Pandiya Chhapara Tehsil Keolari	Seoni	Rural	46	ST	CFS	20	20	400	0	0	Draw of Lots	0	2
2573	Village Bhathijangal ( Mauganj to Sidhi Road Via Umari Musalman) Tehsil Mauganj	Rewa	Rural	46	Open	DC	20	20	400	12	30	Draw of Lots	5	4
2574	Village Rahikawara Tehsil Nagod	Satna	Rural	46	Open CC 1	DC	20	20	400	12	30	Draw of Lots	5	4
2575	Village Berma not on NH Tehsil Maihar	Satna	Rural	46	OBC	DC	20	20	400	12	30	Draw of Lots	5	3
2576	Kothar Tehsil Gopadbanas	Sidhi	Rural	46	ST	CFS	20	20	400	0	0	Draw of Lots	0	2

												-		
2577	Village Bans ( Lalgaun to Katra Road) Tehsil Mangawan	Rewa	Rural	46	Open	DC	20	20	400	12	30	Draw of Lots	5	4
2578	Village Bhir Tehsil Nayigarhi	Rewa	Rural	46	Open	DC	20	20	400	12	30	Draw of Lots	5	4
2579	Within 2 Km from Mahirishi Vidya Mandir School Amanganj towards Deri Road Tehsil Chattarpur	Chhatarpur	Rural	46	OBC	DC	20	20	400	12	30	Draw of Lots	5	3
2580	Village Rehli on Garhakota By Pass Tehsil Rehli	Sagar	Rural	46	Open	DC	20	20	400	12	30	Draw of Lots	5	4
2581	Village Dhutera on MDR Tehsil Keolari	Seoni	Rural	46	SC	CFS	20	20	400	0	0	Draw of Lots	0	2
2582	Village Bijaura Between Silori and Kauria Tehsil Bandhogarh	Umaria	Rural	46	Open	DC	20	20	400	12	30	Draw of Lots	5	4
2583	Bisani on MDR Tehsil Shahnagar	Panna	Rural	46	OBC	DC	20	20	400	12	30	Draw of Lots	5	3
2584	Village Deohara ( Deohara to Amlai Road ) Tehsil Anuppur	Anuppur	Rural	46	Open	DC	20	20	400	12	30	Draw of Lots	5	4
2585	Garhi Padariya Tehsil Devendranagar	Panna	Rural	46	SC PH	CFS	20	20	400	0	0	Draw of Lots	0	2
2586	Village Agasod on MDR Tehsil Bina	Sagar	Rural	46	OBC PH	DC	20	20	400	12	30	Draw of Lots	5	3
2587	Village Fulkona ( Jhiria tola to Marvahi Road) Tehsil Anuppur	Anuppur	Rural	46	Open	DC	20	20	400	12	30	Draw of Lots	5	4
2588	Village Gaharwar (Tikamgarh to Isha Nagar Road) Tehsil Chhatarpur	Chhatarpur	Rural	46	Open	DC	20	20	400	12	30	Draw of Lots	5	4
2589	Village Sahiwal Tehsil Sahiwal	Sidhi	Rural	46	OBC	DC	20	20	400	12	30	Draw of Lots	5	3
2590	From Village Choukital upto NH 12 (Choukital Bypas Chowk) Tehsil Jabal	Jabalpur	Rural	46	ST	CFS	20	20	400	0	0	Draw of Lots	0	2
2591	Village Madwa Tehsil Raipura	Panna	Rural	46	Open	DC	20	20	400	12	30	Draw of Lots	5	4
2592	Village Gaurari (Gadhimalhera Maharajpur Road) Tehsil Maharajpur	Chhatarpur	Rural	46	Open	DC	20	20	400	12	30	Draw of Lots	5	4
2593	Village Parsoriya on Parsoriya to Dhana Road Tehsil Sagar	Sagar	Rural	46	OBC	DC	20	20	400	12	30	Draw of Lots	5	3
2594	Village Baraj ( Within 1 Km from Imlai tigadda towards Baraitha ) Tehsil Sha	Sagar	Rural	46	SC	CFS	20	20	400	0	0	Draw of Lots	0	2
2595	Village Pachour Tehsil Deosar	Singrauli	Rural	46	Open	DC	20	20	400	12	30	Draw of Lots	5	4

2596	From Indrana Tiraha in Village Majhouli to Village Sunwani on Majhouli Sehora Road	Jabalpur	Rural	46	Open	DC	20	20	400	12	30	Draw of Lots	5	4
2597	Village Bargawan not on NH Tehsil Deosar	Singrauli	Rural	46	Open	DC	20	20	400	12	30	Draw of Lots	5	4
2598	Mohgaon on Lalbarra to Dhapera Road Tehsil Lalbarra	Balaghat	Rural	46	OBC	DC	20	20	400	12	30	Draw of Lots	5	3
2599	2 Km both side of Karami Manda Primary Govt School Karami on PMGSY	Singrauli	Rural	46	ST	CFS	20	20	400	0	0	Draw of Lots	0	2
2600	Village Jhagaraha (Burhar Anuppur road via Chachai) Teshil Burhar	Shahdol	Rural	46	Open CC 1	DC	20	20	400	12	30	Draw of Lots	5	4
2601	Within 2 Kms from Birhuli Railway Crossing Towards Simaria on Satna Simaria Road Tehsil Raghurajnagar	Satna	Rural	46	OBC	DC	20	20	400	12	30	Draw of Lots	5	3
2602	Village Jatalapur Tehsil Pandhurna	Chhindwara	Rural	46	Open	DC	20	20	400	12	30	Draw of Lots	5	4
2603	Baroda Daulat TEHSIL Indore	Indore	Rural	62	SC	CFS	20	20	400	0	0	Draw of Lots	0	2
2604	Narayana TEHSIL Mahidpur	Ujjain	Rural	60	Open	DC	20	20	400	12	30	Draw of Lots	5	4
2605	Tajpur TEHSIL Ujjain	Ujjain	Rural	55	OBC	DC	20	20	400	12	30	Draw of Lots	5	3
2606	Bodani TEHSIL Ujjain	Ujjain	Rural	60	Open	DC	20	20	400	12	30	Draw of Lots	5	4
2607	Dhatrawada TEHSIL Ujjain	Ujjain	Rural	55	Open	DC	20	20	400	12	30	Draw of Lots	5	4
2608	Khutla Kala TEHSIL Khandwa	Khandwa	Rural	60	ST CC 1	CFS	20	20	400	0	0	Draw of Lots	0	2
2609	Badi Gudbeli TEHSIL Malhargarh	Mandsaur	Rural	60	OBC CC 1	DC	20	20	400	12	30	Draw of Lots	5	3
2610	Piplu TEHSIL Badnagar	Ujjain	Rural	60	Open	DC	20	20	400	12	30	Draw of Lots	5	4
2611	Nayapura TEHSIL KHATEGAON	Dewas	Rural	65	Open PH	DC	20	20	400	12	30	Draw of Lots	5	4
2612	Avaldaman TEHSIL Kukshi	Dhar	Rural	65	ST	CFS	20	20	400	0	0	Draw of Lots	0	2
2613	Narwal TEHSIL Agar	Agar	Rural	60	OBC	DC	20	20	400	12	30	Draw of Lots	5	3
2614	Bangred TEHSIL Badnagar	Ujjain	Rural	55	Open	DC	20	20	400	12	30	Draw of Lots	5	4

	-													
2615	Takli TEHSIL Pandhana	Khandwa	Rural	55	OBC	DC	20	20	400	12	30	Draw of Lots	5	3
2616	Umari,TEHSIL kukshi	Dhar	Rural	65	ST	CFS	20	20	400	0	0	Draw of Lots	0	2
2617	Malhargarh TEHSIL Alote	Ratlam	Rural	65	Open	DC	20	20	400	12	30	Draw of Lots	5	4
2618	Sangakheda TEHSIL Tal	Ratlam	Rural	65	Open	DC	20	20	400	12	30	Draw of Lots	5	4
2619	Harthali TEHSIL Ratlam	Ratlam	Rural	65	Open	DC	20	20	400	12	30	Draw of Lots	5	4
2620	Bodarli TEHSIL Burhanpur	Burhanpur	Rural	60	OBC	DC	20	20	400	12	30	Draw of Lots	5	3
2621	Bijanagari Tehsil Badod	Agar	Rural	65	SC	CFS	20	20	400	0	0	Draw of Lots	0	2
2622	Amalawadiya Junardar TEHSIL Nagda	Ujjain	Rural	65	Open	DC	20	20	400	12	30	Draw of Lots	5	4
2623	Shiwni on Kampel to Double chouki Road TEHSIL Indore	Indore	Rural	62	Open CC 1	DC	20	20	400	12	30	Draw of Lots	5	4
2624	Village Udaipur on Mundi Punasa road TEHSIL Punasa	Khandwa	Rural	60	OBC	DC	20	20	400	12	30	Draw of Lots	5	3
2625	Babultad TEHSIL Pansemal	Badwani	Rural	65	ST	CFS	20	20	400	0	0	Draw of Lots	0	2
2626	Jasondi TEHSIL Burhanpur	Burhanpur	Rural	60	Open	DC	20	20	400	12	30	Draw of Lots	5	4
2627	Hirapur TEHSIL Sanawad	Khargone	Rural	55	OBC	DC	20	20	400	12	30	Draw of Lots	5	3
2628	Rosadmal TEHSIL Harsud	Khandwa	Rural	55	Open	DC	20	20	400	12	30	Draw of Lots	5	4
2629	Kahalari TEHSIL Khandwa	Khandwa	Rural	65	Open	DC	20	20	400	12	30	Draw of Lots	5	4
2630	Dhabla piplon Tehsil Badod	Agar	Rural	65	SC	CFS	20	20	400	0	0	Draw of Lots	0	2
2631	Satumari, TEHSIL Gandhwani	Dhar	Rural	65	OBC	DC	20	20	400	12	30	Draw of Lots	5	3
2632	Sawalikheda TEHSIL Khalwa	Khandwa	Rural	60	Open	DC	20	20	400	12	30	Draw of Lots	5	4
2633	Gulawad TEHSIL Maheshwar	Khargone	Rural	60	Open	DC	20	20	400	12	30	Draw of Lots	5	4

2634	Warla TEHSIL Varla	Badwani	Rural	65	ST	CFS	20	20	400	0	0	Draw of Lots	0	2
2635	Salkanpur, TEHSIL Dhar	Dhar	Rural	65	OBC	DC	20	20	400	12	30	Draw of Lots	5	3
2636	Village Karahi on Karahi Bypass road TEHSIL Maheshwar	Khargone	Rural	65	Open	DC	20	20	400	12	30	Draw of Lots	5	4
2637	Khategaon TEHSIL Khategaon	Dewas	Rural	65	Open	DC	20	20	400	12	30	Draw of Lots	5	4
2638	Pawadiya from polaykalan to shujalpur road TEHSIL AVANTIPUR BADODIYA	Shajapur	Rural	55	OBC	DC	20	20	400	12	30	Draw of Lots	5	3
2639	Bediya TEHSIL Khandwa	Khandwa	Rural	60	ST	CFS	20	20	400	0	0	Draw of Lots	0	2
2640	Kalesar TEHSIL Ghatiya	Ujjain	Rural	60	Open	DC	20	20	400	12	30	Draw of Lots	5	4
2641	Sumarakhedi TEHSIL Tarana	Ujjain	Rural	55	Open	DC	20	20	400	12	30	Draw of Lots	5	4
2642	Kishangarh on punjapura to udainagar road TEHSIL UDAY NAGAR	Dewas	Rural	65	OBC	DC	20	20	400	12	30	Draw of Lots	5	3
2643	Todi on Manglia to sanwer road TEHSIL SANWER	Indore	Rural	75	SC	CFS	20	20	400	0	0	Draw of Lots	0	2
2644	Manglia (On Manglia Sulakhedi Road) TEHSIL Indore	Indore	Rural	110	Open	DC	20	20	400	12	30	Draw of Lots	5	4
2645	Dewala TEHSIL Punasa	Khandwa	Rural	55	Open	DC	20	20	400	12	30	Draw of Lots	5	4
2646	Dharli TEHSIL MOMAN BADODIYA	Shajapur	Rural	65	OBC	DC	20	20	400	12	30	Draw of Lots	5	3
2647	Undasa TEHSIL Tarana	Ujjain	Rural	60	Open	DC	20	20	400	12	30	Draw of Lots	5	4
2648	Balrampur TEHSIL Pandhana	Khandwa	Rural	60	ST	CFS	20	20	400	0	0	Draw of Lots	0	2
2649	Rampura on udaynagar to punjapura road TEHSIL UDAYNAGAR	Dewas	Rural	55	OBC	DC	20	20	400	12	30	Draw of Lots	5	3
2650	Jainabad TEHSIL Burhanpur	Burhanpur	Rural	60	Open CC 1	DC	20	20	400	12	30	Draw of Lots	5	4
2651	From Titrod to Khejdiya (On Sitamau Suwasra road) TEHSIL Sitamau	Mandsaur	Rural	67	Open	DC	20	20	400	12	30	Draw of Lots	5	4
2652	PHANGATI TEHSIL HATPIPLIYA	Dewas	Rural	70	SC	CFS	20	20	400	0	0	Draw of Lots	0	2

2653	Naleshri TEHSIL Tarana	Ujjain	Rural	60	OBC	DC	20	20	400	12	30	Draw of Lots	5	3
2654	Tonki TEHSIL Manawar	Dhar	Rural	55	Open	DC	20	20	400	12	30	Draw of Lots	5	4
2655	Sendhwa on Sendhwa-Balwadi road TEHSIL Sendhwa	Badwani	Rural	100	Open	DC	20	20	400	12	30	Draw of Lots	5	4
2656	Tarapur TEHSIL Dharampuri	Dhar	Rural	60	ST	CFS	20	20	400	0	0	Draw of Lots	0	2
2657	Dehri (On DehriBagh road) TEHSIL Kukshi	Dhar	Rural	55	OBC	DC	20	20	400	12	30	Draw of Lots	5	3
2658	Khusai TEHSIL BAGLI	Dewas	Rural	65	Open	DC	20	20	400	12	30	Draw of Lots	5	4
2659	Dapora TEHSIL Burhanpur	Burhanpur	Rural	60	Open CC 2	DC	20	20	400	12	30	Draw of Lots	5	4
2660	Ali TEHSIL Dhar	Dhar	Rural	65	OBC CC 1	DC	20	20	400	12	30	Draw of Lots	5	3
2661	Nalvanya TEHSIL Dahi	Dhar	Rural	60	SC CC 1	CFS	20	20	400	0	0	Draw of Lots	0	2
2662	Harangaon TEHSIL KHATEGAON	Dewas	Rural	60	Open	DC	20	20	400	12	30	Draw of Lots	5	4
2663	Chandana TEHSIL DEWAS	Dewas	Rural	65	Open	DC	20	20	400	12	30	Draw of Lots	5	4
2664	On Gandhwani Singhana road within 1 km from Gandhwani Bus stand TEHSIL Gandhwani	Dhar	Rural	60	OBC	DC	20	20	400	12	30	Draw of Lots	5	3
2665	Kaliwavadi TEHSIL Manawar	Dhar	Rural	55	ST	CFS	20	20	400	0	0	Draw of Lots	0	2
2666	Amlataj TEHSIL HATPIPLIYA	Dewas	Rural	65	Open	DC	20	20	400	12	30	Draw of Lots	5	4
2667	Bijapur TEHSIL KHATEGAON	Dewas	Rural	75	Open	DC	20	20	400	12	30	Draw of Lots	5	4
2668	Village Pachkheda, on ManawarSemalda Road TEHSIL Manawar	Dhar	Rural	55	OBC	DC	20	20	400	12	30	Draw of Lots	5	3
2669	Mansaya TEHSIL KALAPIPAL	Shajapur	Rural	75	Open	DC	20	20	400	12	30	Draw of Lots	5	4
2670	Ahmedpur TEHSIL Khandwa	Khandwa	Rural	56	SC	CFS	20	20	400	0	0	Draw of Lots	0	2
2671	Khetakhedi TEHSIL DEWAS	Dewas	Rural	62	Open	DC	20	20	400	12	30	Draw of Lots	5	4

2672	Village bhogdad on ManawarSemalda Road TEHSIL Manawar	Dhar	Rural	105	OBC	DC	20	20	400	12	30	Draw of Lots	5	3
2673	Bhopawar, TEHSIL Sardarpur	Dhar	Rural	65	Open CC 1	DC	20	20	400	12	30	Draw of Lots	5	4
2674	Barmandal TEHSIL Sardarpur	Dhar	Rural	65	ST	CFS	20	20	400	0	0	Draw of Lots	0	2
2675	Navdapanth TEHSIL Indore	Indore	Rural	55	OBC	DC	20	20	400	12	30	Draw of Lots	5	3
2676	Mohammadpur Tumni TEHSIL DEWAS	Dewas	Rural	60	Open	DC	20	20	400	12	30	Draw of Lots	5	4
2677	Gari pipliya on manglia to sanwer road TEHSIL SANWER	Indore	Rural	75	Open	DC	20	20	400	12	30	Draw of Lots	5	4
2678	Basandra TEHSIL Hatod	Indore	Rural	60	OBC	DC	20	20	400	12	30	Draw of Lots	5	3
2679	Mokalgaon TEHSIL Pandhana	Khandwa	Rural	65	SC	CFS	20	20	400	0	0	Draw of Lots	0	2
2680	Barotha TEHSIL DEWAS	Dewas	Rural	65	Open	DC	20	20	400	12	30	Draw of Lots	5	4
2681	Jiyagaon TEHSIL KHATEGAON	Dewas	Rural	65	Open	DC	20	20	400	12	30	Draw of Lots	5	4
2682	Ajnas TEHSIL Khategaon	Dewas	Rural	55	OBC	DC	20	20	400	12	30	Draw of Lots	5	3
2683	Within 3 km from Narmada Jhabua Gramin Bank, Nalchha towards Lunhera TEHSIL Dharampuri	Dhar	Rural	100	ST	CFS	20	20	400	0	0	Draw of Lots	0	2
2684	Ugli TEHSIL SHUJALPUR	Shajapur	Rural	65	Open	DC	20	20	400	12	30	Draw of Lots	5	4
2685	Khajuriya Kumawat TEHSIL Ujjain	Ujjain	Rural	65	Open	DC	20	20	400	12	30	Draw of Lots	5	4
2686	Village Meghapura, TEHSIL Dhar	Dhar	Rural	65	OBC PH	DC	20	20	400	12	30	Draw of Lots	5	3
2687	Jamati TEHSIL Varla	Badwani	Rural	65	ST PH	CFS	20	20	400	0	0	Draw of Lots	0	2
2688	Palduna TEHSIL Tarana	Ujjain	Rural	55	Open	DC	20	20	400	12	30	Draw of Lots	5	4
2689	Nandni On Kalapipal to Sehore road TEHSIL KALAPIPAL	Shajapur	Rural	75	Open	DC	20	20	400	12	30	Draw of Lots	5	4
2690	Semliya Chau TEHSIL Indore	Indore	Rural	60	OBC	DC	20	20	400	12	30	Draw of Lots	5	3

2691	Elaskhedi TEHSIL TON KHURD	Dewas	Rural	55	Open	DC	20	20	400	12	30	Draw of Lots	5	4
2692	Upto 3 kms from Dulhar Fata towards Pandhana on Khandwa Pandhana road TEHSIL Pandhana	Khandwa	Rural	105	SC	CFS	20	20	400	0	0	Draw of Lots	0	2
2693	Palwada (On Manasa road) TEHSIL Badnawar	Dhar	Rural	60	Open	DC	20	20	400	12	30	Draw of Lots	5	4
2694	Nainod TEHSIL Indore	Indore	Rural	60	OBC	DC	20	20	400	12	30	Draw of Lots	5	3
2695	Silodiya TEHSIL Badnawar	Dhar	Rural	65	Open	DC	20	20	400	12	30	Draw of Lots	5	4
2696	Padiyal TEHSIL Dahi	Dhar	Rural	72	ST	CFS	20	20	400	0	0	Draw of Lots	0	2
2697	Runji Gautampura TEHSIL Depalpur	Indore	Rural	75	OBC	DC	20	20	400	12	30	Draw of Lots	5	3
2698	Tirla on Tirla Chhadawad road TEHSIL Sardarpur	Dhar	Rural	55	Open	DC	20	20	400	12	30	Draw of Lots	5	4
2699	Ghhati TEHSIL Gogaon	Khargone	Rural	65	Open CC 1	DC	20	20	400	12	30	Draw of Lots	5	4
2700	Kharsoda TEHSIL Depalpur	Indore	Rural	72	OBC	DC	20	20	400	12	30	Draw of Lots	5	3
2701	Loni TEHSIL Kukshi	Dhar	Rural	72	ST	CFS	20	20	400	0	0	Draw of Lots	0	2
2702	Balipur (On BalipurManawar road) TEHSIL Manawar	Dhar	Rural	65	Open	DC	20	20	400	12	30	Draw of Lots	5	4
2703	Suhagpura TEHSIL Nalchha	Dhar	Rural	60	Open	DC	20	20	400	12	30	Draw of Lots	5	4
2704	Arud TEHSIL Pandhana	Khandwa	Rural	66	OBC	DC	20	20	400	12	30	Draw of Lots	5	3
2705	Parda TEHSIL Manasa	Neemuch	Rural	60	SC	CFS	20	20	400	0	0	Draw of Lots	0	2
2706	Kesur on Kesur to Badnagar Road TEHSIL Dhar	Dhar	Rural	55	Open	DC	20	20	400	12	30	Draw of Lots	5	4
2707	Village Sirsara, on ManawarSemalda Road TEHSIL Manawar	Dhar	Rural	55	Open	DC	20	20	400	12	30	Draw of Lots	5	4
2708	Kesur (On Sadalpur Kesur Road) TEHSIL Dhar	Dhar	Rural	55	Open	DC	20	20	400	12	30	Draw of Lots	5	4
2709	Kalapani TEHSIL Thikri	Badwani	Rural	56	OBC CC 1	DC	20	20	400	12	30	Draw of Lots	5	3

2710	Dulet TEHSIL Sardarpur	Dhar	Rural	65	SC CC 1	CFS	20	20	400	0	0	Draw of Lots	0	2
2710		Dhai	Kulai	05	30 00 1	65	20	20	400	0	0	Diaw of Lois	0	2
2711	Gulana TEHSIL GULANA	Shajapur	Rural	65	Open PH	DC	20	20	400	12	30	Draw of Lots	5	4
2712	Jambupani TEHSIL Burhanpur	Burhanpur	Rural	60	OBC	DC	20	20	400	12	30	Draw of Lots	5	3
2713	Bakhatgadh TEHSIL Badnawar	Dhar	Rural	55	Open	DC	20	20	400	12	30	Draw of Lots	5	4
2714	Derkha ( Bharatgadh) TEHSIL Badnawar	Dhar	Rural	72	ST	CFS	20	20	400	0	0	Draw of Lots	0	2
2715	Hatod TEHSIL Sardarpur	Dhar	Rural	55	Open	DC	20	20	400	12	30	Draw of Lots	5	4
2716	Dolatpura TEHSIL Burhanpur	Burhanpur	Rural	65	OBC	DC	20	20	400	12	30	Draw of Lots	5	3
2717	Kachhibaroda TEHSIL Badnawar	Dhar	Rural	72	Open	DC	20	20	400	12	30	Draw of Lots	5	4
2718	Nandlai TEHSIL Badnawar	Dhar	Rural	72	Open	DC	20	20	400	12	30	Draw of Lots	5	4
2719	Kuchrod TEHSIL Mandsaur	Mandsaur	Rural	60	SC	CFS	20	20	400	0	0	Draw of Lots	0	2
2720	Shaikpura TEHSIL Khaknar	Burhanpur	Rural	65	OBC	DC	20	20	400	12	30	Draw of Lots	5	3
2721	Dattigara TEHSIL Badnawar	Dhar	Rural	72	Open	DC	20	20	400	12	30	Draw of Lots	5	4
2722	Pipaliya Kala TEHSIL Harsud	Khandwa	Rural	60	Open CC 1	DC	20	20	400	12	30	Draw of Lots	5	4
2723	Pivdia TEHSIL Indore	Indore	Rural	78	ST	CFS	20	20	400	0	0	Draw of Lots	0	2
2724	Sirpur TEHSIL Khaknar	Burhanpur	Rural	65	OBC	DC	20	20	400	12	30	Draw of Lots	5	3
2725	Osar TEHSIL Badnawar	Dhar	Rural	55	Open	DC	20	20	400	12	30	Draw of Lots	5	4
2726	From Eicher Motor Square to Toll Tox barrier on road going from IIM, Indore to Pithampur TEHSIL Pithampur	Indore	Rural	160	Open	DC	20	20	400	12	30	Draw of Lots	5	4
2727	Haidarpur TEHSIL Nepanagar	Burhanpur	Rural	65	OBC	DC	20	20	400	12	30	Draw of Lots	5	3
2728	Gandhawal TEHSIL Pati	Badwani	Rural	65	ST	CFS	20	20	400	0	0	Draw of Lots	0	2

				1	1					1	1		1	
2729	Ojhar TEHSIL Rajpur	Badwani	Rural	60	Open	DC	20	20	400	12	30	Draw of Lots	5	4
2730	Bawadad on Sendhwa to Warla road TEHSIL Sendhwa	Badwani	Rural	60	Open	DC	20	20	400	12	30	Draw of Lots	5	4
2731	Navara TEHSIL Nepanagar	Burhanpur	Rural	56	OBC	DC	20	20	400	12	30	Draw of Lots	5	3
2732	Bardiya Gujar TEHSIL Sitamau	Mandsaur	Rural	60	SC	CFS	20	20	400	0	0	Draw of Lots	0	2
2733	Saali on Taloon to Bilwa road TEHSIL Rajpur	Badwani	Rural	55	Open	DC	20	20	400	12	30	Draw of Lots	5	4
2734	Bhokhakhedi TEHSIL Indore	Indore	Rural	60	Open	DC	20	20	400	12	30	Draw of Lots	5	4
2735	Dhulkhot TEHSIL Bhagwanpura	Khargone	Rural	65	OBC	DC	20	20	400	12	30	Draw of Lots	5	3
2736	Naded TEHSIL Rajpur	Badwani	Rural	60	ST	CFS	20	20	400	0	0	Draw of Lots	0	2
2737	Kanadia TEHSIL Indore	Indore	Rural	65	Open	DC	20	20	400	12	30	Draw of Lots	5	4
2738	Dhabad TEHSIL Khargone	Khargone	Rural	60	OBC	DC	20	20	400	12	30	Draw of Lots	5	3
2739	Sanwer TEHSIL Sanwer	Indore	Rural	60	Open	DC	20	20	400	12	30	Draw of Lots	5	4
2740	Kanda TEHSIL Satwas	Dewas	Rural	55	Open	DC	20	20	400	12	30	Draw of Lots	5	4
2741	Ghasoi TEHSIL Suwasra	Mandsaur	Rural	60	SC	CFS	20	20	400	0	0	Draw of Lots	0	2
2742	Jamli TEHSIL Khargone	Khargone	Rural	82	OBC	DC	20	20	400	12	30	Draw of Lots	5	3
2743	Titawda TEHSIL Sanwer	Indore	Rural	62	Open	DC	20	20	400	12	30	Draw of Lots	5	4
2744	Sirpur on khandwa pandhana road TEHSIL Khandwa	Khandwa	Rural	65	Open	DC	20	20	400	12	30	Draw of Lots	5	4
2745	Raykheda TEHSIL Pansemal	Badwani	Rural	62	ST	CFS	20	20	400	0	0	Draw of Lots	0	2
2746	Gogaon TEHSIL Gogaon	Khargone	Rural	65	OBC	DC	20	20	400	12	30	Draw of Lots	5	3
2747	Kohadad TEHSIL Khandwa	Khandwa	Rural	70	Open	DC	20	20	400	12	30	Draw of Lots	5	4

2748	Alot Jagir TEHSIL Nagda	Ujjain	Rural	55	Open CC 1	DC	20	20	400	12	30	Draw of Lots	5	4
2749	Riyawan TEHSIL Piploda	Ratlam	Rural	65	OBC	DC	20	20	400	12	30	Draw of Lots	5	3
2750	Temali TEHSIL Pansemal	Badwani	Rural	65	ST	CFS	20	20	400	0	0	Draw of Lots	0	2
2751	Dongargaon TEHSIL Pandhana	Khandwa	Rural	60	Open	DC	20	20	400	12	30	Draw of Lots	5	4
2752	Sehajala TEHSIL Khandwa	Khandwa	Rural	60	Open	DC	20	20	400	12	30	Draw of Lots	5	4
2753	Nagjhiri TEHSIL Gogaon	Khargone	Rural	55	OBC	DC	20	20	400	12	30	Draw of Lots	5	3
2754	Baghuniya TEHSIL Shamgarh	Mandsaur	Rural	60	SC	CFS	20	20	400	0	0	Draw of Lots	0	2
2755	Mandla TEHSIL Harsud	Khandwa	Rural	60	Open	DC	20	20	400	12	30	Draw of Lots	5	4
2756	Bhamori TEHSIL Punasa	Khandwa	Rural	65	Open	DC	20	20	400	12	30	Draw of Lots	5	4
2757	Birul TEHSIL Bhikangaon	Khargone	Rural	65	OBC	DC	20	20	400	12	30	Draw of Lots	5	3
2758	Beed TEHSIL Punasa	Khandwa	Rural	65	Open	DC	20	20	400	12	30	Draw of Lots	5	4
2759	Bijasan TEHSIL Barwani	Badwani	Rural	60	ST CC 1	CFS	20	20	400	0	0	Draw of Lots	0	2
2760	Nandgaon TEHSIL Mhow	Indore	Rural	65	Open CC 2	DC	20	20	400	12	30	Draw of Lots	5	4
2761	Village Navasa, TEHSIL Dhar	Dhar	Rural	65	OBC CC 1	DC	20	20	400	12	30	Draw of Lots	5	3
2762	Kenood TEHSIL Punasa	Khandwa	Rural	80	Open	DC	20	20	400	12	30	Draw of Lots	5	4
2763	Balkunwa TEHSIL Barwani	Badwani	Rural	65	ST	CFS	20	20	400	0	0	Draw of Lots	0	2
2764	Machalgaon TEHSIL Bhikangaon	Khargone	Rural	65	OBC	DC	20	20	400	12	30	Draw of Lots	5	3
2765	Gulai TEHSIL Khalwa	Khandwa	Rural	55	Open	DC	20	20	400	12	30	Draw of Lots	5	4
2766	Vikrampur TEHSIL Khalwa	Khandwa	Rural	56	Open	DC	20	20	400	12	30	Draw of Lots	5	4

		1			1			1						
2767	Udaipur TEHSIL Ziraniya	Khargone	Rural	65	OBC	DC	20	20	400	12	30	Draw of Lots	5	3
2768	Cheetakheda TEHSIL Jiran	Neemuch	Rural	60	SC	CFS	20	20	400	0	0	Draw of Lots	0	2
2769	Sirsod TEHSIL Burhanpur	Burhanpur	Rural	65	Open	DC	20	20	400	12	30	Draw of Lots	5	4
2770	Manjrod Khurd TEHSIL Khaknar	Burhanpur	Rural	65	Open	DC	20	20	400	12	30	Draw of Lots	5	4
2771	Siwana TEHSIL Ziraniya	Khargone	Rural	65	OBC	DC	20	20	400	12	30	Draw of Lots	5	3
2772	Bakee urf Goi TEHSIL Sendhawa	Badwani	Rural	110	ST	CFS	20	20	400	0	0	Draw of Lots	0	2
2773	Siwal TEHSIL Nepanagar	Burhanpur	Rural	87	Open	DC	20	20	400	12	30	Draw of Lots	5	4
2774	Bheelkhedi TEHSIL SHUJALPUR	Shajapur	Rural	60	Open CC 1	DC	20	20	400	12	30	Draw of Lots	5	4
2775	Bhavasinghpura TEHSIL Ziraniya	Khargone	Rural	82	OBC	DC	20	20	400	12	30	Draw of Lots	5	3
2776	Chitawal TEHSIL Rajpur	Badwani	Rural	65	ST	CFS	20	20	400	0	0	Draw of Lots	0	2
2777	Sirwel TEHSIL Bhagwanpura	Khargone	Rural	61	Open	DC	20	20	400	12	30	Draw of Lots	5	4
2778	Segaon TEHSIL Segaon	Khargone	Rural	65	Open	DC	20	20	400	12	30	Draw of Lots	5	4
2779	Bablai TEHSIL Maheshwar	Khargone	Rural	65	OBC	DC	20	20	400	12	30	Draw of Lots	5	3
2780	Ubadi TEHSIL Khargone	Khargone	Rural	60	Open	DC	20	20	400	12	30	Draw of Lots	5	4
2781	Lodkiya TEHSIL Manasa	Neemuch	Rural	60	SC	CFS	20	20	400	0	0	Draw of Lots	0	2
2782	Barud TEHSIL Khargone	Khargone	Rural	65	Open	DC	20	20	400	12	30	Draw of Lots	5	4
2783	Banher TEHSIL Bhagwanpura	Khargone	Rural	60	OBC	DC	20	20	400	12	30	Draw of Lots	5	3
2784	Umarkhali TEHSIL Gogaon	Khargone	Rural	65	Open	DC	20	20	400	12	30	Draw of Lots	5	4
2785	Jamniya Khurd TEHSIL Indore	Indore	Rural	78	SC PH	CFS	20	20	400	0	0	Draw of Lots	0	2

2786	Gopalpura TEHSIL Kasrawad	Khargone	Rural	65	OBC PH	DC	20	20	400	12	30	Draw of Lots	5	3
2787	Sundrel TEHSIL Bhikangaon	Khargone	Rural	65	Open	DC	20	20	400	12	30	Draw of Lots	5	4
2788	Amankhedi TEHSIL Bhikangaon	Khargone	Rural	65	Open	DC	20	20	400	12	30	Draw of Lots	5	4
2789	Village Gujar khedi on Punasa Sanawad road TEHSIL Punasa	Khandwa	Rural	130	OBC	DC	20	20	400	12	30	Draw of Lots	5	3
2790	Indarpur TEHSIL Rajpur	Badwani	Rural	65	ST	CFS	20	20	400	0	0	Draw of Lots	0	2
2791	Anjangaon TEHSIL Bhikangaon	Khargone	Rural	56	Open	DC	20	20	400	12	30	Draw of Lots	5	4
2792	Aabhapuri TEHSIL Ziraniya	Khargone	Rural	62	Open	DC	20	20	400	12	30	Draw of Lots	5	4
2793	Village Chiktikhal on Mundi Punasa road TEHSIL Punasa	Khandwa	Rural	125	OBC	DC	20	20	400	12	30	Draw of Lots	5	3
2794	Kotda Bahadur TEHSIL SITAMAU	Mandsaur	Rural	60	SC	CFS	20	20	400	0	0	Draw of Lots	0	2
2795	Marugadh TEHSIL Ziraniya	Khargone	Rural	60	Open	DC	20	20	400	12	30	Draw of Lots	5	4
2796	Katkut TEHSIL Barwaha	Khargone	Rural	55	Open	DC	20	20	400	12	30	Draw of Lots	5	4
2797	Ratanpur TEHSIL Barwaha	Khargone	Rural	66	Open	DC	20	20	400	12	30	Draw of Lots	5	4
2798	Katora TEHSIL Sanawad	Khargone	Rural	60	OBC	DC	20	20	400	12	30	Draw of Lots	5	3
2799	Jhopali TEHSIL Sendhwa	Badwani	Rural	65	ST	CFS	20	20	400	0	0	Draw of Lots	0	2
2800	Juhawada TEHSIL Dhar	Dhar	Rural	72	Open CC 1	DC	20	20	400	12	30	Draw of Lots	5	4
2801	Dharampuri TEHSIL Kasrawad	Khargone	Rural	70	OBC	DC	20	20	400	12	30	Draw of Lots	5	3
2802	Kothawa TEHSIL Barwaha	Khargone	Rural	65	Open	DC	20	20	400	12	30	Draw of Lots	5	4
2803	Nariya Bujurg (On Suwasra Bhanpura Road) TEHSIL Shamgarh	Mandsaur	Rural	110	SC	CFS	20	20	400	0	0	Draw of Lots	0	2
2804	Naharkhedi TEHSIL Kasrawad	Khargone	Rural	60	Open	DC	20	20	400	12	30	Draw of Lots	5	4

2805	Charipura TEHSIL Bhagwanpura	Khargone	Rural	72	OBC	DC	20	20	400	12	30	Draw of Lots	5	3
2806	Somakhedi TEHSIL Maheshwar	Khargone	Rural	61	Open	DC	20	20	400	12	30	Draw of Lots	5	4
2807	Balakwada TEHSIL Kasrawad	Khargone	Rural	60	Open	DC	20	20	400	12	30	Draw of Lots	5	4
2808	Muvaswada TEHSIL Pati	Badwani	Rural	56	ST CC 1	CFS	20	20	400	0	0	Draw of Lots	0	2
2809	Surana TEHSIL Anjad	Badwani	Rural	65	OBC CC 1	DC	20	20	400	12	30	Draw of Lots	5	3
2810	Rampura TEHSIL Bhikangaon	Khargone	Rural	60	Open	DC	20	20	400	12	30	Draw of Lots	5	4
2811	Neenora TEHSIL Malhargarh	Mandsaur	Rural	60	Open PH	DC	20	20	400	12	30	Draw of Lots	5	4
2812	Khurmabad TEHSIL Sendhwa	Badwani	Rural	65	ST	CFS	20	20	400	0	0	Draw of Lots	0	2
2813	Jharda TEHSIL Malhargarh	Mandsaur	Rural	60	OBC	DC	20	20	400	12	30	Draw of Lots	5	3
2814	Omkareshwar TEHSIL Punasa	Khandwa	Rural	100	Open	DC	20	20	400	12	30	Draw of Lots	5	4
2815	Deori khawasa TEHSIL Manasa	Neemuch	Rural	72	OBC	DC	20	20	400	12	30	Draw of Lots	5	3
2816	Baghadi TEHSIL Thikri	Badwani	Rural	65	ST	CFS	20	20	400	0	0	Draw of Lots	0	2
2817	Mahommadpura TEHSIL Burhanpur	Burhanpur	Rural	60	Open	DC	20	20	400	12	30	Draw of Lots	5	4
2818	Killod TEHSIL Harsud	Khandwa	Rural	130	Open	DC	20	20	400	12	30	Draw of Lots	5	4
2819	Upto 1 km from Singhot Kharkhala phata towards village jalkua on singhot khar khala road TEHSIL Khandwa	Khandwa	Rural	100	Open	DC	20	20	400	12	30	Draw of Lots	5	4
2820	Rupni (On Mandsaur Nahargarh Road) TEHSIL SITAMAU	Mandsaur	Rural	60	OBC	DC	20	20	400	12	30	Draw of Lots	5	3
2821	Jamiuniya (On Suwasra Bhanpura Road) TEHSIL Shamgarh	Mandsaur	Rural	105	SC	CFS	20	20	400	0	0	Draw of Lots	0	2
2822	Charkheda on HarsudMundi road TEHSIL Harsud	Khandwa	Rural	105	Open	DC	20	20	400	12	30	Draw of Lots	5	4
2823	Kanvan TEHSIL Badnawar	Dhar	Rural	72	Open CC 1	DC	20	20	400	12	30	Draw of Lots	5	4

			,					1						
2824	Kachnara TEHSIL SITAMAU	Mandsaur	Rural	55	OBC	DC	20	20	400	12	30	Draw of Lots	5	3
2825	Vilva TEHSIL Varla	Badwani	Rural	60	ST	CFS	20	20	400	0	0	Draw of Lots	0	2
2826	Village Selda TEHSIL Sanawad	Khargone	Rural	145	Open	DC	20	20	400	12	30	Draw of Lots	5	4
2827	Laxmipura (On Neemuch Singoli Road) TEHSIL Jawad	Neemuch	Rural	105	OBC	DC	20	20	400	12	30	Draw of Lots	5	3
2828	Netangaon TEHSIL Punasa	Khandwa	Rural	60	Open	DC	20	20	400	12	30	Draw of Lots	5	4
2829	Dibgaon TEHSIL Gogaon	Khargone	Rural	55	Open	DC	20	20	400	12	30	Draw of Lots	5	4
2830	Ratangarh TEHSIL Singoli	Neemuch	Rural	105	SC	CFS	20	20	400	0	0	Draw of Lots	0	2
2831	Babulda (On Suwasra Bhanpura Road) TEHSIL Bhanpura	Mandsaur	Rural	110	OBC	DC	20	20	400	12	30	Draw of Lots	5	3
2832	Bhatud on Bedia Pipalgaon road TEHSIL Sanawad	Khargone	Rural	60	Open	DC	20	20	400	12	30	Draw of Lots	5	4
2833	Multhan TEHSIL Bhagwanpura	Khargone	Rural	60	Open	DC	20	20	400	12	30	Draw of Lots	5	4
2834	Khokari TEHSIL Varla	Badwani	Rural	65	ST	CFS	20	20	400	0	0	Draw of Lots	0	2
2835	Dhamaniya Diwan (On Suwasra Bhanpura Road) TEHSIL Shamgarh	Mandsaur	Rural	100	OBC	DC	20	20	400	12	30	Draw of Lots	5	3
2836	Dongargaon TEHSIL Khargone	Khargone	Rural	60	Open	DC	20	20	400	12	30	Draw of Lots	5	4
2837	Nandgaon TEHSIL Khargone	Khargone	Rural	60	Open	DC	20	20	400	12	30	Draw of Lots	5	4
2838	Dhalmu TEHSIL Garoth	Mandsaur	Rural	62	OBC	DC	20	20	400	12	30	Draw of Lots	5	3
2839	Dugani TEHSIL Varla	Badwani	Rural	65	ST	CFS	20	20	400	0	0	Draw of Lots	0	2
2840	Jiran TEHSIL Jiran	Neemuch	Rural	55	Open	DC	20	20	400	12	30	Draw of Lots	5	4
2841	Nahargarh TEHSIL SITAMAU	Mandsaur	Rural	60	Open	DC	20	20	400	12	30	Draw of Lots	5	4
2842	Bajeda TEHSIL Ratlam	Ratlam	Rural	65	OBC	DC	20	20	400	12	30	Draw of Lots	5	3

2843	Morwan (On Morwan to Ratangarh Road) TEHSIL Jawad	Neemuch	Rural	115	SC	CFS	20	20	400	0	0	Draw of Lots	0	2
2844	Athana TEHSIL Jawad	Neemuch	Rural	56	Open	DC	20	20	400	12	30	Draw of Lots	5	4
2845	Panthpipliya TEHSIL Malhargarh	Mandsaur	Rural	60	Open	DC	20	20	400	12	30	Draw of Lots	5	4
2846	Bamaniya on bamaniya petlawad road TEHSIL Petlawad	Jhabua	Rural	65	OBC	DC	20	20	400	12	30	Draw of Lots	5	3
2847	Laduna TEHSIL SITAMAU	Mandsaur	Rural	56	Open	DC	20	20	400	12	30	Draw of Lots	5	4
2848	Kumtha TEHSIL Khandwa	Khandwa	Rural	65	ST	CFS	20	20	400	0	0	Draw of Lots	0	2
2849	Barkheda TEHSIL Jhabua	Jhabua	Rural	56	OBC	DC	20	20	400	12	30	Draw of Lots	5	3
2850	Multhan TEHSIL Badnawar	Dhar	Rural	72	Open CC 1	DC	20	20	400	12	30	Draw of Lots	5	4
2851	Hatuniya TEHSIL Shamgarh	Mandsaur	Rural	67	Open	DC	20	20	400	12	30	Draw of Lots	5	4
2852	Semli (On Morwan to Neemuch Road) TEHSIL Jawad	Neemuch	Rural	110	SC	CFS	20	20	400	0	0	Draw of Lots	0	2
2853	Barothi TEHSIL Bajna	Ratlam	Rural	55	OBC	DC	20	20	400	12	30	Draw of Lots	5	3
2854	Jamiya kala(Mhow Neemuch Road) TEHSIL NEEMUCH	Neemuch	Rural	62	Open	DC	20	20	400	12	30	Draw of Lots	5	4
2855	Dhamnar (Nagri Dalauda Road) TEHSIL MANDSAUR	Mandsaur	Rural	55	Open	DC	20	20	400	12	30	Draw of Lots	5	4
2856	Aavalia TEHSIL Khalwa	Khandwa	Rural	65	ST	CFS	20	20	400	0	0	Draw of Lots	0	2
2857	Beed TEHSIL Raoti	Ratlam	Rural	65	OBC	DC	20	20	400	12	30	Draw of Lots	5	3
2858	Bhagor TEHSIL SITAMAU	Mandsaur	Rural	60	Open	DC	20	20	400	12	30	Draw of Lots	5	4
2859	Men TEHSIL Mhow	Indore	Rural	65	Open CC 2	DC	20	20	400	12	30	Draw of Lots	5	4
2860	koyadiya TEHSIL Anjad	Badwani	Rural	60	OBC CC 1	DC	20	20	400	12	30	Draw of Lots	5	3
2861	Holgaon TEHSIL Barwani	Badwani	Rural	60	SC CC 1	CFS	20	20	400	0	0	Draw of Lots	0	2

2862	Karju TEHSIL Dalauda	Mandsaur	Rural	56	Open	DC	20	20	400	12	30	Draw of Lots	5	4
2863	Kheta Kheda (On Kheta Kheda Rahimpur Road) TEHSIL SITAMAU	Mandsaur	Rural	60	Open	DC	20	20	400	12	30	Draw of Lots	5	4
2864	Bhagor TEHSIL Jhabua	Jhabua	Rural	65	OBC	DC	20	20	400	12	30	Draw of Lots	5	3
2865	Jamniya TEHSIL Khalwa	Khandwa	Rural	70	ST	CFS	20	20	400	0	0	Draw of Lots	0	2
2866	Singoli TEHSIL Singoli	Neemuch	Rural	113	Open	DC	20	20	400	12	30	Draw of Lots	5	4
2867	Daulatpura ( on Road connecting Vatsalya Public School to SH 31 ) TEHSIL Mandsaur	Mandsaur	Rural	110	Open	DC	20	20	400	12	30	Draw of Lots	5	4
2868	Bhandariya TEHSIL Bajna	Ratlam	Rural	60	OBC	DC	20	20	400	12	30	Draw of Lots	5	3
2869	Melkheda ( On Suwasra Bhanpura Road) TEHSIL Shamgarh	Mandsaur	Rural	100	Open	DC	20	20	400	12	30	Draw of Lots	5	4
2870	Saloda (On BhilwadaModak Marg) TEHSIL Singoli	Neemuch	Rural	110	SC	CFS	20	20	400	0	0	Draw of Lots	0	2
2871	Sarsod TEHSIL Dalauda	Mandsaur	Rural	67	Open	DC	20	20	400	12	30	Draw of Lots	5	4
2872	Bhavgarh TEHSIL Alote	Ratlam	Rural	65	OBC	DC	20	20	400	12	30	Draw of Lots	5	3
2873	Gyanpura TEHSIL Dhar	Dhar	Rural	55	Open CC 1	DC	20	20	400	12	30	Draw of Lots	5	4
2874	Chandani TEHSIL Nepanagar	Burhanpur	Rural	65	ST	CFS	20	20	400	0	0	Draw of Lots	0	2
2875	Bhojakhedi TEHSIL Alote	Ratlam	Rural	65	OBC	DC	20	20	400	12	30	Draw of Lots	5	3
2876	Agral TEHSIL Meghnagar	Jhabua	Rural	82	Open	DC	20	20	400	12	30	Draw of Lots	5	4
2877	Ambapada TEHSIL Sailana	Ratlam	Rural	65	Open	DC	20	20	400	12	30	Draw of Lots	5	4
2878	Bibdodh TEHSIL Ratlam	Ratlam	Rural	81	OBC	DC	20	20	400	12	30	Draw of Lots	5	3
2879	Manoharpur (On Ratangarh Singoli Road) TEHSIL Singoli	Neemuch	Rural	120	SC	CFS	20	20	400	0	0	Draw of Lots	0	2
2880	Ambari TEHSIL Alirajpur	Alirajpur	Rural	65	Open	DC	20	20	400	12	30	Draw of Lots	5	4

		1						r	1					
2881	Bilpank TEHSIL Ratlam	Ratlam	Rural	65	Open	DC	20	20	400	12	30	Draw of Lots	5	4
2882	Bichholi TEHSIL Sondwa	Alirajpur	Rural	60	OBC	DC	20	20	400	12	30	Draw of Lots	5	3
2883	Kalakot (Ramganj Mandi Road) TEHSIL Bhanpura	Mandsaur	Rural	60	ST	CFS	20	20	400	0	0	Draw of Lots	0	2
2884	Bodina TEHSIL Ratlam	Ratlam	Rural	65	Open	DC	20	20	400	12	30	Draw of Lots	5	4
2885	Borjhad TEHSIL Jobat	Alirajpur	Rural	65	Open	DC	20	20	400	12	30	Draw of Lots	5	4
2886	Basai TEHSIL Suwasra	Mandsaur	Rural	110	OBC PH	DC	20	20	400	12	30	Draw of Lots	5	3
2887	Dudgaon TEHSIL Punasa	Khandwa	Rural	65	ST PH	CFS	20	20	400	0	0	Draw of Lots	0	2
2888	Borpada TEHSIL Bajna	Ratlam	Rural	65	Open	DC	20	20	400	12	30	Draw of Lots	5	4
2889	Chandpur TEHSIL Katthiwada	Alirajpur	Rural	65	Open	DC	20	20	400	12	30	Draw of Lots	5	4
2890	Dhodhar TEHSIL Jaora	Ratlam	Rural	80	OBC	DC	20	20	400	12	30	Draw of Lots	5	3
2891	Chhapar Khanda TEHSIL Ranapur	Jhabua	Rural	65	Open	DC	20	20	400	12	30	Draw of Lots	5	4
2892	Amlipada TEHSIL Jhabua	Jhabua	Rural	65	SC	CFS	20	20	400	0	0	Draw of Lots	0	2
2893	Chhatri TEHSIL Ratlam	Ratlam	Rural	65	Open	DC	20	20	400	12	30	Draw of Lots	5	4
2894	Dhonswas TEHSIL Ratlam	Ratlam	Rural	55	OBC	DC	20	20	400	12	30	Draw of Lots	5	3
2895	Daulatganj TEHSIL Tal	Ratlam	Rural	56	Open	DC	20	20	400	12	30	Draw of Lots	5	4
2896	Kanjarda (ON Manasa Diken Road) TEHSIL MANASA	Neemuch	Rural	62	ST	CFS	20	20	400	0	0	Draw of Lots	0	2
2897	Dudhi TEHSIL Jhabua	Jhabua	Rural	60	OBC	DC	20	20	400	12	30	Draw of Lots	5	3
2898	Daulatpura TEHSIL Bajna	Ratlam	Rural	65	Open	DC	20	20	400	12	30	Draw of Lots	5	4
2899	Palsawad on akodiya to sundarsi road TEHSIL GULANA	Shajapur	Rural	65	Open CC 1	DC	20	20	400	12	30	Draw of Lots	5	4

		1						r	-			-		
2900	Jhaknawada TEHSIL Petlawad	Jhabua	Rural	65	OBC	DC	20	20	400	12	30	Draw of Lots	5	3
2901	Asawati TEHSIL Shamgarh	Mandsaur	Rural	60	ST	CFS	20	20	400	0	0	Draw of Lots	0	2
2902	Dhamani Kuka TEHSIL Ranapur	Jhabua	Rural	66	Open	DC	20	20	400	12	30	Draw of Lots	5	4
2903	Fatehpur TEHSIL Tal	Ratlam	Rural	60	Open	DC	20	20	400	12	30	Draw of Lots	5	4
2904	Kajuriya TEHSIL Jaora	Ratlam	Rural	66	OBC	DC	20	20	400	12	30	Draw of Lots	5	3
2905	Badaguda TEHSIL Jobat	Alirajpur	Rural	65	SC	CFS	20	20	400	0	0	Draw of Lots	0	2
2906	Ghoghalpur TEHSIL Sondwa	Alirajpur	Rural	65	Open	DC	20	20	400	12	30	Draw of Lots	5	4
2907	Ghughri TEHSIL Petlawad	Jhabua	Rural	60	Open	DC	20	20	400	12	30	Draw of Lots	5	4
2908	Itawa Kalan TEHSIL Ratlam	Ratlam	Rural	56	Open	DC	20	20	400	12	30	Draw of Lots	5	4
2909	Andad TEHSIL Bhikangaon	Khargone	Rural	66	OBC CC 1	DC	20	20	400	12	30	Draw of Lots	5	3
2910	Titgariya TEHSIL Thikri	Badwani	Rural	60	SC CC 1	CFS	20	20	400	0	0	Draw of Lots	0	2
2911	Badwan TEHSIL Mandsaur	Mandsaur	Rural	55	Open PH	DC	20	20	400	12	30	Draw of Lots	5	4
2912	Kalmoda TEHSIL Ratlam	Ratlam	Rural	65	OBC	DC	20	20	400	12	30	Draw of Lots	5	3
2913	Jamunya TEHSIL Petlawad	Jhabua	Rural	65	Open	DC	20	20	400	12	30	Draw of Lots	5	4
2914	Akola TEHSIL Katthiwada	Alirajpur	Rural	65	ST	CFS	20	20	400	0	0	Draw of Lots	0	2
2915	Jeevangarh TEHSIL Alote	Ratlam	Rural	60	Open	DC	20	20	400	12	30	Draw of Lots	5	4
2916	Kamma Khedi TEHSIL Tal	Ratlam	Rural	60	OBC	DC	20	20	400	12	30	Draw of Lots	5	3
2917	Khari TEHSIL Ratlam	Ratlam	Rural	60	Open	DC	20	20	400	12	30	Draw of Lots	5	4
2918	Kharwa Kalan TEHSIL Tal	Ratlam	Rural	65	Open	DC	20	20	400	12	30	Draw of Lots	5	4

2919	Badgaon TEHSIL Bhavra	Alirajpur	Rural	65	SC	CFS	20	20	400	0	0	Draw of Lots	0	2
2920	Kanjawani Khas TEHSIL Ranapur	Jhabua	Rural	65	OBC	DC	20	20	400	12	30	Draw of Lots	5	3
2921	Khatli TEHSIL Bajna	Ratlam	Rural	65	Open	DC	20	20	400	12	30	Draw of Lots	5	4
2922	Nipaniyadabi TEHSIL SHAJAPUR	Shajapur	Rural	65	Open CC 1	DC	20	20	400	12	30	Draw of Lots	5	4
2923	Akya Parval TEHSIL Jaora	Ratlam	Rural	65	ST	CFS	20	20	400	0	0	Draw of Lots	0	2
2924	Karadiya TEHSIL Alote	Ratlam	Rural	61	OBC	DC	20	20	400	12	30	Draw of Lots	5	3
2925	Badi Khattali TEHSIL Jobat	Alirajpur	Rural	65	Open	DC	20	20	400	12	30	Draw of Lots	5	4
2926	Kheda TEHSIL Jhabua	Jhabua	Rural	65	Open	DC	20	20	400	12	30	Draw of Lots	5	4
2927	Kariya TEHSIL Sailana	Ratlam	Rural	65	OBC	DC	20	20	400	12	30	Draw of Lots	5	3
2928	Antarveliya TEHSIL Jhabua	Jhabua	Rural	65	ST	CFS	20	20	400	0	0	Draw of Lots	0	2
2929	Kundal TEHSIL Bajna	Ratlam	Rural	60	Open	DC	20	20	400	12	30	Draw of Lots	5	4
2930	Kuwa Jhagar TEHSIL Ratlam	Ratlam	Rural	60	Open	DC	20	20	400	12	30	Draw of Lots	5	4
2931	Khajuri Solanki TEHSIL Alote	Ratlam	Rural	60	OBC	DC	20	20	400	12	30	Draw of Lots	5	3
2932	Borwa TEHSIL Raoti	Ratlam	Rural	55	SC	CFS	20	20	400	0	0	Draw of Lots	0	2
2933	Lambela TEHSIL Ranapur	Jhabua	Rural	60	Open	DC	20	20	400	12	30	Draw of Lots	5	4
2934	Makanpura TEHSIL Tal	Ratlam	Rural	65	Open	DC	20	20	400	12	30	Draw of Lots	5	4
2935	Khamariya TEHSIL Alote	Ratlam	Rural	65	OBC	DC	20	20	400	12	30	Draw of Lots	5	3
2936	Kalyanpura TEHSIL Jhabua	Jhabua	Rural	65	ST	CFS	20	20	400	0	0	Draw of Lots	0	2
2937	Malpura TEHSIL Bajna	Ratlam	Rural	60	Open	DC	20	20	400	12	30	Draw of Lots	5	4

			-											·
2938	Khardu Badi TEHSIL Jhabua	Jhabua	Rural	60	OBC	DC	20	20	400	12	30	Draw of Lots	5	3
2939	Mamat Kheda TEHSIL Piploda	Ratlam	Rural	77	Open	DC	20	20	400	12	30	Draw of Lots	5	4
2940	Mandawal TEHSIL Tal	Ratlam	Rural	65	Open	DC	20	20	400	12	30	Draw of Lots	5	4
2941	Chainpura TEHSIL Raoti	Ratlam	Rural	65	SC	CFS	20	20	400	0	0	Draw of Lots	0	2
2942	Matasula TEHSIL Ranapur	Jhabua	Rural	55	OBC	DC	20	20	400	12	30	Draw of Lots	5	3
2943	Mandwi TEHSIL Jaora	Ratlam	Rural	66	Open	DC	20	20	400	12	30	Draw of Lots	5	4
2944	Mangrol TEHSIL Ratlam	Ratlam	Rural	61	Open	DC	20	20	400	12	30	Draw of Lots	5	4
2945	Karmadi TEHSIL Ratlam	Ratlam	Rural	65	ST	CFS	20	20	400	0	0	Draw of Lots	0	2
2946	Mathwad TEHSIL Sondwa	Alirajpur	Rural	65	OBC	DC	20	20	400	12	30	Draw of Lots	5	3
2947	Rama TEHSIL Jhabua	Jhabua	Rural	65	Open	DC	20	20	400	12	30	Draw of Lots	5	4
2948	Khachroda TEHSIL Badnawar	Dhar	Rural	65	Open CC 1	DC	20	20	400	12	30	Draw of Lots	5	4
2949	Mohankot TEHSIL Petlawad	Jhabua	Rural	65	OBC	DC	20	20	400	12	30	Draw of Lots	5	3
2950	Khandala TEHSIL Alirajpur	Alirajpur	Rural	65	ST	CFS	20	20	400	0	0	Draw of Lots	0	2
2951	Rampuriya TEHSIL Petlawad	Jhabua	Rural	65	Open	DC	20	20	400	12	30	Draw of Lots	5	4
2952	Rampuriya TEHSIL Ratlam	Ratlam	Rural	65	Open	DC	20	20	400	12	30	Draw of Lots	5	4
2953	Mundla TEHSIL Sondwa	Alirajpur	Rural	65	OBC	DC	20	20	400	12	30	Draw of Lots	5	3
2954	Berchha TEHSIL Nagda	Ujjain	Rural	55	SC	CFS	20	20	400	0	0	Draw of Lots	0	2
2955	Ranigaon TEHSIL Piploda	Ratlam	Rural	60	Open	DC	20	20	400	12	30	Draw of Lots	5	4
2956	Raoti TEHSIL Raoti	Ratlam	Rural	56	Open	DC	20	20	400	12	30	Draw of Lots	5	4

2957	Nagra TEHSIL Ratiam	Ratlam	Rural	65	OBC	DC	20	20	400	12	30	Draw of Lots	5	3
2958	Ringnod TEHSIL Jaora	Ratlam	Rural	65	Open	DC	20	20	400	12	30	Draw of Lots	5	4
2959	Village Kesavi, TEHSIL Gandhwani	Dhar	Rural	65	ST CC 1	CFS	20	20	400	0	0	Draw of Lots	0	2
2960	Noradhat TEHSIL Indore	Indore	Rural	65	Open CC 2	DC	20	20	400	12	30	Draw of Lots	5	4
2961	Kurawan ( On Asawathi to Melkheda Road MDR) TEHSIL Shamgarh	Mandsaur	Rural	65	OBC CC 1	DC	20	20	400	12	30	Draw of Lots	5	3
2962	Rojana TEHSIL Jaora	Ratlam	Rural	65	Open	DC	20	20	400	12	30	Draw of Lots	5	4
2963	Kila Jobat TEHSIL Jobat	Alirajpur	Rural	65	ST	CFS	20	20	400	0	0	Draw of Lots	0	2
2964	Panched TEHSIL Ratlam	Ratlam	Rural	66	OBC	DC	20	20	400	12	30	Draw of Lots	5	3
2965	Rola TEHSIL Jaora	Ratlam	Rural	60	Open	DC	20	20	400	12	30	Draw of Lots	5	4
2966	Sagod TEHSIL Ratiam	Ratlam	Rural	60	Open	DC	20	20	400	12	30	Draw of Lots	5	4
2967	Pingrala TEHSIL Piploda	Ratlam	Rural	65	OBC	DC	20	20	400	12	30	Draw of Lots	5	3
2968	Sudwas TEHSIL Badod	Agar	Rural	60	SC	CFS	20	20	400	0	0	Draw of Lots	0	2
2969	Sajjanpura TEHSIL Bajna	Ratlam	Rural	65	Open	DC	20	20	400	12	30	Draw of Lots	5	4
2970	Samoi TEHSIL Ranapur	Jhabua	Rural	72	Open	DC	20	20	400	12	30	Draw of Lots	5	4
2971	Pritamnagar TEHSIL Ratlam	Ratlam	Rural	65	OBC	DC	20	20	400	12	30	Draw of Lots	5	3
2972	Mawta TEHSIL Piploda	Ratlam	Rural	65	ST	CFS	20	20	400	0	0	Draw of Lots	0	2
2973	Sansar TEHSIL Sailana	Ratlam	Rural	60	Open	DC	20	20	400	12	30	Draw of Lots	5	4
2974	Karnawad TEHSIL Sardarpur	Dhar	Rural	60	Open CC 1	DC	20	20	400	12	30	Draw of Lots	5	4
2975	Punapada TEHSIL Sailana	Ratlam	Rural	60	OBC	DC	20	20	400	12	30	Draw of Lots	5	3

-			r				r							
2976	Mundri TEHSIL Ratlam	Ratlam	Rural	65	ST	CFS	20	20	400	0	0	Draw of Lots	0	2
2977	Sarvad TEHSIL Ratlam	Ratlam	Rural	66	Open	DC	20	20	400	12	30	Draw of Lots	5	4
2978	Sherpur TEHSIL Piploda	Ratlam	Rural	65	Open	DC	20	20	400	12	30	Draw of Lots	5	4
2979	Rajpura TEHSIL Ratlam	Ratlam	Rural	56	OBC	DC	20	20	400	12	30	Draw of Lots	5	3
2980	Shivgarh TEHSIL Sailana	Ratlam	Rural	66	Open	DC	20	20	400	12	30	Draw of Lots	5	4
2981	Talidana TEHSIL Piploda	Ratlam	Rural	65	SC	CFS	20	20	400	0	0	Draw of Lots	0	2
2982	Sinod TEHSIL Ratlam	Ratlam	Rural	60	Open	DC	20	20	400	12	30	Draw of Lots	5	4
2983	Rakoda TEHSIL Piploda	Ratlam	Rural	65	OBC	DC	20	20	400	12	30	Draw of Lots	5	3
2984	Sorwa TEHSIL Katthiwada	Alirajpur	Rural	65	Open	DC	20	20	400	12	30	Draw of Lots	5	4
2985	Amada TEHSIL Pansemal	Badwani	Rural	62	SC PH	CFS	20	20	400	0	0	Draw of Lots	0	2
2986	Amba TEHSIL Piploda	Ratlam	Rural	65	OBC PH	DC	20	20	400	12	30	Draw of Lots	5	3
2987	Tajli TEHSIL Alote	Ratlam	Rural	56	Open	DC	20	20	400	12	30	Draw of Lots	5	4
2988	Tanda TEHSIL Petlawad	Jhabua	Rural	65	Open	DC	20	20	400	12	30	Draw of Lots	5	4
2989	Temaria TEHSIL Petlawad	Jhabua	Rural	60	OBC	DC	20	20	400	12	30	Draw of Lots	5	3
2990	Tandi TEHSIL Ranapur	Jhabua	Rural	60	ST	CFS	20	20	400	0	0	Draw of Lots	0	2
2991	Vikramgarh TEHSIL Alote	Ratlam	Rural	65	Open	DC	20	20	400	12	30	Draw of Lots	5	4
2992	Walpur TEHSIL Sondwa	Alirajpur	Rural	65	Open	DC	20	20	400	12	30	Draw of Lots	5	4
2993	Titi TEHSIL Alirajpur	Alirajpur	Rural	65	OBC	DC	20	20	400	12	30	Draw of Lots	5	3
2994	Mundi TEHSIL Punasa	Khandwa	Rural	60	SC	CFS	20	20	400	0	0	Draw of Lots	0	2
2994	Mundi TEHSIL Punasa	Khandwa	Rural	60	SC	CFS	20	20	400	0	0	Draw of Lots	0	2

2995	Village Rangpura on jhabuakalyanpura road TEHSIL Jhabua	Jhabua	Rural	60	Open	DC	20	20	400	12	30	Draw of Lots	5	4
2996	Village Madhopur on Tal to Daloda road TEHSIL Alote	Ratlam	Rural	100	Open	DC	20	20	400	12	30	Draw of Lots	5	4
2997	Banjli sejawata bypass road ( connecting SH39 and SH31) TEHSIL Ratlam	Ratlam	Rural	80	Open	DC	20	20	400	12	30	Draw of Lots	5	4
2998	Ublad TEHSIL Jobat	Alirajpur	Rural	65	OBC	DC	20	20	400	12	30	Draw of Lots	5	3
2999	Indalwat TEHSIL Katthiwada	Alirajpur	Rural	65	ST	CFS	20	20	400	0	0	Draw of Lots	0	2
3000	Chikavyavad TEHSIL Dharampuri	Dhar	Rural	65	Open CC 1	DC	20	20	400	12	30	Draw of Lots	5	4
3001	Umar TEHSIL Raoti	Ratlam	Rural	70	OBC	DC	20	20	400	12	30	Draw of Lots	5	3
3002	Mundat on Raipuriya Kalyanpura road TEHSIL Jhabua	Jhabua	Rural	60	Open	DC	20	20	400	12	30	Draw of Lots	5	4
3003	Balwari, TEHSIL Gandhwani	Dhar	Rural	65	SC	CFS	20	20	400	0	0	Draw of Lots	0	2
3004	Raipuriya TEHSIL Petlawad	Jhabua	Rural	56	Open	DC	20	20	400	12	30	Draw of Lots	5	4
3005	Umrali TEHSIL Sondwa	Alirajpur	Rural	65	OBC	DC	20	20	400	12	30	Draw of Lots	5	3
3006	Surdiya on ranapurkundanpur road TEHSIL Ranapur	Jhabua	Rural	56	Open	DC	20	20	400	12	30	Draw of Lots	5	4
3007	Malakheda TEHSIL Tal	Ratlam	Rural	65	Open	DC	20	20	400	12	30	Draw of Lots	5	4
3008	Bhopawar, TEHSIL Sardarpur	Dhar	Rural	65	ST CC 1	CFS	20	20	400	0	0	Draw of Lots	0	2
3009	Jawad TEHSIL JAWAD	Neemuch	Rural	60	OBC CC 1	DC	20	20	400	12	30	Draw of Lots	5	3
3010	Kolpura TEHSIL Sailana	Ratlam	Rural	65	Open	DC	20	20	400	12	30	Draw of Lots	5	4
3011	Village Navasa, TEHSIL Dhar	Dhar	Rural	65	Open PH	DC	20	20	400	12	30	Draw of Lots	5	4
3012	Bedawali on meghnagarrambhapur road TEHSIL Meghnagar	Jhabua	Rural	56	ST	CFS	20	20	400	0	0	Draw of Lots	0	2
3013	Umran TEHSIL Ratlam	Ratlam	Rural	65	OBC	DC	20	20	400	12	30	Draw of Lots	5	3

3014	Badoda TEHSIL Ratlam	Ratlam	Rural	65	Open	DC	20	20	400	12	30	Draw of Lots	5	4
3015	Uparwada TEHSIL Piploda	Ratlam	Rural	60	OBC	DC	20	20	400	12	30	Draw of Lots	5	3
3016	Khari TEHSIL Jobat	Alirajpur	Rural	65	ST	CFS	20	20	400	0	0	Draw of Lots	0	2
3017	Malwasa TEHSIL Ratlam	Ratlam	Rural	65	Open	DC	20	20	400	12	30	Draw of Lots	5	4
3018	Bhomlwas TEHSIL Badnagar	Ujjain	Rural	60	Open	DC	20	20	400	12	30	Draw of Lots	5	4
	Upto 3 km from mahidpur narayana tiraha towards narayana (Outside municipal limit) on mahidpur narayana road TEHSIL Mahidpur	Ujjain	Rural	60	Open	DC	20	20	400	12	30	Draw of Lots	5	4
3020	Upto 2 KM from BPCL petrol pump at Sailana bypass towards Piploda on sailanapiploda road TEHSIL Sailana	Ratlam	Rural	105	OBC	DC	20	20	400	12	30	Draw of Lots	5	3
3021	Sanoli TEHSIL Badnawar	Dhar	Rural	65	SC	CFS	20	20	400	0	0	Draw of Lots	0	2
3022	Indokh TEHSIL Mahidpur	Ujjain	Rural	55	Open	DC	20	20	400	12	30	Draw of Lots	5	4
3023	Pedmi on Kampel to Double chouki Road TEHSIL Indore	Indore	Rural	65	Open CC 1	DC	20	20	400	12	30	Draw of Lots	5	4
3024	khawasa on khawasa Bajna road TEHSIL Thandla	Jhabua	Rural	60	OBC	DC	20	20	400	12	30	Draw of Lots	5	3
3025	Longsari,TEHSIL Gandhwani	Dhar	Rural	65	ST	CFS	20	20	400	0	0	Draw of Lots	0	2
3026	Chintaman Jawasiya TEHSIL Ujjain	Ujjain	Rural	55	Open	DC	20	20	400	12	30	Draw of Lots	5	4
3027	Maukhedi TEHSIL Piploda	Ratlam	Rural	65	OBC	DC	20	20	400	12	30	Draw of Lots	5	3
3028	Bhatpachlana TEHSIL Badnagar	Ujjain	Rural	55	Open	DC	20	20	400	12	30	Draw of Lots	5	4
3029	Karnawad on Unhel Mahidpur rd TEHSIL Nagda	Ujjain	Rural	55	Open	DC	20	20	400	12	30	Draw of Lots	5	4
3030	Bicholi Hapsi TEHSIL Indore	Indore	Rural	60	SC	CFS	20	20	400	0	0	Draw of Lots	0	2
3031	Kunda TEHSIL Sailana	Ratlam	Rural	65	OBC	DC	20	20	400	12	30	Draw of Lots	5	3
3032	Piploda Dwarkadish TEHSIL Ujjain	Ujjain	Rural	55	Open	DC	20	20	400	12	30	Draw of Lots	5	4

3033	Pirjhalar TEHSIL Badnagar	Ujjain	Rural	55	Open	DC	20	20	400	12	30	Draw of Lots	5	4
3034	Umari,TEHSIL kukshi	Dhar	Rural	65	ST	CFS	20	20	400	0	0	Draw of Lots	0	2
3035	Piplon Kalan TEHSIL Agar	Agar	Rural	55	OBC	DC	20	20	400	12	30	Draw of Lots	5	3
3036	Harsodan on Ujjain Maxi Road TEHSIL Ujjain	Ujjain	Rural	55	Open	DC	20	20	400	12	30	Draw of Lots	5	4
3037	Village Gorakhpur Tehsil Narsimhapur	Narsinghpur	Rural	46	Open	DC	20	20	400	12	30	Draw of Lots	5	4
3038	Between Km Stone 26 to 31 on Gadarwara Tendukhera Road Tehsil Tendu	Narsinghpur	Rural	46	OBC	DC	20	20	400	12	30	Draw of Lots	5	3
3039	Village Bhanderi on Parastola to Malhajkhand Road Tehsil Baihar	Balaghat	Rural	46	ST	CFS	20	20	400	0	0	Draw of Lots	0	2
3040	Village Bareli (Between Dhimarkhera and Bilayatkalan Road) Tehsil Dhin	Katni	Rural	46	Open	DC	20	20	400	12	30	Draw of Lots	5	4
3041	Village Sankal Tehsil Gotegaon	Narsinghpur	Rural	46	Open	DC	20	20	400	12	30	Draw of Lots	5	4
3042	Village Barhata Tehsil Gotegaon	Narsinghpur	Rural	46	OBC	DC	20	20	400	12	30	Draw of Lots	5	3
3043	Village Chakaheti Tehsil Tirodi	Balaghat	Rural	46	SC	CFS	20	20	400	0	0	Draw of Lots	0	2
3044	Between Tikri mod tiraha to Uttam dhaba Kotar Tehsil Kotar	Satna	Rural	46	Open	DC	20	20	400	12	30	Draw of Lots	5	4
3045	Village Khulri Tehsil Gadarwara	Narsinghpur	Rural	46	Open	DC	20	20	400	12	30	Draw of Lots	5	4
3046	Between village Bakayan and SH37 Tehsil Batiyagarh	Damoh	Rural	46	OBC	DC	20	20	400	12	30	Draw of Lots	5	3
3047	Village Singhpur Tehsil Narsimhapur	Narsinghpur	Rural	46	Open	DC	20	20	400	12	30	Draw of Lots	5	4
3048	Village Paunar Tehsil Amarwada	Chhindwara	Rural	46	ST	CFS	20	20	400	0	0	Draw of Lots	0	2
3049	Village Karanjiya Tehsil Bajag	Dindori	Rural	46	OBC	DC	20	20	400	12	30	Draw of Lots	5	3
3050	Village Bachai Tehsil Narsimhapur	Narsinghpur	Rural	46	Open CC 1	DC	20	20	400	12	30	Draw of Lots	5	4
3051	Village Itora Tehsil Vijayraghavgarh	Katni	Rural	46	Open	DC	20	20	400	12	30	Draw of Lots	5	4

3052	Kerbana (not on NH) Tehsil Sagar	Sagar	Rural	46	SC	CFS	20	20	400	0	0	Draw of Lots	0	2
3053	Village Babaliya on Niwas Mandla Road Tehsil Niwas	Mandla	Rural	46	OBC	DC	20	20	400	12	30	Draw of Lots	5	3
3054	Village Nanda Mal Tehsil Dindori	Dindori	Rural	46	Open	DC	20	20	400	12	30	Draw of Lots	5	4
3055	Village Bagaspur Tehsil Gotegaon	Narsinghpur	Rural	46	Open	DC	20	20	400	12	30	Draw of Lots	5	4
3056	Village Jhamar on Sankal Road Tehsil Narsimhapur	Narsinghpur	Rural	46	ST	CFS	20	20	400	0	0	Draw of Lots	0	2
3057	Village Khanna Banjari not on SH Tehsil Barhi	Katni	Rural	46	OBC	DC	20	20	400	12	30	Draw of Lots	5	3
3058	Village Niwari on Amgaon Singhpur Road Tehsil Kareli	Narsinghpur	Rural	46	Open	DC	20	20	400	12	30	Draw of Lots	5	4
3059	Village Barha Tehsil Gadarwara	Narsinghpur	Rural	46	Open CC 2	DC	20	20	400	12	30	Draw of Lots	5	4
3060	Village Indawar Tehsil Manpur	Umaria	Rural	46	OBC CC 1	DC	20	20	400	12	30	Draw of Lots	5	3
3061	Village Madhi Khurd Tehsil Nagod	Satna	Rural	46	SC CC 1	CFS	20	20	400	0	0	Draw of Lots	0	2
3062	Village Umariya Tehsil Kareli	Narsinghpur	Rural	46	Open	DC	20	20	400	12	30	Draw of Lots	5	4
3063	Within 2 km of Village Chaura on Rajmilan to Sarai Road ( on PMGSY )Tehsil Manda	Singrauli	Rural	46	Open	DC	20	20	400	12	30	Draw of Lots	5	4
3064	Village Gadasarai Mal Tehsil Bajag	Dindori	Rural	46	OBC	DC	20	20	400	12	30	Draw of Lots	5	3
3065	Village Tindani Tehsil Narsimhapur	Narsinghpur	Rural	46	ST	CFS	20	20	400	0	0	Draw of Lots	0	2
3066	Between new RTO office Damoh and SH14 Tehsil Damoh	Damoh	Rural	46	Open	DC	20	20	400	12	30	Draw of Lots	5	4
3067	Village Sarasdol Tehsil Amarwada	Chhindwara	Rural	46	Open	DC	20	20	400	12	30	Draw of Lots	5	4
3068	Nitarra to Devgaon Road Tehsil Rithi	Katni	Rural	46	OBC	DC	20	20	400	12	30	Draw of Lots	5	3
3069	Village Anjania Tehsil Bichhiya	Mandla	Rural	46	Open	DC	20	20	400	12	30	Draw of Lots	5	4
3070	Village Gugwara on Gourjhamar to Rehli Road Tehsil Deori	Sagar	Rural	46	SC	CFS	20	20	400	0	0	Draw of Lots	0	2

3071	Village Kaparwadi Tehsil Chhindwara	Chhindwara	Rural	46	Open	DC	20	20	400	12	30	Draw of Lots	5	4
3072	Village Kathotiya Tehsil Kareli	Narsinghpur	Rural	46	OBC	DC	20	20	400	12	30	Draw of Lots	5	3
3073	Village Karakbel Tehsil Gotegaon	Narsinghpur	Rural	46	Open CC 1	DC	20	20	400	12	30	Draw of Lots	5	4
3074	Village Nimas Tehsil Bahoriband	Katni	Rural	46	ST	CFS	20	20	400	0	0	Draw of Lots	0	2
3075	Village Saliwada Sharda Tehsil Amarwada	Chhindwara	Rural	46	OBC	DC	20	20	400	12	30	Draw of Lots	5	3
3076	Village Bhagwa on Bada Malhera to Ghuwara Road Tehsil Ghuwara	Chhatarpur	Rural	46	Open	DC	20	20	400	12	30	Draw of Lots	5	4
3077	Village Gopalganj not on NH Tehsil Seoni	Seoni	Rural	46	Open	DC	20	20	400	12	30	Draw of Lots	5	4
3078	Up to 2 Km from State Bank of India Katangi Branch on Katangi Waraseoni	Balaghat	Rural	46	OBC	DC	20	20	400	12	30	Draw of Lots	5	3
3079	Village Etawa on Bina Mungawali Road Tehsil Bina	Sagar	Rural	46	SC	CFS	20	20	400	0	0	Draw of Lots	0	2
3080	Village Chirchira on MDR Tehsil Keolari	Seoni	Rural	46	Open	DC	20	20	400	12	30	Draw of Lots	5	4
3081	Village Belkheda ( Not on NH) Tehsil Shahpura	Jabalpur	Rural	46	Open	DC	20	20	400	12	30	Draw of Lots	5	4
3082	Village Narayanganj Tehsil Narayanganj	Mandla	Rural	46	OBC	DC	20	20	400	12	30	Draw of Lots	5	3
3083	Village Khadauli Tehsil Murwara	Katni	Rural	46	ST	CFS	20	20	400	0	0	Draw of Lots	0	2
3084	Village Patheriya Jat ( Not on SH) Tehsil Sagar	Sagar	Rural	46	Open	DC	20	20	400	12	30	Draw of Lots	5	4
3085	Village Bamhori Dundher on Guda Dungasara Road Tehsil Sagar	Sagar	Rural	46	Open	DC	20	20	400	12	30	Draw of Lots	5	4
3086	Village Barhana Tehsil Raghurajnagar	Satna	Rural	46	OBC PH	DC	20	20	400	12	30	Draw of Lots	5	3
3087	Village Barachh Tehsil Panna	Panna	Rural	46	ST PH	CFS	20	20	400	0	0	Draw of Lots	0	2
3088	Within one Km from Bus Stand Shahpur towards Village Amoda Tehsil Sagar( Outside Municipal Limit)	Sagar	Rural	46	Open	DC	20	20	400	12	30	Draw of Lots	5	4
3089	Within 2 Km from Gate of Panchayat Bhawan Hardwar towards Mahoba Tehsil Laundi	Chhatarpur	Rural	46	Open	DC	20	20	400	12	30	Draw of Lots	5	4

					r	1					1			
3090	Village Ubhegaon Khajari Tehsil Chhindwara	Chhindwara	Rural	46	OBC	DC	20	20	400	12	30	Draw of Lots	5	3
3091	Within 1 Km from Krishi Upaj Mandi Kesli towards Gaur Jhamar Tehsil Kesli ( outside Municipal Limit)	Sagar	Rural	46	Open	DC	20	20	400	12	30	Draw of Lots	5	4
3092	Village Nirtala on Khurai Mandi Bamora Road Tehsil Khurai	Sagar	Rural	46	SC	CFS	20	20	400	0	0	Draw of Lots	0	2
3093	Village Bijadandi Tehsil Narayanganj	Mandla	Rural	46	Open	DC	20	20	400	12	30	Draw of Lots	5	4
3094	Village Sundaur Tehsil Shahnagar	Panna	Rural	46	OBC	DC	20	20	400	12	30	Draw of Lots	5	3
3095	On Gosalpur Khinni Road in Village Gosalpur Tehsil Sihora	Jabalpur	Rural	46	Open	DC	20	20	400	12	30	Draw of Lots	5	4
3096	1 Km on either side of Village Sagra on Hardua Road Tehsil Jabera	Damoh	Rural	46	ST	CFS	20	20	400	0	0	Draw of Lots	0	2
3097	Village Khairi Tehsil Gadarwara	Narsinghpur	Rural	46	OBC	DC	20	20	400	12	30	Draw of Lots	5	3
3098	Village Jyoraha on Lavkush Nagar to Mahoba Road Tehsil Laundi	Chhatarpur	Rural	46	Open	DC	20	20	400	12	30	Draw of Lots	5	4
3099	Village Badkhera Tehsil Badwara	Katni	Rural	46	Open CC 1	DC	20	20	400	12	30	Draw of Lots	5	4
3100	Village Nagandeori on Dhuma Gotegaon Road Tehsil Lakhnadon	Seoni	Rural	46	OBC	DC	20	20	400	12	30	Draw of Lots	5	3
3101	Village Pondi on Chirai Dongri Pondi Road Tehsil Paraswada	Balaghat	Rural	46	ST	CFS	20	20	400	0	0	Draw of Lots	0	2
3102	Village Kharaba on Chandla Road Tehsil Chandla	Chhatarpur	Rural	46	Open	DC	20	20	400	12	30	Draw of Lots	5	4
3103	Village Pathada on Ishanagar Palera Road Tehsil Chattarpur	Chhatarpur	Rural	46	Open	DC	20	20	400	12	30	Draw of Lots	5	4
3104	Village Rasuiya Bhatan on Tikamgarh Isha Nagar Road Tehsil Chattarpur	Chhatarpur	Rural	46	OBC	DC	20	20	400	12	30	Draw of Lots	5	3
3105	Village Kunwarpura Kalan on Ghuwara Bada Malhera Road Tehsil Bada M	Chhatarpur	Rural	46	SC	CFS	20	20	400	0	0	Draw of Lots	0	2
3106	Within 2 Km from Rangir Tiraha from NH 26 towards Rangir Tehsil Deori	Sagar	Rural	46	Open	DC	20	20	400	12	30	Draw of Lots	5	4
3107	Village Amgaon Bada Tehsil Kareli	Narsinghpur	Rural	46	Open	DC	20	20	400	12	30	Draw of Lots	5	4
3108	Village Ranipura on Luvkushnagar to Mahoba Road Tehsil Laundi	Chhatarpur	Rural	46	Open	DC	20	20	400	12	30	Draw of Lots	5	4

3109	Upto 2 Kms from Gunnour on Kakrahti Road Tehsil Gunnour	Panna	Rural	46	OBC CC 1	DC	20	20	400	12	30	Draw of Lots	5	3
3110	Village Mocha Tehsil Bichhiya	Mandla	Rural	46	SC CC 1	CFS	20	20	400	0	0	Draw of Lots	0	2
3111	Ram Piparia on Narsinghpur Umaria Road Tehsil Kareli	Narsinghpur	Rural	46	Open PH	DC	20	20	400	12	30	Draw of Lots	5	4
3112	Within 1 Km from Dumra Tigadda towards Maharajpur Tehsil Rajnagar	Chhatarpur	Rural	46	OBC	DC	20	20	400	12	30	Draw of Lots	5	3
3113	Village Chawarpatha Tehsil Narsimhapur	Narsinghpur	Rural	46	Open	DC	20	20	400	12	30	Draw of Lots	5	4
3114	2 Km Both Side of Village Lohajhar on PMGSY Tehsil Majhauli	Sidhi	Rural	46	ST	CFS	20	20	400	0	0	Draw of Lots	0	2
3115	Village Kanti on Muhas Road Tehsil Vijayraghavgarh	Katni	Rural	46	Open	DC	20	20	400	12	30	Draw of Lots	5	4
3116	Village Madha on Luvkushnagar Chandla Road Tehsil Laundi	Chhatarpur	Rural	46	OBC	DC	20	20	400	12	30	Draw of Lots	5	3
3117	Between Main Bus Stand Bara to Police Chowki Bara (Banda Damoh Road) Tehsil Banda	Sagar	Rural	46	Open	DC	20	20	400	12	30	Draw of Lots	5	4
3118	Village Gulwara Tehsil Murwara	Katni	Rural	46	Open	DC	20	20	400	12	30	Draw of Lots	5	4
3119	Village Ghureta Tehsil Sagar	Sagar	Rural	46	SC	CFS	20	20	400	0	0	Draw of Lots	0	2
3120	Within 1 Km from NH 26 on Gaurjhamar Kesli Road Tehsil Kesli	Sagar	Rural	46	OBC	DC	20	20	400	12	30	Draw of Lots	5	3
3121	Village Sanga Tehsil Tendukheda	Damoh	Rural	46	Open	DC	20	20	400	12	30	Draw of Lots	5	4
3122	Village Kumhali Tehsil Khairlanjhi	Balaghat	Rural	46	Open CC 1	DC	20	20	400	12	30	Draw of Lots	5	4
3123	Village Majgaon Mal on Baihar Tatri Road Tehsil Paraswada	Balaghat	Rural	46	ST	CFS	20	20	400	0	0	Draw of Lots	0	2
3124	Rajwans Not on NH Tehsil Malthon	Sagar	Rural	46	OBC	DC	20	20	400	12	30	Draw of Lots	5	3
3125	Village Lugasi Tehsil Nowgong	Chhatarpur	Rural	46	Open	DC	20	20	400	12	30	Draw of Lots	5	4
3126	Village Itwa khas (on Pahadikheda Panna Road) Tehsil Panna	Panna	Rural	46	Open	DC	20	20	400	12	30	Draw of Lots	5	4
3127	Village Raipur (Chakghat to Sonauri Road Via Deeh) Tehsil Teonthar	Rewa	Rural	46	OBC	DC	20	20	400	12	30	Draw of Lots	5	3

3128	Village Mawai Tehsil Bichia	Mandla	Rural	46	ST	CFS	20	20	400	0	0	Draw of Lots	0	2
3129	Between Km Stone No 13 to 15 on MDR 39 01 RHS Going towards Katni Tehsil Vijayraghogarh	Katni	Rural	46	Open	DC	20	20	400	12	30	Draw of Lots	5	4
3130	Village Devgaon ( Between Ghuraghat and Padajhir Road) Tehsil Hatta	Damoh	Rural	46	Open	DC	20	20	400	12	30	Draw of Lots	5	4
3131	Village Hindoria on Patera MDR road Tehsil Damoh	Damoh	Rural	46	OBC	DC	20	20	400	12	30	Draw of Lots	5	3
3132	Village Sarani on Chhatrapur Vikrampur Road Tehsil Chhatarpur	Chhatarpur	Rural	46	SC	CFS	20	20	400	0	0	Draw of Lots	0	2
3133	Between Village Jagthar and Village Kerbana Tehsil Batiyagarh	Damoh	Rural	46	Open	DC	20	20	400	12	30	Draw of Lots	5	4
3134	Village Shahpur(from Govt Hospital Shahpur to Kushwaha Basti) Tehsil Har	Rewa	Rural	46	Open	DC	20	20	400	12	30	Draw of Lots	5	4
3135	Upto 5 Km from Village Fatehpur Bus Stand on Hatta Road Tehsil Batiyaga	Damoh	Rural	46	OBC	DC	20	20	400	12	30	Draw of Lots	5	3
3136	Between SH 14 and Rajnagarlake Tehsil Damoh	Damoh	Rural	46	ST	CFS	20	20	400	0	0	Draw of Lots	0	2
3137	Village Birahuli (Jaitpur Chauraha via Burhar to Bhatia Road) Tehsil Burha	Shahdol	Rural	46	Open	DC	20	20	400	12	30	Draw of Lots	5	4
3138	Village Kudari Tehsil Sohagpur	Shahdol	Rural	46	OBC	DC	20	20	400	12	30	Draw of Lots	5	3
3139	Village Johariya Sheikh Not on NH Tehsil Rahatgarh	Sagar	Rural	46	Open	DC	20	20	400	12	30	Draw of Lots	5	4
3140	Village Musuriha ( Between Bypass to Hanumana Market) Tehsil Hanuman	Rewa	Rural	46	Open	DC	20	20	400	12	30	Draw of Lots	5	4
3141	Village Singaudi Tehsil Vijayraghavgarh	Katni	Rural	46	SC	CFS	20	20	400	0	0	Draw of Lots	0	2
3142	Village Keolari Kalan Tehsil Kesli	Sagar	Rural	46	OBC	DC	20	20	400	12	30	Draw of Lots	5	3
3143	Village Itaura(Rewa Sirmaour Road Via Baikunthpur) Tehsil Huzur	Rewa	Rural	46	Open	DC	20	20	400	12	30	Draw of Lots	5	4
3144	Village Madari on Lalgaon to Katra Road Tehsil Sirmaur	Rewa	Rural	46	Open	DC	20	20	400	12	30	Draw of Lots	5	4
3145	Within 3 Km from Matguan Tigadda towards Bijawar Road Tehsil Chattarp	Chhatarpur	Rural	46	ST	CFS	20	20	400	0	0	Draw of Lots	0	2
3146	Upto 2 Km from Village Simrijalamsingh at Chaupara Tiraha on 17 Milestone Road Tehsil Jabera	Damoh	Rural	46	OBC	DC	20	20	400	12	30	Draw of Lots	5	3

									-					
3147	Village Sakariya(Anuppur to Amarkantak Road) Tehsil Anuppur	Anuppur	Rural	46	Open	DC	20	20	400	12	30	Draw of Lots	5	4
3148	Village Buddahatta Tehsil Hatta	Damoh	Rural	46	Open CC 1	DC	20	20	400	12	30	Draw of Lots	5	4
3149	Upto 2 Km from Dhungi Tiraha on Banwar Road Tehsil Jabera	Damoh	Rural	46	OBC	DC	20	20	400	12	30	Draw of Lots	5	3
3150	Village Budbuda Tehsil Waraseoni	Balaghat	Rural	46	ST	CFS	20	20	400	0	0	Draw of Lots	0	2
3151	Village Papaundh(Papaundh Railway Staion Road to Beohari) Tehsil Beoh	Shahdol	Rural	46	Open	DC	20	20	400	12	30	Draw of Lots	5	4
3152	Village Samnapur ( Between Tendukhera and Maharajpur Road) Tehsil Tendukhera	Damoh	Rural	46	Open	DC	20	20	400	12	30	Draw of Lots	5	4
3153	Village Amadand (from Weekely Market Place to OCM Gate) Tehsil Anup	Anuppur	Rural	46	OBC	DC	20	20	400	12	30	Draw of Lots	5	3
3154	Village Barkhera Khuman Tehsil Sagar	Sagar	Rural	46	SC	CFS	20	20	400	0	0	Draw of Lots	0	2
3155	Village Budwa(Budhwa to Deolond Road) Tehsil Beohari	Shahdol	Rural	46	Open	DC	20	20	400	12	30	Draw of Lots	5	4
3156	Village Majhigawan (Rewa Baikunthpur Road Via Lauwa) Tehsil Semariya	Rewa	Rural	46	Open	DC	20	20	400	12	30	Draw of Lots	5	4
3157	Village Maharajganj on Badamalhera to Bijawar Road Tehsil Bada Malhera	Chhatarpur	Rural	46	OBC	DC	20	20	400	12	30	Draw of Lots	5	3
3158	Village Barodiya Kalan Not on NH Tehsil Malthon	Sagar	Rural	46	Open	DC	20	20	400	12	30	Draw of Lots	5	4
3159	Village Umariya Tehsil Gotegaon	Narsinghpur	Rural	46	ST CC 1	CFS	20	20	400	0	0	Draw of Lots	0	2
3160	Within 1 Km from Highway in Village Ramkhiriya Tehsil Shahpura	Jabalpur	Rural	46	Open CC 2	DC	20	20	400	12	30	Draw of Lots	5	4
3161	Village Gorakhpur Tehsil Ghansaur	Seoni	Rural	46	OBC CC 1	DC	20	20	400	12	30	Draw of Lots	5	3
3162	Village Patna(Raipur Karchuliyan to Sagra Road) Tehsil Raipur Karchuliya	Rewa	Rural	46	Open	DC	20	20	400	12	30	Draw of Lots	5	4
3163	Village Kurai (on MDR) Tehsil Kurai	Seoni	Rural	46	ST	CFS	20	20	400	0	0	Draw of Lots	0	2
3164	Village Pachgaon Tehsil Sohagpur	Shahdol	Rural	46	OBC	DC	20	20	400	12	30	Draw of Lots	5	3
3165	Village Paliya (Mangawan to Gurh Road) Tehsil Mangawan	Rewa	Rural	46	Open	DC	20	20	400	12	30	Draw of Lots	5	4

3166	Village Akauri(Jawa Chilla Road) Tehsil Jawa	Rewa	Rural	46	Open	DC	20	20	400	12	30	Draw of Lots	5	4
3167	Village Bicharpur(Railway Crossing to Panchgaon Road) Tehsil Sohagpur	Shahdol	Rural	46	OBC	DC	20	20	400	12	30	Draw of Lots	5	3
3168	1.5 Km from Madhyanchal Gramin Bank Ganiyari towards Aadarsh Genius School Tehsil Singrauli	Singrauli	Rural	46	SC	CFS	20	20	400	0	0	Draw of Lots	0	2
3169	Village Bansi (Nipania Mukundpur Road) Tehsil Huzur	Rewa	Rural	46	Open	DC	20	20	400	12	30	Draw of Lots	5	4
3170	Village Garh(Garh to Lauri Road) Tehsil Mangawan	Rewa	Rural	46	Open	DC	20	20	400	12	30	Draw of Lots	5	4
3171	Upto 2 Km from Village Kaudia on Chandia Road Tehsil Chandia	Umaria	Rural	46	OBC	DC	20	20	400	12	30	Draw of Lots	5	3
3172	Village Chhindi on PMGSY Road Tehsil Tamia	Chhindwara	Rural	46	ST	CFS	20	20	400	0	0	Draw of Lots	0	2
3173	Village Amri (on Katan Gunnor Road) Tehsil Gunnour	Panna	Rural	46	Open	DC	20	20	400	12	30	Draw of Lots	5	4
3174	Village Bibi Tehsil Lakhnadon	Seoni	Rural	46	Open CC 1	DC	20	20	400	12	30	Draw of Lots	5	4
3175	Gajara Bahara at Parsauna Rajmilan Sarai Road Tehsil Sarai	Singrauli	Rural	46	OBC	DC	20	20	400	12	30	Draw of Lots	5	3
3176	Village Jarwahi (Jaitpur Chauraha Burhar to Bhatia Road Via Pakariya Gra	Shahdol	Rural	46	ST	CFS	20	20	400	0	0	Draw of Lots	0	2
3177	On Belkhadu Nunsar Road in Village Padariya Tehsil Panagar	Jabalpur	Rural	46	Open	DC	20	20	400	12	30	Draw of Lots	5	4
3178	Village Dhanora on MDR Tehsil Harrai	Chhindwara	Rural	46	Open	DC	20	20	400	12	30	Draw of Lots	5	4
3179	Village Binora Tehsil Kirnapur	Balaghat	Rural	46	OBC	DC	20	20	400	12	30	Draw of Lots	5	3
3180	Village Mankughati Tehsil Junnardeo	Chhindwara	Rural	46	Open	DC	20	20	400	12	30	Draw of Lots	5	4
3181	Kotar Khurd Tehsil Gopadbanas	Sidhi	Rural	46	SC	CFS	20	20	400	0	0	Draw of Lots	0	2
3182	Upto 2 Km from Village Bilaspur on Harwah Road Tehsil Chandia	Umaria	Rural	46	Open	DC	20	20	400	12	30	Draw of Lots	5	4
3183	Village Katangjhari ( on Katangi to Lalbarra Road) Tehsil Lalbarra	Balaghat	Rural	46	OBC	DC	20	20	400	12	30	Draw of Lots	5	3
3184	1 Km from Barka Naka towards Sarai at Jhurai Sarai Road Tehsil Sarai	Singrauli	Rural	46	Open	DC	20	20	400	12	30	Draw of Lots	5	4

														,
3185	Village Padwar Tehsil Jabalpur	Jabalpur	Rural	46	SC PH	CFS	20	20	400	0	0	Draw of Lots	0	2
3186	Village Khurpa Tehsil Narsimhapur	Narsinghpur	Rural	46	OBC PH	DC	20	20	400	12	30	Draw of Lots	5	3
3187	Patpara to Churhat Road Tehsil Churhat	Sidhi	Rural	46	Open	DC	20	20	400	12	30	Draw of Lots	5	4
3188	Raila at Parsauna Rajmilan Sarai Road Tehsil Manda	Singrauli	Rural	46	Open	DC	20	20	400	12	30	Draw of Lots	5	4
3189	Village Khamhariya between Higher secondry school Khamariya and Tikura	Satna	Rural	46	OBC	DC	20	20	400	12	30	Draw of Lots	5	3
3190	Village Jhink Tehsil Jaitpur	Shahdol	Rural	46	ST	CFS	20	20	400	0	0	Draw of Lots	0	2
3191	5 Km from Village Bamhani towards Khaddi  at Khaddi Road Tehsil Gopadb	Sidhi	Rural	46	Open	DC	20	20	400	12	30	Draw of Lots	5	4
3192	1 Km from Gara Nadi Bridge towards Manda at Rajmilan Manda Road Tehs	Singrauli	Rural	46	Open	DC	20	20	400	12	30	Draw of Lots	5	4
3193	Village Kherwa Kalan (on Reliance Factory Road) Tehsil Maihar	Satna	Rural	46	OBC	DC	20	20	400	12	30	Draw of Lots	5	3
3194	On Madariya Mudi Road Village Mudi Tehsil Gopadbanas	Sidhi	Rural	46	SC	CFS	20	20	400	0	0	Draw of Lots	0	2
3195	Village Saori Tehsil Mohkhed	Chhindwara	Rural	46	Open	DC	20	20	400	12	30	Draw of Lots	5	4
3196	1Km from Harfari Chowk towards Chitrangi In Karthua Chitrangi Road Tehsi	Singrauli	Rural	46	Open	DC	20	20	400	12	30	Draw of Lots	5	4
3197	Village Beera Tehsil Ajaygarh	Panna	Rural	46	Open	DC	20	20	400	12	30	Draw of Lots	5	4
3198	1 Km from Khadbada Turn towards Sonversa at Khadbada Road Tehsil Sih	Sidhi	Rural	46	OBC	DC	20	20	400	12	30	Draw of Lots	5	3
3199	Village Lathgaon Tehsil Gotegaon	Narsinghpur	Rural	46	ST	CFS	20	20	400	0	0	Draw of Lots	0	2
3200	Village Nayagaon Tehsil Ajaigarh	Panna	Rural	46	Open CC 1	DC	20	20	400	12	30	Draw of Lots	5	4
3201	Village Sadra on MDR Tehsil Lanji	Balaghat	Rural	46	OBC	DC	20	20	400	12	30	Draw of Lots	5	3
3202	Village Saroth on MDR Tehsil Mohkhed	Chhindwara	Rural	46	Open	DC	20	20	400	12	30	Draw of Lots	5	4
3203	Between Mile Stone Number 18 to 20 at Madha Road Village Padri Tehsil Gopadbanas	Sidhi	Rural	46	SC	CFS	20	20	400	0	0	Draw of Lots	0	2

3204	Within 1 Km from Bandol Police Station (Not on NH) Tehsil Seoni	Seoni	Rural	46	Open	DC	20	20	400	12	30	Draw of Lots	5	4
3205	Village Ridhora Tehsil Sausar	Chhindwara	Rural	46	OBC	DC	20	20	400	12	30	Draw of Lots	5	3
3206	Village Teegaon not on NH Tehsil Pandhurna	Chhindwara	Rural	46	Open	DC	20	20	400	12	30	Draw of Lots	5	4
3207	Village Risewada on MDR Tehsil Lanji	Balaghat	Rural	46	Open	DC	20	20	400	12	30	Draw of Lots	5	4
3208	Village Kukur Munda Tehsil Parasia	Chhindwara	Rural	46	ST CC 1	CFS	20	20	400	0	0	Draw of Lots	0	2
3209	Sitpura (Not on NH) Tehsil Nagod	Satna	Rural	46	OBC CC 1	DC	20	20	400	12	30	Draw of Lots	5	3
3210	Village Deogaon on MDR Tehsil Kirnapur	Balaghat	Rural	46	Open	DC	20	20	400	12	30	Draw of Lots	5	4
3211	Village Paipkhara (Rewa Sirmaour Road Via Baikunthpur) Tehsil Raipur Karchuliyan	Rewa	Rural	46	Open PH	DC	20	20	400	12	30	Draw of Lots	5	4
3212	Within 1 Km from Baheriya Tigadda towards Bamora Tehsil Sagar	Sagar	Rural	46	ST	CFS	20	20	400	0	0	Draw of Lots	0	2
3213	Tikuri ( on Satna Semaria Road) Tehsil Kotar	Satna	Rural	46	OBC	DC	20	20	400	12	30	Draw of Lots	5	3
3214	Village Rawanwada on Parasia Shivpuri Road Tehsil Parasia	Chhindwara	Rural	46	Open	DC	20	20	400	12	30	Draw of Lots	5	4
3215	Village Kedarpur Tehsil Ghansaur	Seoni	Rural	46	OBC	DC	20	20	400	12	30	Draw of Lots	5	3
3216	Village Sakka Mal Tehsil Dindori	Dindori	Rural	46	ST	CFS	20	20	400	0	0	Draw of Lots	0	2
3217	Village Jowa on Ramnagar Bahri road Tehsil Maihar	Satna	Rural	46	Open	DC	20	20	400	12	30	Draw of Lots	5	4
3218	Village Wadegaon on MDR Tehsil Pandhurna	Chhindwara	Rural	46	Open	DC	20	20	400	12	30	Draw of Lots	5	4
3219	Village Sugarha (on Gunnour to Katan Road) Tehsil Gunnour	Panna	Rural	46	Open	DC	20	20	400	12	30	Draw of Lots	5	4
3220	Village Moredongri Khurd Tehsil Umreth	Chhindwara	Rural	46	OBC	DC	20	20	400	12	30	Draw of Lots	5	3
3221	Village Karami on Manda to Makrohar Road Tehsil Manda	Singrauli	Rural	46	SC	CFS	20	20	400	0	0	Draw of Lots	0	2
3222	Village Banoli on MDR Tehsil Simariya	Panna	Rural	46	Open	DC	20	20	400	12	30	Draw of Lots	5	4

3223	Village Mudwari Tehsil Gunnour	Panna	Rural	46	Open CC 1	DC	20	20	400	12	30	Draw of Lots	5	4
3224	Village Gorakhpur Tehsil Dindori	Dindori	Rural	46	OBC	DC	20	20	400	12	30	Draw of Lots	5	3
3225	Ghinhagaon(on Ghinhagaon to Deosar Road) Tehsil Deosar	Singrauli	Rural	46	ST	CFS	20	20	400	0	0	Draw of Lots	0	2
3226	Village Deori (Gadhipadariya ) on Devendranagar Kakrahti Road Tehsil Devendranagar	Panna	Rural	46	Open	DC	20	20	400	12	30	Draw of Lots	5	4
3227	Village Indri Tehsil Bichhiya	Mandla	Rural	46	OBC	DC	20	20	400	12	30	Draw of Lots	5	3
3228	Upto 2 Km While Going from Jigana Tiraha to Jhinna Road Tehsil Ramnag	Satna	Rural	46	Open	DC	20	20	400	12	30	Draw of Lots	5	4
3229	from Durga Mandir Tiraha Bamhori towards Prism Cement Witin 1.5 Km on Pwd Road Tehsil Rampur Baghelan	Satna	Rural	46	Open	DC	20	20	400	12	30	Draw of Lots	5	4
3230	Village Parsohar Tehsil Chitrangi	Singrauli	Rural	46	SC	CFS	20	20	400	0	0	Draw of Lots	0	2
3231	Village Dongarmali Tehsil Waraseoni	Balaghat	Rural	46	OBC	DC	20	20	400	12	30	Draw of Lots	5	3
3232	Semri (on Nagod Katan Road) Tehsil Nagod	Satna	Rural	46	Open	DC	20	20	400	12	30	Draw of Lots	5	4
3233	Between PMGSY Road Tiraha Bichhiya Khurd And Ramgarh Mod Tehsil Ar	Satna	Rural	46	Open	DC	20	20	400	12	30	Draw of Lots	5	4
3234	Village Nayagaon Tehsil Birsinghpur	Satna	Rural	46	ST	CFS	20	20	400	0	0	Draw of Lots	0	2
3235	Village Jhunku on Deori to Bichuaa Tehsil Deori	Sagar	Rural	46	OBC	DC	20	20	400	12	30	Draw of Lots	5	3
3236	Between Km Stone No 9 and 11 on Rewa Semariya road via Bankuyya Teh	Satna	Rural	46	Open	DC	20	20	400	12	30	Draw of Lots	5	4
3237	Village Majhiyar on Tikuri Chhibhoura Road Tehsil Rampur Baghelan	Satna	Rural	46	Open	DC	20	20	400	12	30	Draw of Lots	5	4
3238	Village Tewar Tehsil Jabalpur	Jabalpur	Rural	46	OBC	DC	20	20	400	12	30	Draw of Lots	5	3
3239	Village Deogarh Tehsil Gohparu	Shahdol	Rural	46	ST	CFS	20	20	400	0	0	Draw of Lots	0	2
3240	Village Sahajpur Tehsil Shahpura	Jabalpur	Rural	46	Open	DC	20	20	400	12	30	Draw of Lots	5	4
3241	Deomau Daldal (on Chhiboura Road) Tehsil Rampur Baghelan	Satna	Rural	46	Open	DC	20	20	400	12	30	Draw of Lots	5	4

3242	Village Ghana Tehsil Panagar	Jabalpur	Rural	46	OBC	DC	20	20	400	12	30	Draw of Lots	5	3
3243	Village Baghbudawa Tehsil Deosar	Singrauli	Rural	46	SC	CFS	20	20	400	0	0	Draw of Lots	0	2
3244	Village Ghughchihai on Babupur Goraiya Road Tehsil Rampur Baghelan	Satna	Rural	46	Open	DC	20	20	400	12	30	Draw of Lots	5	4
3245	2 Km of Both Side of Semariya Police Chowki Churhat PMGSY Tehsil Gop	Sidhi	Rural	46	Open	DC	20	20	400	12	30	Draw of Lots	5	4
3246	Village Mohaniya Tehsil Jabalpur	Jabalpur	Rural	46	OBC	DC	20	20	400	12	30	Draw of Lots	5	3
3247	Village Khairi Panthawali on Sausar Mohgaon Road Tehsil Sausar	Chhindwara	Rural	46	Open	DC	20	20	400	12	30	Draw of Lots	5	4
3248	Village Khadhuli Tehsil Beohari	Shahdol	Rural	46	ST	CFS	20	20	400	0	0	Draw of Lots	0	2
3249	Karsara (not on SH) Tehsil Raghurajnagar	Satna	Rural	46	OBC	DC	20	20	400	12	30	Draw of Lots	5	3
3250	Village Mediyaras(Gramin Khetriya Bank to Chachai Viran Road) Tehsil Ar	Anuppur	Rural	46	Open CC 1	DC	20	20	400	12	30	Draw of Lots	5	4
3251	Village Paunda Tehsil Majhouli	Jabalpur	Rural	46	Open	DC	20	20	400	12	30	Draw of Lots	5	4
3252	5 Km from Piparwan to Karthua Road Tehsil Chitrangi	Singrauli	Rural	46	SC	CFS	20	20	400	0	0	Draw of Lots	0	2
3253	Village Manakahari ( Rewa to Majhiyar Road) Tehsil Huzur	Rewa	Rural	46	OBC	DC	20	20	400	12	30	Draw of Lots	5	3
3254	from Village Chargawan to Village Badhaiya Kheda on Seonitola to Chargawan Road Tehsil Jabalpur	Jabalpur	Rural	46	Open	DC	20	20	400	12	30	Draw of Lots	5	4
3255	Village Mirga on Seonitola to Chargawan Road Tehsil Shahpura	Jabalpur	Rural	46	Open	DC	20	20	400	12	30	Draw of Lots	5	4
3256	Akhetpur Tehsil Beohari	Shahdol	Rural	46	ST	CFS	20	20	400	0	0	Draw of Lots	0	2
3257	Village Duari Tehsil Gurh	Rewa	Rural	46	OBC	DC	20	20	400	12	30	Draw of Lots	5	3
3258	On Samadhi Road from Village Padariya to Village Siluwa Tehsil Sihora	Jabalpur	Rural	46	Open	DC	20	20	400	12	30	Draw of Lots	5	4
3259	Village Manguwan Mangarh Tehsil Jabera	Damoh	Rural	46	Open CC 2	DC	20	20	400	12	30	Draw of Lots	5	4
3260	Village Muarkhas on Sahajpur Road Tehsil Deori	Sagar	Rural	46	OBC CC 1	DC	20	20	400	12	30	Draw of Lots	5	3

3261	Village Khairlanjhi Tehsil Khairlanjhi	Balaghat	Rural	46	SC CC 1	CFS	20	20	400	0	0	Draw of Lots	0	2
3262	Village Chhigamma on Gunnour Dighoura Road Tehsil Gunnour	Panna	Rural	46	Open	DC	20	20	400	12	30	Draw of Lots	5	4
3263	On Niwas Road from Village Deori to NH 12A Tehsil Jabalpur	Jabalpur	Rural	46	Open	DC	20	20	400	12	30	Draw of Lots	5	4
3264	Between Police Thana Kotar and Sardar Patel convent school Aber	Satna	Rural	46	OBC	DC	20	20	400	12	30	Draw of Lots	5	3
3265	Piparwani on MDR Tehsil Kurai	Seoni	Rural	46	ST	CFS	20	20	400	0	0	Draw of Lots	0	2
3266	On Majhouli Amauda Bohriband Road in Village Amauda Tehsil Majhou	Jabalpur	Rural	46	Open	DC	20	20	400	12	30	Draw of Lots	5	4
3267	From Sehora Railway Station to Majhgawan on MDR Tehsil Sehora	Jabalpur	Rural	46	Open	DC	20	20	400	12	30	Draw of Lots	5	4
3268	Village Taradehi Mal (Between Tendukhera and Maharajpur Road) Tehsil Tendukhera	Damoh	Rural	46	OBC	DC	20	20	400	12	30	Draw of Lots	5	3
3269	from Sehora Railway Station to Village Ghughara on Sehora Umaria Pan Road (MDR) Tehsil Sehora	Jabalpur	Rural	46	Open	DC	20	20	400	12	30	Draw of Lots	5	4
3270	Village Barhawatola Tehsil Deosar	Singrauli	Rural	46	SC	CFS	20	20	400	0	0	Draw of Lots	0	2
3271	Majhouli Katangi Road (MDR) In Tehsil Majhouli	Jabalpur	Rural	46	Open	DC	20	20	400	12	30	Draw of Lots	5	4
3272	Village Tikar ( Govindgarh to Tikar Road) Tehsil Huzur	Rewa	Rural	46	OBC	DC	20	20	400	12	30	Draw of Lots	5	3
3273	Badagaon Tehsil Devendranagar	Panna	Rural	46	Open CC 1	DC	20	20	400	12	30	Draw of Lots	5	4
3274	Dabhaura Tehsil Jawa	Rewa	Rural	46	ST	CFS	20	20	400	0	0	Draw of Lots	0	2
3275	Village Bhanpurakala Tehsil Dhimarkheda	Katni	Rural	46	OBC	DC	20	20	400	12	30	Draw of Lots	5	3
3276	Village Agariya Tehsil Sihora	Jabalpur	Rural	46	Open	DC	20	20	400	12	30	Draw of Lots	5	4
3277	Village Luhari between SH 47 and Sujalpura Tehsil Patera	Damoh	Rural	46	Open	DC	20	20	400	12	30	Draw of Lots	5	4
3278	Village Atra Tehsil Unchahara	Satna	Rural	46	OBC	DC	20	20	400	12	30	Draw of Lots	5	3
3279	Village Jiyawan on Kundawar Road Tehsil Deosar	Singrauli	Rural	46	SC	CFS	20	20	400	0	0	Draw of Lots	0	2

3280	Village Indrana Tehsil Majholi	Jabalpur	Rural	46	Open	DC	20	20	400	12	30	Draw of Lots	5	4
3281	Village Mohbarra on MDR Tehsil Keolari	Seoni	Rural	46	Open	DC	20	20	400	12	30	Draw of Lots	5	4
3282	Village Bhapatpur Kurmiyan Tehsil Ajaygarh	Panna	Rural	46	OBC	DC	20	20	400	12	30	Draw of Lots	5	3
3283	Mehuti Tehsil Birsinghpur	Satna	Rural	46	ST	CFS	20	20	400	0	0	Draw of Lots	0	2
3284	Village Umreth (on MDR) Tehsil Umreth	Chhindwara	Rural	46	Open	DC	20	20	400	12	30	Draw of Lots	5	4
3285	Village Asta Tehsil Barghat	Seoni	Rural	46	Open	DC	20	20	400	12	30	Draw of Lots	5	4
3286	Village Turki Tehsil Rampur Baghelan	Satna	Rural	46	OBC PH	DC	20	20	400	12	30	Draw of Lots	5	3
3287	Village Batondha Mal Tehsil Dindori	Dindori	Rural	46	ST PH	CFS	20	20	400	0	0	Draw of Lots	0	2
3288	Village Hirri on MDR Tehsil Kirnapur	Balaghat	Rural	46	Open	DC	20	20	400	12	30	Draw of Lots	5	4
3289	Village Andwa(Gumari to Silaha Road) Tehsil Jawa	Rewa	Rural	46	Open	DC	20	20	400	12	30	Draw of Lots	5	4
3290	Between Km Stone Number Satna 14 and Satna 16 on Satna to Semariya R	Satna	Rural	46	OBC	DC	20	20	400	12	30	Draw of Lots	5	3
3291	2Km Both Side of Village Piparwan PMGSY Tehsil Chitrangi	Singrauli	Rural	46	Open	DC	20	20	400	12	30	Draw of Lots	5	4
3292	2 Km from Van Naka of Dhani towards Harferi Tehsil Chitrangi	Singrauli	Rural	46	SC	CFS	20	20	400	0	0	Draw of Lots	0	2
3293	Village Itma Khas (Bada Itma)on Amarpatan Badera MDR Tehsil Ramnagar	Satna	Rural	46	Open	DC	20	20	400	12	30	Draw of Lots	5	4
3294	Village Nandan Tehsil Raipura	Panna	Rural	46	OBC	DC	20	20	400	12	30	Draw of Lots	5	3
3295	Village Lilaha on Sajjanpur Chorhata PWD Road Tehsil Rampur Baghelan	Satna	Rural	46	Open	DC	20	20	400	12	30	Draw of Lots	5	4
3296	Village Gambhirwa tola Tehsil Anuppur	Anuppur	Rural	46	ST	CFS	20	20	400	0	0	Draw of Lots	0	2
3297	Village Khora Tehsil Ajaigarh	Panna	Rural	46	OBC	DC	20	20	400	12	30	Draw of Lots	5	3
3298	Village Ghutas on Bichchia Dindori Road Tehsil Bichhiya	Mandla	Rural	46	Open	DC	20	20	400	12	30	Draw of Lots	5	4

3299	Village Jamuna Tehsil Rampur Baghelan	Satna	Rural	46	Open CC 1	DC	20	20	400	12	30	Draw of Lots	5	4
3300	Khanua tola Tehsil Sarai	Singrauli	Rural	46	OBC	DC	20	20	400	12	30	Draw of Lots	5	3
3301	Village Umri on Katangi Waraseoni Road Tehsil Katangi	Balaghat	Rural	46	ST	CFS	20	20	400	0	0	Draw of Lots	0	2
3302	Village Piparia nai on MDR Tehsil Dhanora	Seoni	Rural	46	Open	DC	20	20	400	12	30	Draw of Lots	5	4
3303	Khakhra Tehsil Kurai	Seoni	Rural	46	Open	DC	20	20	400	12	30	Draw of Lots	5	4
3304	2 Km both Side of Village Purail on PMGSY Tehsil Sarai	Singrauli	Rural	46	OBC	DC	20	20	400	12	30	Draw of Lots	5	3
3305	Village Kukrao Majhitola Tehsil Bahari	Sidhi	Rural	46	SC	CFS	20	20	400	0	0	Draw of Lots	0	2
3306	Between Village Kati to Village Rajarwara on MDR Tehsil Vijay Raghogarh	Katni	Rural	46	Open	DC	20	20	400	12	30	Draw of Lots	5	4
3307	5 Km from Madhyanchal Gramin Bank Semuaar towards Singrauli Tehsil C	Singrauli	Rural	46	Open	DC	20	20	400	12	30	Draw of Lots	5	4
3308	Patpara(Within 2 Km from Patpara Chouraha towards Amiliya) Tehsil Churh	Sidhi	Rural	46	Open	DC	20	20	400	12	30	Draw of Lots	5	4
3309	Village Nakaila Tehsil Majhgawan	Satna	Rural	46	OBC CC 1	DC	20	20	400	12	30	Draw of Lots	5	3
3310	from 5 T0 10 Km from Damoh Railway Over Bridge at Patharia Road Tehsil	Damoh	Rural	46	SC CC 1	CFS	20	20	400	0	0	Draw of Lots	0	2
3311	Village Patna Tehsil Raipura	Panna	Rural	46	Open PH	DC	20	20	400	12	30	Draw of Lots	5	4
3312	Village Jhand Tehsil Rampur Baghelan	Satna	Rural	46	OBC	DC	20	20	400	12	30	Draw of Lots	5	3
3313	On Panagar Indrana Majhouli Road in Village Singaldeep Tehsil Panaga	Jabalpur	Rural	46	Open	DC	20	20	400	12	30	Draw of Lots	5	4
3314	2Km Sihawal Block to Amiliya PMGSY Tehsil Sihawal	Sidhi	Rural	46	ST	CFS	20	20	400	0	0	Draw of Lots	0	2
3315	2Km Both Side of Village Sherva PMGSY Tehsil Chitrangi	Singrauli	Rural	46	Open	DC	20	20	400	12	30	Draw of Lots	5	4
3316	Village Khairi Kothar Tehsil Raghurajnagar	Satna	Rural	46	OBC	DC	20	20	400	12	30	Draw of Lots	5	3
3317	Village Jhanjhbari on Gorsari to Badera Road MDR Tehsil Maihar	Satna	Rural	46	Open	DC	20	20	400	12	30	Draw of Lots	5	4

3318	2Km Both Side of Village Badkud on PMGSY Tehsil Chitrangi	Singrauli	Rural	46	Open	DC	20	20	400	12	30	Draw of Lots	5	4
3319	Gandhi Gram Tehsil Gopadbanas	Sidhi	Rural	46	SC	CFS	20	20	400	0	0	Draw of Lots	0	2
3320	Simariya Garhi Tehsil Simaria	Panna	Rural	46	OBC	DC	20	20	400	12	30	Draw of Lots	5	3
3321	2Km from Geer Chhanda Chauraha to Sidhi MDR Tehsil Chitrangi	Singrauli	Rural	46	Open	DC	20	20	400	12	30	Draw of Lots	5	4
3322	Village Benibari((Dindori to Rajendragram Via Leela) Tehsil Pushparajgarh	Anuppur	Rural	46	Open CC 1	DC	20	20	400	12	30	Draw of Lots	5	4
3323	Sagara Tehsil Hujur	Rewa	Rural	46	ST	CFS	20	20	400	0	0	Draw of Lots	0	2
3324	2Km Both Side of Village Kamarji PMGSY Tehsil Churhat	Sidhi	Rural	46	OBC	DC	20	20	400	12	30	Draw of Lots	5	3
3325	Village Narwar Tehsil Bandavgarh	Umaria	Rural	46	Open	DC	20	20	400	12	30	Draw of Lots	5	4
3326	Within 2 Kms from Parsohar Tiraha to Singrauli Railway Station Tehsil Sing	Singrauli	Rural	46	Open	DC	20	20	400	12	30	Draw of Lots	5	4
3327	Village Jhiri Tehsil Chapara	Seoni	Rural	46	OBC	DC	20	20	400	12	30	Draw of Lots	5	3
3328	Village Dargada on Gotegaon Dhuma Road Tehsil Lakhnadon	Seoni	Rural	46	ST	CFS	20	20	400	0	0	Draw of Lots	0	2
3329	Village Bahuti Tehsil Mauganj	Rewa	Rural	46	Open	DC	20	20	400	12	30	Draw of Lots	5	4
3330	Village Rampur Chaurasi Tehsil Raghuraj Nagar	Satna	Rural	46	Open	DC	20	20	400	12	30	Draw of Lots	5	4
3331	Village Pusera Tehsil Seoni	Seoni	Rural	46	OBC	DC	20	20	400	12	30	Draw of Lots	5	3
3332	Village Amiliya Tehsil Sihawal	Sidhi	Rural	46	SC	CFS	20	20	400	0	0	Draw of Lots	0	2
3333	On Patan Katangi Road in Village Patan Tehsil Patan	Jabalpur	Rural	46	Open	DC	20	20	400	12	30	Draw of Lots	5	4
3334	1 Km from Tikri Police Chowki towards Madwas Tehsil Majhauli	Sidhi	Rural	46	Open	DC	20	20	400	12	30	Draw of Lots	5	4
3335	village Badalpar Tehsil Kurai	Seoni	Rural	46	OBC	DC	20	20	400	12	30	Draw of Lots	5	3
3336	Village Nandanwadi mal Tehsil Pandhurna	Chhindwara	Rural	46	ST	CFS	20	20	400	0	0	Draw of Lots	0	2

3337	Bangarda TEHSIL Sanawad	Khargone	Rural	60	Open	DC	20	20	400	12	30	Draw of Lots	5	4
3338	Sadipura TEHSIL Hatpipliya	Dewas	Rural	60	OBC	DC	20	20	400	12	30	Draw of Lots	5	3
3339	Panjhariya on Khandwa Pandhana road   TEHSIL Khandwa	Khandwa	Rural	65	Open	DC	20	20	400	12	30	Draw of Lots	5	4
3340	Village Dewla, TEHSIL Manawar	Dhar	Rural	65	Open	DC	20	20	400	12	30	Draw of Lots	5	4
3341	Siroliya TEHSIL Dewas	Dewas	Rural	75	SC	CFS	20	20	400	0	0	Draw of Lots	0	2
3342	Balria TEHSIL Sanwer	Indore	Rural	62	OBC	DC	20	20	400	12	30	Draw of Lots	5	3
3343	Village Nimarani TEHSIL Dharampuri	Dhar	Rural	65	Open	DC	20	20	400	12	30	Draw of Lots	5	4
3344	Nayagaon (Jawad Nayagaon Road) TEHSIL Jawad	Neemuch	Rural	110	Open	DC	20	20	400	12	30	Draw of Lots	5	4
3345	Dahi TEHSIL Dahi	Dhar	Rural	60	ST	CFS	20	20	400	0	0	Draw of Lots	0	2
3346	Dhasad TEHSIL Satwas	Dewas	Rural	62	OBC	DC	20	20	400	12	30	Draw of Lots	5	3
3347	Khilchipura TEHSIL Mandsaur	Mandsaur	Rural	67	Open	DC	20	20	400	12	30	Draw of Lots	5	4
3348	Sagor TEHSIL Dhar	Dhar	Rural	72	Open CC 1	DC	20	20	400	12	30	Draw of Lots	5	4
3349	Satwas TEHSIL Satwas	Dewas	Rural	60	OBC	DC	20	20	400	12	30	Draw of Lots	5	3
3350	Bagh TEHSIL Kukshi	Dhar	Rural	55	ST	CFS	20	20	400	0	0	Draw of Lots	0	2
3351	Kachanari TEHSIL Sitamau	Mandsaur	Rural	67	Open	DC	20	20	400	12	30	Draw of Lots	5	4
3352	Padliya Maru (Padliya Maru to Nirdhari Road) TEHSIL Mandsaur	Mandsaur	Rural	67	Open	DC	20	20	400	12	30	Draw of Lots	5	4
3353	Khardon Kalan TEHSIL Kalapipal	Shajapur	Rural	55	OBC	DC	20	20	400	12	30	Draw of Lots	5	3
3354	Pipeda TEHSIL Dahi	Dhar	Rural	72	SC	CFS	20	20	400	0	0	Draw of Lots	0	2
3355	Khudel TEHSIL Indore	Indore	Rural	62	Open	DC	20	20	400	12	30	Draw of Lots	5	4

								-	-					
3356	Depalpur TEHSIL Depalpur	Indore	Rural	65	Open	DC	20	20	400	12	30	Draw of Lots	5	4
3357	Okhala TEHSIL Barwaha	Khargone	Rural	60	OBC	DC	20	20	400	12	30	Draw of Lots	5	3
3358	Jamburdi hapsi TEHSIL Hatod	Indore	Rural	62	Open	DC	20	20	400	12	30	Draw of Lots	5	4
3359	Bulgari TEHSIL Badnawar	Dhar	Rural	65	ST CC 1	CFS	20	20	400	0	0	Draw of Lots	0	2
3360	Digwal TEHSIL Indore	Indore	Rural	65	Open CC 2	DC	20	20	400	12	30	Draw of Lots	5	4
3361	Budha TEHSIL Malhargarh	Mandsaur	Rural	65	OBC CC 1	DC	20	20	400	12	30	Draw of Lots	5	3
3362	Banedia TEHSIL Depalpur	Indore	Rural	62	Open	DC	20	20	400	12	30	Draw of Lots	5	4
3363	Nemawar TEHSIL KHATEGAON	Dewas	Rural	75	ST	CFS	20	20	400	0	0	Draw of Lots	0	2
3364	Brahman Pipalya TEHSIL Sanwer	Indore	Rural	55	OBC	DC	20	20	400	12	30	Draw of Lots	5	3
3365	Dhakad TEHSIL Satwas	Dewas	Rural	62	Open	DC	20	20	400	12	30	Draw of Lots	5	4
3366	Paladi TEHSIL Hatod	Indore	Rural	62	Open	DC	20	20	400	12	30	Draw of Lots	5	4
3367	Baskhedi (Mandsaur Sanjeet Road) TEHSIL Malhargarh	Mandsaur	Rural	63	OBC	DC	20	20	400	12	30	Draw of Lots	5	3
3368	Hatuniya TEHSIL Mandsaur	Mandsaur	Rural	67	SC	CFS	20	20	400	0	0	Draw of Lots	0	2
3369	Kumariyarao TEHSIL Sonkatch	Dewas	Rural	55	Open	DC	20	20	400	12	30	Draw of Lots	5	4
3370	Sanwer TEHSIL Sonkatch	Dewas	Rural	55	Open	DC	20	20	400	12	30	Draw of Lots	5	4
3371	Billod TEHSIL Malhargarh	Mandsaur	Rural	56	OBC	DC	20	20	400	12	30	Draw of Lots	5	3
3372	On Gandhwani Dehri Road within 2 km from Gandhwani Bus Stand TEHSIL Gandhwani	Dhar	Rural	55	ST	CFS	20	20	400	0	0	Draw of Lots	0	2
3373	Ambada Tehsil Nisarpur	Dhar	Rural	55	Open	DC	20	20	400	12	30	Draw of Lots	5	4
3374	Panjariya TEHSIL Varla	Badwani	Rural	62	Open CC 1	DC	20	20	400	12	30	Draw of Lots	5	4

3375	Talwada Buzurg Tehsil Barwani	Badwani	Rural	62	OBC	DC	20	20	400	12	30	Draw of Lots	5	3
3376	Amkheda TEHSIL Dhar	Dhar	Rural	72	ST	CFS	20	20	400	0	0	Draw of Lots	0	2
3377	Raipur TEHSIL Khalwa	Khandwa	Rural	55	Open	DC	20	20	400	12	30	Draw of Lots	5	4
3378	Bhensoda Tehsil Bhanpura	Mandsaur	Rural	67	Open	DC	20	20	400	12	30	Draw of Lots	5	4
3379	Berchha Tehsil Shajapur	Shajapur	Rural	80	OBC	DC	20	20	400	12	30	Draw of Lots	5	3
3380	Bardiya Amra Tehsil Garoth	Mandsaur	Rural	67	Open	DC	20	20	400	12	30	Draw of Lots	5	4
3381	Rangwasa Tehsil Depalpur	Indore	Rural	75	SC	CFS	20	20	400	0	0	Draw of Lots	0	2
3382	Bahi Tehsil Malhargarh	Mandsaur	Rural	67	Open	DC	20	20	400	12	30	Draw of Lots	5	4
3383	Choubara Dhira Tehsil Tonkkhurd	Dewas	Rural	60	OBC	DC	20	20	400	12	30	Draw of Lots	5	3
3384	Aahu TEHSIL Dhar	Dhar	Rural	60	Open	DC	20	20	400	12	30	Draw of Lots	5	4
3385	Barjhar TEHSIL Barwaha	Khargone	Rural	65	SC PH	CFS	20	20	400	0	0	Draw of Lots	0	2
3386	Barahamangaon TEHSIL Gandhwani	Dhar	Rural	72	OBC PH	DC	20	20	400	12	30	Draw of Lots	5	3
3387	Mangalia TEHSIL Moman Badodiya	Shajapur	Rural	55	Open	DC	20	20	400	12	30	Draw of Lots	5	4
3388	Kod TEHSIL Badnawar	Dhar	Rural	60	Open	DC	20	20	400	12	30	Draw of Lots	5	4
3389	Bishakhedi Tehsil Sanwer	Indore	Rural	75	OBC	DC	20	20	400	12	30	Draw of Lots	5	3
3390	Madrani TEHSIL Meghnagar	Jhabua	Rural	55	ST	CFS	20	20	400	0	0	Draw of Lots	0	2
3391	Badiakeema Tehsil Indore	Indore	Rural	90	Open	DC	20	20	400	12	30	Draw of Lots	5	4
3392	Semalya TEHSIL Sendhwa	Badwani	Rural	65	Open	DC	20	20	400	12	30	Draw of Lots	5	4

# Volumes indicated are based on market conditions and may undergo change. Applicants are advised to make their own assessment of potential.

\* The site should either be Owned or on lease with applicant for minimum XX years or Applicant should have firm offer for the same.

The explanation of the columns in the table is given in the Brochure which also contains detailed guidelines of selection procedure for dealership along with Application form and other relevant details. The Brochure is available at a cost of Rs. 100/- from the Corporation Offices at the addresses mentioned below. It is also hosted in the Corporation Website www.iocl.com and can be downloaded free of cost.

APPLICANTS, IN THEIR OWN INTEREST, SHOULD CAREFULLY GO THROUGH THE "BROCHURE" AND UNDERSTAND CONDITIONS OF SELECTION BEFORE SUBMITTING THEIR APPLICATION.

Application for RO dealership along with online payment of Non-refundable application fee, as applicable (detailed below), should be submitted on-line by 12/01/2019.

Type of RO	Type of Site	Category	Application fee in Rs.	Type of RO	Type of Site	Category	Application fee in Rs.
	CFS	SC/ST	3000		CFS	SC/ST	2500
	CC	OBC	5000		CC	OBC	4000
Regular RO	CC	Open	10000	Rural RO	CC	Open	8000
	DC	OBC	5000		DC	OBC	4000
	DC	Open	10000		DC	Open	8000

"If the minimum dimension mentioned here is different from the minimum dimensions mentioned by the State Authorities, then the dimensions applicable on the date of advertisement for the state, as given by the authorities will be treated as minimum required dimension. The minimum dimensions mentioned in the advertisement here is for the purpose of eligibility criteria. However, for better layout, positioning and construction of facilities, better maneuverability of vehicles, better customer convenience which is likely to give better sales, bigger plot sizes of about 35 m x 35m would be preferable for other than NH sites."

The facility for submission of on-line application will be withdrawn immediately after the cut-off date as mentioned above.

The tenure of the dealership shall be for an initial period of xx years and renewable every xx years thereafter.

This is only a notice inviting application for allotment of RO dealership and not an offer of RO dealership.

The Corporation reserves the right to cancel/withdraw/ amend this advertisement or extend the due date at its sole discretion without assigning any reason.

In case of any discrepancy in advertisement published in English News papers vis a vis vernacular dailies, the direction/information indicated in English paper would prevail. Similarly, contents of Brochure in English will be final and will prevail upon in case of any dispute.

For purchase of Brochure and any information with regard to the advertisement, candidates may contact the following address:-

For District	Divisional Offices Address
Agar, Alirajpur, Barwani, Burhanpur, Dewas, Dhar, Indore, Jhabua, Khandwa, Khargone, Mandsaur, Neemuch, Ratlam, Shajapur, Ujjain.	Chief Divisional Retail Sales Manager, Indian Oil Corporation Ltd, Indore Divisional Office, Indian Oil Bhawan, Plot No.8, Scheme No. 159,MR-10,Kushabhau Thakre Marg,Indore-452016. Contact No. 0731-2970520 / 0731-2970521
Ashoknagar, Betul, Bhind, Bhopal, Datia, Guna, Gwalior, Harda, Hoshangabad, Morena, Raisen, Rajgarh, Sehore, Sheopur, Shivpuri, Tikamgarh, Vidisha.Niwari.	Chief Divisional Retail Sales Manager, Indian Oil Corporation Limited Bhopal Divisional Office, Indain Oil Bhawan, 1 <sup>st</sup> Floor, 16, Area Hills, Jail Road, Bhopal-462011. Contact No. 0755-2553927 / 0755- 2524840
Anuppur, Balaghat, Chhatarpur, Chhindwara, Damoh, Dindori, Jabalpur, Katni, Mandla, Narsingpur, Panna, Rewa, Sagar, Satna, Seoni, Shahdol, Sidhi, Singrauli, Umariya	Chief Divisional Retail Sales Manager, Indian Oil Corporation Limited, Jabalpur Divisional Office, Scheme NoII, Block No.9,2 <sup>nd</sup> Floor, Civic Center, Marhatal, Jabalpur(MP)-482002. Contact No. 0761- 2480499 . 0761-4007650.